Compact Cylinder

Series COZ

912, 916, 920, 925, 932, 940, 850, 863, 830, 8100, 125, 8140, 160

With a short overall length, the space saving
cylinder helps to make various jigs and
equipment more compact.

Variations
g g Bore size Standard
Series Action Style (mm) stroke (mm) Page
Standard Sigle od 12,16,20,25 | Jo2 oo 20
T co2 32, 40, 50, 63 [ 532, gdors 10 100 [] 22
= Double 80, 100 250 to 8100/10 to 100
| L, r— .
| —= = acting 12, 816/5 to 30
——— Double rod 12,16, 20, 25 | 1|22, 2205 10
L\ bl 220, 240/5 to 50 | -
s ' 3 I coaw 6666 L B 4 L 4B 4 gg 40(1)0501 63 Mos2 sa05 0100 [ 2522
== = , 1 250 t0 #100/10 o 100
%f’ |
— i Spring 12, 16, 20
- Single e
\ — VNI mlexend —9—0—0—0——0—0—0—0—9 25,32,40 (21210040510 L35 3.38
acung 250/10, 20
cQ2 50
Non-rotating rod Single rod 12, 16, 20 012, 816/5 to 30 CuU
[ o009 0009 25. 32. 40 f 220, 225/5 to 50 |_| 2.3-56
= CQ2K » 94, 832, 840/5 to 100
e Double 50, 63 50, 563/10 to 100
—— g=—— [ | acting
1 12, 16, 20 212, 816/5 to 30
F,j\ — L Double rod —0—0—0—@ L L 25 32 40 820, 540/5 1050 = 2.3-70
. CQ2KW 50. 63 50, 863/10 t0 50
Axial piping Double : 12 16 20. 25| |#12, 816/5t0 30
- L. Single rod L 920, 825/5t0 50 [ 2 3.
(Centralized piping) T acing [T cor2 [ ¢ ¢ ¢ ¢ 32, 40, 50, 63, 532, paois 0 100 [] 27 02
80, 100 250 to #100/10 to 100
L 141 —_— y
\ § e ) Spring 12, 16, 20
——— B Single e 2 0/5, 10
Q = @ = acting [ return/extend —@—@ L L 25, 32, 40 —ﬁéo,‘fofa;‘o > 1014 2.3-90
B CQP2 50
Large bore size | single rod 125,140 || o100
cQ2 o000 160 10 to 300 T
o =4 Double
17% = ‘@‘ acting
— Double rod 125, 140
\ —  —90—0—90—0 , -  2.3-104
\ cQ2w 160 10 to 300
Long stroke Double| | Single rod 32, 40, 50
= | acting [] cng L b b A A ¢ L 4B A 4 63, 80 = 125t0300 M= 2.3-108
— 100
i
i- . 32,40, 50
Anti-lateral Load |__|Double | Single rod 63, 80’ Ll632t04050100 Ll 5 3 118
[ g acting CcQ20Ss ! 50 to #100/10 to 100 ’
I 100
N
R—
Applicable Auto Switch Made to Order
3 D-A70/A80, D-A73C/A80, D-A9L] Refer to p.5.4-1
Reed switch D-A700H/A80H, D-A79W, D-A9CV o FERE (@ Glala
, - D-F700/J79, D-F70V, D-J79C, D-F7OW/J79W, D-F7OWV, specifications of CQ2
Solid state switch D-F7BA, D-F700F, D-F7NT, D-F9LJ, D-FOOW, D-FOCIV, D-FOOWV series.

2.3-1



Compact Cylinder/Standard: Double Acting Single Rod

|
CAD

, @50, 963, 28

Series C

912, 916, 820, 625, 932, @

How to Order

0, 2100

Standard

20
I

CQ2 30

20 30 A73

IGENGNTIMN CDQ?2

1O +HO

I
B
{ |

® Number of
. : auto switches
With auto switch ) —_— T 5
(Built-in magnet)M . Auto switch — -
ounting Without auto switch S
B | Through-hole (Standard)  F Front flange (Cylinder built-in magnet) n n
A | Bothendstapped G Rear flange « Refer to table below for auto switch
L Foot D Double clevis model no.
+Mounting brackets are shipped not assembled with the cylinder.
Style ® ® Body option
— Pneumatic & Acti — | Standard (Rod end female thread)
ir- 1
N |-1|)Th b AfIr hYdr:Od” chion F Rear boss mount
ote e bores for air-hydro are D Double actin - 3)
220t 5100, g c With rubber bumper
M Rod end male thread
. * Combinati f bod! tion i ible.
® Cylinder stroke (mm) T O R Ea mow Y oprion S possibie
H Refer to p.2.3-3 for standard and Note3) Air-hydro with rubber bumper is not
Bore size m intermediate stroke. available.
12 12mm 40 40mm
16 16mm 50 50mm
20mm 63mm . . . . .
20 63 Appl|cable Auto switches/Refer to p.5.3-2 for further information on auto switch.
25 25mm 80 80mm T
S Load voltage Rail mountini Direct mountin: ead wire™(m,
32 32mm 100| 100mm ' - |Electrical| ®| Wiring - : . Applicable
Style| Special function o % (Output) BE A 212 to 2100 232 to 100 05 | 3|5 [None] [
Vg Perp. | In-line | Perp. | Indine | &) || @) [(N)
Piping @ o —| 5V | — | — |aren [ Asev | A% | @ [@|—|—|ic | —
— Screw-in piping Gmmmelg — | — | 200V | A72 | A72H — — o 0| —|—
F With One-touch fitting é 12v | 100v A73 | A73H _ _ o o0 | —
Note 2) The tubes for the built-in One-touch % 51 . — — A3V 293 2 Kl Relay
fittings are 832 to @63. They cannot be 3 2| 2wire 5,1V | <100V | A80 | A8OH | A%V | A% | ® |@|—|—| IC |p¢
used for the air-hydro. © 8 N — |armc | — — — | ® 00 e —
C
oo 5,12V | <24V | ABOC | — — — | @ |®|®|®| C
Diagnostic (2 color) | Grommet| $ — | — | ATOW | — — — ® 0| —|—|—
Mounting Bracket Part No. 3 wire 5,12V PNV | F7o | — | — | @ |@01—|(C
" Double (NPN) 12v — — FONV FON ® 0| —|—|—
BOre Size 60t | Flange | glevis © crommet| | 3 wire 5V, 12V v [ e | — | — (@ [@]O[—]ic
(mm) — (PNP) — | — Jrorv | For | @ [@|—[—
12 CQ-L012 | CQ-F012 | CQ-D012 — 5 — — ® @O —
16 | CQ-L016 | CQ-FO16 | CQ-D016 > ire v — T — Treav | 705 @ @ == —
20 €Q-L020 | CQ-FO20 | €Q-DO20 s Connector J79c | — — — | o |®o|®|@®
2 Toounfoommlooms o || _ [l == TelelSlE],,
40 Cg-L04O cg_mo cg D040 Z| Diagnostc FLeN) 24V] g2y | T = L — (FoNwy Fonw | @ (@ O — lpic
- - | - | [%2]
= (2 color) 3 wire SV, 12v — |FPw | — — | ®@ |®@|O|—| Ic
50 | CQ-L050 | CQ-FO50 | CQ-DO50 3 (PNP) — [ — [rorwv|rorw | ® @O =
63 CQ-L063 | CQ-F063 | CQ-DO63 Grommet . 12v F7BWV | J79W |F9BWV | F9BW | @ @ |O|—| —
80 CQ-L080 | CQ-F080 | CQ-DO8O Water resistant (2 color) 2 wire — F7BA — FBA | — |@|O|—
100 | CQ-L100 | CQ-F100 | CQ-D100 With timer 3uie (\PN) — lewn| — | — | —|@[O]—]
Note 4) 2 pcs. per cylinder should be ordered when foot With diagnostic output (2 color) Awire v — F79F — — ® 0 O|—
brackets are required. ) Latch with diagnostic (NPN) - - - - ® @O —| —
Note 5) Each package contains the following parts. output (2 color) F7LF

Foot, Flange: Body mounting bolt
Double clevis: Clevis pin, C shape snap ring
for axis, body mounting bolt
Note 6) Package for double clevis contains clevis pin
and snap ring.

+Lead wire length 0.5m-----—  (Example) ABOC 5m Z (Example) ABOCZ
L  (Example) ABOCL None N (Example) ABOCN
*Solid state switches marked with a “( " are manufactured upon receipt of order.

Refer to p.2.3-6 for parts No. of auto switch mounting brackets.

2.3-2



Compact Cylinder/Standard: Double Acting Single Rod Series CQZ

Style

s Bore size (mm) 12 16 20 25 32 40 50 63 80 | 100

| Throughhole (Standard)| @ @ @ o o @ @ [ [ [

Mounting
Both ends tapped | @ [ ] [ ] [ ] [ ) [ ] [ ] ([ ] [ ) [ ]
Built-in magnet [ ] [ ] o [ ] ) [ ] [ ] [ ] ) o
Q
Ve 2 Serewdin style| M5 X [ M5 X | M5 X | M5 X M5 x 68| Re(PT) [Re(PT) | Re(PT) |Re(PT) | Re(PT)

i % Piping 0.8 | 0.8 | 0.8 | 0.8 Re(PNIB| 1/8 1/4 | 1/4 | 3/8 | 3/8
1 & With One-touchfiting | — | — | — | — |@6/4@| g6/4 | 08/6 | #8/6 | — | —

Rod end male thread o [ )
With rubber bumper (] [}
o [

Rear boss mount

Through hole
. (Standard)
Mounting
Both ends tapped | — —
2 |Built-in magnet —_ —
2 (1)
Slai ' M5 X | M5 X |ms x 0.8| Re(PT) | Re(PT) | Re(PT) | Re(PT) | Re(PT)
.= |Pipin Screw-in style| — — ’
g |"Png y 0.8 | 0.8 [RePU8 1/8 | 1/4 | 1/4 | 318 | 38
Rod end male thread - — ® | e o ® | ©o ® O [ J
Rear boss mount — — [ () [ [ ) [ () [ [
JIS symbo[ Symbol Note 1) Among those without an auto switch, only the 5mm stroke uses M5 X 0.8 piping.
Note 2) Among those with a built-in fitting, the 5mm stroke with the 832 bore has the same outer dimensions as
Double acting: Single rod Rear boss mount the 10mm stroke.
Specifications
1 I I Style Pneumatic (Non-lube) Air-hydro
Fluid Air Turbine oil @)
d d it . Proof pressure 1.5MPa
Made to Order SpeCI ications Max. operating pressure 1.0MPa CU
Refer to p.5.4-1 for common made to Ambient and fluid t . Without auto switch: —10°C to 70°C (No freezing)
e . mbient and fluid temperature
order specifications and p.5.4-79 for With auto switch: ~10°C to 60°C (No freezing) CQS
individual specifications. Rubber bumper None
Rod end thread Female thread
Allowable Kinetic Energy Tolerance of rod end thread JIS class 2
-
. . +1.0
Refer to p.2.3-4 for allowable kinetic Tolerance of stroke length 0
energy. Mounting Through-hole
Piston speed 50 to 500mm/s ‘ 5 to 50mm/s
Standard Stroke Note 1) Refer to p.0-43 for precautions.
Note 2) For applications involving lateral loads, refer to the “Lateral Load Resistant Style" on p.2.3-118.
Pneumatic Minimum Operating Pressure Unit: MPa
i B i 12 1 2 2 2 4 1
Bo(rne1 sie S ) G ore size (mm) | 26 | 20 | 25 | 32 [ 40 [ 50 | 63 | 80 | 100
Pneumatic (Non-lube) 0.07 0.05
12, 16 5,10, 15, 20, 25, 30 Air-hydro — 0.18 \ 0.10
20, 25 5, 10, 15, 20, 25, 30, 35, 40, 45, 50 .
32, 40 5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100 Intermediate Strokes
50 to 100 | 5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100 Style Standard body Exclusive body (-XB10)
« Refer to p.2.3-108 when stroke exceeds standard range. Vode! N Refer to "How to Order” for Specify "XB10" at the end of the
oaet o standard model No. on p.2.3-2. | standard model No. shown on p.2.3-2.
Air-hvdro Method Intermediate strokes at Imm Intermediate strokes at 1mm
y. g]g;)earggpﬁiﬁ]ritg\r’%ﬁgl;nggs'ng increments are available by using an
Bore size Standard stroke (mm) cylinders. exclusive body for required stroke.
20, 25 5,10, 15, 20, 25, 30, 35, Stroke range Bore size Stroke range Bore size Stroke range
40, 45,50 12,16 1to 29 12,16 6 to 29
32,40 | 210,15 20,25, 30,35, 20, 25 11049 20, 25 61049
40, 45, 50, 75, 100
3210 100 1t0 99 32, 40 61099
50, 63 10, 15, 20, 25, 30, 35, 40, 50 to 100 11to 99
80, 100 45, 50, 75, 100
Example Model No.: CQ2B50-57D Model No. CQ2B50-57D-XB10
A 18mm width spacer is Makes an exclusive body for
installed in the standard 57mm stroke.
CQ2B50-75D. B dimension is 97.5mm.

B dimension is 115.5mm.

1) Consult us when intermediate strokes with a spacer are required for @40 to 100 rubber bumper
models.

2) Reference values for length dimensions are different in case of 832 to 100 exclusive body models
(-XB10) with a stroke exceeding 50mm.
Calculate length dimensions by deducting from those of 75 or 100mm stroke models.

3) Refer to long stroke styles of CQ2 (P.2.3-108) for strokes exceeding the stroke range.

2.3-3



Series CQZ2

A Precautions

(2) Exercise caution even when using an appropriate

Be sure to read before handling. 1 A Caution pair of pliers (tool for installing a C snap ring),
- ~ - - because of the possibility of the snap ring becoming
1 Refer to p.0-39 to 0-46 for Safety 1 L_Snap Ring Installation/Removal ‘ detached from the tip of the pliers (tool for installing a

Instructions and common
precautions.

1 () For installation and removal, use an

appropriate pair of pliers (tool for installing a
C snap ring).

C snap ring) and flying away, which could injure
humans or damage the peripheral equipment. After
installing the snap ring, make sure that it is placed
securely in the ring groove before supplying air.

Allowable Kinetic Energy

Allowable Lateral Load at Rod End

Table 1: Load weight and Piston speed [9] 1J = 0.102kgf/m

Without auto switch (anti-lateral)

Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
Standard allowable
kinetic energy: Ea
With rubber bumper
allowable kinetic energy: Eb

0.022]0.038(0.055| 0.09 | 0.15 | 0.26 | 0.46 | 0.77 | 1.36 | 2.27

0.043]0.075(0.110{ 0.18 | 0.29 | 0.52 | 0.91 | 1.54 | 2.71 | 4.54

2 z

Kinetic energy E(J)=M s
K

m1: Weight of cylinder operating part kg é
m2: Load weight kg g
V: Piston speed m/s %
Table 2: Weight of cylinder operating part/Without magnet  unit: g g
Bore Cylinder stroke (mm) <

(mm)| 5 | 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100
12 5 6 7 8 |10 | 11 | — - -1 -=-1- -
16 9 |11 13|15 |17 |19 | - - -1 -1 - -
20 |15 |18 | 21 | 24 | 27 | 31|34 |37 |40 | 44 | - -
25 |24 |28 |33 |37 |42 |46 |51 |55 |60 |64 | — -
32 |45 | 52|60 |68 |76 |84 |92 100|107 |115|170 |209
40 |64 | 72|80 | 88 | 96 |104|112|119|127|135|190 | 229

200

100

50
40

30
20

0.1

= ~—
E o~ [T~ T——__|s100
- g 730
s
\\\ ’\\ \\
r \\ ~ T \56‘3
NI e | 250
= ~ 1
= \\Q\;\:\\ 240
AN ~_ [ g32
- \ T~ \525
N N
\ I~_ 220
L L
216
NS
= 212

0 10 20 30 40 50 60 70 80 9
Stroke St(mm)

0 100

50 — |117]129| 141|153 |166 | 178|190 | 202 | 214 | 300 | 361
63 — | 153|165 (177|190 | 202 | 214 | 226 | 239 | 251 | 337 | 398
80 — | 270|289 |308 |327 | 347 | 366 | 385 | 404 | 423 | 557 | 653
100 | — |487 515|543 |570|598| 625|653 (681|708 | 901 1038

With auto switch (anti-lateral)

Table 3: Weight of cylinder operating part/With magnet  unit: g
Bore Cylinder stroke (mm)
(mm)| 5 | 10 [ 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100

2 | 8|9 |1w0|11|12|w3|-|-|-|-]|-1]-

16 |16 |18 |20 (22 (24 |26 | — | — | — | = | = | - §
20 |28 |31 (34|37 |40 |44 |47 |50 53|56 | — | - T
25 |44 |48 |53 |57 |62 |66 |71 |75 |80 |84 | — | - =
32 | 78 | 86 | 93 (101|109 [117 125133140 | 148|187 | 227 g
40 [109 117 | 125|133 (140 | 148 | 156 | 164 [ 172|180 | 219 | 258 s
50 | - |187 (199|211 223|236 |248 (260 | 272|285 | 346 | 407 ‘_é
63 | — |254 (266|278 (290 303 | 315|327 | 339 | 352 | 413 | 474 <
80 | — |433|453 (472|491 (510|530 |549 | 568 | 587 | 683|778
100 | — [741|768|796 | 823 | 851|879 | 906 | 934 | 962 |1099|1236
Table 4 Unit: g

Bore (mm) 12 |16 | 20 [ 25 | 32 | 40 | 50 | 63 | 80 100
Rodend | porton| 15| 3 | 6 | 12|26 | 27 | 53 | 53 |120|175

male thread | Nut 1|2 |48 |17|17|32|32]49|116
With rubber bumper o(0|-2|-3|-3|-7|-9(-18(-31|-56

200

100

50
40
30

20

0.1

[~
= \
= |
E \\\ ———| 9100
C N \\ !
r I~ I 280
|- \ \\\ \\‘
(SN I~ T 63

I~ —— 250

= I 1
NSNS REr
C \\\\zzs ~_[ 932
B \\ ~_220
[ 216
L N \

\\MZ

0 10 20 30 40 50 60 70 80 9
Stroke St(mm)

0 100

Calculation example: CDQ2B32-20DCM

* Cylinder weight: CDQ2B32-20D - 101g
« Option weight: Rod end male thread 43g
: With rubber bumper - -39

1419

2.3-4

T

7
|
[
]

L

w

(Mounting orientation: Lateral)




Compact Cylinder/Standard: Double Acting Single Rod Series CQZ

[ oo e——n Weight

Theoretical Force Unit: N Unit: g
Bore size . Operating pressure (MPa) Bore size Cylinder stroke (mm)
Operation
(mm) 0.3 0.5 0.7 (mm) 5 |10 [ 15 [ 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100
- IN 25 42 59 12 20|35 |41 |47 |54|60| - | - | - | -] -] -
ouT 34 57 79 16 42|50 |59 |67 |68 | - | -|-|-]-1]-
16 IN 45 75 106 20 63 | 75 | 88 | 101|114 | 127|140 |152 | 165|178 | - | -
ouT 60 101 141 25 86 | 100 | 115 | 129 | 144 | 158 | 173 | 187 [ 202 | 216 | - | -
0 IN 71 118 165 32 131|152 | 173|193 | 214 | 235 | 256 | 277 | 297 | 318 | 471 | 576
ouT 94 157 220 40 206 | 229 | 252 | 275 | 298 | 321 | 344 | 367 | 390 | 413 | 597 | 717
- IN 113 189 264 50 — | 369 | 405 | 441 | 477 | 514 | 550 | 586 | 622 | 659 | 951 | 1139
ouT 147 245 344 63 — | 538|579 | 620 | 661 | 702 | 742 | 783 | 824 | 865 | 1213 | 1424
- IN 181 302 422 80 — | 997 | 1064 | 1132 | 1200 | 1268 | 1336 | 1404 | 1471 | 1539 | 2111 | 2446
ouT 241 402 563 100 — | 1738 | 1829 | 1920 | 2011 | 2001 | 2192 | 2283 | 2374 | 2464 | 3269 | 3729
0 IN 317 528 739
ouT 377 628 880 . )
5 IN 495 825 1150 Option Weight Unit: g
ouT 589 982 1370 Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
63 IN 841 1400 1960 Both ends tapped 2| 2|6 |6 |6 | 6|6 |19|45]45
ouT 935 1560 2180 Rod end Male thread portion | 1.5 | 3 6 |12 |26 | 27 | 53 | 53 |120| 175
- IN 1360 2270 3170 male thread | 1| 2| 4|8 |17|17]32|32|49|116
ouT 1510 2510 3520 Rear boss mount 07/13| 2 | 3|5 |7 |13|25|45]|9
16 IN 2140 3570 5000 With rubber bumper 0|0|-2|-3|-3|-7|-9]-18[-31|-56
ouT 2360 3930 5500 With One-touch fitting - |- |-|-|12|12|21|21| - | -
Foot mounting (including bolt) | 55 | 67 | 164 | 186 | 143 | 155 | 243 | 324 | 696 | 1062
Mounting Bolt for CQ2 Front flange (including bolt) | 57 | 69 | 139 | 161 | 180 | 214 | 373 | 559 | 1056 | 1365
Rear flange (including bolt) | 54 | 65 | 133|152 | 165 | 198 | 348 | 534 | 1017 | 1309
Special long bolt for through-hole mounting is available. Double clevis (pin, snap ring, bolt) | 32 | 39 | 88 | 123|151 | 196 | 393 | 554 | 1109 | 1887
How to Order: Specify the required bolts. Calculation Example: CQ2D32-20DCM CU
Example) Bolt M3 X 25¢ 4pcs. « Cylinder weight: CQ2B32-20D  -errrererserercer
S Mounting bolt « Option weight: Both ends tapped
\?‘:g:{—L Rod end male thread - 43g
E— c Double cevls. —r
D =4
Model No. C D Mounting bolt Model No. C D Mounting bolt Model No. C D | Mounting bolt
CQ2B12-5D 25 | M3X25¢ CQ2B32-5D 30 | M5X30¢ CQ2B63-10D 50 | M8 X50¢
-10D 30 X30¢ -10D 35 X35¢ -15D 55 X55¢
-15D 65 35 X35¢ -15D 40 X40¢ -20D 60 X 60¢
-20D : 40 X40¢ -20D 45 X45¢ -25D 65 X 65¢
-25D 45 X45¢ -25D 50 X50¢ -30D 70 X70¢
-30D 50 X50¢ -30D 9 55 X55¢ -35D 145 | 75 X75¢
CQ2B16-5D 25 | M3X25¢ -35D 60 X 60¢ -40D 80 X80¢
-10D 30 X30¢ -40D 65 X 65¢ -45D 85 X85¢
-15D 5 35 X35¢ -45D 70 X70¢ -50D 90 X90¢
-20D 40 X40¢ -50D 75 X75¢ -75D 125 X125¢
-25D 45 X45¢ -75D 110 X110 ¢ -100D 150 X 150 ¢
-30D 50 X50¢ -100D 135 X 135¢ CQ2B80-10D 55 | M10 X 55 ¢
CQ2B20-5D 25 | M5X25¢ CQ2B40-5D 35 | M5X35¢ -15D 60 X 60 ¢
-10D 30 X30¢ -10D 40 X40¢ -20D 65 X 65¢
-15D 35 X35¢ -15D 45 X45¢ -25D 70 X70¢
-20D 40 X40¢ -20D 50 X50¢ -30D 75 X75¢
-25D 75 [ 45 X45¢ -25D 55 X55¢ -35D 15 |80 X80¢
-30D : 50 X50¢ -30D 75 [ 60 X 60 ¢ -40D 85 X85¢
-35D 55 X55¢ -35D 65 X 65¢ -45D 90 X90¢
-40D 60 X 60 ¢ -40D 70 X70¢ -50D 95 X 95¢
-45D 65 X 65¢ -45D 75 X75¢ -75D 130 X130¢
-50D 70 X70¢ -50D 80 X80¢ -100D 155 X 155 ¢
CQ2B25-5D 30 | M5X30¢ -75D 115 X115¢ CQ2B100-10D 65 | M10 X 65 ¢
-10D 35 X35¢ -100D 140 X 140 ¢ -15D 70 X70¢
-15D 40 X40¢ CQ2B50-10D 45 | M6 X45¢ -20D 75 X75¢
-20D 45 X45¢ -15D 50 X50¢ -25D 80 X80¢
-25D 95 |90 X50¢ -20D 55 X55¢ -30D 85 X 85¢
-30D : 55 X55¢ -25D 60 X 60¢ -35D 155 [ 90 X90¢
-35D 60 X 60 ¢ -30D 65 X 65¢ -40D 95 X 95¢
-40D 65 X 65¢ -35D 125 [ 70 X70¢ -45D 100 X100 ¢
-45D 70 X70¢ -40D 75 X75¢ -50D 105 X 105 ¢
-50D 75 X75¢ -45D 80 X80¢ -75D 140 X140¢
-50D 85 X85¢ -100D 165 X 165 ¢
-75D 120 X120 ¢
-100D 145 X 145¢

2.3-5



Series CQZ2

Construction

@

® @ @ ® @
1

\

\

|

—~
{©)
&

L
y \ L
14 ]
gl N
A s
—l/ With rubber bumper Rear boss mount
[ s
|/ an
Basic
With One- touch fitting Rod end male thread
Component Parts
No. Description Material Note No. Description Material Note
@ | cylinder tube Aluminum alloy Hard anodized © | BumperB Resin
@ | Piston* Aluminum alloy Chromated Guide boss ring Aluminum alloy Hard anodized 220 to 100
. Stainless steel 212 to 925 @ | One-touch fitting 232 to 963
3 | Piston rod* -
Carbon steel 932 to 100, Hard chrome plated (2| Piston seal NBR
@ | Collar Aluminum bearing alloy | 212 to 40, Anodized @3 | Rod seal NBR
Aluminum alloy casting | 850 to 8100, Chromated, plated Gasket NBR
® | Snap ring Carbon tool steel Phosphate coating
® | Bushing Lead bronze casting For @50 or larger
@ | Rod end nut Carbon steel Nickel plated
Bumper A Urethane
Replacement Parts: Seal Kits Replacement Parts: Seal Kits
Style Bf)re Kit No. Contents Style Bere Kit No. Contents
size size
12 CQ2B12-PS 20 CQ2BH20-PS
16 CQ2B16-PS 25 CQ2BH25-PS
20 EQisng: Air-hydro jé CQ2BH32-PS Kits include items (2,
Pneumatic 25 CQZBSZ_PS Kits include items (2, style = CQ2BH40-PS (3 and (9 from the
style 32 Q - (3 and (9 from the CQ2BH50-PS table above.
40 CQ2B40-PS 63 CQ2BH63-PS
table above.
50 CQ2B50-PS 80 CQ2BH80-PS
63 CQ2B63-PS 100 CQ2BH100-PS
80 CQZBSO'PS = Seal kits consist of items (2, 13 and (4 contained in one kit, and can be ordered using the
100 CQ2B100-PS order number for each respective tube bore size.
Auto Switch Mounting Brackets Parts No.
Bore size Mounting Applicable switch [Stainless steel mounting bolt set] ) )
Note - n - The set of stainless steel mounting screws (with nuts) described below
(mm) JIEE & ZEENE, Reed switch Solid state switch is available and can be used depending on the operating environment.
12/16 «Switch mounting screw D-F70, J79 (The spacers for auto switches must be ordered separately, as they are
2 BQ-1 (M3 X0.5X8¢) D-E700V not included.)
0/25 «Square nut D-A70, A80 D-J79C BBA2: For D-A7/AS/F7/J7 types
The stainless steel bolts described above are used when the D-F7BA
«Switch ti D-A73C, ABOC D-F70OW, J79W type switch is shipped mounted on a cylinder. When the switches are
32/40 Mvél ;:( Omgl)J? i%glscrew D-A70H, A8OH D-F7OWV shipped as individual parts, the BBA2 set is included.
50/63 Bz | M3X0. ) |D-ATOW D-F7BA
*Switch spacer D-F70F
80/100 *Switch mounting nut )
D-F7NT

2.3-6



Compact Cylinder/Standard: Double Acting Single Rod Series CQZ

Clean Series Copper Free

CQZB‘ Bore size H Stroke ‘D(M) 20—CQZB‘ Bore size H Stroke ‘D(C)(M)

I:opper free series

212, 916, 820, 925, 832,
240, 850, 863

212, 916, 820, 825, 832, 840, 850,
263, 880, 100

Clean series
10—Relief style
11—Vacuum style

The rod portion of the actuator has a double seal construction,
and a relief port is provided to discharge the exhaust air directly
outside of the clean room. Thus, it can be used in a Class 100

To eliminate influences of copper ions or halogen ions during CRT
manufacturing processes, copper and fluorine materials are not
used as component parts.

clean room.

Specifications

Specifications

-

= —

. { _"!_,f'f'_

Action

Double acting single rod

Action

Double acting single rod

Cylinder bore size

212, 916, 820, 825, 832, 240, 850, 263

Cylinder bore size

912, 816, 820, 825, 32, 840, 850, 863, 280, 8100

Proof pressure 1.5MPa Proof pressure 1.5MPa
Max. operating pressure 1.0MPa Max. operating pressure 1.0MPa
Rubber bumper None ) Rubber bumper With, Without

Piping method

Screw-in piping

Piping method

Screw-in piping

Piston speed 50 to 500mm/s Piston speed 50 to 500mm/s Cu
Mounting Through-hole Mounting Through-hole, Both ends tapped CQS
Auto switch Attachable Auto switch Attachable

Note 1) 12 with switch: With rubber bumper (Standard)

Construction

Water Resistant

10-CQ2 Series
(Double seal)

A relief port is provided in the area
between the double rod seals to
discharge the exhaust air outside of
the clean room. Thus, the amount
of dust generated has been
reduced to 1/20 of that of an
ordinary cylinder.

11-CQ2 Series
(Single seal/Vacuum adsorption)

Vacuum port

(Vacuum adsorption)

Structurally identical to the "10-"
series, the outer rod seal has been
removed to evacuate through the
vacuum port. This draws out any
external air from the clearance
between the rod and the cover to
practically eliminate the generation
of external dust. This should be
used in an application that requires
an even higher level of cleanliness
than the "10-" series.

CDQ2 ‘Mounting‘ ‘Bore size‘

Stroke |D| Option | F7BAL [ -XC6

With auto switch
(Built-in magnet)

Water resistant 2 color

Made to
Order

Relief port indication solid state
ﬁ ﬁ Water resistant cylinder S"f
Bushing R | Seal NBR (Nitril rubber)
‘ Rod seal V | Seal FKM (Fluoro rubber)

This is ideal for use in a machine tool environment exposed to coolant.
It is also well suited for use in areas in which water splashes, such as food
processing equipment or car washers.

Specifications

Y=
(P

Action

Double acting Single rod

Bore size (mm)

220, 925, 832, 240, 850, 863, 80, 2100

Cushion

None

Auto switch mounting

Rail mounting (D-F7BAL)

Made to Order

Piston rod, Rod end nut: Stainless steel (-XC6)

* Specifications except mentioned above are same as standard basic.

2.3-7




Series CDQZ2

Auto Switch Specifications

Refer to p.5.3-2 for details of auto switch.

)

L)

. Minimum Strokes for Auto Switch Mounting (mm)
\V D-A70H
%; — D-A70 D-A80H D-F70W
A / Number | D-F700V | D-A80 D-F700 D-J79W
\ 3 D-F7OWV D-A90]
g ofauto | D-J79C | D-A73C D-J79 | D-A79W |p.r7paL | D-F7LF
“‘--//r") switches | D-Forv | D-agoc |P WY |p.FoB - D-FON
| D-A9CIV D-FoP D-FO9BAL
¥ \ i D-FOOW
/ 1pc. 5 5 10 15 15 20 25 10
2pcs. 5 10 15 15 20 20 25 10
Applicable Auto Switch
Style Auto switch model Electrical entry (Function) Page
D-A70/A80 Grommet (Perpendicular) 5.3-14
D-A700H/A80H Grommet (In-line) 212 to 2100 5.3-15
. D-A73C/A80C Connector ° 5.3-16
Reed switch -
D-A79W Grommet (2 color, Perpendicular) 5.3-26
D-A90] Grommet (In-line) 5.3-19
D-A90V Grommet (Perpendicular) 232 10 4100 5.3-20
D-F70/379 Grommet (In-line) 5.3-34
D-F700V Grommet (Perpendicular) 5.3-35
D-J79C Connector 5.3-36
o Grommet (2 color, In-line 3-
D-F70OW/J79W ( ) . 212 to 100 5.3-44
D-F7O0WV Grommet (2 color, Perpendicular) 5.3-45
. D-F7BAL Grommet (2 color, Water resistant, In-line) 5.3-57
Solid state — - -
S D-F79F Grommet (2 color, With diagnosis output, In-line) 5.3-53
D-FO9BAL Grommet (2 color, Water resistant, In-line) 5.3-67
D-F7NTL Grommet (With timer, In-line) 5.3-60
D-FoOI Grommet (In-line) 5.3-39
D-FoCIV Grommet (Perpendicular) 5.3-39
- 232 to 2100
D-FOOW Grommet (2 color, In-line) 5.3-66
D-FOOWV Grommet (2 color, Perpendicular) 5.3-66
D-F7LF Grommet (2 color, Latch with diagnostic output, In-line) 5.3-52
1 Besureto read before handling.
L Refer to p.0-39 to 0-43 for common precautions when auto switch is used. JI
Weight Unit: g Option Weights Unit: g
Bore Cylinder stroke (mm) Bore size (mm) 12 |16 | 20 [ 25 | 32 | 40 | 50 | 63 | 80 |100
(mm)| 5 | 10 | 156 [ 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100 Both ends tapped 1]/1[3|3|6|6]|6/|19|45]45
12 |47 |54 |60 |67 | 748 | - | - | -] -]~ - Rodend |Malethread| 1.5 12 | 26 | 27 | 53 | 53 {120|175
16 73 | 82 | 92 |101 110|119 | - - - - - - male thread Nut 1 17 |17 1 32 | 32 | 49 |116
20 | 109|122 |136 | 150|164 | 178 | 191 | 205|219 | 233 | - | - Rear boss mount 07113 517 | 13| 25| 45 | 96
25 | 144|161 | 178|195 | 211 | 228 | 245 | 262 | 278 | 295 | - | - With rubber bumper | 0 | -1 | -2 | -3 | -3 | -7 | —9 |-18|-31|-56
32 | 190 | 211 | 232 | 252 | 273 | 294 | 315 | 335 | 356 | 377 | 482 | 587 With One-touch fitting | — | — | — | — | 12|12 |21 |21 = | =
282
40 82 305 | 328 | 351 | 375 | 398 | 421 | 444 | 467 | 490 | 610 | 730 Foot (including bolt) 49 | 62 [147|169|143|155|243|324 |696 (1062
50 — | 487 | 523 | 559 | 595 | 632 | 668 | 704 | 740 | 777 | 965 |1153 - -
Front flange (including bolt)| 54 | 67 |131|153 (180|214 |373|559 1056|1365
63 — | 696 | 737 | 778 | 819 | 860 | 901 | 941 | 982 1023 (1235|1446
Rear flange (including bolt) | 52 | 63 |124|144|165|198 | 348|534 1017|1309
80 — |1258(1325|1393|1461|1529|1597 1665|1732 |1800 (2135|2469 Double clev
ouble clevis
100 | - [2118(2209(2299|2390( 2481|2572 | 2662|2753 | 2844 [ 3304|3764 (inclucing pin, snap ring, boty | 29 | 35 | 78 |114/1511196 393554 |1109/1887

Weight/Auto Switch Mounting Bracket

Part No. Bore size Weight (g)
BQ-1 212 to 925 15
BQ-2 232 to 9100 1.5

Refer to p.5.3-75 for auto switch weight.

2.3-8

Calculation example: CDQ2D32-20DCM

« Cylinder weight: CDQ2B32-20D

« Option weight: Both ends tapped -
Rod end male thread
With rubber bumper -
Double clevis

If auto switches are to be

added.

installed, the weight that
corresponds to the numberof
auto switches and mounting

brackets to be used must be



Compact Cylinder/Standard: Double Acting Single Rod Series CDQZ

Construction

BN () AR AR (Y (7
® O ﬁ*‘ w0 ,@ 'f’ T 7‘3 @ Components Parts
\ # T No.| Description Material Note
] ] ‘."‘ ]Z\] r (@ | Cylinder tube Aluminum alloy Hard anodized
'\‘ 1 ] @ | Piston Aluminum alloy Chromated
. ® | piston rod Stainless steel 912 to 825
Carbon steel |#32 to 100, Hard chrome plated
. - ‘[ ] — @ | coliar Aluminum bearing alloy| 232 to @40, Anodized
Aluminum alloy casting| @50 to 8100, Chromated, plated
(® | Snap ring Carbon tool steel Phosphate coating
® | Bushing Lead bronze casting For @50 or larger
] @ | Magnet
Piston seal NBR
\ ©® | Rod seal NBR
EI‘ \ Gasket NBR
Auto switch

Replacement Parts: Seal Kits

Replacement Parts: Seal Kits

Series Bore size Kit No. Contents Series Bore size Kit No. Contents

(mm) (mm)

12 CQ2B12-PS 20 CQ2BH20-PS

16 CQ2B16-PS 25 CQ2BH25-PS

20 CQ2B20-PS 32 CQ2BH32-PS o .

25 CQ2B25-PS___| Kits include items ®), Ai-hydro 40 CQ2BH40-PS g::g'gg?rg;m;f)’

Preumatic 32 CQ2B32-PS ® and (0 from the 50 CQ2BHS50-PS table above

40 CQ2B40-PS table above. 63 CQ2BH63-PS ’

50 CQ2B50-PS 80 CQ2BH80-PS

63 CQ2B63-PS 100 CQ2BH100-PS

80 CQ2B80-PS #Seal kits consist of items (®), ® and (0 contained in one kit and can be ordered using the
100 CQ2B100-PS order number for each respective tube bore size.

Mounting Bolt for CDQ2 with Auto Switch

Special long bolt for through hole mounting

is available as option.

How to Order: Specify the required bolts.
Example) Bolt M3 X 35¢ 2pcs.

Mounting bolt

Model C D [Mounting bolt Model C D [Mounting bolt Model C D [Mounting bolt

CDQ2B12-5D 35 | M3X35¢ CDQ2B32-5D 40 | M5X40¢ CDQ2B63-10D 60 M8 X 60¢
-10D 40 X 40¢ -10D 45 X 45¢ -15D 65 X 65¢

-15D 5.5 45 X 45¢ -15D 50 X 50¢ -20D 70 X 70¢

-20D : 50 X 50¢ -20D 55) X 55¢ -25D 75 X75¢

-25D 55 X 55¢ -25D 60 X 60¢ -30D 80 X 80¢

-30D 65 X 60¢ -30D 9 65 X 65¢ -35D | 145 | 85 X 85¢
CDQ2B16-5D 40 | M3 X 40¢ -35D 70 X70¢ -40D 90 X 90¢
-10D 45 X 45¢ -40D 75 X 75¢ -45D 95 X 95¢

-15D 8 50 X 50¢ -45D 80 X 80¢ -50D 100 X 100¢

-20D 55 X 55¢ -50D 85 X 85¢ -75D 125 X125¢

-25D 60 X 60¢ -75D 110 X110¢ -100D 150 X 150¢

-30D 65 X 65¢ -100D 5 X 135¢ CDQ2B80-10D 65 | M10 X 65¢
CDQ2B20-5D 40 | M5X40¢ CDQ2B40-5D 45 | M5X45¢ -15D 70 X 70¢
-10D 45 X 45¢ -10D 50 X 50¢ -20D 75 X 75¢

-15D 50 X 50¢ -15D 55 X 55¢ -25D 80 X 80¢

-20D 55 X 55¢ -20D 60 X 60¢ -30D 85 X 85¢

-25D_| 105 |60 X 60¢ -25D 65 X 65¢ -35D 15 90 X 90¢

-30D 65 X 65¢ -30D 75 70 X 70¢ -40D 95 X 95¢

-35D 70 X 70¢ -35D 75 X 75¢ -45D 100 X 100¢

-40D 75 X 75¢ -40D 80 X 80¢ -50D 105 X 105¢

-45D 80 X 80¢ -45D 85 X 85¢ -75D 130 X 130¢

-50D 85 X 85¢ -50D 90 X 90¢ -100D 155 X 155¢
CDQ2B25-5D 40 | M5 X 40¢ -75D 115 X 115¢ CDQ2B100-10D 75 | M10 X 75¢
-10D 45 X 45¢ -100D 140 X 140¢ -15D 80 X 80¢

-15D 50 X 50¢ CDQ2B50-10D 55 | M6 X55¢ -20D 85 X 85¢

-20D 55 X 55¢ -15D 60 X 60¢ -25D 90 X 90¢

-25D 95 60 X 60¢ -20D 65 X 65¢ -30D 95 X 95¢

-30D ’ 65 X 65¢ -25D 70 X 70¢ -35D 15.5 | 100 X 100¢

-35D 70 X 70¢ -30D 75 X 75¢ -40D 105 X 105¢

-40D 75 X75¢ -35D 125 | 80 X 80¢ -45D 110 X 110¢

-45D 80 X 80¢ -40D 85 X 85¢ -50D 115 X115¢

-50D 85 X 85¢ -45D 90 X 90¢ -75D 140 X 140¢

-50D 95 X 95¢ -100D 165 X 165¢

-75D 120 X 120¢
-100D 145 X145¢

2.3-9




Series CQZ2
212 to 825

Both ends tapped: CQ2A

Of1Thread R

R

{ | - Both ends tapped  (mm)
Standard (Through-hole)/CQ2B —fr—— Bf’(:j;')ze o |R
W 12 |M4x07]| 7
ﬂ_ _ 16 |[M4X07]|7
20 |M6X1.0]10
25 |M6X1.0]10
H thread effective depth G 4-oN through Q E 5.M5 X 0.8
8-00 counter bore - -
(Port size)
¥
o7 5 5 ! +
\
. I I of M A Pnd
°r MY o
(2] Ll
o
!
7/
K L B+Stroke
——-
M - A+Stroke
E
Rear boss mount
Rear boss mount ()
AV Fi ff\ % Bore
- O 11 & () | G| ™
12 |15| 15804
16 [1.5| 2090s
20 2 13 3043
25 2 | 15304
G Note) Rod side with guide boss:
Option (Specify -XC36 at
end of model no.)
Rod end male thread
Hi1
Rod end male thread (mm)
1 Y| Bore | o | x Hi1 L1
— (mm)
= W = 12 | 9 [105|M5X0.8]|14
) | 16 |10 |12 | M6 X 1.0 |155
Rodend nut* g C1 20 |12|14 | M8X1.25|185
X 25 |15 [175 | M10X 1.25 | 225
| S ——
L1
Standard (mm)
Bore Stroke range A B c D E = H I K L M N 0 Q Z
(mm) (mm)
12 5to 30 205| 17 | 6 6 | 25 | 5 |[M3X05| 32 | 5 |35 [155| 3.5 [65Depth35| 7.5 | —
16 5 to 30 22 [185]| 8 8 | 29 | 55 |M4X07| 3 | 6 | 35| 20 | 3.5 |65Depth35| 8 | 10
20 5 to 50 24 [195| 7 | 10 | 36 | 55 |M5X0.8| 47 | 8 | 45 |255| 55 |9Depth7| 9 | 10
25 5 to 50 275(225| 12 | 12 | 40 | 55 [M6X1.0| 52 | 10 | 5 | 28 | 55 [9Depth7| 11 | 10

Note) Dimensions of model with rubber bumper are same as mentioned above.

«Refer to p.2.3-18 for rod edge nut and optional bracket.

I Standard e, SCQ2 A, #1(#1+#9)
Rear boss mount «----w-veeeees SCQ2 A, #6 (#6+#9)

2.3-10

Refer to p.2.3-3 for calculation of cylinder
Q length with intermediate stroke.



Compact Cylinder/Standard: Double Acting Single Rod Series CQZ

Foot/CQ2L L _B + Stroke

XY o )( LG

LS+Stroke

A+Stroke

Front flange/CQ2F

oo
@19
Q--© |\ |

‘ _IFT |

FX \EEED. L . B+Stroke |
R e [ As+Stroke

Rod end male thread

Rod end nut* ML—(
-— L1 -

Rear flange/CQ2G

|
L/ _BsStroke | [FT

L _ A+Stroke™ ]

Rod end male thread

Rod end nut*

Double clevis/CQ2D
4N

CT,. /Capbolt
oCDHoleH10.

I___ B+Stroke
" CL+Stroke

CW_BBJ
_ A+Stroke

Rod end male thread

Rod end nut* (
._J

Special cap bolt

FOOt (mm)
Bore | Stokerange | A | g | | |1 [1D|LG|LH|LS|LT|X|LY|Lz| X | ¥
(mm) (mm)
12 | 5t030 |353]|17[135]24[45(2.8[17| 5 | 2 [34]205]44] 8 |45
16 | 5t030 |368]185[135[255(4.5(2.8[19(6.5] 2 [38 (33548 8 | 5
20 | 5t050 [412[195]|145(285]6.6] 4 |24 |7.5]3.2]48|42]62]0.2]5.8
25 | 5t050 |447|225]15[325]6.6] 4 |26|7.5]3.2|52 4666 [107]5.8
Front flange (mm)
Bore |Strokerange| A | g Fp |FT|Fv|FX|FZ| L | L1
(mm) (mm)
12 51030 |305]17 |4.5|55]25] 4555 |135] 24
16 5t030 |32[185/4.5[55]30]45 55135 255
20 51050 |34[195/6.6| 8 394860 |145]| 285
25 51050 |375(225(6.6] 8 [42]52]64]15] 325
Rear flange (mm)
*#All dimensions except "A",
Bore |Strokerange| 5 [ | |11 [ "L" and "L1"are same as
(mm) (mm) rod side flange type.
12 51030 |26|35]14
16 51030 |275/3.5/155
20 51050 |32]4.5[185
25 5t050 [355| 5 |225
Double clevis (mm)
Bore | Stroke | A | g |cplcL|cT|culew|cx|cz| L [Lt1| N |RR
(mm) (mm)
12 | 51030 |405(17] 5 [345] 4 | 7 [14]| 5 [10[35]14 [Max07] 6
16 | 5t030 |43(185] 5 |37 4 |10|15[65]1235]155|max07 | 6
20 | 5t050 |51(195| 8 [42| 5 [12]18] 8 [16]4.5]185[M6x10 | 9
25 | 5t050 |575(225] 120|475 5 [14]20[10[20] 5 [225[mM6x 10 |10

« Refer to p.2.3-18 for rod end nut and optional brackets.

#x Clavis pin and snap ring are contained.

=

Foot
Front Flange
Rear Flange -
Double Clevis

SCQ2[Bore size|A, #2(#2+#9)
- SCQ2 [Bore sizelA, #3(#3+#9)
--SCQ2 [Bore size] A, #4(#4+#9)
SCQ2[Bore size|A, #5(#5+#9)

2.3-11




Series CDQZ2
L
ﬂlz tO ﬂ25 With Auto Switch

Standard (Through-hole)/CDQ2B

Both ends tapped: CDQ2A

Onithread __ R

Both ends tapped (mm)
Bore
(mm)

12 M4 X0.7| 7
16 M4 X0.7| 7
20 M6 X 1.0 | 10
25 M6 X 1.0 | 10

O1 R

Lead wire minimum 22
bending radius 10 11 H Thread effective depth C Auto switch
i
a! Y,
%y | 1
| “\
2-oN through Q Lli \2-M5 X 0.8
4-g0 counterbore | B + Stroke (Port size)
A + Stroke
Rear boss mount Rear boss mount g
Bore G Tho
(mm)
12 [1.5| 15304
16 |1.5| 20384
20 2 | 138us
¥ 2 25 2 15 3 043
7] BRI i Notel) Rod side with guide
@ boss: Option (Specify
"-XC36" at end of
.@. _@ model no.)
G
Rod end male thread  (mm)
Rod end male thread Bore
Ci| X Hi L1
(mm)
H: 12 | 9 [105] M5X0.8 |14
—\ 16 10| 12| M6 X 1.0 [155
A 20 12| 14 | M8 X 1.25 | 185
ﬁ: F B 25 |15[175] M10X 125 [225
A=
Rod end nut®
LN
N B
L1
- =
Auto switch shown above is D-A73 and D-A80.
Refer to p.2.3-20 for auto switch mounting position
and mounting height.
Standard (mm)
Bore Stokerange | o [ B [ c | D | E | F H K| L |M|N o Q| s |u|v
(mm) (mm)
12 5to 30 315| 28 6 6 32 | 65 |M3X05| 5 35 | 22 | 3.5 |65Depth35| 11 |35.5|19.5| 25
16 5to 30 34 (305 8 8 38 | 55 |M4XO0.7| 6 3.5 | 28 | 3.5 |65Depth35| 10 |41.5|22.5| 29
20 5to 50 36 |315]| 7 10 | 47 | 55 |M5X0.8| 8 45 | 36 | 55 |9Depth7|105| 48 |245| 36
25 5 to 50 375|325 12 12 52 [ 55 |[M6X1.0| 10 5 40 | 5.5 |9Depth7| 11 |[53.5|27.5| 40
I Standard e SCQ2[Bore size| #1(#1+#12+#14)

Rear boss mount -+ SCQ2[Bore size| #6(#6+#12+#14)

2.3-12

#Refer to p.2.3-18 for rod end nut and optional brackets.

Q Note 2) Dimensions with rubber bumper are same as standard shown above.

Note 3) Refer to p.2.3-3 for calculation of cylinder length with intermediate stroke.



Compact Cylinder/Standard: Double Acting Single Rod Series CDQZ

Foot /CDQ2L

L  B+Stroke

Special cap bolt

xXH Mx|ie
- txz — ] LS+Stroke
- < A+Stroke

Rod end male thread

Rod end nut”®

L1

Front flange/CDQ2F

Rod end
male thread -

03 . l _Rod end nut”* /
' LJFT
2] L1 BsStroke
[ "AsStroke
Rear flange/CDQ2G

Rod end
male thread

dj‘ = Rod end nut*

|__B+Stroke

. A+Stroke ]

Double clevis/CDQ2D

Cap bolt .
[ oCD holeH10%7(e¥
i [
Axis d9 [ >j

ju

l 1

p—; )
o
o

+B+§troke -
CL+Stroke
A+Stroke
Rod end

male thread
L

_Rodend nut* /L-L1

FOOt (mm)

Bore | Strokerange | A | g | |11 |ip|LG|LH|LS|LT x|y |z x | ¥
(mm) (mm)

12 51030 (46328 (135|24(4.5|2.8{17|16| 2 |34(295|44| 8 |45

16 51030 |488/305(135/255/4.5/2.8|19 |185| 2 |38335/48| 8 | 5

20 5t050 |532(315(145/285/6.6| 4 |24 |195/3.2|48|42|62|9.2|5.8

25 5t050 |54.7|325|15325/6.6| 4 |26 |175/3.2| 52 | 46 | 66 |10.7|5.8

Front flange (mm)
Bore |Stroke range
(mm) (mm) A | B |FD|FT|FV|FX|FZ| L |L1
12 5t030 [415]28 |45]|55|25|45|55|135| 24
16 5t0 30 44 [305]|4.5|55|30 | 45| 55 | 135|255
20 51to 50 46 |315|6.6| 8 [ 39 |48 | 60 |145(285
25 5t050 [475]325|6.6| 8 |42 |52 |64 |15 |35

Rear flange (mm)

*All dimensions except "A",
“L" and and "L1" are same
as Rod side flange type.

Bore |Stroke range AlLlu
(mm) (mm)
12 5to 30 37 (35|14
16 5t030 [395/3.5(155
20 5t050 |44 |45[185
25 5t050 |455| 5 [225

Double clevis (mm)

Bore |Strokerange| » | g |cp|cL|cT|culcw|cx|cz| L [L1| N [RR
(mm) (mm)

12 5t030 |515/28| 5 |455| 4 | 7 |14|5 |10|3.5/14 |M4X0.7

16 5t030 |55(305| 5 [49| 4 |[10|15|6.5|12|3.5/155|M4X0.7

(o} N} Ne)

20 5t050 |63|315/ 8 54| 5 (12|18 | 8 |16 |4.5/185/M6X 1.0

25 5to50 |675(325|10(57.5| 5 [14|20(10|20| 5 |225|M6X 10|10

«Refer to p.2.3-18 for rod end nut and optional brackets.
#+Clavis pin and snap ring are contained.

I Bore size|, #2(#2+#12+#14)
Front Flange Bore size|, #3(#3+#12+#14)
Rear Flange Bore size|, #4(#4+#12+#14)
Double Clevis «-eeeeeeees SCQ2 |Bore size|, #5(#5+#12+#14)

2.3-13




Series CQ2/CDQZ2
@32 to @50

For those without auto switches, refer to the dimension chart
With Auto Switch because their A, B, F, P and Q dimensions will differ.

Both ends tapped: CDQ2A Both ends tapped (mm)

R R Bore o1 R
pb—
Otthread C "1 (mm)
L ¥ — 32 M6 X 1.0 | 10
40 M6 X 1.0 | 10
”_-l 50 M8 X125 | 14
H thread effective depth C
=U 4-gN through O 2-P F_
8-00 counter bore / (Portsize)
% 7
\ SH(+ + /
i = r!
o 1 (o] fjﬁ e -
Y] - N|ZS|w @ N
{m ® A
Lead wire minimum |~7
bending radius 10/ T @
. 2
Auto switch [ — 1
B-ATAR LK L B+ Stroke
M
= : A+Stroke Rear boss mount (mm)
S Bore | Thg
(mm)
_—t
Rear boss mount —32 | 2100,
W 40 28 5052
@, Al 2 50 35 9062
] g
o
H
Auto switch
D-A9/F9
2
Rod end male thread
Hi Rod end male thread (mm)
() Bore
)
— E (mm) Ci| X Hi L1
\F‘ 32 [205|235| M14 X 1.5 |285
/\/_/ 40 |205|235| M14X 1.5 (285
50 26 |285| M18 X 1.5 |335
Rod end nut* / Ci
X
L1
__2-P4 o -
{Piping tube O.D.) Built-in One-touch fitting (mm)
= —] Bore
L (mm) Z1|P1| V [W1
32 13| 6 |365(59
o - 40 13| 6 |405| 66
50 16| 8 |50 | 82
Standard Auto switch shown above is D-A73 and D-A80. Refer to p.2.3-20 for auto switch mounting position and mounting height. (mm)
Bore Stroke range Without auto switch With auto switch
C D E H | J K L M
(mm) (mm) A|B|F P Q| A|B|F P Q
5 30 | 23 5.5 [ M5X0.8/11.5
32 17%&138 ot 75 |Re(PT)L/8|10.5 40 | 33 | 7.5 |Rc(PT)1/8/10.5| 13 | 16 | 45 |[M8X125| 60 | 45| 14 7 34
40 ;’Stol?)% zgg ggg 8 |[Rc(PT)1/8| 11 |46.5(39.5| 8 |Rc(PT)1/8| 11 13 | 16 | 52 |M8X1.25| 69 5 14 7 40
50 1705t(i38 igg 43182 10.5 [Rc(PT)1/4/10.5 | 48.5|40.5 [10.5 |Rc(PT)1/4|{10.5| 15 | 20 | 64 |M10X 15| 86 7 17 8 50
Bore I Standard SCQ2 [Bore size], #1 (#1+#12+#14)
(mm) N o) S U z Rear boss mount:- SCQ2 [Bore size |, #6 (#6+#12+#14)
32 5.5 |9Depth 7|58.5/315| 14 Note 1) Dimensions of style with rubber bumper are same as standard shown above.
* Refer to p.2.3-18 for rod end nut and optional bracket.
40 5.5 |9Depth7| 66 | 35 | 14 Note 2) Because the method for calculating the longitudinal dimension of the intermediate stroke varies between
the spacer-installed style and the special body (-X10) style, refer to p.2.3-3 for details.
50 6.6 |11 Depth8| 80 | 41 | 19

2.3-14




Compact Cylinder/Standard: Double Acting Single Rod Series CQZ

Foot/CQ2L, CDQ2L L - Foot (mm)
a Bore |Stroke range |W/o auto switch| With auto switch Ll o lielimlor lix oy
: a (mm) (mm) A|B|LS|A|B|LS
g 51050 472 B[ 7
E— 32 | avion Tersl s ir(52| 8 | 71|17 |%5/66| 4 |30|3.2|57 |57
- 51050 |537 295135
] 40 e TorTTsea ze] 537|205| 25| 17 |35 |6.6| 4 | 33|3.2| 64 | 64
101050 |56.7[305] 75
: : 50 32900 TorTaoslias]667|405|175| 18 |435) 9 | 5 |39 |3.2| 79|78
—[:__fr____ : (mm)
| B
- Y X LG ore
- mmy | L2 X | Y
L LS+sStroke
A+Stroke 32 71(112]5.8
Rod end male thread 40 |78 |u2| 7
50 |95|u17] 8
Rod end nut
Front flange
Front flange/COQ2F 9° _ : mm)
Bore [Stroke range| Without. | With auto =mlier | mvlme =2l el o
caiker = e s
A WE— . ] 51050 4023
¥ o : e 32 oy TeoTa3]50 |33 |55 8 |48|56 65|17 |%5|34
o (] e ' . I 51050 [465]295
£ @ — pifre = 40 —2iopb—dea 831565195 (55| 8 54|62 72|17 85|40
\F S 1 - 50 101050 14851305 5551 405(6.6| 9 |67 |76 89 |18435|50
’x@ o= & o : = 75,100 [585[405] || ;
4-0FD FT
FX L™  B+Stroke |
FZ ~  A+Stroke CU
Rod end male thread ||
)
Rod end nut —
L1
Rear flange/CQ2G, CDQ2G Rear flange mm)
Without | With auto «All dimensions except “A”, “L"
— e Bore | SUOKe 181081 1o suiten| " swich L |L1 | and*“L1"are same a’; rod side
m— | Y U (mm) () A A flange mounting type
I T |1 5 to 50 38 7 loss v 9 type.
= — " 2 2SS 48 ,
. =————— ¥ = 3 - 5to 50 44.5
_}&_ — o ] 40 i3 10% tas—| 545 | 7|85
- | ) !
— — -t ¢ 50 [—redoo T ero— 575 | 8 (335
L B+Stroke FT]
A+Stroke
- Double clevis (mm)
Rod end male thread .? Bore |stroke range | W/o auto switch | With auto switch cpletlculewlexlezl ol
ran | Applicable to rear flange mm) | mm [A]BlcL[a]B][cL
4417+ mounting and double 32 21050 [ 60123150} 7| 33/6)|10|5|14|20|18|36| 7 |285
i \ 75,100 | 70 [33] 60
| clevis mounting. 51t0 50 |685[295]585
/ 40 ot IR 1 785(295|685) 10| 6 |14 |22|18(36 | 7 |285
Rodendnut L ' 50 | 101050 (80513051665 o unel765 14| 7 | 20| 28| 22| 44| 8 |235
) 75,100 | 905]405(765] "~ | ™ :
Double clevis/CQ2D, CDQ2D (mm)
CT 4N Bore
mmy | N |RR
32 [M6X10[10
40 [M6X10[10
50 |M8X125|14

* Refer to p.2.3-18 for rod end nut and optional brackets.
## Clevis pin and snap ring are contained.

l Front Flange -
Rear Flange -

Double Clevis -

IL|  B+Stroke | Cw AR
| CL+Stroke
+5Stroke |

.-SCQ2 [Bore size |, #2 (#2+#12+#14)
SCQ2 [Bore size |, #3 (#3+#12+#14)
SCQ2 [Bore size |, #4 (#4+#12+#14)
.-SCQ2 [Bore size], #5 (#5+#12+#14)

* The diagram shows with an auto switch, which may be deleted if unnecessary.

2.3-15



Series CQ2/CDQZ2

263 to 100

For those without auto switches, refer to the dimension

With Auto Switch chart because their A, B and Q dimensions will differ.

Standard (Through-hole)

Hitvead efieive cepth C
U /

0N trough
/800 counler bore

Lead wire minimum _
bending radius 10/

A

Both ends tapped: CQ2A, CDQ2A Both ends tapped (mm)

R

O1thread R Bore

(mm) O1 R
R | 63 MI0X15 |18
| I | 80 | M12X175 |22
100 | M12X175 | 22

G 2P F_

(Port size)
7N

oD

~ Auto swich /
D-A7, AB i
|
L BeStroke Rear boss mount (mm)
A+Stroke Bore The
Rear boss mount (mm)
63 35 9062
80 23000
100 | 59 547
Note 1) Rod side with guide boss:
4 m @ Option (Specify “-XC36" at
\\\-5/ S end of model no.)
\ Auto swiich Rod end male thread .
D-A9, F9 IR Rod end male thread (mm)
Bore
(mm) Ci1| X Hi L1
H
: 63 |26 |285| M18X 1.5 |335
_ 80 [325|355| M22X 1.5 (435
i @ 100 |[325[355| M26 X 1.5 |435
Rod end nut C1
X g -
11 Built-in One-touch fitting (mm)
2-P1
(Pining ube 0.0 (Bn%% Zi|P1| V |Wi
63 16 | 8 [565| 95
1O 0O
Standard Auto switch shown above is D-A73 and D-A80. Refer to p.2.3-20 for auto switch mounting position and mounting height. (mm)
Bore Head side with guide boss | W/o auto switch | With auto switch el wl = = - : ;5 . T B =
(mm) (mm) A|B|A]|B © Q
63 291391 54 | 46 | 15 | 20 | 77 [10.5|M10X15(108| 7 |17 | 8 | 60 | 9 |1Deph10s| Re(PTIL4 | 15 | 93
10 to 50 53.5]43.5
80 75, 100 635535 63.5|53.5| 21 | 25 | 98 |125|M16X2.0{ 132 | 6 | 22 | 10 | 77 | 11 |175Depth135| Rc(PT)3/8 | 16 |112.5
100 17%"188 gg gg 75 | 63 | 27 | 30 [ 117 | 13 |M20X25|156 | 6.5 | 27 | 12 | 94 | 11 |175Depth 135 Rc(PT)3/8 | 23 |132.5
mm Note 2) Dimensions of style with rubber bumper are same as standard shown above.
Bore # Refer to p.2.3-18 for rod end nut and optional brackets.
(mm) u z Note 3) Refer to p.2.3-3 for calculation of cylinder length with intermediate stroke.
63 475 19
Standard type Rear boss mount
80 57.5| 26 CQ2B32:wn- SCQ232, #1
CQ2B40--+--- SCQ240, #1 Add #6 (drawings of guide boss).
100 67.5| 26 CQ2B50: -+ SCQ250, #1

2.3-16

* The diagram shows with an auto switch, which may be deleted if unnecessary.



Compact Cylinder/Standard: Double Acting Single Rod Series CDQZ

|

Foot/CQ2L, CDQ2L Rear flange/CQ2G, CDQ2G

_L __ B+ Stroke

e N Gy

Special
cap bolt

e R

S+Stroke

LL__ B:Stroke |
A+Stroke
A+Stroke

s Rod end male —
||

thread

Rod end male thread

i Rod end nut /| i
r - 1
Rod end nut ﬂ:

L1

Double clevis/CQ2D, CDQ2D
Front flange/CQ2F, CDQ2F

CT 4-N
1 /Capboit
[rmm1) —— '
T i s et
e [ I — == E——
¢ /\@eﬁ | ——— — T
o "'1 WN 1,_ | I
;ﬂg:_rﬂ &Qj E Eﬁ! CE——
i | I
FX | \ 4-oFD | B+Stroke L Bgl_sfsolfgke Cvim ox2d
[ A+Stroke ] [ AsStroke - czil
Rod end male thread 510d ednd male j
rea
o cu
E@Fﬁﬂl
7
Rod end nut Rod end nut / i —“"}
Foot (mm) Rear flange (mm)
Bore |Stroke range| W/o auto switch | With auto switch Bore |Stroke range|W/o auto switch | With auto switch *All dimensions except
@m | @m [ alslals]"||0LeLH LS LT X | (mm) A 2 L L | oA L and oL1 are
101050 |62.2] 36 101050 53 M .
63 78 300 [oa e oo 722 | 46 | 18|45/ 11| 5 |46|20|32| 95 63 75100 > 63 8 [335 \ flange type
8o 2850 151435 85 | 535 | 20|55/ 13| 7 | 59|235]4.5|118 80 2530 e 745 |10 [435
100 (121050 88 123 198 | 63 |22|535|13| 7 |71|29] 6 [137 100 22950 e 86 |12 [435
Bore |Strok [
s rO(n«:rLa)nge izl s |+ Double clevis (mm)
10 to 50 Bore |Stroke range|W/o auto switch| With auto switch
63 (2190015113 162| 9 mm)| mm) | A ] B A]B |CP|CL|CT|cujcw|cx|cz]| L
80 31980 1114|140|105] 11 63 121950 1 88 1 36 | 95 | 46 14 (84| 8 |20(30|22(44| 8
100 (131050 1136/162| 23 |125 g0 |[-121050 1095 45.5 1195 | 535 | 18 [1015| 10 | 27| 38| 28 | 56 | 10
100 (121050 182 23 1142| 63 |22 [120] 13|31 |45 |32 | 64| 12
Front flange (mm) '
Bore [Stroke range|W/o auto switch| With auto switch Bore |Stroke range
mm | mm [ A T8 | aTs |P°FT|FYFX[FZ|L L™ oy | mm || N [RR
63 31030 22‘ 32 64 | 46 | 9 | 9 |80 |92 |108|18|435|60 63 521080 35| woxis | 14
101050 | 635435 10 to 50
80 2100 Tosaase] 735 | 535 |11 |11 |99 116|134 | 20 [535| 77 80 L2930 45| ux1rs | 18
101050 | 75 | 53 10 to 50
100 —AHOE0 {15153 g5 | 63 |11 |11 |117(136|154| 22 |535| 94 100 31950 45| mzxas | 22

*Refer to p.2.3-18 for rod end nut and optional brackets.
*Clevis pin and snap ring are contained.

- SCQ2 #2 (#2+#12+#14)
Front Flange - SCQ2 #3 (H3+#12+#14)
Rear Flange - scQ2 4 (HA+H12+#14)
Double Clevis - scQ2 #5 (#5+#12+#14)

2.3-17



Series CQZ2
L

Accessories

Single knuckle joint \ \ Double knuckle joint
I-G012, I-Z015A I-G04, I-G05 Y-G012, Y-Z015A Y-GO04, Y-G05
I-G02, I-G03 -G08, I-G10 Y-G02, Y-GO3 Y-GO08, Y-G10
oND hole H10 oND hole H10
axis d9
MM @NDnio MM @NDri1o MM
Y oy )
3 [ ;
\ 9 ¥ J
m ‘Lﬁ Aqf [ U
L1 NX E
A .._L._
Material: Rolled steel Material: Cast steel Material: Rolled steel Material: Cast steel
(mm) (mm)
PartNo.|%(*5*| A [ AL | Ex | L1 | MM ["Ri| Ui | NDHwo | NX Part No.|*Je| A |A1|Ex[Li| MM [*Ra|U1|NDro| NX NZLpaertiRlo_
I-G012 12 |215| 6 |010| 16 [M5X0.8|6.3| 7 | 5'3% | 5292 Y-G012 | 12 [21.5 6 |0110[ 16 [M5 X 0.8[6.3| 7 | 59 5-54|10|16] IY-G012
I-Z015A | 16 | 32 | 8 |12 25 [M6X1|8.1| 14 | 5758 |6.4-52 Y-Z015A| 16 | 28|11 (01221 |M6 X 1(8.1[10| 5'9°%6.5-52|12|18] IY-J015
I-G02 20 | 34 |85 (016 25 | M8X1.25(10.3{11.5| 8'5%% | 854 Y-G02 20 | 3485|016 25 [MBX1.25|10.3|115| 8"0%8| 854|161 |1Y-G02
I-G03 25 | 41 [105|020| 30 |M10X125/12.8| 14 [10*5%® | 10293 Y-G03 25 |41 (105|320 30 | MI0X1.25 |128] 14 |1075%%8| 10 33|20]%6] IY-G03
I-G04 (32, 40| 42 | 14 |222| 30 |[M14X 15| 12 | 14 [10*3% | 18293 Y-G04 |32, 40| 42 | 16 |@22| 30 | M14X 15 | 12 | 14 [10°5%%%| 18253 |36|46] IY-G04
I-G05 |50, 63| 56 | 18 |228| 40 |[M18X 15| 16 | 20 [14*3°7 | 22252 Y-G05 |50, 63|56 | 20 |28 40 | MI8X 15 | 16 | 20 |14°5°7°| 22253 44|56 1Y-G05
I-G08 80 |71 |21 [938| 50 [M22X 15| 21 | 27 |18"597° | 28292 Y-G08 80 | 7123|3850 | M2X 15|21 |27 |1875°| 28253|56/64] IY-G08
I-G10 100 | 79 | 21 |@44| 55 [M26X 15| 24 | 31 [2275%%* | 32252 Y-G10 | 100 |79 |24 |@44] 55 | M26X 15 | 24 | 31 [2273% 32203|64| 72| IV-G10
=Knuckel pin and snap ring are contained.
Knuckle pin (Common with double clevis pin)\ \ Rod end nut
—
| Bt
19 il
m 4 i m
t N
Material: Carbon steel Material: Carbon steel
(mm) (mm)
Bore size . Bore size
Part No. (mm) Dd9 L | d ¢ m| t Snap ring Part No. (mm) d H B C
IY-G012 12 5700 |14.6|4.8[10.2| 1.5 | 0.7 |For axis C shaped 5 NTJ-015A 12 M5 X 0.8 4 8 9.2
1Y-J015 16 52008 |16.6|4.8|12.2| 1.5 0.7 |Foraxis C shaped5 NT-015A 16 M6 X 1 5 10 11.5
1Y-G02 20 87007 | 21 | 7.6]16.2| 1.5 | 0.9 |For axis C shaped 8 NT-02 20 M8 X 1.25 5 13 15.0
1Y-GO03 25 1023972 |25.6] 9.6 | 20.2 | 1.55 | 1.15 | For axis C shaped 10 NT-03 25 M10 X 1.25 6 17 19.6
IY-G04 | 32,40 1029978 [41.6] 9.6 | 36.2 | 1.55 | 1.15 [For axis C shaped 10 NT-04 32,40 M14 X 1.5 8 22 25.4
1IY-G05 | 50, 63 1429053 [50.6 | 13.4| 44.2 | 2.05 | 1.15 | For axis C shaped 14 NT-05 50, 63 M18 X 1.5 11 27 31.2
IY-G08 80 187053 | 64 | 17 |56.2 | 2.55 | 1.35 [For axis C shaped 18 NT-08 80 M22 X 1.5 13 32 37.0
1Y-G10 100 227095 | 72 | 21 |64.2| 2,55 | 1.35 | For axis C shaped 22 NT-10 100 M26 X 1.5 16 41 47.3

2.3-18



Compact Cylinder/Standard: Double Acting Single Rod

Joint for CQ2/832 to 100

Series CQZ2

——— e Applicable bore size

. 03 For 32, 240
Mounting bracket 05 For 250, 263
YA | A type mounting bracket 08 For 280
YB |B type mounting bracket 10 For 2100
YU Joint
Allowable Eccentricity mm
Bore size 232 | 240 | 250 | 263 280 | 2100
Eccentricity +1 +1.5 +2
Play 0.5

<How to Order>

« Ajoint is not included with the A or B type mounting brackets, and
they must be ordered together.

(Example)
For bore size g40

« A type mounting bracket part No.

« Joint;

Joint Part No.

Part No.
"YA-03
-+ YU-03

A type mounting bracket

B s Joint part No. Applicable mounting bracket Weight
(mm) A bracket B bracket 9
232, 40 YU-03 YA-03 YB-03 25
250, 63 YU-05 YA-05 YB-05 40
280 YU-08 YA-08 YB-08 90
2100 YU-10 YA-10 YB-10 160
=
2 H
5 / (With locking)
=
8 E 3
uTt
UA C
PartNo. | BYen® |uac|d || K| L ur |t
YU-03 232,240 |17 |11 15814 | M8X 1.25 7 6 | 25
YU-05 250, 63 |17 |13 |198|18 | MI0OX15 | 10 | 7 6 | 40
YU-08 280 22120|248|23| M16X2 | 13| 9 8 | 90
YU-10 2100 26|26 (298 |28 | M20X25 | 14 | 11 | 10 |160

2-0D
B as
G
[ = ]
~—— ) 1 s =
U T T '_I 8
nay — e
4L NT© Fan
1/
L= - .
i
B E
Bore size
Part No. (mm) B oD B F M T1 T2
YA-03 | 32,40 18 | 6.8 16 6 42 6.5 10
YA-05 | 50, 63 20 9 20 8 50 6.5 12
YA-08 80 26 11 25 10 62 8.5 16
YA-10 100 31 14 30 12 76 10.5 18
Bore size Weight
Part No. K L M
artNe-I  (mm) ©
YA-03 32,40 18 56 55
YA-05 50, 63 22 67 100
YA-08 80 10 28 83 195
YA-10 100 12 36 | 100 340
B type mounting bracket
...___| 1
-l 22
- 1 i |
> ,2] — H— g ==
— ="
Hi )
|| -/
Tq 2-0D through/| J |
B 2-00 counter bore E
Part No. Bo(’nfni')ze B |eD| E | J | M 0
YB-03 32,40 12 7 25 9 34 11.5 Depth 7.5
YB-05 50, 63 12 9 32 11 42 14.5 Depth 8.5
YB-08 80 16 11 38 13 52 18 Depth 12
YB-10 100 19 14 50 17 62 21 Depth 14
Bore size Weight
Part No. (mm) T1 T2 \% w S @
YB-03 32,40 6.5 10 18 50 11 80
YB-05 50, 63 6.5 12 22 60 14 120
YB-08 80 8.5 16 28 75 18 230
YB-10 100 10.5 18 36 90 455

2.3-19




Series CDQZ2

Auto Switch Mounting Position (at Stroke End) and Mounting Height

D-A70 212 to 925 232 to 9100
D-A80

D-A70H
D-A80H
D-F70O
D-J79
D-F7OW
D-J79W
D-F70OF
D-F7NT
D-F7BAL n

=

D-A73C 212 to 925
D-A80C
D-J79C

T

D-A79W @l2 to 825
D-F7O0WV
D-F70IV

232 to 2100 D-A9 D-A9V D-FOOW
D-FOBAL

2.3-20




Compact Cylinder/Standard: Double Acting Single Rod Series CDQZ

Auto Switch Mounting Position (mm)
D-F79W
D-A70IH/A80H D-F7BA D-FOOW
soosia | o470 (DRI | oy | BTOW | Sa | B | oo
(i) D-F70V/379C D-J79W D-FOBAL
D-F7O0WV
A B A A A B A B A B A B
12 45 55 5 2 9 10 - - - - - -
16 75 5 8 55 5 25 12 9.5 = = = - = =
20 75 6.5 8 7 5 4 12 11 - - - - - -
25 75 7 8 75 5 45 12 115 = = = = = =
32 9.0 6 9.5 6.5 6.5 35 | 135 | 105 8 5 12 9 11 8
40 13 85 | 135 9 10.5 6 17.5 13 12 75 16 | 115 | 15 | 105
50 11 115 | 115 12 8.5 9 155 16 10 105 | 14 | 145 | 13 135
63 135 | 145 | 14 15 11 12 18 19 | 125 | 185 | 165 | 175 | 155 | 16.5
80 175 18 18 185 | 15 155 | 22 | 225 | 165 17 | 205 | 21 195 | 20
100 21 24 | 215 | 245 | 185 | 215 | 255 | 285 | 20 23 24 27 23 26
Auto Switch Mounting Height (mm)
D-A70H D-J79W
Bore size | D-A7C/A80 gffggH %EE%ELL g:ﬁ;gg B:Sg%\/ D-J79C D-A79W D-A9CIV B:ESE%V B:ESBDXY_
(mm) D-F70W cuU
u u U u u u U U u =
12 19.5 20.5 26.5 23 26 22 - - -
16 225 235 29.5 26 29 25 = — =
20 245 25.5 315 28 31 27 - - -
25 27.5 28.5 345 31 34 30 = = =
32 31.5 32,5 38.5 35 38 34 27 29 26.5
40 35 36 42 38.5 41.5 37.5 30.5 32,5 30
50 41 42 48 445 47.5 435 36.5 38.5 36
63 47.5 48.5 54.5 51 54 50 40 42 39.5
80 57.5 58.5 64.5 61 64 60 50 52 49.5
100 67.5 68.5 745 71 74 70 60 62 59.5
Auto Switch Mounting
Mount the auto switch as fugure below.
212 to 825 232 to 100

Auto switch mounting screw % Auto switch mounting screw /% Watchmaker's

(M3 X 0.5 X 8¢ I screw driver

(M3 X 0.5 X 10¢) !
S Y 9
\. Lock screw

|

Auto switch spacer

Auto switch

-
Z

Square nut Auto switch
mountlng nut

2.3-21



Compact Cylinder/Standard: Double Acting Double Rod

Series C

2912, 916, 320, 325, 332, 940, @

2W

, 963, 80, 8100

i

How to Order

conw
cooaw

With auto switch
(Built-in magnet)

Mounting

20 30

| 11|

20 30

D
1
D

A73

I
T

B |Through-hole (standard) L

A | Bothendstapped F

Flange

# Mounting brackets are shipped not assembled with the

® Number of

auto switches

Auto switch — 2
Without auto switch = L
(Built-in magnet) n n

#Refer to table below for auto switch
model No.

cylinder.
® Body option
Style & y op
- o Acti — Standard (Rod end female thread)
— ;:i“g}iﬂ(‘i) ction i C With rubber bumper 3)
H_ & D _| Double acting M Rod end male thread
Note 1) Air-hydro bore size:
220 to 8100 *Combination of body option (CM) is possible.
® Stroke (mm) Note 3) Rubber bumper for air-hydro is
not available.
. Refer to Standard stroke table
Bore size on p.2.3-23.
12 12mm 40 40mm
16 | 16mm 50 | 50mm Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.
20 20mm 63 63mm . I o Load voltage Rail mounting Direct mounting Lead wire (m)* : I
X X ectrical | @ irin Appli
25 25mm 80 80mm Style| Special function enty | (Outpt?t) be AC 212 to 2100 232 to 8100 05 | 3|5 [None prl)olgzbe
32 32mm 100| 100mm £ Perp. | Inline | Perp. | Indine | (&) | |(@)|(N)
el = v | — | — |76 | asev | A% | @ |@|—|—| ic | —
Piping ® § —| — [ 200v | A72 | A72H | — — e 0| —|—
— S Grommet A3 |ATBH| — | — | @ (@ |@|—| —
— Screw-in piping £ 12v | 100v
- — 2 — —— | A9V | A3 | @ (@ —|—
F With One-touch fitting (2) o 1 ) Relay,
: : — 2 2| 2wire | = I5V.12V]|<100V| A80 | ABOH | A9V | A% | ® |® | —|—| € |p¢
Note Z)Eggelcs)ieg;ftypewnh One-touch fitting: & Connec[oré 12v _ A73C _ _ _ o oo —
[=} PR — —
Air-hydro is not available. Shagnosic = WV | =24V | ABOC ® 000 C
(2 color) Grommet| £ — | — | AW | — — — e |0 |—|—
3 wire 5V, 12V F7NV | F79 — — | @ |®@|O|—|
(NPN) 12v — — FONV. | FON | @ @ |—|—| —
3 wire 5V, 12V F7PV | F7P — — ® O|—| C
Mounting Bracket Part No. — |eomme | (PR — | — [Fopv | For [ @ |@]—]|—
: F7BV J79 - - ® 0O —
Bore size _
(mm) Foot @) Flange . 2 wire 12v — | — [Foev | ros [@ [@]—]—
12 CQ-L012 CQ-F012 £ Connector J79C — — — ® 000
= . - —
16 CQ-L016 | CQ-FO16 Z g| 3uwie | WS FINWY] F7OW ® 100171 L ey,
20 CQ-L020 | CQ-F020 E | Dbiagnostic > [ (NPN) 12v — | — [FoNwv|FoNwW | @ |@|O|—| — lpic
25 CQ-L025 | CQ-F025 z (2 color) m;e .1y — |FPW| — | — | @ |@|O|—| €
32 | CcQLo32 | CQ-F032 3 ENP) L L O
40 CQ-L040 CQ-FO4O — e Grommet 2 wire 12v F7BWV | J79W | FOBWV FE;BW ‘
ater resistan color —_— —_— —_ —_
S0 CQLOS0 | CQ-FOSO With ti 3uire (NPN) Zi/: = ° 8
wire i — i - -
63 CQ-L063 | CQ-F063 1t tmey 5V, 12 Ic
Disgnostic output (2 color) ) = F79F — — ® 00—
4 CQ-LO80 CQ-F080 Diagnostic output ANVS,(‘e
100 CQ-L100 | CQ-F100 Latch (2 color) (NPN) — — |FfF| — | — | @ |@|O|—| —
Note 4) When ordering foot type brackets, 2pcs. #Lead wire length ~ 0.5m--- — (Example) ABOC ~ 5m e Z (Example) AB0OCZ

should be ordered for each cylinder.
Note 5) The parts included with each mounting

bracket are as follows.

Foot, Flange: Body mounting bolts.

2.3-22

L (Example) ABOCL None

N (Example) ABOCN
* Solid state switches marked with a “O” are manufactured upon receipt of order.

Refer to p.2.3-23 for part No. of auto switch mounting brackets.




Compact Cylinder/Standard: Double Acting Double Rod Series CQZW

Style
- Bore size (mm) 12 16 20 25 32 40 50 63 80 | 100
Mounting Through hole (Standard) | @ [ ) [ () [ () [ [ J [ [ J
Bothendstapped| @ | @ | @ (] [ (] [ ] [ J [ ] [ J
£ | Built-in magnet ® & o o o o o o o o
© @
£ N Screw-in style |M5 X [M5 X |M5 X [M5 X | y5xog |Re(PT) [Re(PT) [Re(PT) |Re(PT) |Re(PT)
2 | Piping 08 | 0.8 | 0.8 | 0.8 |Repryu8| 1/8 | 1/4 | 1/4 | 3/8 | 3/8
e onetouchfiting]| — | — | — | — [06/42]| g6/4 | o8/6 | @86 | — | —
Rod end male thread ® o o ® & o o o o o
With rubber bumper e o | o e o o o o o o
| Throughhole (Standard) | — | — | @ [ ) [ ) @ [ ) [ J [ [
Mounting
° Bothendstapped]| — | — | @ | @ | @ | @ @ | ©@ | © | O
S | Built-in magnet — | — ] ®e ] e & e e e e o
f_ @)
% | Piping  |Screw-instyle| — | — M5 X M5 X | 5qg | Re(PT) | Re(PT) | Re(PT) | Re(PT) [ Re(PT)
JIS symbol 0.8 | 0.8 [reprys| 1/8 | 1/4 | 1/4 | 3/8 | 3/8
Double acting: Double rod Rodendmalethread | — | — | @ | @ | ©®@ © © © © ©
. Note 1) Without auto switch, 5stroke: M5 X 0.8
Note 2) Built-in fitting: Dimensions of 832, 5stroke are same as cylinder tube with 10 stroke.
I I Lo .
Specifications
Style Pneumatic (Non-lube) Air hydro
Fluid Air Turbine oil @)
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Ambient and fluid Without auto switch: —10°C to 70°C (No freezing)
temperature With auto switch: —10°C to 60°C (No freezing)
Rubber bumper None \ —_—
Made to Order Rod end thread Female thread Cu
; ; q q Tolerance of rod end thread JIS class 2 —
Re e.r.to 9.5.4-1 or common mg g t.o order Tolerance of stroke length +(1).0 CQS
specifications and p.5.4-79 for individual Mounting Through-hole ——
specifications. Piston speed 50 to 500mm/s 5 to 50mm/s
m Note 3) Refer to p.0-43 for cautions on use.
m---—-=—-=—==-—=-=--7 Minimum Operating Pressure Unit: MPa
1 Be sure to read before hand“ng_ 1 Bore size (mm) 12 16 20 25 32 40 50 63 80 100
I Refer to p.0-39 to 0-46 for Safety I Pneumatic (Non-lube) | 0.07 | 0.07 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05
I Instructions and common precautions. 1 Air-hydro - | - |018]018]018)0.10]010] 010 | 010 | 0.10
e Allowable Kinetic Energy Unit: J
/\ Caution Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
Ri | lati R | Standard 0.022 | 0.038 | 0.055 | 0.09 | 0.15 | 0.26 | 0.46 | 0.77 | 1.36 | 2.27
| Snap Ring Installation/Removal | With rubber bumper | 0.043 | 0075 | 0.11 | 0.18 | 0.29 | 0.52 | 0.91 | 1.54 | 2.71 | 4.54
(D For installation and removal, use an
appropriate pair of pliers (tool for installing Standard Stroke
a C snap ring). ]
Pneumatic (Non-lube) (mm) Air-hydro (mm)
* Exercise caution even when using an Bore size Standard stroke Bore size Standard stroke
appropriate pair of pliers (tool for installing a C 12,16 5, 10, 15, 20, 25, 30 20, 25 5,10, 15, 20, 25, 30,
snap ring), because of the possibility of the 5 10 15 20 25 30 32, 40 35, 40, 45, 50
snap ring becoming detached from the tip of 20, 25 3;5’ 4’0’ 4’5’ 56 T 50, 63 10, 15, 20, 25, 30,
the pliers (tool for installing a C snap ring) and = 10,15 2025 30 80, 100 35, 40, 45, 50, 75, 100
flying away, which could injure humans or 32, 40 3;5 4’0 56 7’5 160 ’
damage the peripheral equipment. L
After installing the snap ring, make sure that it 50, 63 10, 15, 20, 25, 30,
is placed securely in the ring groove before 80, 100 35, 40, 45, 50, 75, 100
supplying air. Auto Switch Mounting Bracket Part No.
| Mounting Bore Size | part No. ote “Applicable switch '
(mm) Reed switch Solid state switch
(D When removing a load, be sure to secure the 1216 * Switch mounting screw D-F70O, J79
wrench flats of the piston rod on the load side. 20' > BQ-1 (M3X0.5X8¢) D-A7 A8 D-F70V
' " Square nut D-A73C, ABOC D RTEwW, 379w
@ If this is done without securing the piston rod 32 40 « Switch mounting screw D-A7|:|I—; ASOH D:F7DWV
on the load side, be aware that the coupled ' M3 X 0.5X 10 ¢ '
. . . 50, 63 BO-2 ( ) D-A79W D-F7BA
(screwed-in) portion of the piston rod could 80’ 100 Q- « Switch spacer D-F700F
become loosened. ’ » Switch mounting nut D-F7NT

2.3-23



Series CQ2W

Theoretical Force Unit: N Weight Unit: g
Bore size Operating pressure(MPa) Bore size Cylinder stroke(mm)

(mm) 0.3 05 0.7 (mm) 5 | 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100

12 42 |49 |56 |63 |70 | 77| - | - | -|-|-|-

1z 25 42 59 16 50 | 68 | 77 |86 | 95 |104| - | — | - | = | = | -

16 45 75 106 20 89 | 104 | 119 | 134 | 149 | 164 | 179 | 194 | 209 | 224 | — | —

20 71 118 165 25 119 | 136 | 153 | 170 | 187 | 204 | 221 | 238 | 255 | 272 | — | —

= 113 189 264 32 192 | 220 | 244 | 268 | 292 | 316 | 340 | 364 | 388 | 412 | 532 | 652

40 292 | 323 | 354 | 385 | 416 | 447 | 478 | 509 | 540 | 571 | 726 | 881

i 181 302 422 50 _ | 528|573 618 | 663 | 708 | 753 | 798 | 843 | 888 | 1113 1338

40 317 528 739 63 — | 676|714 | 753 | 792 | 831 | 870 | 909 | 948 | 987 | 1182 | 1377

50 495 825 1150 80 — | 1241 | 1325 | 1409 | 1493 | 1577 | 1661 | 1745 | 1829 | 1913 | 2333 | 2753

= a1 1400 1960 100 — | 2106 | 2225 | 2344 | 2463 | 2582 | 2701 | 2820 | 2939 | 3058 | 3653 | 4248

80 1360 2270 3170

100 2140 3570 5000 Option Weights Unit: g

Bore size (mm) 12 |16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100

Both ends tapped 2 2 6 6 6 6 6 | 19 | 45 | 45

Rodend |Maethead] 3 | 6 | 12 | 24 | 52 | 54 | 106 | 106 | 240 | 350

malethread| Nut | 2 | 4 | 8 |16 | 34 | 34 | 64 | 64 | 98 | 232

Rubber bumper 0 0|-2|-2]|-3]|-7|-12|-20|-34|-57

One-touch fitting - | - | - | =-|12|12|21 |21 | - | —

Foot (including bolt)| 57 | 71 | 170|195 |159|171|267 | 349|735 |1117

Mounting Bolt for CQ2WB Flange (including bolt) | 57 | 69 | 139|161 180|214 |373 | 559 |1056|1365

Special long bolt for through-hole mounting is available as option.
How to Order: Specify the required bolts

Calculation example: CQ2WF32-20DCM

* Cylinder weight: CQ2WB32-20D
« Option weight:

Both ends tapped

Example) Bolt M3 X 35 ¢ 4pcs. Rod end nut -

\& 9 Mounting bolt With rubber bumper - —3g

W L — 180g

c. 5379

D
Model C D | Mounting bolt Model C D | Mounting bolt Model (© D | Mounting bolt
CQ2WB12-5D 35 M3 X 35¢ CQ2WB32-5D 35| M5X35¢ CQ2WB63-10D 55 M8 X 55¢
-10D 40 X40¢ -10D 40 X40¢ -15D 60 X 60¢
-15D 8.3 45 X45¢ -15D 45 X45¢ -20D 65 X 65¢
-20D ’ 50 X50¢ -20D 50 X50¢ -25D 70 X70¢
-25D 55 X 55¢ -25D 55 X 55¢ -30D 75 X75¢
-30D 60 X 60¢ 30D | &5 60 X 60¢ -35D 135 | 80 X80¢
CQ2WB16-5D 35 M3 X 35¢ -35D ' 65 X 65¢ -40D 85 X85¢
-10D 40 X40¢ -40D 70 X70¢ -45D 90 X90¢
-15D 75 45 X45¢ -45D 75 X75¢ -50D 95 X95¢
-20D ’ 50 X 50¢ -50D 80 X80¢ -75D 130 X130¢
-25D 55 X55¢ -75D 115 X115¢ -100D 155 X 155¢
-30D 60 X 60¢ -100D 140 X 140¢ CQ2WB80-10D 60 | M10 X 60¢
CQ2wWB20-5D 30 X30¢ CQ2WB40-5D 45 | M5X45¢ -15D 65 X65¢
-10D 85 X35¢ -10D 50 X 50¢ -20D 70 X70¢
-15D 40 X40¢ -15D 55 X55¢ -25D 75 X75¢
-20D 45 X45¢ -20D 60 X 60¢ -30D 80 X80¢
-25D 6 50 X 50¢ -25D 65 X 65¢ -35D 12.5 85 X85¢
-30D 55| X 55¢ -30D 7 70 X70¢ -40D 90 X90¢
-35D 60 X 60¢ -35D 75 X75¢ -45D 95 X95¢
-40D 65 X65¢ -40D 80 X80¢ -50D 100 X 100¢
-45D 70 X70¢ -45D 85 X85¢ -75D 135 X135¢
-50D 75 X75¢ -50D 90 X90¢ -100D 160 X160 ¢
CQ2WB25-5D 35 M5 X 35¢ -75D 125 X125¢ CQ2WB100-10D 70 | M10X70¢
-10D 40 X40¢ -100D 150 X 150¢ -15D 75 X75¢
-15D 45 X45¢ CQ2WB50-10D 55 | M6 X55¢ -20D 80 X80¢
-20D 50 X 50¢ -15D 60 X 60¢ -25D 85 X85¢
-25D 8 55 X55¢ -20D 65 X65¢ -30D 90 X90¢
-30D 60 X 60¢ -25D 70 X70¢ -35D 13 95 X95¢
-35D 65 X65¢ -30D 75 X75¢ -40D 100 X 100¢
-40D 70 X70¢ -35D | 12.5 80 X80¢ -45D 105 X 105¢
-45D 75 X75¢ -40D 85 X85¢ -50D 110 X 110¢
-50D 80 X 80¢ -45D 90 X90¢ -75D 145 X 145¢
-50D 95 X95¢ -100D 170 X170¢
-75D 130 X 130¢
-100D 155 X 155¢

2.3-24




Compact Cylinder/Standard: Double Acting Double Rod Series CQZW

Construction

Standard With rubber bumper
©) ®

\ _/
HE;

S i iy
i

With One-touch fitting

\
Component Parts
No.| Description Material Note
(1 |Cylinder tube Aluminum alloy Hard anodized
@ |Piston Aluminum alloy Chromated ﬁ:[DJY = b Gl S|
3 |Piston rod A Stainless steel 212 to 925 [
Carbon steel 232 to 9100, Hard chromated
@ |Piston rod B Stainless steel 212 to 925
Carbon steel 32 to 100, Hard chrome plated
I cu
® | Snap ring Carbon tool steel Phosphate coating Rod end male thread
(@ |Bushing Lead bronze casting For g50 or larger I | T
® |Rod end nut Carbon steel Nickel plated
(9 |Bumper Urethane
10 | One-touch fitting — 232 to 363 .
@"[Rod seal NBR i [T
@[ Piston seal NBR u
@| Tube gasket NBR
(19 | Piston gasket NBR E E

Replacement Parts: Seal Kits (Pneumatic)

Bore size (mm) Kit No. Contains

12 CQ2WB12-PS Replacements Parts: Seal Kits (Air-hydro)
16 CQ2WB16-PS Bore size (mm) Kit No. Contains
20 CQ2WB20-PS 20 CQ2WBH20-PS
25 CQ2WB25-PS 25 CQ2WBH25-PS
32 CQ2WB32-PS Kits include items (9, (2 and 3 32 CQ2WBH32-PS
40 CQ2WB40-PS from the table above. 40 CQ2WBH40-PS | Kits include items (D, @2 and (3
50 CQ2WB50-PS 50 CQ2wBH50-ps | from the table above.
63 CQ2WB63-PS 63 CQ2WBH63-PS
80 CQ2WB80-PS 80 CQ2WBH80-PS

100 CQ2WB100-PS 100 CQ2WBH100-PS

=Seal kits consist of items @9, (2 and @3 contained in one kit, and can be ordered
using the kit number for each respective tube bore size.

Copper Free

20—CQ2WB | Boresize - Stroke |D (C) (M) Specifications
T Action Double acting double rod
Copper free 212, 916, 820, 825, 32, 840, 250 Bore size 512, 916, 520, 825, 832, 940, 850, 863, 580, ¥100
263, 280, 2100 Proof pressure 1.5MPa
To eliminate influences of copper ions or halogen ions during Max. operating press. 1.0MPa
CRT manufacturing processes, copper and fluorine materials Rubber bumper None
are not used as component parts. Piping Screw-in piping
Piston speed 50 to 500mm/s
Mounting Through-hole
Auto switch Attachable

2.3-25



Series CDQZ2
Auto Switch Specifications

* Refer to p.5.3-2 for details of auto switch.

L)

-
o —

L Minimum Strokes for Auto Switch Mounting (mm)
= W ——
= D-A70] D-A7CH
‘ Number of D-A80H D-F70O0W
= auo | 2F7OY | DA% | prrowy |D-FTO D-J79W
/ A D-J79C ) D-J79 D-A79W |D-F7BAL | D-F7LF | D-FON
switches D-A80C |D-FOOWV | 5. _
D-FOOV | p.AgOV D-F9B D-F79F
How to Order D D-F9P D-F9BAL
; ; d ) D-FOOW
Refer to p.2.3-22 for How to Order. 1 5 5 10 15 15 20 o5 10
2 5 10 15 15 20 20 25 10
Weight Unit: g Option Weights Unit: g
Bore Cylinder stroke (mm) Bore size (mm) 12 |16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 100
(mm) 5 (10| 15|20 | 25| 30| 35|40 |45 | 50 | 75 | 100 Both end tapped 1 1 3 3 6 6 6 |19 | 45 | 45
12 55 63| 71|79 |87 |9 | — - — - - - Rod end Male thread| 3 6 | 12 | 24 | 52 | 54 | 106|106 | 240 | 350
16 | 88|99 [110(121(2132(2143| — | - | = | = | = | - malethread | Nut | 2 | 4 | 8 |16 |34 (34 | 64 | 64 | 98 [232
20 |135|152 (169|186 |203|220| 237|254 (271|288 | — - Rubber bumper 0 0 |-2]|-2|-3]|-7|-12|-19|-34|-54
25 |182|199|216|233|250|267|284|301|318|335| — — One-touch fitting - - — — |12 12|21 |21 | — —
32 |247|271|295|319 |343|367|391|415|439 | 463|487 |511 Foot (including bolt)| 52 | 65 | 153|177 (159|171 |267|349|735[1117
40 |370|401|432|463|494|525|556|587 (618|649 |680 711 Flange (including bolt) | 54 | 67 | 131|153 |180 | 214 | 373|559 | 1056|1365
50 — |647 692|737 |782|827|872|917|962 |1007 1052|1097 Calculation example: CDQ2WF32-20DCM  If auto switches are to be installed,
63 | — |833|872|911|950 | 989 1028|1067 |1106|1145|1184 |1223 * Cylinder weight: CDQ2WB32-20D-~ 319g  the weight that corresponds to the
« Option weight: Both ends tapped - 6g NUMber of auto switches and
80 | — |1500|1584|1668 |1752|1836|1920| 2004|2088 | 2172|2256 2340 Rod end male thread — 86g  mounting brackets to be used
100 2501 | 2620|2739 | 2858|2977 3096 | 3215 | 3334 | 3453 | 3572 | 3691 With rubber bumper-. —3g ~ Must be added.
Front flange ------eeeeen- 180«
Welght/Auto Switch Mounting Bracket d 5883
Part No. Bore size | Weight (g)
BQ-1 912 to 25 1.5
BQ-2 232 to 100 1.5
* Refer to p.5.3-75 for auto switch weight.
Construction
ORORORORDRC) ks\ w@ @@ 0 ®
7 [ Component Parts
No. Description Material Note
(1 |Cylinder tube Aluminum alloy Hard anodized
(2 |Piston Aluminum alloy Chromated
. Stainless steel 212 to @25
/ @ |Piston rod A Carbon steel 32 to 9100, Hard chrome plated
. — . Stainless steel 212 to 25
- s e . = @ |Piston rod B Carbon steel 32 to 9100, Hard chrome plated
L ® | Aluminum bearing alloy @12 to @40, Anodized
Collar Aluminum alloy casting 250 to 100, Chromated
nap ring arbon tool stee osphate coating
m ® |S Carb | | Phosph
() |Bushing Lead bronze casting For @50 or larger
(® |Magnet —_— —_—
. (©*|Rod seal NBR
7 {0*| Piston seal NBR
@*| Tube gasket NBR
Auto switch (12 |Piston gasket NBR
Replacement Parts: Seal Kits (Pneumatic) Replacement Parts: Seal Kits (Air-hydro)
Bore size (mm) Kit No. Contents Bore size (mm) Kit No. Contents
12 CQ2WB12-PS 20 CQ2WBH20-PS
16 CQ2WB16-PS 25 CQ2WBH25-PS
20 CQ2WB20-PS 32 CQ2WBH32-PS . _
25 CQ2WB25-PS = o 40 CQ2WBH40-PS Egin '?ﬁ;”?a%;éeambsov@e'and@
32 cQawsszps | Kitsinclude items ), @0 and @ 50 CQ2WBHS50-PS '
from the table above.
40 CQ2WB40-PS 63 CQ2WBH63-PS
50 CQ2WB50-PS 80 CQ2WBH80-PS
63 CQ2WB63-PS 100 CQ2WBH100-PS
80 CQ2WB80-PS * Seal kits consist of items (9, 10 and @) contained in one kit, and can be ordered using
100 CQ2WB100-PS the kit number for each respective tube bore size.

+ Seal kits consist of items (9, G0 and () contained in one kit, and can be ordered using

the kit number for each respective tube bore size.

2.3-26



Compact Cylinder/Standard: Double Acting Double Rod Series CDQZW

Mounting Bolt for CDQ2 with Auto Switch

Special long bolt for through-hole mounting is available as option.

How to Order: Specify the required bolts.

-t& g Mounting bolt

Example) Bolt M3 X 40 ¢ 4pcs. LC_
D
Model C D Mounting bolt Model C D Mounting bolt Model C D Mounting bolt
CDQ2WB12-5DC 40 M3 X 40¢ CDQ2WB32-5D 45 M5 X 45 ¢ CDQ2WB63-10D 65 M8 X 65 ¢
-10DC 45 X45¢ -10D 50 X50¢ -15D 70 X70¢
-15DC 6.1 50 X50¢ -15D 55 X55¢ -20D 75 X75¢
-20DC : 55 X55¢ -20D 60 X 60¢ -25D 80 X 80 ¢
-25DC 60 X 60¢ -25D 65 X 65¢ -30D 85 X 85¢
-30DC 65 X65¢ -30D 6.5 70 X70¢ -35D 135 920 X90¢
CDQ2WB16-5D 45 M3 X 45¢ -35D ’ 75 X75¢ -40D 95 X95¢
-10D 50 X50¢ -40D 80 X80¢ -45D 100 X100¢
-15D 55 X55¢ -45D 85 X 85¢ -50D 105 X 105 ¢
200 | 60 X 60 ¢ -50D 90 X 90¢ -75D 130 X130 ¢
-25D 65 X 65¢ -75D 115 X 115¢ -100D 155 X 155 ¢
-30D 70 X70¢ -100D 140 X140¢ CDQ2WB80-10D 70 M10 X 70 ¢
CDQ2WB20-5D 45 M5 X 45 ¢ CDQ2WB40-5D 55 M5 X 55 ¢ -15D 75 X75¢
-10D 50 X50¢ -10D 60 X60¢ -20D 80 X80¢
-15D 55 X55¢ -15D 65 X 65¢ -25D 85 X85¢
-20D 60 X60¢ -20D 70 X70¢ -30D 90 X90¢
-25D 9 65 X65¢ -25D 75 X75¢ -35D 12.5 95 X95¢
-30D 70 X70¢ -30D 7 80 X80¢ -40D 100 X100 ¢
-35D 75 X75¢ -35D 85 X85¢ -45D 105 X 105¢
-40D 80 X80¢ -40D 90 X90¢ -50D 110 X110¢
-45D 85 X 85¢ -45D 95 X 95¢ -75D 135 X 135¢
-50D 90 X90¢ -50D 100 X100¢ -100D 160 X160 ¢
CDQ2WB25-5D 45 M5 X 45 ¢ -75D 125 X125¢ CDQ2wWB100-10D 80 M10 X 80 ¢
-10D 50 X50¢ -100D 150 X 150¢ -15D 85 xsse (CU
-15D 55 X55¢ CDQ2WB50-10D 65 M6 X 65 ¢ -20D 90 X90¢ ——————
-20D 60 X60¢ -15D 70 X70¢ -25D 95 X95¢ CQS
-25D 8 65 X65¢ -20D 75 X75¢ -30D 100 X100 ¢
-30D 70 X70¢ -25D 80 X80¢ -35D 13 105 X 105¢
-35D 75 X75¢ -30D 85 X85¢ -40D 110 X110¢
-40D 80 X80¢ -35D 125 90 X90¢ -45D 115 X115¢
-45D 85 X 85¢ -40D 95 X 95¢ -50D 120 X120 ¢
50D 90 X 90 ¢ 45D 100 X 100¢ 75D 145 xus¢ (MU
-50D 105 X 105¢ -100D 170 X170¢ ———
-75D 130 X130¢
-100D 155 X 155¢

2.3-27



Series CQ2W/CDQ2W

Auto Switch Mounting Position (at Stroke End) and Mounting Height

D-A70] D-A700H, D-A80H D-A73C D-A79W
D-A80 D-F70, D-J79 D-A80C D-F70WV
D-F70W, D-J79W D-J79C D-F700V
D-F70F, D-F7NTL
D-F7BAL
@12 to 925
o T&]
==c=gl
I.B
232 to 2100
.
I 9
LB
Auto Switch Mounting Position (mm)
D-A70H, ABOH B:E;%C\I/_ D-FOOW
Bore |D-A70VA80 [PATSCASC | b psow | D-p7oF | A9 | D-FOD I p comwy
D-F700, J79 D-A90CV | D-FoOIV
(mm) B BT TG D-J79W D-FO9BAL

A B A B A
12 4.5 10 5 10.5 2
16 7.5 | 105 8 11 5 8 12 15 — | - — | — | — | —
20 7.5 13 8 135 5
8 5

25 7.5 13 135 105 12 |175 | — | — | — | — | — | —
32 9 135 | 95 14 6.5 11 | 135 ]| 18 8 125] 12 | 165 | 11 | 155
40 13 19 [ 135|195 (105|165 | 175 | 235 | 12 18 16 22 15 21
50 11 [ 215115 | 22 8.5 19 | 155 | 26 10 | 205 | 14 | 245 | 13 | 235

63 135|205 | 14 21 11 18 18 25 | 125|195 | 16.5| 235 | 165 | 225
80 175 | 29 18 | 295 | 15 [ 265 | 22 [335 165 | 28 | 205 | 32 | 195 | 31

100 21.0 | 315 32 | 185 ] 29 | 255 | 36 20 | 305 ] 24 [ 345 ] 23 | 335
Auto Switch Mounting Height (mm)
SA Bt
- - D-A73C |D-F70V D-FIOV | D-FOOW
Bore | D-ATIARD | D-E701 D-EYHE | e (o pzmwy | D-379C | D-ATOW | DASCV |5 bomnn | b ropar
(mm)
D-F7O0W
U U U U U U U U U
12 19.5 20.5 26.5 23 26 22 — — —
16 22.5 23.5 29.5 26 29 25 — — —
20 24.5 25.5 31.5 28 31 27 — — —
25 27.5 28.5 34.5 31 34 30 — — —
32 315 32.5 38.5 35 38 34 27 29 26.5
40 35 36 42 38.5 41.5 37.5 30.5 32.5 30
50 41 42 48 44.5 47.5 43.5 36.5 38.5 36
63 47.5 48.5 54.5 51 54 50 40 42 39.5
80 57.5 58.5 64.5 61 64 60 50 52 49.5
100 67.5 68.5 74.5 71 74 70 60 62 59.5

2.3-28



Series CQ2W/CDQ2W

12 to 25

Without Auto Switch

Standard (Through-hole)/CQ2WB

2-H thread effective depth C

(Opposite side, too)

4-N through

Both ends tapped: CQ2WA

Otthread R

N

| A

AL

T

W

Both ends tapped (mm)
(?Yg);qe) O1 R
12 M4 X0.7| 7
16 M4 X0.7| 7
20 M6 X 1.0 | 10
25 M6 X 1.0 | 10

Q
8-00 counter bore Q 2-M5 X 0.8
(Port size)
i Width across flats K
- + - + ,
| e
| A ‘
= o € |—F) -
o Ny
e
{ i
K L B+Stroke L+Stroke
M A+2 (Stroke) Rod end male thread (mm)
£ oy |l L x
12 [532| 9 | M5X0.8 |14 |105
Rod end male thread 16 |57 (10| M6 X 1.0 [155| 12
20 |63[12| M8X1.25 (18514
25 | 74|15 | M10X 1.25 |225 [175
2-H1
'
[ S O C
|} e e Ha
C ™,
1 C
Rod end nut* / ! “, Rod end nut*
X X
L1 L1+Stroke
Ai1+2 (Stroke)
Standard (mm)
Bore (mm) Stroke range (mm)| A B C D E H | K L M N [¢] Q 4
12 5 to 30 322|252 6 6 | 25 | M3X05 | 32 | 5 | 35 |155| 3.5 |6.5Depth35| 10 | —
16 5to 30 33 | 26 | 8 8 |29 | M4X0.7 | 38 | 6 |35 | 20 | 3.5 |65Depth3.5| 10 | 10
20 5to 50 35 26 7 10 36 M5 X 0.8 | 47 8 45 [255| 55 | 9Depth7 | 9.5 | 10
25 5to 50 39 29 12 12 40 M6 X 1.0 52 10 5 28 | 55 | 9Depth7 | 11 10

Note) Dimensions of model with rubber bumper are same as standard shown above.

# Refer to p.2.3-18 for rod end nut and mounting bracket.

SCQ2 B, #7

* The diagram shows with an auto switch, which may be deleted if unnecessary.

=

2.3-30

Standard:--



Compact Cylinder/Standard: Double Acting Double Rod

|

SeriesCQ2W/CDQ2W

Foot/CQ2WL

Special cap bolt

B+Stroke

L+Stroke

Bl vl x |G

LS+Stroke
e

A+2 (Stroke)

Rod end male thread (mm)

Bore size
Rod end male thread Rod end nut* mm) | A | L
_Rod end nut* | 12 |732] 24
16 77 | 255
: F F 20 83 | 28.5
41_ 1“ I . 25 94 | 325
</ R
Ly L1+Stroke
A1+2 (Stroke)
Foot (mm)
Bore (mm) Stroke range(mm) | A B L LD | LG | LH | LS | LT | LX | LY | LZ Y
12 51to 30 522|252(135| 45| 28 | 17 |132| 2 34 (295| 44 8 4.5
16 5to 30 53 | 26 [135| 45| 28 | 19 | 14 2 38 | 335 48 8 5 CU
20 5to 50 55 | 26 |145| 66 | 4 24 | 14 | 32 | 48 | 42 | 62 | 9.2 | 5.8
25 5to 50 59 29 15 | 6.6 4 26 14 | 3.2 | 52 46 66 |10.7 | 5.8
Flange/CQ2WL
1 i
_ - ,7@
[FT
(K] B+Stroke | L 2+Stroke
A+2 (Stroke)
Rod end male thread (mm)
Bore size
(mm) Al L3 L4
Rod end male thread 12 l632] 24 | 14
Rod end nut® Rod end nut* 16 67 [25.5|15.5
} 20 73 [28.5|18.5
- 25 84 (325|225
EnENle _ _
{ @FJ'%
L L3 | L4+Stroke _{
A1+2 (Stroke)
Flange (mm)
Bore (mm) Stroke range(mm) | A B FD | FT | FV | FX | FZ | L1 | L2 Add foot bracket #2 to standard
12 51to 30 42.21252| 45| 55| 25 | 45 | 55 |135]| 3.5 type SCQ2[Bore size|B, #7.
Add front flange #3 to standard
16 5to 30 43 26 | 45 | 55 | 30 45 55 (135 3.5 type SCQ2[Bore sizelB, #7.
20 5to 50 45 | 26 | 66 | 8 39 | 48 | 60 |145| 45
*#The diagram shows with an auto switch, which may
25 5 to 50 49 | 29 | 66 | 8 42 | 52 | 64 | 15 5 be deleted if unnecessary.

* Refer to p.2.3-18 for rod end nut and mounting brackets.

2.3-31



Series CQ2W/CDQ2W
L
ﬂlz tO ﬂ25 With Auto Switch

Both ends tapped (mm)

Standard (Through-hole)/CDQ2WB ~_ ~ Both endstapped: CDQ2WA Boe [ o [w
1 threal R

= 12 M4 X0.7 | 7

+—1 - { L 16 M4 X0.7 | 7

W 20 M6 X 1.0 | 10

j 25 M6 X1.0 | 10

- Lead wire minimum
1 2-H thread effective depth C Auto switch bending radius 10
(Also back side) -
| \
/ 2 width across
3 ] 2-M5X 0.8 flats K
“' < (Port side) /
w3 A s a E — . 3 7 %
\ 2-0N through P e {
4-g0 counter bore ‘
Q Q .
L B+stroke L+stroke
<>!/
A+2 stroke :l

Rod end male thread
Rod end nut*

2-H1 Rod end male thread (mm)
— - (‘?ﬁrﬁ AclCi| Hi1 |Li] X
I I 1 Y e—— niiAE 12 604 9 [Msx08] 14105
- 16 |67 )10 | M6x10][155] 12
s | 20 75|12 | M8X125|185| 14
| | -@ @ 25 | 84|15 | MOX1%5 | 225|175
ol ‘ c1
. . - | g X_-
Auto switch shown above is D-A73 and |
D-Ag0. Lt - Lisstroke
Refer to p.2.3-20 for auto switch mounting . A1+2 stroke
position and mounting height. o
Standard (mm)
Bore (mm) |Stroke range (mm)| A B C E H K L M N (0] Q S U \%
12 5to 30 3941324 6 6 32 M3 X 0.5 5 35| 22 | 3.5 |6.5Depth3.5[10.5|355|19.5| 25
16 5to 30 43 36 8 8 38 M4 X 0.7 6 35 | 28 | 3.5 |65Depth35| 10 [41.5|225| 29
20 5to 50 47 38 7 10 47 M5 X 0.8 8 45 | 36 | 55 | 9Depth7 [10.5| 48 |245| 36

25 5 to 50 49 | 39 | 12 | 12 | 52 | M6X 1.0 | 10 5 40 | 55 | 9Depth7 | 11 |53.5|27.5| 40

Note 1) Dimensions of model with rubber bumper are same as standard shown above.
«Refer to p.2.3-18 for rod end nut and optional brackets.

Standard - scQ2 B, #7

2.3-32



Compact Cylinder/Standard: Double Acting Double Rod

|

SeriesCQ2W/CDQ2W

Foot/CQ2WL

Special cap bolt

B+Stroke

L+Stroke

Bl vl x |G

LS+Stroke
e

A+2 (Stroke)

Rod end male thread (mm)

Bore size
Rod end male thread Rod end nut* mm) | A | L
_Rod end nut* | 12 |732] 24
16 77 | 255
: F F 20 83 | 28.5
41_ 1“ I . 25 94 | 325
</ R
Ly L1+Stroke
A1+2 (Stroke)
Foot (mm)
Bore (mm) Stroke range(mm) | A B L LD | LG | LH | LS | LT | LX | LY | LZ Y
12 51to 30 522|252(135| 45| 28 | 17 |132| 2 34 (295| 44 8 4.5
16 5to 30 53 | 26 [135| 45| 28 | 19 | 14 2 38 | 335 48 8 5 CU
20 5to 50 55 | 26 |145| 66 | 4 24 | 14 | 32 | 48 | 42 | 62 | 9.2 | 5.8
25 5to 50 59 29 15 | 6.6 4 26 14 | 3.2 | 52 46 66 |10.7 | 5.8
Flange/CQ2WL
1 i
_ - ,7@
[FT
(K] B+Stroke | L 2+Stroke
A+2 (Stroke)
Rod end male thread (mm)
Bore size
(mm) Al L3 L4
Rod end male thread 12 l632] 24 | 14
Rod end nut® Rod end nut* 16 67 [25.5|15.5
} 20 73 [28.5|18.5
- 25 84 (325|225
EnENle _ _
{ @FJ'%
L L3 | L4+Stroke _{
A1+2 (Stroke)
Flange (mm)
Bore (mm) Stroke range(mm) | A B FD | FT | FV | FX | FZ | L1 | L2 Add foot bracket #2 to standard
12 51to 30 42.21252| 45| 55| 25 | 45 | 55 |135]| 3.5 type SCQ2[Bore size|B, #7.
Add front flange #3 to standard
16 5to 30 43 26 | 45 | 55 | 30 45 55 (135 3.5 type SCQ2[Bore sizelB, #7.
20 5to 50 45 | 26 | 66 | 8 39 | 48 | 60 |145| 45
*#The diagram shows with an auto switch, which may
25 5 to 50 49 | 29 | 66 | 8 42 | 52 | 64 | 15 5 be deleted if unnecessary.

* Refer to p.2.3-18 for rod end nut and mounting brackets.

2.3-31



Series CQ2W/CDQ2W
L
ﬂlz tO ﬂ25 With Auto Switch

Both ends tapped (mm)

Standard (Through-hole)/CDQ2WB ~_ ~ Both endstapped: CDQ2WA Boe [ o [w
1 threal R

= 12 M4 X0.7 | 7

+—1 - { L 16 M4 X0.7 | 7

W 20 M6 X 1.0 | 10

j 25 M6 X1.0 | 10

- Lead wire minimum
1 2-H thread effective depth C Auto switch bending radius 10
(Also back side) -
| \
/ 2 width across
3 ] 2-M5X 0.8 flats K
“' < (Port side) /
w3 A s a E — . 3 7 %
\ 2-0N through P e {
4-g0 counter bore ‘
Q Q .
L B+stroke L+stroke
<>!/
A+2 stroke :l

Rod end male thread
Rod end nut*

2-H1 Rod end male thread (mm)
— - (‘?ﬁrﬁ AclCi| Hi1 |Li] X
I I 1 Y e—— niiAE 12 604 9 [Msx08] 14105
- 16 |67 )10 | M6x10][155] 12
s | 20 75|12 | M8X125|185| 14
| | -@ @ 25 | 84|15 | MOX1%5 | 225|175
ol ‘ c1
. . - | g X_-
Auto switch shown above is D-A73 and |
D-Ag0. Lt - Lisstroke
Refer to p.2.3-20 for auto switch mounting . A1+2 stroke
position and mounting height. o
Standard (mm)
Bore (mm) |Stroke range (mm)| A B C E H K L M N (0] Q S U \%
12 5to 30 3941324 6 6 32 M3 X 0.5 5 35| 22 | 3.5 |6.5Depth3.5[10.5|355|19.5| 25
16 5to 30 43 36 8 8 38 M4 X 0.7 6 35 | 28 | 3.5 |65Depth35| 10 [41.5|225| 29
20 5to 50 47 38 7 10 47 M5 X 0.8 8 45 | 36 | 55 | 9Depth7 [10.5| 48 |245| 36

25 5 to 50 49 | 39 | 12 | 12 | 52 | M6X 1.0 | 10 5 40 | 55 | 9Depth7 | 11 |53.5|27.5| 40

Note 1) Dimensions of model with rubber bumper are same as standard shown above.
«Refer to p.2.3-18 for rod end nut and optional brackets.

Standard - scQ2 B, #7

2.3-32



Compact Cylinder/Standard: Double Acting Double Rod Series CDQZW

|

Foot/CDQ2WL

Special cap bolt |

/
{77 Vol

R l@r 1\ >
A&/ =

S —

L

B+ Stroke

L+Stroke

LS+ Stroke

A+2 (Stroke)

Rod end male thread

Rod end nut*

Rod end nut®

Rod end male thread (mm)

Bore
' : j \' oy | AL L
12 |804] 24
) -0 © JH
4:_{ £ 16 |87 [255
75 20 95 [ 285
B B Lesie 22 Lol L5
L A1+2 (Stroke) 7
Foot (mm)
Bore (mm) |Strokerange(mm)) A | B | L LD [LG |LH [LS | LT | X |LY [LZz | X | Y
12 5t030 |59.4|32.4|135|45 |28 | 17 [20.4| 2 | 34 |295| 44 | 8 | 45
16 5 to 30 63 | 36 |135|45 |28 | 19 |24 | 2 | 38 |335| 48| 8 | 5
20 5 to 50 67 | 38 |145|6.6 | 4 | 24 | 26 | 32|48 | 42 | 62 | 9.2 | 5.8
25 5 to 50 69 | 39 | 15 |66 | 4 | 26 | 24 |32 | 52 | 46 | 66 |[10.7| 5.8
Flange/CDQ2WF
2-0FD
i ]
‘Q}I—' j
Nt ®
@)=
(1, BeStroke |L2+Stroke
EV N
A+2 (Stroke)
Rod end nut* Rod end nut*
Rod end male thread (mm)
Rod end male thread - = ('?]fl’,;le) Al | L3 | L4
12 [704] 24|14
16 | 77 [255]155
LsSirok 20 |85[285[185
T
L3 A1+2 (Stroke) +olroke 25 94 [325]225
Flange (mm)
Bore (mm) |[Stroke range (mm)| A B |FD|FT | FV | FX | FZ | L1 | L2
12 5t030 |49.4(32.4| 45|55 | 25 | 45 | 55 [135| 355
16 5t030 |53 |36 |45 |55| 30 | 45 | 55 [135| 3.5
20 5 to 50 57 | 38 66| 8 | 39 | 48 | 60 |14.5]| 45 g Foot Add foot bracket #2 to standard SCQ2 [Bore size| B, #7.
25 510 50 59 |39 |66] 8 |42 |52 64|15 | 5 Add front flange #3 to standard SCQ2 [Bore size | B, #7.

xRefer to p.2.3-18 for rod end nut and optional brackets.

2.3-33



Series CQ2W/CDQ2W

232 to 850

) ] For those without auto switches, refer to the dimension chart
With Auto Switch because their A, B and P dimensions will differ.

Standard (Through-hole)/CQ2WB, CDQ2WB

Both ends tapped: CQ2WA

Oz thread

2-H thread effective depth C
(Opposite side, too)

2 width across flats K
< .

Vs 2-p
=Uu 4-gN through [ (Port size)
| 8-g0 counter bore Q| |
o7 . 4 |
- ';I 1 "'-
\
— T
Leadwire |7 w ol = _,-—-GD —— —{%» g[
minimum ] = .|
bending radius 10 /
Auto switch | K
D-A7, A8 | ™M L+
| £ 3 L B stroke |
s i K Atstroke o |

Rod end male thread

Both ends tapped(mm)
Bore
(mm) O1 R
32 M6 X 1.0 10
40 M6 X 1.0 10
50 M8 X 1.25 14

Rod end male thread (mm)
Rod end nut Rod end nut Bore Without auto switch With auto switch
2-H1 \ A A
N [fl 2 (MM) 505 oress] 55 to 75 | 80 to 100]50st o less] 55 to 75 [80 to 100
; ool ¥ 87.5+ 97.5+
& ‘ 32 stroke 172.5 197.5 stroke 172.5 197.5
@} %__Auto switch C1 C1 97+ 107+
D-A9, F9 X L x| 40 stroke e Ay stroke —a Ay
L1 L1+stroke
107.5+ 117.5+
L Al+stoke ] 50 stoke | 1925 | 2175 | o0t | 1925 | 2175
Built-in One-touch fitting/@32 to 50 I - » .
2P 32 20.5 M14 X 1.5 285 | 235
/ (Piping tube O.D.)
40 20.5 M14 X 1.5 28.5 235
50 26 M18 X 1.5 33.5 28.5
Built-in One-touch fitting (mm)
Bore size|Without auto switch| With auto switch 71 Py
(mm) v W1 v W1
32 38 60.5 36.5 59 13 6
Auto switch shown above is D-A73 and D-A80. Refer to p.2.3-20 for auto &0 iz G AU G 1 &
switch mounting position and mounting height. 50 50 82 50 82 16 8
Standard (mm)
Without auto switch With auto switch
Bore (mm) A B P A B P
50st. or less| 55to 75 | 80 to 100 [50st. or less| 55to 75 | 80 to 100 5st. 10to 100 [50st. or less| 55to 75 | 80 to 100 |50st. or less| 55to 75 | 80 to 100 |5 to 100st.
44 .5+ 30.5+ 54.5+ 40.5+
32 stroke | 1295 | 1545 | Sove | 1155 | 1405 | M5X08 Re(PT)1/8 stroke | 1295 | 1545 | Sope | 1155 | 1405 Re(PT)1/8
54+ 40+ 64+ 50+
40 siele 139 164 sile 125 150 | Re(PT)1/8 | Re(PT)1/8 sl 139 164 s 125 150 | Re(PT)L/8
56.5+ 40.5+ 66.5+ 50.5+
50 stroke 1415 166.5 stroke 125.5 150.5 | Re(PT)U4 | Re(PT)V4 stroke 1415 166.5 stroke 125.5 150.5 | Re(PT)V4
Bore (mm) C|D|E H Il J|K|L|M|N [¢] QS |U|Z Q Note) Dimensions of model with rubber bumper are
32 13 |16 | 45 |[M8X1.25| 60 |4.5| 14 | 7 |34 |5.5|9 Depth 7|125|585 |315| 14 same as standard as shown above.
* Refer to p.2.3-18 for rod end nut and optional
40 13 (16 |52 [M8X125/69 | 5 |14 | 7 |40 |5.5|9Depth7|14 |66 |35 | 14 brackets.
50 15|20 | 64 [MI0X15/86 | 7 |17 | 8 |50 |6.6 |11Depth8| 14 | 80 | 41 | 19

2.3-34

L]

Standard:-----SCQ2 B, #7
* The diagram shows with an auto switch, which may be
deleted if unnecessary.



Compact Cylinder/Standard: Double Acting Double Rod Series CDQZW

|

Foot/CQ2WL, CDQ2WL 2 B L+Stroke

I

o
-
RN 113{:11@: I=- 4
Spelial 1
LX 4-gLD cap bolt X |y
LZ - T LS
L A+Stroke
Rod end nut ; ; Rod end nut Rod end male thread (mm)
_ i Without auto switch| With auto switch
Bore A B
L1

- (M) Sost. [55t0 [80 o | 50st. | 55 10 |80 to
orless| 75 | 100 |orless| 75 | 100

I 32 [ | 105 | ars [ [1925 | 2175 | 38.5
E 40 |ge | 20 | 27 |gHe | 22 | 27 | 385
50 |25 | 9125 | o375 [Tk [ 2125 | 2375 | 435

A a—

L1 L1+Stroke
A1+Stroke
Foot (mm)
Without auto switch With auto switch
Bore Stroke range A B S A B s
(mm) (mm)
50storless| 55t075 | 800100 | 50storless| 55t0 75 | 800100 [ S0storless| 55to 75 | 80to 100 [S0storless| 55t075 | 80t0100 (SOstorless| 55to75 | 80to100 |50storless| 55075 | 80to 100
32 51050,75,100 | S052 | 1495 | 1745 | 303+ | 1155 | 1405 | 135 | 995 | 1245 | Z45* | 1495 | 1745 | 405 | 1155 | 1405 | 2452 | 995 | 1245 CuU
40 51050,75,100 | syare | 159 | 184 | 0% | 125 | 150 | 245 | 109 | 134 | B4 | 159 | 184 [ 300 | 125 | 150 | 22| 100 | 134
76.5 + 40.5 + 175+ 86.5 + 50.5 + 275+
50 101050, 75,100 | &ioke | 1615 | 186.5 | syoke | 1255 | 1505 | stroke | 1025 | 1275 | aproke | 1615 | 186.5 | atroke | 1255 | 1505 | stroke | 1025 | 1275
(mm)
Bore (mm) L |[LD|LG|LH|LT|LX|LY|LZ]| X | Y
32 17 | 66| 4 | 30 | 32|57 | 57| 71 |11.2| 5.8
40 17 |66 | 4 | 33 |32 |64 | 64 | 78 |11.2| 7
50 18| 9 | 5 |39 [32|79| 78|95 |147| 8
Flange/CQ2WF, CDQ2WF , ,
; i
O T E
@_-&in 'j@t’
A r)
e L i — 9
() =z
= !
7 oAl -
N FT
’ 1] B L2+Stroke |
4-gLD
- A+Stroke i
{ FZ '
Rod end nut f t Rod end nut
) Rod end male thread (mm)
I 8 Without auto switch | With auto switch
ore
[ Al Al
N/ (mm) 50st. |55 to | 80 to | 50st. | 55 to |80 to L
i orless| 75 | 100 forless| 75 | 100
32 | %5l 1825 | 2075 || 1825 [ 2075 | 385 | 285
L3 ik ESalie 40 [ S Tanos] a7 [X5 119 |17 [38.5[ 285
- A1+Stroke } 50 |Wisr| 204 | 2275|127 2005 | 2215 | 435 | 335
Flange (mm)
Without auto switch With auto switch
(Bng’rrne) 5"°(knﬁr;";‘”ge A B A B FD | FT |FV [FX |FZ | L1 | L2 | M
S0storless| 550 75 | 80to 100 | S0storless| 551075 | 80 to 100 | S0storless | 5510 75 |80 to 100 | S0storless| 55t0 75 | 80 to 100
32 51050,75,100 | %5 | 1395 | 1645 | 03¢ | 1155 | 1405 | 53¢ | 1395 | 1645 | ©5° | 1155|1405 |55 | 8 |48 | 56 | 65 | 17 | 7 | 34
40 51050,75,100 | Sov | 149 | 174 | aoe | 125 | 150 | g | 149 | 174 | O | 125 | 150 |55 | 8 |54 |62 | 72 |17 | 7 | 40
50 101050,75,100 | se | 1515 | 1765 | ae | 1255 | 1505 | e | 1515 | 1765 | s | 1255|1505 | 6.6 | 9 | 67 | 76 | 89 | 18 | 8 | 50

+Refer to p.2.3-18 for rod end nut and optional brackets.
Foot------Add foot bracket #2 to standard type SCQ2 [Bore size], #7.
Flange---Add front flange #3 to standard type SCQ2 [Bore size], #7.

2.3-35



Series CQ2W/CDQ2W
B
263 t0 3100 BB i s s

For those without auto switches, refer to the dimension
chart because their A and B dimensions will differ.

Both ends tapped: CQ2WA, CDQ2WA

Both ends tapped (mm)

Orthread | R R B
ore o1 R
. (mm)
| | 63 M10X15 |18
80 MI2X 175 | 22
Standard (Through-hole)/CQ2WB, CDQ2WB T 100 | MI2XL75 |22
2-H thread effective depth C
(Also back cover) Q 2.p Q
=U 4-oN through [t - =
8-00 counter bore /(Port size)
o7 N T / 2 width across flats K
P = a 7N 7N o
o . - N O °
Lead wire m\nim:m /\:} o
bending radius 10 = e
Auto switch A
D-A7/A8 & TN\
K
M - L B L +Stroke
g J A+ Stroke
Rogend male thread Rod end male thread (mm)
Q o.p Q Without auto switch | With auto switch
7 //(Port size) (Bore) Al Al
/ mm
s o e[ o | e 5o
2-H1 \ \ 100 + 119 +
NN 63 stoke | 194 | 219 | gioke | 194 | 219
% : — 80 wee | 03 | o4 |18 | 223 | o4
i U (N s T 100 i 2325 | 2575 |10t | 2325 | 2575
- l | (mm)
— |
| I
; i C Bore
Auto switch (;(‘ I ‘,L—-X' [ C1l H1 L1 X
D-A9/F9 L1 L1+Stroke
Ar+Stioke ] 63 26 | M18X 15 |335 285
o o 80 32.5| M22X 15 |43.5|35.5
Built-in One-touch fitting 100 32.5| M26 X 1.5 |43.5|35.5
2-P+
(Piping tube O.D.)
Built-in One-touch fitting (mm)
Bore
Z1|P1| V |W
N @) ) fva mm) |7 '
° N\ & 9 63 |16] 8 |55/ 95
#Built-in One-touch fitting,
232, 5stroke: Dimensions
are same as 10stroke

Auto switch shown above is D-A73 and D-A80. Refer to p.2.3-20 for auto switch mounting position and mounting height.

cylinder tube.

Standard (mm)
Without auto switch With auto switch
Bore Stroke range A B A B
(mm) (mm) 50st. |55t0 | 80to | 50st. [55to | 80to | 50st. |S5to |80to | 50st. |55 to | 80 to
orless| 75 100 |orless| 75 100 (orless| 75 100 |orless| 75 100
63 101050, 75,100 | o8ke | 143 | 168 | gi2ke | 127 | 152 | SBr | 143 | 168 | o2ke | 127 | 152
80 10t0 50, 75, 100 | ke | 156 | 181 | oiro | 136 | 161 | Sir. | 156 | 181 | St | 136 | 161
100 10t0 50, 75, 100 | 3% | 169.5 | 1945 | 80.5* | 1455 | 1705 | 33+ | 1695 | 194.5 | 295% | 1455 | 1705
(mm)
Bore(mm) | C | D | E H I J | K M | N o] P Qs | U |w
32 15 | 20 | 77 | M10X15[103| 7 | 17 | 8 | 60 | 9 |14Depth105| Rc(PT)1/4 |15.5| 93 | 47.5| 19
40 21 | 25 | 98 | M16X2.0 132 | 6 | 22 | 10 | 77 | 11 |17.5Depth135| Re(PT)3/8 | 18 | 1125 | 57.5| 26
50 27 | 30 [117 | M20X 25 | 156 | 6.5 | 27 | 12 | 94 | 11 |17.5Depth135| Re(PT)3/8 | 22 |1325| 67.5| 26

£

2.3-36

Note 1) Dimensions of model with rubber bumper are same as standard shown above.
+ Refer to p.2.3-18 for rod end nut and optional brackets.



Compact Cylinder/Standard: Double Acting Double Rod Series CQZW

Special

L '—Xij\\ﬂ

L iz h
i,, | Flod end ut Rod end male thread (mm)
— Without auto switch| With auto switch
L Jnan Bore Al Al
il
— — s - L1
‘IIH! (MM) 505t [65 to [80 to | 50st |55 to |60 to
—_— | orless| 75 | 100 |orless| 75 | 100
i - 63 |dS| 214 | 239 |sidie| 214 | 239 |435
s == 80  |sidie| 243 | 268 |siBie| 243 | 268 |53.5
g L1+Stroke _ 100 |95 [252.5] 277 || 2525 | 2715 | 535
Foot (mm)
Without auto switch With auto switch
Bore Stroke range A B LS A B LS
(mm) (mm) 50st |55t0 | 80to | 50st |55t0 [80to | 50st |55t0 [80to | 50st [55t0 |80to | 50st |55t |80 to | 50st |55to | 80 to
orless| 75 100 |orless| 75 100 |orless| 75 100 |orless| 75 100 |orless| 75 100 |orless| 75 100
63 51050, 75100 |g/Sh. | 163 | 188 |o2r. | 127 | 152 |GiOh. | 101 | 126 | <S8L.| 163 | 188 |22 | 127 | 152 |2k | 101 | 126 CcuU
80 51050, 75,100 |kt | 176 | 201 | ool | 136 | 161 |<Zhyo| 106 | 131 | JO* | 176 | 200 | GSL. | 136 | 161 |SLi.| 106 | 131
100 101050, 75,100 | 245% | 1895 | 2145 | S05° | 1455 | 1705 | 2535 | 1115 | 1365 | L45% | 1895 | 2145 | J93% | 1455 | 1705 |S535 | 1115 | 1365
mm
Bore (mm) L |LD|LG|LH|LT |LX|LY|LZ]| X
63 18 | 11 | 5 | 46 | 32| 95 |91.5|113|16.2| 9
80 20 | 13 | 7 | 59 | 45 | 118|114 | 140 |19.5| 11
100 22 | 13| 7 | 71| 6 [137|136|162| 23 |125
Flange/CQ2WF, CDQ2WF
2171 |
RER = E
= H P ]|
N ‘ ST ‘
L BX | |\4oFD
L FZ A |FI'
BT B L2+Stroke|
___A+Stroke ]
Rodendnut [+ ] Rod end nut Rod end male thread (mm)
N\ Without auto switch| With auto switch
% Bore
Al Al L3 | L4
(mm)  [Sost [55 to [80 to | 50st |55 to |80 to
orless| 75 | 100 [orless| 75 | 100
63 |diSk| 204 | 229 [ | 204 | 209 [435 | 335
——— 80 || 233 | 258 |25 | 233 | 258 | 535|435
. — " 100 [k |2425[267.5|886%|242.51267.5| 535 | 435
Flange (mm)
Without auto switch With auto switch
Bore Stroke range A B A B
(mm) (mm) FD | FT |EV |FX |FZ | L1 | L2 | M
50st |55t0 | 80to | 50st |55to |80to | 50st [55to |80to | 50st |55to |80 to
orless| 75 100 |orless| 75 100 |orless| 75 100 |orless| 75 100
32 101050,75,100 | 08, | 153 | 178 |i2be| 127 | 152 | Bk | 153 | 178 |o2ke| 127 | 152 | 9 | 9 |80 | 92 |108 | 18 | 8 | 60
40 101050, 75,100 | <obr, | 166 | 191 |ooiie | 136 | 161 |shoe | 166 | 191 [oOt.| 136 | 161 | 11 | 11 | 99 |116 [134 | 20 | 10 | 77
50 10t050,75,100 | S%5% | 1795 | 2045 | S0 | 1455 | 1705 | L045% | 1795 | 2045 | 205% | 1455 [ 1705 | 11 | 11 |117 | 136|154 | 22 | 12 | 94

2.3-37



Compact Cylinder/Standard: Single Acting Spring Return/Extend

Series COZ

912, 916, 820, 825, 332, 940, 850

How to Order

20| M10S

| 1 1]
20 Hzo]s][ HA73][s

B
|
B
l I ® Number of auto

Stan

=

‘M CO2

coe?

With auto switch
(Built-in magnet)
Mounting
B | Through-hole (Standard) ~ F Front flange
A |Bothendstapped G Rear flange
L Foot D Double clevis
#Mounting brackets are shipped not assembled with the cylinder.

switches
Auto switch — 2

Without auto switch S
(Built-in magnet) n

*Refer to table below on auto switch model no.

o Body option

® Action — Standard
) S [Single acting spring return F Rear boss mount
Bore size T |Single acting spring extend M Rod end male thread
12 12mm *#Combination of body option is possible. (Ex.) FM
16 16mm ® (mm)
20 20mm
25 25mm m Refer to standard stroke table on p.2.3-39.
32 32mm
40 | 40mm
50 | 50mm Applicable Auto Switches/Rrefer to p.5.3-2 for detail specifications on auto switches.
5 Load voltage Rail mounting Direct mouting Lead wire (m)* i
Piping ® Style| Special function Electricalé Wiring be ac 212 to 8100 832109100 | 05 | 3 | 5 |None Ap?g;gble
— eny | £ | (Outpu) Pern. | indine | Pem. | indine | ©) || @ |0V
— Screw-in piping I wire
F Built-in One touch fitting ® Eqinotpy| | 5V | — | — | A76H | A%V | A% | @ @ — —)IC | —
Note 1) Built-in One-touch fitting: Bore size 232 to #50. = Yes | T | 200V | A72 | A72H — — e o —|—
s Grommet 100V A73 | A73H — — o o6 | —
z —_— || 12v — — | AV | A3 | @ |@|—|—
8 No| 2 wire sav sv.12v [<100v | Aso | AsoH | Asov | aco | @ [@]—[—] ic [Re.
| Yes | 2v | — | A73C | — — — (o [o]o]e[—|P€
Connector 2 siv| <24V | psoc | — | — | — | o ele|e®] IC
Diagnostic (2 color)| Grommet |Yes — — | A7T9W — — — ® 0| —|—|—
Mounting Bracket Part No. 3 wire v, v FINV [ F79 | — | — | @ |@|O|—|IC
Bore size Double (NPN) 12v — | — [Fonwv ]| Fon | @ |@][—]—]—
iz -
2 — — —
(mm) Foot® Flange clevis® crommet ?pv,\\l::) 5V, 12V F7PV | F7P : : O IC
— — — FOPV FIOP — |
12 CQ-L012 | CQ-F012 | CQ-D012 = | 7 — — e lelo—
- - - ; 12v -
20 | coton [corom oo & =1 — [mev[ e [ele]-I=
Q- Q- Q- ‘§ Connector J79C — — — e o0 O
25 | CQ-L025 | CQ-F0O25 | CQ-DO25 2 3 wire 5, 12 Fnwv | Fraw | — | — [ e |e|o|—]|ic
32 CQ-L032 | CQ-F032 | CQ-D032 £ o ] Ves| (NPN) |24V| 12v | — — — [Fonwv|Fonw | @ (@O | —| — RPe&y,
40 | CQ-L040 | CQ-FO40 | CQ-D040 2 (':igfl’;)'c 3 wire 5V, 12V — | FPWw | — — | @ |®@O|—]|Ic
50 CQ-L050 | CQ-F050 | CQ-D050 n (PNP) — — [Forwv| Forw | @ |@|O |—
Note 2) When ordering foot brackets, 2_pcs. Grommet 2 wire 12V F7BWV | J79W |FoBWV| FoBW | @ | @O |—| —
should be.ordered fo_r each cylmdert Water resistance (2 color) — F7BA - FOBA | — @O |—
Note 3) The parts included with each mounting — i — — — —
bracket are as follows. : Wlfh timer wire (NPN) . F7NT ® O c
Foot, flange/Body mounting bolts Diagnostic output (2 color) 4 wire — F79F — — | ® |®@|O|—
Double clevis/Clevis pin, C shaped La‘ghtwlljlth(glaglﬂtr))sm (NPN) _ — | Fr | — — | e |@O|—| —
snap ring for axis, Body mounting bolt utput (2 colo
Note 4) Clevis pin and snap ring is included for *Lead wire length 0.5m------ — (Example) ABOC ~ 5m:-weeee Z (Example) ABOCZ
double clevis. Mo L (Example) ABOCL None::: N (Example) ABOCN

*#Solid state switches marked with "O" are manufactured upon receipt of order.

2.3-38



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ

Model

Bore size (mm) 12 16 20 25 32 40 50
Through-hole (Standard)| @ o o o o [ [
Both ends tapped | @ o ] (] [ ] [ ] o
Built-in magnet [ (] ([ { (] (] [

)
Screw-in style | M5X0.8 | M5X08 | M5X 0.8 | M5X 0.8 [M5x08 | RE(PT) |RS(PT)

Mounting

Pneumatic

Piping Re(PT)Ys | 1/8 1/4
With buitn One-touch fittng| ~ — - - — | 26/49 | g6/4 | @8/6

Rod end male thread [ ] ® ® [ (] ([ [

Rear boss mount o o o o ( o [

Note 1) Without auto switch: 5stroke type=M5 X 0.8
Note 2) With built-in fitting: Dimensions of bore size 32 5stroke are same as 10stroke model.

Specifications

Model Pneumatic (Non-lube)
Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Without auto switch: —10°C to 70°C (No freezing)

Ambient and fluid temperature
With auto switch: —10°C to 60°C (No freezing)

Rubber bumper None
Rod end thread F le thread
JIS symbol emafe Trea
Single acting/ Single acting/ Tolerance of rod end thread JIS class 2
spring return spring extend Tolerance of stroke length 0 —
ﬁAVA /\/\ Mounting Through-hole CU
I Piston speed 50 to 500mm/s
Standard Stroke unit mm  Theoretical Force Unit: N
order . . ;
-Made Bore size (mm) Standard stroke . Bore size Operating pressure (MPa)
Made to Order Action (mm)
12,16, 20 5 10 03 | 05 | 07
Refer to p.5.4-1 for common made to order 25, 32, 40 ' 12 21 44 66
specifications and p.5.4-79 for individual 50 10. 20 - 16 45 86 126
specifications. : % 20 79 | 142 | 205
) 25 126 | 224 | 323
A Prec au t| ons Minimum Operating Pressure unit: Mpa = 32 211 | 372 | 533
. Single acting 40 338 589 841
el | Bore size (MM) | (spring return, Spring extend) -
1 Be sure to read before handling. I 12 0.25 535 | 928 | 1316
I Refer to p.0-39 to 0-46 for Safety I " 025 12 14 31 48
I Instructions and common precautions. 1 : 5 16 24 54 85
e e ————— = ] A0 0.18 é 20 71 | 118 | 165
. 25 0.18 > 25 113 189 264
Caution g
A 32 0.17 =l 32 181 | 302 | 422
| Snap Ring Installation/Removal | 20 015 &) 40 317 | 528 | 739
(D For installation and removal, use an 50 0.13 20 495 825 | 1150
appropriate pair of pliers (tool for installing a Refer to p.5.6-3 for spring force.
C snap ring).
(2) Exercise caution even when using an
appropriate pair of pliers (tool for installing a : : o
C snap ring), because of the possibility of the Allowable Kinetic Energy unit: J
snap ring becoming detached from the tip of Bore size (mm) 12 16 20 25 32 40 50 63 80 | 100
the pliers (tool for installing a C snap ring) Kinetic energy 0.022 | 0.038 | 0.055 | 0.09 | 0.15 | 0.26 | 0.46 | 0.77 | 1.36 | 2.27

and flying away, which could injure humans
or damage the peripheral equipment.

After installing the snap ring, make sure that
it is placed securely in the ring groove before
supplying air.

2.3-39



Series CQZ2

Weight Unit: g Option Weights Unit: g
) Cylinder stroke (mm) Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50
Al | BOR SO 5 10 15 20 Both ends tapped 22|66 |66 |6
12 29 35 - — Rod end male thread Male thread| 1.5 | 3 6 12 | 26 | 27 | 53
c 16 42 51 - — Nut 1 2 4 8 17 | 17 | 32
3 20 63 76 - — Rear boss mount 07|13 2 3 5 7 13
s 25 87 101 _ _ One-touch fitting 1 -1 -1 =166 |105
é 32 131 152 — - Foot 55 | 67 | 164 | 186 | 143 | 155 | 243
n 40 206 229 - — Front flange (including bolt) 57 | 69 | 139 | 161 | 180 | 214 | 373
50 - 369 - 441 Rear flange (including bolt) 54 | 65 | 133|152 | 165 | 198 | 348
12 29 35 - - Double clevis (including pin, snap ring, bolt) | 32 | 39 | 88 | 123 | 151 | 196 | 393
S 16 43 50 - - _
E 20 67 78 _ ~ Calculation example: CQ2D32-10SM
i 25 92 104 _ _ @ Cylinder weight: CQ2B32-10S «veveeressersrmsnininiins 1529
% 32 141 158 - - @ Option weight: Both ends tapped - 69
2 40 216 235 - — Rod end male thread ««««vooeeveereniiinnns 43¢
50 = 399 — 460 Double CleVIS =+ werrereriiiiiiis 151g
352g

Auto Switch Mounting Bracket Part No.

Bore size Applicable switch
Part No.
(mm) Note Reed switch Solid state switch
* Switch mounting screw D-F70, J79
12,16 BQ-1 (M3X05X8¢ D-F70V
20, 25 « Square nut D-A7, A8 D-J79C
D-A73C, A80C i
 Switch mounting screw D-F70W, JTOW
D-A700H, A8OH D-F700WV
(M3 X0.5X10¢)
32, 40 ’ D-A79W D-F7BAL
50 BQ-2 « Switch spacer
; ; D-F70OF
* Switch mounting nut
D-F7NTL

Mounting Bolt for CQ2

£

[Stainless steel mounting bolt set]
The set of stainless steel mounting screws (with nuts)
described below is available and can be used
depending on the operating environment.

(The spacers for auto switches must be ordered

separately, as they are not inclu
BBAZ2: For D-A7/A8/F7/137

ded.)

The stainless steel bolts described above are used

when the D-F7BAL switch is shipped mounted on

a cylinder. When the switches are shipped as individual

parts, the BBA2 set is included.

Special long bolt for through-hole mounting is available as option.
How to Order: Specify the required bolts
Example) Bolt M3 X 25 ¢ 4 pcs.

Spring return

— — E Mounting bolt
t — =
{ _'C

Lo 7]

Model C D Mounting bolt
CQ2B12-5S 6.5 25 M3 X 25¢
-10S ) 30 X30¢
CQ2B16-5S 25 M3 X 25¢
-10S 5 30 X30¢
CQ2B20-5S 75 25 M5 X 25¢
-10S ) 30 X30¢
CQ2B25-5S 95 30 M5 X 30 ¢
-10S ) 35 X35¢
CQ2B32-5S 9 30 M5 X 30¢
-10S 35 X35¢
CQ2B40-5S 35 M5 X 35¢
-10S 5 40 X40¢
CQ2B50-10S 45 M6 X 45 ¢
20s | 2% [ss X 55 ¢

2.3-40

Spring extend

e

Mounting bolt
Ptk e

b

. — =)

-

(S S

Model C D Mounting bolt
CQ2B12-5T 65 25 M3 X 25¢
-10T ) 30 X30¢
CQ2B16-5T 25 M3 X 25¢
-10T 5 30 X30¢
CQ2B20-5T 75 25 M5 X 25¢
-10T ) 30 X30¢
CQ2B25-5T 95 30 M5 X 30 ¢
-10T ) 35 X35¢
CQ2B32-5T 9 30 M5 X 30¢
-10T 35 X35¢
CQ2B40-5T 35 M5 X 35¢
-10T e 40 X40¢
CQ2B50-10T 45 M6 X 45 ¢
20T | 125 [Tss X 55 ¢




Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZW

Construction

Spring return Spring extend

V11270
[ 7 | 17

T,
|

[']
-Ef i Portsize M5X0.8 | - B
— =

Rear boss mount Rod end male thread With One-touch fitting

= = =
Component Parts Component Parts
No. Description Material Note - .
@ |Cylinder tube Aluminum alloy Hard anodized No. Description Material Note
@*|piston Aluminum alloy Chromated @ Piston seal NBR
Stainless steel @12 to 925 (B) Rod seal NBR
. 232 to @50, Hard chrome plated 16 Gasket
@ [Prston og A'”m(i:ri’rntﬁr;:rtiﬁggnoy 212 to 940, noized RC; Iacer;ent Parts: Seal l?i?:
(@ |Collar Aluminum alloy casting | @50, Chromated, coated p -
® Snap. ring Carbon tool steel Phosphate coating Series Bore size Kit No. Contents
(® |Bushing Lead bronze casting Used for only 50
(? |Return spring Piano wire Zinc chromated 12 CQ2B12-S-PS
Bronze_ element Sintered metal BC In case of port size 16 CQ2B16-S-PS
© |Snap lnng _ Carbon tool steel Rc(PT)l/S, 1/4 20 CQ2B20-S-PS Kits include items (4,
Plug with fixed orifice Alloy steel In case o_f port size M5 X 0.8 Pneumatic o5 CQ2B25-5-PS @ and @ from the
@ |Rod end nut Carbon steel Nickel plated
(@ |Guide boss ring Aluminum alloy 220 to 850, Anodized 32 CQ2B32-S-PS table above.
(13 |One-touch fitting — 232 to 850 40 CQ2B40-S-PS
* Spring extend type (T type) piston and piston rod are combined. (Stainless steel) 50 CQ2B50-S-PS

+ Seal kits consist of items (4, (5 and (6 contained in one kit, and can be ordered
using the order number for each respective tube bore size.

Copper Free

Specifications

— i H S

20 CQZB’ Bore size Stroke ‘T(M) Action Single acting single rod
Cylinder b [ 12, 916, 820, 825, @32, 840, 850

TCopper free 912, 916, 920, 825, 932, 940, 250 Yineor ore Size 022,920, 020, B2, 832, 02D, 250,
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa

. . . . . Rubber bumper None

To eliminate influences of copper ions or halogen ions during Piping Screw-in piping

CRT manufacturing processes, copper and fluorine materials -
Piston speed 50 to 500mm/s

are not used as component parts. ,
Mounting Through-hole
Auto switch Mountable

2.3-41



Series CDQZ2
Auto Switch Specifications

g 2

]

'_ - Minimum Strokes for Auto Switch Mounting (mm)
e D-A7CH
. D-A701 D-ASOH D-F7OW
g Numberof | DF7OV [ D-AS0 | | D-F7O0 D-J79W
_ um ‘?’r‘]’ DJ79C | D-A73C | >7- T | D-179 D-A79W | D-F7BAL D'ASD
auto switches D-FOrvV | D-A80C -Fo] B_Egg D-F79F D-FON
D-A9C1V . .
\ 9 D-FOOIW D-FO9BAL
b ! 1 5 5 10 15 15 20 10
- 2 5 10 15 15 20 20 10
Weight Unit: g Option Weights Unit: g
e Bore size Cylinder stroke (mm) Bore size (mm) 12 16 | 20 | 25 | 32 | 40 | 50
(mm) 5 10 15 20 Both ends tapped 1 1 3 3 6 6 6
12 48 54 = = Rod end Male thread | 1.5 3 6 12 26 27 53
- 16 74 83 - - male thread | Nut 1 2 4 8 17 | 17 | 32
E 20 109 123 - - Rear boss mount 07 | 13 | 2 3 5 7 13
= 25 146 | 162 _ _ One-touch fitting -1 -1 <-19861] 6 |15
% 32 190 | 211 - - Foot (including bolt) 49 | 62 | 147 | 169 | 143 | 155 | 243
2 40 282 305 - - Front flange (including bolt)| 54 67 | 131 | 153 | 180 | 214 | 373
50 — 487 - 559 Rear flange (including bolt) | 52 63 | 124 | 144 | 165 | 198 | 348
12 53 70 - - Double clevis _ 29 | 35 | 78 | 114 | 151 | 196 | 393
16 73 02 ~ - (including pin, snap ring, bolt)
2 20 122 | 133 Calculation example) CDQ2D32-10SM  f auto switches are to be installed, the
g - - « Cylinder weight: CDQ2B32-10S -++++--- 211g  weight that corresponds to the number
o 25 160 175 - - + Option weight:  Both ends tapped ------- 69 of auto switches and mounting
2 32 200 217 _ _ Rod end male thread---- 43g  brackets to be used must be added.
= Double clevis ---....... 151g
0 40 292 311 - - 2119 Weight/Auto Switch Mounting Bracket
50 - 517 - 578 Part No. |Applicable bore size| Weight g
BQ-1 | 912 to 925 1.5
BQ-2 | 232 to 850 1.5

Construction

* Refer to p.5.3-75 for auto switch weight.

Spring return

@@@@ﬁf@@@@@
| [/ /)

i

Component Parts

a : Auto switch

Spring extend
B ®&® @ d

=

Port size M5 X 0.8

v

5 :Auto switch

ROREE O
[/l

No. Description Mlaterial Note No.| Description |Matl Note
@ |Cylinder tube Aluminum alloy Hard anodized )
(2 |Piston Aluminum alloy Chromated 12| Pistonseal |NBR
. Stainless steel 212 to @25 3 Rod seal NBR
@ |Piston rod Carbon steel  |232 to g50, Hard chrome plated Gasket NBR
Aluminum bearing alloy 212 to 840, Anodized
@ |Collar Aluminum alloy casting 250, Chromated, coated Replacement Parts: Seal Kits
(®) |Snap ring Carbon tool steel Phosphate coating . . .
(® |Bushing Lead bronze casting Used for only g50 Series Bore size AR, (CIIS
(@ |Return spring Piano wire Zinc chromated
(® |Bronze element Sintered metal BC In case of port size 12 CQ2B12PS
® |Snap ring Carbon tool steel Rc(PT)1/8, 1/4 16 CQ2B16-PS o )
10 [Plug with fixed orifice | Lead bronze casting [In case of port size M5 X 0.8 20 CQ2B20-PS Kits include items (2,
@ |Magnet p— Pneumatic 25 CQ2B25-PS @3 and (9 from the
* Piston and piston rod of spring extend type (T type) bore size 220 or larger are combined. 32 CQ2B32-PS table above.
(Stainless steel) 40 CQ2B40-PS
50 CQ2B50-PS

2.3-42

* Seal kit consist of item (12, (3 and (4 contained in one kit, and can be ordered using the
order number for each respective tube bore size.



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CDQZ

Mounting Bolt for CDQ2 with Auto Switch

Special long bolt for through hole mounting is Sp ring return Spring extend

available as option. Model C D Mounting bolt Model C D Mounting bolt

How to Order: Specify the required bolts. CDQ2B12-55 35 | M3x35¢ CDQ2B12.5T 40 | M3x40¢

Example) Bolt M3 X 35 ¢ 2 pcs. 108 55 20 X 40 ¢ 10T 6.1 e X 45 ¢

: CDQ2B16-5S 40 M3 X 40 ¢ CDQ2B16-5T 40 M3 X 40 ¢

Spring reti,rf_' ——  Mounting bolt -10S & 45 X 45¢ -10T E 45 X 45¢

: CDQ2B20-5S 105 40 M5 X 40 ¢ CDQ2B20-5T 105 40 M5 X 40 ¢

-10S ) 45 X45¢ -10T ) 45 X45¢

CDQ2B25-5S a5 40 M5 X 40 ¢ CDQ2B25-5T o 40 M5 X 40 ¢

-10S ’ 45 X 45¢ -10T ’ 45 X 45¢

CDQ2B32-5S 9 40 M5 X 40 ¢ CDQ2B32-5T 9 40 M5 X 40 ¢

-10S 45 X45¢ -10T 45 X45¢

B Mounting bolt ' CDQ2B40-5S 45 M5 X 45 ¢ CDQ2B40-5T 45 M5 X 45 ¢

li 105] "° [0 X 50 ¢ 01| "° [0 X 50 ¢

CDQ2B50-10S 55 M6 X 55 ¢ CDQ2B50-10T 55 M6 X 55 ¢

20s| 125 [ 65 X 65 ¢ 20T | 125 [ 65 X 65 ¢

Auto Switch Mounting Position (at Stroke End) and Mounting Height

D-A70 D-A70H D-J79 D-F70F D-A73C

D-A80 D-A80H D-F7OW D-F7NTL D-A80C

D-F70 D-J79W D-F7BAL D-J79C
@12 to 925
232 to 850

@32 to 850

A
Auto Switch Mounting Position Auto Switch Mounting Height (mm)
D-A70H D-ATCH
D-A80H D-ABOH
D-ATSC B_IE;BDC\II- D-FICW 8-577%
Bore | D-A70] |D-A80C - D-A90 [D-Fo0 |D D-A70 |P=379 Ip.a73c |D-Frov | ; oy [D-FO0V D-FOTW
(mm) | D-Ag0 |D-F7O |[D-ATOWID-FILF |5 rgry | p-Fomy |D-FIEWY D-A80|2 W 5 asoc [y |P27C | DATWIDAIV 1h oy p-pogaL
D-J79 D-J79W D-F9BAL D-J79W
D-F7OWV D-FTBAL
D-F70V D-F70F
D-J79C D-FINTL
A B A B A B A B A B A B A B V] U U U U V] U U U
45|55 5 6 2 3 9 | 10
12 (10) (105) (7.5) @l — |~ |||~ |— 19.5 20.5 26.5 23 26 22 — — —
75| 5 8 [55| 5 |25(12 |95
— | === |—|— 22.5 23.5 29.5 26 29 25 — — —
16 15| @ | © |09] @ | @] 00| ws
20 75|65| 8 7 5 4 (12|11 | —|—|—|—|—|— 24.5 25.5 315 28 31 27 — — —
25 75| 7 8 |75 5 (45|12 (15| — | —|— | —|— | — 27.5 28.5 345 31 34 30 e = —
32 9 6 |95(65(65|35(135|105| 8 51112 9 (11| 8 315 325 38.5 35 38 34 27 29 26.5
40 13 (85135 9 [105| 6 [175| 13|12 [7.5| 16 |115| 15 |105 35 36 42 38.5 41.5 37.5 30.5 325 30
50 11 |115|115| 12 |{85| 9 [155| 16 | 10 [105| 14 |145| 13 |135 41 42 48 44.5 475 43.5 36.5 385 36

2.3-43



Series CQZ2
]
F12 to @25 spring Return Without Auto Switch

Both ends tapped: CQ2A

Both ends tapped (mm)
O1thread R R

Bor
Standard (Through-hole): CQ2B \E om | O |R
= L‘_ S p] 12 | mMaxo7]| 7
16 M4 X0.7| 7
M 20 [M6Xx10] 10
ﬂ_ 25 | M6X10] 10

H thread effective depth C 4-oN through
8-60 counter bore f_ M5 X 0.8
(Port size)
|
o7 + 31 + S |
\\
4. - N| =] w al — /*‘—‘___—’é’_
(o]
(=]
o L
TN
M A
_E
Rear boss mount (mm
Rear boss mount (mm)
Bore | 5| he
(mm)
12 [1.5] 15 30
16 [1.5| 20 3¢s
20 | 2| 13 §os
[e)] 0
Y, I . Y = 25 | 2] 15 8us
< =
G
Rod end male thread
Rod end male thread (mm)
Bore | | x | Hi L
(mm)
H1 12 | 9 |105| M5X08 | 14
16 [10|12| M6X1.0| 155
) 20 [12]14| M8x125 | 185
) 25 |15 [175] M0OX15 | 225
i
4 1
Rod end nut*/'
X
L1
Standard (mm)
Bore A B
(mm) 5st | 10st | 5st | 10st < D E F H ! K L M N © z
12 255(305| 22 | 27 | 6 25 | 5 |M3X05| 32 | 5 | 35 |155| 35 [65Depth35| —
16 27 | 32 |235|285]| 8 8 | 29 | 55 | M4x07| 38 | 6 | 35| 20 | 35 |65Depth35| 10
20 29 | 34 |245|295] 7 | 10 | 36 | 55 | M5X08 | 47 | 8 | 45 [255]| 55 |9Depth7| 10
25 325[375|275(325]| 12 | 12 | 40 | 55 | M6X1.0| 52 | 10 | 5 | 28 | 55 |9Depth7| 10

* Refer to p.2.3-18 for rod end nut and optional brackets.

Standard -+ SCQ2 B, #9

2.3-44



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ

Foot/CQ2L Foot (mm)

L B Special cap bolt Bore A B LS
o 2PCEUd CAp DOR L |L1|LD|LG|LH LT|LX|LY|LZ| X | Y
i (mm) | 5st | 10st | 5st | 10st 5st | 10st

=y 12 | 403[453| 22 | 27 [135] 24 | 45|28 |17 |10 | 15| 2 | 34 [295] 44| 8 | 45
—___ 16 | 41.8[46.8|235]285[135|255( 45| 28| 19 [115[165 38335/ 48[ 8 |5
20 462512 |245(295|145(285|66 | 4 | 24 [125|175/32 | 48 | 42 | 62 | 92|58
25 | 49.7[547]275(325] 15 |325| 66| 4 | 26 |125[17.5]|32 | 52 | 46 | 66 |10.7[58

)

Rod end male thread

B
B
_HDd end I"IUI_' J
Lo ¥

Front flange/CQ2F Front flange (mm)

Bore | A B _{eoler|rv|x|rz| L |1t

1 (mm) | st |10t | 5st | 10st
- —] 12 |355(405( 22 | 27 | 45| 55| 25 | 45 | 55 |135]| 24
i - 16 37 | 42 1235|285] 45| 55|30 | 45| 55 |135[25.5
- 20 | 39|44 [245|295|66| 8 | 39| 48 | 60 [145|285
‘ |;— ——] 25 |425|475|215325|66 | 8 | 42 | 52 | 64 | 15 |25

L FX - E'FT B
FZ 2-gFD —————
-— A
Rod end male thread CU
_Rod end nut* -
| L
Rear flange/CQ2G g Rear flange (mm)
A (*Dimensionsaresame as rod )
Bore Ll side flange except A, L and L1.
L — e — (mm) | 5st | 10st

o 12 |31]36|35] 14

e O Lol | 16 |ss|as]3s 155

= ) | R 20 |37 | 4245|185

- @r-—- 25 |405[455| 5 |225

L B L JFT EX | \
LA | FZ 2-0FD

Rod end male thread

-

-

_Rod end nut* g
L1

Double clevis/CQ2D . Double clevis (mm)
4-
cT_ (Capbolt—— Bore A B CL
==+ / Cap bolt CD CT|cu|cw|cX[CZ| L [L1| N |[RR
gy CDMoeHI (mm) | 5st | 10st| Sst | 10st 5st | 10st
j_[a"'s"g @ 12 |455]505] 22 [ 27 [ 5 [395]ws 7 [14] 5| 10]35] 14 [maxor] s
an 16 |48 |53 [235(285| 5 |42 | &7 10 | 15 | 65| 12 | 35 [155|max07] 6

(S0 S

- .|_(}_

20 |56 |61 (245/295] 8 | 47|52 12118 | 8 | 16 [45[185/M6X10| 9
25 |625(67.527.5|325] 10 [52.5{57.5| 5 [ 14 | 20 [10 [ 20 | 5 |225[M6X10| 10

| Leu] L Jl Xt = Refer to p.2.3-18 for rod end nut and option brackets.
L Ccw |RR CZH #+ Clevis pin and snap ring are contained.
JE—E i
A
Rod end male thread ST SO Add foot (#2) to SCQ2 B #9.
M) Front flange:------es- Add front flange (#3) to SCQ2 B #9.
HHEG Rear flange:---wee- Add rear flange (#4) to SCQ2 B #9.
Double clevis: - «wwuee Add double clevis (#5) to SCQ2 B #9.

Rod end nut* f

L1
—

2.3-45



Series CDQZ2

]
F12 to @25 spring Return With Auto Switch

Both ends tapped: CDQ2A

Standard (Through-hole)/CDQ2B Oithieed . B -
=
L, LA
Lead wire minimum 22
bending radius 10 H thread effective depth C Auto switch
a C————e —
(=]
Fo)
\.
2-gN through E M5 X 0.8
4-00counterbore |- B (Port size)

Rear boss mount

|
oTho

Both ends tapped (mm)

Bore

o) o1 |R
12 |maxo7]| 7
16 |Maxo07]| 7
20 [M6X10] 10
25 | M6X1.0] 10

Rear boss mount (mm)

Bore | 5| Thg
(mm)
12 |15 15 3o
16 [1.5] 20 905
20 | 2| 13 s
25 2| 1530

G
Rod end male thread
Rod end nut* Rod end male thread  (mm)
Bore 1oyl x| Hi Ly
Hi (mm)
) 12 | 9 |05 M5X0.8 | 14
L W . 16 [10|12| M6X10 | 155
L = 20 12|14 | M8X125 | 18.5
— 25 |15|175] M0X15 | 225
—
Auto switch shown above is D-A73 and D-A80. C1
Refer to p.2.3-20 for auto switch mounting position ™
and mounting height. X
[,
Standard (mm)
Bore B
(mm) 5st | 10st | 5st | 10st C|DIE|F H KL |MIN o S|U|V
12 36.5/41.5| 33 | 38 6 6 | 32|65| M3X05 | 5 |35 22|35(65Depth3.5355(195| 25
16 39 | 44 |355|405| 8 | 8 |38|55| M4X0.7 | 6 |3.5]|28|3.5|6.5Depth 3.5/41.5]225| 29
20 41 | 46 |36.5|415| 7 |10 |47 |55| M5X0.8 | 8 |45|36|55| 9Depth7 | 48 |245| 36
25 425|475|375[425|12 [ 12 |52 |55| M6X1.0 | 10| 5 | 40 |55 | 9Depth 7 |535|275| 40
= Refer to p.2.3-18 for rod end nut and optional bracket
L _
Standard -+ SCQ2 [Bore size| B, #9

2.3-46



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series

CcO2

Foot/CDQ2L 5 Foot (mm)
= Bore | A B |u|w|ws|ti—— ir|ix oy iz] x| v
(mm) | 5st |10st| 5st | 10st Bst |10st
12 51.3(56.3| 33 | 38 |135| 24 |4.5(2.8| 17| 21|26 | 2 |34 |295| 44| 8 |4.5
16 53.8(58.8/35.5/40.5[135[255( 4.5/ 2.8] 19 [235[285| 2 |38 335/ 48| 8 | 5
20 58.2(63.2/36.5/41.514.5(285/ 6.6 4 | 24 |245/295/3.2/48 | 42 | 62]9.2| 5.8
25 59.764.7(37.5|42.5| 15 [325|6.6| 4 | 26 |22.5(27.5(/3.2|52 | 46 | 66 |10.7| 5.8
Rod end male thread
| g
_Rod end nut* | /
L1
Front flange/CDQ2F Front flange (mm)
Bore A B
FD|FT|FV|FX|FZ| L | L1
(mm) | 5st | 10st| 5st | 10st
Rod end male thread 12 |465]515] 33 | 38 | 4555 25 | 45 | 55 [135] 2
/M 16 49 | 54 [355[405| 45| 55| 30 | 45 | 55 [135]|255
) Ko a— I | . 20 | 51|56 [365[415| 66| 8 | 39| 48 | 60 |145[285
% &\-I' = = 25  |525|575]375(425] 66| 8 | 42 [ 52 | 64 | 15 [325
For=tay B ° +HHE?
— / _(
: “—(r“ g Rod end nut* / CU
; _FT L
- BV £l B
A
Rear flange  (mm)
Rear ﬂHHQEICDozG Bore A (* Dimensions except A, L and Ll)
are same as rod flange type.
Rod end male thread mm) [sst10st] = | M ge P
12 464151435 | 14
= 16 445]495] 35 |15.5
T 20 49 | 54 | 45 |185
25 50.5[555| 5 |225
am -
E..LL;. JFT
| A
Double clevis/CDQ2D Double clevis (mm)
Bore A B CL
_ D il W[CX|CZ| L | L1 N RR
cT fgé’gm (mm) | 5t | 10st | 5st | 10st c 5st | 10st CTicujew ex)c
"|’ 5CD hole H10 12 |565]615] 33 |38 | 5 [505[555) 4 | 7 [14 | 5 |10 35|14 | maxo7] 6
3 1 axis d9 @ 16 60 | 65 [355(405| 5 [ 54 |59 | 4 [ 10| 15 |65 | 12 |35 [155] MAX0.7 | 6
rel " = ,—1 20 68 | 73 |36.5(415] 8 |59 [ 64 | 5 |12 |18 | 8 |16 |45 |185| M6EX10| 9
Ia TIL “'rci 25 725(775(375(425( 10 |1625|67.5| 5 | 14|20 | 10 | 20 | 5 |225| M6 X 1.0 | 10
| . T b B ‘G} = + Refer to p.2.3-18 for rod end nut and option bracket.
| cu 77| 5% # Clevis pin and snap ring are contained.
LCU_| N x
L B__ICWR g9
GL—=— o
A
Rod end male
thread -
_E' |& Il Foot oo Add foot bracket #2 to SCQ2 [bore size | B, #9.
7 H Front flange .- Add front flange #3 to SCQ2 ['bore size | B, #9.
Rod end nut*| / Rear flange - eoeeveeens Add rear flange #4 to SCQ2 B, #9.
L1 Double clevis e Add double clevis #5 to SCQ2 B, #9.

2.3-47



Series CQ2/CDQZ2

@32 10 @50 spring Return

. ] Refer to dimensions table since dimensions of A, B, F
With Auto Switch and P are different when auto switch is not mounted.

Both ends tapped: CDQ2A

Q1 thread

Standard (Through-hole)/CQ2B, CDQ2B

H thread effective depth €
4-aN through P

800 counter bare

(Port size}\

Lead wire minimum
bending radius 10

Auto switch
D-A7/AB

Auto switch

D-A9/F9

Rod end male thread

H1

Auto switch shown above is D-A73 and D-A80.
Refer to p.2.3-20 for auto switch mounting
position and mounting height.

Rod end nut

With built-in One-touch fitting/@32 to 850

Both ends tapped mm

Bore

(mm) 01 R
32 M6 X 1.0 |10
40 | M6X1.0[10
50 M8X125 |14

Rear boss mount(mm)

Bore
(mm)

32

40

50

Th9

21305
28 5052
35—(0) 062

Rod end male thread (mm)

Bore
(mm)

Ci

X Hi

L1

32

20.5

235| M14X15

28.5

40

20.5

235| M14X15

285

50

26

285| M18X15

335

With built-in One-touch fitting ()

v Py Bore |z | py| v Wi
(Piping tube 0.D.)" (mm)
32 |13]| 6 [%5]59
| S 40 | 13| 6 | 405|665
g %_ _____ © 50 |16] 8 [50]82
Standard (mm)
Without auto switch With auto switch
98 A B F P A B
(mm) F P
5st 10 20 5st 10 20 5st 10 20 5st 10 20 5st 10 20 Sst 10 20
32 35 | 40 | — | 28 | 33 | — [ 55 7.5 — [wsxosepnuel — | 45 [ 50 | — | 38 [ 43 | — [ 7.5 | Re(PT)LB
40 415]465| — [345|395] — | 8 | 8 | — |RePr)ys | — 515|565 | — [445]495| — | 8 | RcPT)L8
50 — | 485|585 — |405[505] — [105[105] — [RePm4 | — [58.5]68.5 | — [505]605]105 | RC(PT)14
Bore (mm) C D E H | J K L M N (e} S U Z m Refer to p.2.3-18 for rod end nut and
32 13 | 16 | 45 | M8X125| 60 | 45| 14 | 7 | 34 | 5.5 | 9 Depth 7 | 585 | 31.5 | 14 option bracket.
40 13 | 16 | 52 [ mM8x125| 69 | 5 | 14 | 7 | 40 | 55| 9Depth 7| 66 | 35 | 14 B _
50 15 | 20 | 64 | m10x15| 86| 7 | 17| 8 | 50 | 6.6 |11 Depth 8| 80 | 41 | 19 Standard - SCQ2 [ Bore size] B, #9

2.3-48



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ

Foot/CQ2L, CDQ2L L B Foot (mm)
Without auto switch With auto switch
ST Bore
3= :\\\0 . (mm) A B LS A B LS
.a'/’; _____ I-\__ gplec:lal cap 5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20 |5st| 10 | 20 [5st| 10 | 20
{3\
Q RS -j,'..- - e == ot 32 [525/572| — |28(33| — 12|17 | — [62.2[67.2| — |38]43| — |22|27| —
S Afl - T 40  [58.7/63.7| — [345/39.5| — [18.5[23.5| — [68.7(73.7| — [44.5/49.5| — [28.5[33.5] —
et ﬁ | 50 | — [66.7]76.7| — |40.5/50.5| — [17.527.5] — |76.7|86.7| — [50.5[80.5| — |27.5[37.5
| : ] | o
KX Neowo XX rgxode Bore (nm)| L |L1[LD|LG|LH|LX|LY[LZ] X | ¥
L 32 [17(385/6.6| 4 |30(57|57|71|112|5.8
40 |17(385|6.6| 4 [33|64|64|78|112| 7
Rod end male thread 50 |18[435] 9 | 5 |39]79(78[05]147] 8
Front flange/CQ2F, CDQ2F
Front flange (mm)
Without auto switch With auto switch
-f Bore A B A B
(mm)
= 5st| 10 [ 20 | 5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 10
32 |45|50|—|28|33|— |55(60| — |38[43| —
B 40  |515(56.5| — [345/39.5| — |61.5(66.5] — |44.5[49.5] —
FT 50 | — |585|68.5] — [40.5[50.5| — |68.578.5 — [50.560.5
- _FF;_. I B
A ] Bore (mm) |FD|FT|[FV|FX|FZ| L |L1|M
Rod end male thread 32 55| 8 |48(56(65(17 38534
40 |55| 8 |54(62(72(17(385/40
50 |6.6| 9 |67|76(89|18(435/50
Rod end nut i3 —
— Rear flange (mm)
i i * Dimensions except A, L and L1
Rear fIangelCQZG, CDQZG Bore size W/o auto switch |W/ auto switch ( are same as rear flange type. )
1 _ (i) A B L|L1
3 =3 —?-L i T 5st| 10 | 20 | 5st| 10 | 20
- ' ' 32 |43|48|— 53|58 — | 7 |285
'[ — & 40  [495|545] — [595/64.5| — | 7 [285
' , 50 | —|575/675| — |67.5/77.5 8 [335
j S—
L B FT 4-0FD
N A
Rodend male [ 7/
thread | i
Double clevis (mm)
Without auto switch With auto switch
(‘?T‘]jr:]e) A B cL A B cL
5st| 10 [ 20 | 5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20 (5st| 10 | 20 | 5st| 10 | 20
32 |65|70|—|28|33| — |55|60| — |75|80| — |38|43|— |65|70| —
40  [73.5(785| — [39.5/39.5| — [63.5(68.5| — |83.5(88.5| — [44.5(49.5| — |73.5[78.5] —
50 | — [90.5|1005] — [40.5/50.5| — {76.5(86.5] — [1005[1105(50.5(50.5(60.5| — [86.5(96.5
cT Cap bolt
s=il oCD hole H10 T Bore (mm)|CD|CT|cujcw|cx|cz| L [L1] N |RR
— E axisd9 55" & 32 |10| 5 |14(20|18|36| 7 [285|M6X 1.0{10
? A i 40 [10| 6 [14|22|18|36| 7 [285|M6X 1.0{10
£- — [N ‘j'{_ 50 (14| 7 |20|28|22|44| 8 [335|MBX 1.25| 14
| T - (2
- S +04 + Refer to p.2.3-18 for details of rod end nut and optional bracket.
CX+oz2 «x Clevis pin and snap ring are attached.
cz'_o.i
=03
Rod end male /
thread
. L] FOOt ++veremererenenneennes Add foot bracket (#2) to SCQ2 B, #9.
YY) Frontflange - Add front flange (#3) to SCQ2 B, #9.
Rear flange - ---- Add rear flange (#4) to SCQ2 B, #9.
Rod end nut* Double clevis -+ Add double clevis (#5) to SCQ2 B, #9.
I S 2.3-49



Series CQ2/CDQZ2
F12 to @25 spring Extend

]

Without Auto Switch

Both ends tapped: CQ2A Both ends tapped (mm)

Bore
Standard (Through-hole)/CQ2B O1 thread R -"- mm | 9t |R®
- =z 12 M4 X0.7| 7
— 16 [M4ax0.7| 7
' I 20 |M6X1.0[ 10
H—_W 25 M6 X 1.0] 10

H thread effective depth C

4-gN through Q M5 X 0.8
8-00 counter bore (Port size)
o7 + +
- 7
. al N = {'5 B
(=]
o . - j
iy
+ +
[\
K L B
-
M A
E Rear boss mount (mm)
Rear boss mount
Bore | G| The
(mm)
12 |15 15350
16 [1.5] 2080s
20 2 | 13380
P o 25 2 | 1580s
¢ - 0 - )E Note 1) Front boss mount is
hw = optional specification.
(Specify “-XC36" at the
end of model number.)
G
Rod end male thread Rod end male thread (mm)
Rod end nut * B L
O i X | Hu L
(mm) 5st | 10st
Hi 12 |9 |105|M5x0.8|19]24
v 16 10|12 [M6 X 1.0]205|255
—ﬂﬁ 20 1214 |[M8 X 1.25|235|285
\ J - 25 15 |175|M10 X 1.25] 275|325
_J
C1
X
L1
Standard (mm)
Bore A B L
(mm) 5st | 10st | 5st | 10st C|D|E H K 5st | 10st M| N © Q z
12 30.5| 405 | 22 27 | 6 25| M3X0.5 |32 5| 85 | 13.5|155/35(6.5Depth 35| 7.5 | —
16 32 42 | 235(285|8|8[29| M4XO0.7 |38| 6 | 85 |13.5|20|35|6.5Depth 3.5/ 8 |10
20 34 44 | 245|295 |7 |10|36| M5X0.8 [47| 8 | 95 | 145 |%55|55| 9 Depth 7 9 10
25 375|475|275[325]12|12[40|] M6X 1.0 |[52|10| 10 15 [28|55|9Depth 7| 11 |10

= Refer to p.2.3-18 for details of rod end nut and optional bracket.

L
Standard

2.3-50

scq2 B, #10



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ

oot
Special cap bolt 5 x 5 T T T (mm)
— ore 1
LD|LG|LH LT|LX|LY|LZ| X | Y
(mm) | 5st |10st| 5st |10st| 5st |10st| st |[10st 5st |10st
12 |453|55.3) 22 | 27 [185(235) 29 | 34 |45(28| 17 [ 10| 15| 2 | 34 [295) 44 | 8 |45
16 |46.8/56.8/23.528.5/18.523.5/30.535.5) 45 | 2.8 | 19 [11.5/165] 2 | 38 335/ 48 | 8 | 5
20  |51.2|61.2[24.5(29.519.5/24.5(335(38.5] 6.6 | 4 | 24 [12.5175/32| 48 | 42 | 62 |9.2[58
25  |54.7|64.7|27.532.5] 20 | 25 [37.542.5| 6.6 26 |12.5175/3.2 | 52 | 46 | 66 |10.75.8
Rod end nut
i
Rod end nut ; /
] L 5
Front flange mm
Front flange/CQ2F TR - (Ll !
: . (mm) [sst [rost[ st [10s] | || st [ros st 1051
| - 12 |405[505) 22 | 27 |45 (55| 25 | 45| 55 |18.5/235] 29 | 34
5| 16 | 42|52 235[28545 55|30 | 45 | 55 185235305355
] * E . B 20 | 44|54 |245(29.5/6.6| 8 |39 | 48 | 60 [19.5[245|33.5/385
{ _ 1 - 25 |415|57.5[275(32.5 6.6 8 |42 |52 | 64 | 20 | 25 |37.5/425
! LJFT
E L S —B = —
] o — —
Rod end nut
)
_Rodend nut* | /
e S S
Rear flange (mm)
Rear flaHQE/CQZG + Dimensions except A, L and L1
Bore A L L1
- ) are same as front flange.
— T — (mm) | 5st [10st| 5st [10st| 5st |10st
— @ 12 | 3646 [85(135) 19 | 24
E i __ 1o+ )-+ot E‘ 16 |37.5[47.5/ 85 [13.5[205[255
@ 20 |42 |52|95/145(235/285
———— 1= 25  |455[555] 10 | 15 (275325
L | B | JFT FX
I N— Ma—a 20D
Rod end nut
_Rod end nut *|
L u ]
Double clevis/CQ2D Double clevis (mm)
cT 4N A B cL L L1
/"Cap bolt Bore cp cTlculewlex|cz N [RR
— oCD hole H10 e (mm) | 5t [10st| 5st [10st] | 5st |10t st [10st] 5st |10st
; axis d9 ©) 12 [505(60.5) 22 | 27| 5 [445/545] 4 | 7 [14| 5 | 10|85 [135| 19 | 24 [M4X0.7| 6
_5_ ] e i ’ 16 | 53|63 235285) 5 [47 |57 | 4 |10 |15 65|12 |85 [135/205(255|M4 X 0.7 6
_ _— teraf WA 20 | 61|71 (245295 8 |52[62| 5 |12]18 | 8 |16 |9.5]145235(285|M6 X 10 9
) 25 |675]77.5[27.532.5] 10 |57.5[67.5] 5 | 14| 20 [ 10| 20 | 10 | 15 [27.5[32.5|M6 X 1.0 10
cu cx 4 = Refer to page p.2.3-18 for details of rod end nut and optional brackets.
L B tw RR = m «* Clevis pin and snap ring are attached.
cL N
A -
Rod end nut
B Foot- Add foot bracket (#2) to SCQ2 B, #10.
Front flange ----Add front flange (#3) to SCQ2 B, #10.
Rear flange-- - ... Add rear flange (#4) to SCQ2 B, #10.

_Rod end nut *

Add double clevis (#5) to SCQ2 B, #10.

Double clevis:::-:--:-

2.3-51




Series CDQZ2
F12 to @25 spring Extend

]

With Auto Switch

Both ends tapped: CDQ2A

Orhread R, 8
Standard(Through-hole)/CDQ2B | r Both ends tapped (mm)
+ = - (B‘”e) o1 |R
mm

12 M4 X0.7| 7

] 16 M4 X0.7| 7

20 M6X1.0| 10
25 M6 X1.0 | 10

22
Lead wire minimum
bending radius 10 1 H thread effective depth C Auto switch
Ty M5 X 0.8 H _E]
| (Port size) \-
o]
iH‘
PAE B | ¥ i
3 = =1
# \,
b N>
- 2-oN through Q
O | 4-00 counter bore
L M L B .
E - A
Rear boss mount Rear boss mount (mm)
Bore | G| The
(mm)

12 |15 15 dous
16 [1.5] 20 d¢s
20 2| 13 Qo3
25 2| 15 Qo3

[=2]
=
h—_‘l" '5 Note 1) Rod side end boss type is

optional specification.

(Specify "-XC36" at the
@ end of model number.)
G
Rod end male thread Rod end male thread (mm)
Rod end nut * Bore Li
@m) <] M e
i 12 9 [105| M5X0.8 | 19 | 24
16 1012 | M6 X 1.0 | 205 | 255
| 20 12 |14 | M8X1.25 | 235 | 285
_{ {j - S| (N 25 15 |175| MI0X125 | 275 | 325
N >
Above auto switch: D-A73 and A80. Cr

Refer to p.2.3-20 for auto switch mounting X
position and mounting height.

Standard type (mm)
Bore A B L
(mm) 5st | 10st | 5st | 10st C|D|E H K 5st | 10st M1 N © Gl | B
12 459|559 |37.4|424| 6 | 6 | 32| M3X0.5 | 5 | 85 |135|22|35|65Depth35| 11 |355|195]| 25
16 44 | 54 |355|405| 8 | 8 |38 | MAX0.7 | 6 | 85 |13.5|28 |3.5|65Depth35| 10 | 415|225 29
20 46 | 56 [36.5|415| 7 |10 |47 | M5X08 | 8 | 9.5 | 145 |36 | 55| 9Depth 7 |10.5| 48 | 245]| 36
25 475|575 |375|425 |12 |12 |52 | M6X1.0 |10 | 10 | 15 |40 |55 9Depth7 | 11 | 535|275 40

# Refer to p.2.3-18 for details of rod end nut and optional brackets.

I CQ2B12:---w:-- Add auto switch (#12) to SCQ212B, #10
CQ2B16---------Add auto switch (#12) to SCQ216B, #10

CQ2B20::++++++- Add auto switch (#12) to SCQ220B, #10
CQ2B25:--+++e-+ Add auto switch (#12) to SCQ225B, #10

2.3-52



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CDQZ

|

L B Foot (mm)
Special capboit  BOre LA 3Lt ip| 6|t —=— o1 [ u iz | x | v
———— __(mm) | 5st [10st| 5st |10st] 5st |10st| 5st |10st Bst |10t
12 [60.7)70.7|374|42.4]185(235] 29 | 34 |45|2.8| 17| 21| 26| 2 | 34|295| 44| 8 |45
16 |58.8)68.8/35.5/405]185(235(30,5(355) 45 | 2.8 | 19 [235(285| 2 | 38 [335/ 48| 8 | 5
20  63.2]73.2/365]41.519.5(245(33.5(38.5] 6.6 | 4 | 24 [245(295)3.2| 48 | 42 | 62 [9.2(58

25  [64.7|747|375/425| 20 | 25 |37.5{42.5( 6.6 | 4 | 26 [22.52753.2 | 52 | 46 | 66 |10.7| 58

)

A
Rod end nut *
Rod end male thread
- L‘ -
Front flange (mm)
Front flange/CDQ2F Bore | A B L L1
FD| FT|FV|FX|Fz
(mm) | 5st | 10st| Sst | 10st 5st | 10st | 5st | 10st
/E-Eﬂ 12 |559(65.9|37.4[424| 45 | 55| 25 | 45 | 55 [185[235] 29 | 34
G 2 ¥ — 16 | 54 | 64 [355[405| 45| 55| 30 | 45 | 55 [185[235[305[355
N, ;— +4-t+
N — 20 | 56| 66 (365(415] 66| 8 | 39 | 48 | 60 |19.5|245]335|385
J8 @ 25 |575|675(|375(425| 66| 8 | 42 | 52 | 64 | 20 | 25 |375|425
> BN B BN _ . .
OY—=r ——0—
@%J@ Rod end male thread
T Eﬂ _— CU
FV L B T N —

—

Eodﬂd nut *

L1
Rear flange (mm)
xDimensions except A, L and L1
Rear ﬂange/CDQZG Bore A L L1 ( are same as rear flange type. )
(mm) | 5st | 10st | 5st | 10st| 5st | 10st
Rod end male thread 12 514(614| 85 [135] 19 | 24
16 495[595| 85 |135]|205(255
20 54 | 64 | 95 |145]235]285
Rod end nut * 25 |555]655] 10 | 15 [275]325

Double clevis (mm)
Bore A B CL L
2N (mm) [sst [10st] 5t [20st] " [ st [a0st] ST | Y| W] <X €% [5s [10st
Sl gepbab 12 |659]759]37.4|424] 5 [599]699] 4 | 7 |14 | 5 | 10 | 85 [135
— 16 |65 | 75 (355(405] 5 |50 | 69| 4 | 10| 15 |65 12 |85 [135
20 | 73(83 (365415 8 |64 | 74| 5 | 12|18 8 | 16 |95 [145
| e} 25 |775(875(375(425] 10 [675]|775] 5 | 14 | 20 | 10 | 20 | 10 | 15

L1 * Refer to p.2.3-18 for details of rod end
N RR nut and optional brackets.
##% Clevis pin and snap ring are attached.

Bore
(mm) | 5st | 10st

Lol s Lowrr 12 19 | 24 | M4X07 | 6

er | 16 |205]255| MAX0.7 | 6

A 20 235]285] M6X 10| 9

Rod end male thread 25  [275/325| M6X 10 | 10

Basic style Mounting style
CQ2012: e SCQ212B, #10 Add foot bracket (#2)
CQ2016-++-SCQ216B, #10 Add front flange (#3)
CQ20J20: -+ SCQ2208B, #10 Add rear flange (#4)
CQ2025: -+ SCQ225B, #10 Add double clevis (#5)
Add with auto switch (#12)

2.3-53

Rod end nut *




Series CQ2/CDQZ2
332 to @50 spring Extend

i . Refer to dimensions table since A, B, P and Q
With Auto Switch varies in case of without auto switch.

]

Both ends tapped (mm)

Bore
O1 R
Both ends tapped: CQ2A/CDQ2A (i)
Otthiead A _ - 32 M6 X 1.0 | 10
40 M6 X 1.0 | 10
Standard (Through-hole)/CQ2B, CDQ2B | 50 | MBX125 |14
Lead wire minimum T
bending radius 10 ;ﬂ:[
Auto switch _H_—i
LFAZ:AB H thread effective depth C
=U 4-gN through Q P
8-00 counter bore / (Port size)
I )
T 1
+ |
ing
{ B 16 1
Rear boss mount (mm)
L B Bore Tho
A (mm)
32 21 8052
0
Rear boss mount 40 | 28 q0s2
50 | 350062

Note 1) Front boss mount is
optional specification.
(Specify "-XC36" at the
end of model number.)

oTh9

Auto switch
D-A9/F9

Rod end male thread

o Rod end male thread (mm)
Bore L1

mm) | %] M aTost [2ost

i L } R 32 |205[235[M14X1.5[335]385 | —

40 [205]235|M14X 15 335385 | —

50 |26 [285|M18X 15| — |435 |535

Rod end nut *

C1 ’

X

L1

Built-in One-touch fitting/e32 to 850

Above auto switch: D-A73/A80
Refer to p.2.3-20 for auto switch
setting position and mounting height.

Built-in One-touch fitting (mm)

(E:;’rf) z|Pi| VWi
32 |13] 6 | %559
20 |13 6 405665
50 |16] 8 |50]82

Standard (mm)
E— Without auto switch With auto switch
) A B P Q A B B 9
S5st | 10 | 20 | 5st | 10 | 20 | 5st | 10 | 20 | 5st | 10 | 20 | 5st | 10 | 20 | 5st | 10 | 20
32 | 40|50 | — | 28|33 | — |wx08/"%"”| — | 115]105| — |50 | 60| — | 38|43 | — | RCPT)/8 | 105
40 | 465|565 | — | 345|395 | — |RCPT)U8 | — | 11 | 11 | — | 565|665 | — | 445|495 | — | RCPT)U8 | 11
50 — e85 | 85] — [a05|505 [ — [Remua | — 105105 — [685 | 885 | — [505] 605 RCPmjua | 105
(Bn?r:% C|D|E H LYK Il'o SIM|N| O s |uU|Z
32 |13 |16 | 45|M8X125|60 |4.5|14 |12 |17 | — |34 |5.5|9Depth7|585 |3L5 | 14
40 |13 |16 |52 |M8X125|69 | 5 |14 |12 |17 | — |40 | 5.5 |9Depth7| 66 | 35 | 14
50 |15)20 |64 |[M10X15[/86| 7 |17 | — |18 | 28 |50 | 6.6 |11Depth8| 80 | 41 | 19

m # Refer to p.2.3-18 for details of rod end nut and optional brackets.

Standard

scq2 [Boresize ), #10

CAD|

2.3-54



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ

Foot/CQ2L, CDQ2L : Foot (mm)
— o Without auto switch With auto switch
P (n?rf) A B LS A B LS
_ - Sst| 10 | 20| 5st| 10 | 20 |5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20 | 5st | 10 | 20
] Special cap 32 |57.267.2| — |28 (33| — |12 |17 | — [67.2|772] — 38|43 | — |22|27| —
- 40 [63.7|73.7| — [345[395| — [185[235| — |73.7/83.7| — [445(495] — [285[335] —
— : 50 | — |76.7/96.7| — |40.5]505| — |17.5]275| — |86.7]106.7| — [50.5[605| — |27.5/375
| -:__L, . __{ ""‘:".."'l Bore L L1
XY o _m_xl LG (mm) |5st| 10 | 20 |5st| 10 | 20 LD|LGILH|LXILY|LZ| X | ¥
LS
L h = _J 32 | 22|27 | — |435[485| — [6.6] 4 |30 |57 |57|71|112|5.8
Rod end male thread —7 40 |22 |27 | — |435(485] — |6.6] 4 |33 |64 |64 |78 |112] 7
II 50 | — |28[38|—[535(635] 9 | 5(39|79|78|95|147| 8
,_;:‘ - \r
RN Y
,li
Rod end nut,” | EEJ
L1
Front flange/CQ2F, CDQ2F Front flange (mm)
. Without auto switch With auto switch
- (n‘]’rf) A B A B |FD|FT|FV|FX|Fz
5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20
32 |50|60| —|28|33|—|60|70|— |38]|43| — [55]| 8 |45|56]65
40 |565)66.5] — [345|395| — [66.5(765| — |44.5(495| — [5.5]| 8 |54 |62 |72
50 | — |68.5/885 — |40.5[505] — |78.5/985| — |505(60.5/6.6] 9 |67 | 76| 89
Bore L L1 M
(mm) |sst| 10| 20 |5st| 10 | 20
32 | 22|27 — |435(485] — | 34 CuU
40 |22 |27 | — |435]485] — | 40
50 |—|28|38|— [535(635]50
-t
Rod end nut L—'—/
]
Rear flange (mm)
Rear ﬂanQE/CQZG’ CDQZG W/o auto switch| With auto switch (* Dimensions except )
Bore L L1 A,L and L1 are same
— - (mm) A B as front flange.
— _.—r 5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20
— ] 32 [48|58|—[58(68|—[12]17|— [335/385| —
. 40 [455|645] — |645(745| — |12 |17 | — [335(385] —
e i‘ 50 | — |675|875] — |775[975] — [ 18 [ 28 | — |435/535
L B rL‘ 4-0FD
A
Rod end male thread o
‘1 .|lf
wa L l".,
-!LIT — )
Rodendnut /| [ Double cleyls . . . (mm)
- L1 B Without auto switch With auto switch
. A B CL A B CL
mm
Double C|€VIS/CQ2D, CDQZD (mm) Sst| 10 | 20 | 5st| 10 | 20 |5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20 | 5st | 10 | 20
,ET_"«-_N_ 32 |70/80| —[28[33|—[60[70|—[80][90| —|38|43|—[70[80]|—
ZpIbott 40 [785885] — [345(395] — [685[785] — |88:5[985| — [445]495] — [785]885] —
—— "Gﬂ;'f_s“;_g 50 | — |1005]1205| — |40.5(50.5] — |865]1065] — |1105]1305] — |505]60.5] — [965]1165
= Bore L * Refer to p.2.3-20 for details of rod
47 | cD|cTlculcwlcxlcz end nut and optional brackets.
I _ | (mm) 5st| 10| 20 s Clevis pin and snap ring are
— = 32 [10|5|14]20|18|36|12] 17 attached.
CU 40 |10 6 (1422|1836 |12|17| —
L B CW RR
B CL 50 [14| 7 |20|28|22|44|—|18]| 28
A
Rod end male thread

7

||II I
\
Rod end nut —/I

L1

Front flange -
Rear flange -
Double clevis

Add foot bracket (#2) to SCQ2 [Bore size], #10.
-Add front flange (#3) to SCQ2 [Bore size ], #10.

- Add rear flange (#4) to SCQ2 [Bore size |, #10.
Add double clevis (#2) to SCQ2 [Bore size |, #10.

2.3-55



Compact Cylinder Non-rotating Rod: Double Acting Single Rod

Series C

912, 916, 820, 625, 932, @

2K

, 750, 963

i

How to Order

— 30

|

—A/3

1O HO

® Number of auto

With auto switch switches
(Built-in magnet) Auto switch — 2
Non-rotating rod Without auto switch s | 1
(Built-in magnet) n n
Mounti ng e #Refer to below table for selection of
B |Through-hole (Standard) | g12 to @63 auto switch.
A | Both ends tapped
L Foot 240, 850 ® Body option
F Front flange 263 ® Action — Standard (Rod end female thread)
G Rear flangt? D | Double acting F Rear boss mount
D Double clevis c With rubber bumper
#Mounting brackets are shipped not assembled with (only 212 with switch)
the cylinder. M Rod end male thread
® Cylinder stroke (mm) *Body combination is possible.
Refer to Standard Stroke Table FM
) on p.2.3-57.
Bore size
129  12mm 32 32mm
16 | 16mm 40 | 40mm Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.
20 20mm 50 50mm = - - - - —
e » Load voltage Rail mounting Direct mounting Lead wire"(m) _
25 25mm 63 63mm Style| Special function SBEE S g 212 to 863 232 to 863 05 | 3 | 5 [None| Al
entry | S| (Output) DC AC load
Q — Perp. | In-line | Perp. | Indline | &) [O) | @) |(N)
Evneg| —| 5V | — | — | A76H | Acev | A% | @ |@|—|—|1c | —
Note 1) When 12 with switch is required, | — — —
the body option should be with rubber Grommet Yes 200V |mav2 A2H o o
bumper (C). S A73 | A73H | — — o 0|0 — —
Ex.JCDQ2KB12-30DC = — 12V 0oV T o Ao | @ (@ | — | —
. . " —
Piping ® B No| 2wire | [sv.10v|<100v| AB0 | A8OH | Agov | A% | @ |®|—|—|c Eflé\y'
— Screw-in piping & . Ves w2v| —|asc| — | — | — [ o 0|0 |®] —
F | With built-in One-touch fitting @ oMElNo sviv|<2av [asoc | — | — | — | o |o|e|@] c
Diagnostic (2 color)| Grommet|Yes — | — | AW | — — — ® 0 |— | —|—
Q 3 wire 5V, 12V F7INV | F79 — — | ® |@|O|—]| Ic
(NPN) 12V — — | FONV [ FON | @ (@ |—|—| —
Note 2) Bore size with built-in One-touch fitting is from 3 wire 5V, 12V E7PV E7P — — ® ®@|0O|—| Ic
232 t0 63. Grommet -
(PNP) — — | FPV | FoP | @ (@ |—
Mounting Bracket Part Number FrBv 1 Jo | — | — 10|10 0—-|
- 2 wire 12v — — | FBV | FB | @ @ |—|—
?r?rrne Foot® | Flange |Double clevis © § Connector jjoc | — | — | — | @ @ |e|e
(D) 7] 3 wire 5, 12v FINWV | F79W | — — | ®@ |®@O|—|ICc Relay
40 | CQ-L040 | CQ-F040 | CQ-D040 g Diagnostic el (ven) |24V aav | — [ — | — [Fonwv| Fonw | @ (@ O[] — |pic
50 CQ-L050 | CQ-FO50 | CQ-D050 g (2 color) 3 wire 5V, 1V — | Fpw | — — ® @O0 —| c
63 CQ-L063 | CQ-F063 | CQ-D063 s (PNP) — — [Fopwv| FoPw | ® |@ [O]—
Grommet > wi 12V F7BWV | J79W |F9BWV | FBW | @ (@ |[O|—| —
Waler resistant wire — |FBa| — |FoBA | — |@|O]|—
Note 3) When ordering foot brackets, 2pcs. should be DI;’VH'E)ZJ'C":S{ - ire (NPN) 5V, 12V — L EN == — | — 181017 ¢
ordered for each cylinder. 9B eoion 4 wire — F79F | — — | ® |®@O|—
Note 4) The attached parts for each brackets are as Latch with diagnostic
follows. output 2 cglor) (NP - — | = — | ® |90 —
Foot, Flange: Body mounting bolt
Double clevis: Clevis pin, C shape snap ring * Lead wire length 0.5m---.. —  (Example) ABOC BMeseeeenes Z (Example) ABOCZ

for axis, Body mountign bolt
Note 5) A clevis pin and snap ring are packed with
the double clevis.

2.3-56

3meeeeeees L (Example)A80CL None:----- N (Example) ABOCN
* Solid state switches marked with a "O" are manufactured upon receipt of order.



Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CQZK

Bore size (mm) 12 16 20 25 32 40 50 63
[ Through-hole (Standard) | @ [ [ [ [ [ [ [
Mountin
Both ends tapped | — — — — — [ ) [ J [ J
o | Built-in magnet o o o o o [ J [ J [ J
= @)
g Piping| Screw-in style M5X | M5X |M5X0.8| M5X |usx0g | RE(PT) | RS(PT) | Re(PT)
2 0.8 0.8 0.8 |Rc(PT)L/8 1/8 1/4 1/4
& With builtn One-touch fiting — — — — 26/49 | 26/4 28/6 28/6
;j:‘ e Rod end male thread o o o o (] [ J [ J [ J
e Rear boss mount L ® ® ® ® L L4 L4
) Note 1) When requring style without auto switch, only 5 stroke uses M5 X 0.8.
Note 2) When requring style with built-in fitting, dimensions of 32 and 5stroke are same as 10stroke.
Symbol Standard Specifications
Non-rotating rod Style Pneumatic (Non-lube)
E? Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
v Made to Order Without auto switch: —10°C to 70°C (No freezing)

Ambient and fluid temperature

With auto switch: —10°C to 60°C(No freezin
Refer to p.5.4-1 for common made to ( 9
order common specifications and Rubber bumper None
p.5.4-79 for individual specifications. Rod end thread Female thread
Rod end tolerance JIS class 2
A P recau tl ons Stroke length tolerance "0
| el i Rl e | Mounting Through-hole CuU
I Be sure to read before handling. 1 Biston =heed 50 to 50OmM/S
I Refer to p.0-39 to 0-46 for Safety 1 P
I Instructions and common 1 ) )
Lprecautions. ‘l Allowable Kinetic Energy Unit: J
A- mEEEEEEEEEEEEm=_ Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
Caution Allowable kinetic energy | 0.022 | 0.038 | 0.055 | 0.09 | 0.15 | 0.26 | 0.46 | 0.77 | 1.36 | 2.27
’ Snap Ring Installation Removal

(@ For installation and removal, use an appropriate pair

- gf pliers (toolt_for installinﬁ aCsnapring). t Minimum Operating Pressure uni: vpa Standard Stoke Unit: mm
(2) Exercise caution even when using an appropriate :
pair of pliers (tool for installing a 8 SnappfingF)) Bore size (mm) [ 12 {16 | 20| 25|32 |40 (50|63 Bore size Standard stoke
because of the possibility of the snap ring becoming Min. operating press | 0.07 | 0.07 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 12,16 |5, 10, 15, 20, 25, 30
detached from the tip of the pliers (tool for installing a 20, 25 |5, 10, 15, 20, 25, 30, 35, 40, 45, 50
C snap ring) and flying away, which could injure
h”r{“'ﬁ.“s otrh damage the per&phem ?r?utiptmeml' Aﬂder Non-rotating Accuracy gs gg 5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
installing the snap ring, make sure that it is place - , 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
securely in the ring groove before supplying air. Bore size (nm) | 12]1620|25[3240[50]63
Non-rotating |50 +1° 10.8° Refer to p.2.3-3 for intermediate strokes.
Mounting graey - — —
(1) When removing a load, be sure to secure the flats of
the piston rod on the load side.
(2) If this is done without securing the piston rod on the
load side, be aware that the coupled (screwed-in)
portion of the piston rod could become loosened.
Theoretical Force Unit: N
Bore size [Operating| Operating pressure (MPa) Bore size |Operating| Operating pressure (MPa)
(mm) | direction| 0.3 | 05 | 0.7 (mm) | direction| 0.3 | 05 | 07
IN 25 42 59 IN 181 302 422
12 ouT 34 57 79 32 ouT 241 402 563
- IN 45 75 106 IN 317 528 739
el ; 16 ouT 60 101 141 40 ouT 377 628 880
@A U?(ijng a ”Otﬂ'“’tf"‘““gll ’gd C.y"”der'] et 20 IN 71 | 118 | 165 0 IN | 495 | 825 | 1150
+ Avoid using the air cylinder in such a way tha
rotational torque would be applied to the piston rod. If out 94 157 | 220 OUT | 589 | 982 | 1370
rotational torque is applied, the non-rotating guide will IN 113 189 264 IN 841 1400 | 1960
deform, causing a loss of non-rotating accuracy. Use 25 ouT 147 245 | 344 63 ouT 935 | 1560 | 2180

the chart below as a guide for the allowable rotational
torque ranges.

Allowable 12 (16 | 20 | 25| 32 | 40 | 50 | 63
torque

kgfcmorless| 0.4 |1.5(2.0(25(45|45[45(45

* Operate the cylinder in such a way that the load to the
piston rod is always applied in the axial direction. 23.57




Series CO2Z2K

Rod end nut

Carbon tool steel

Nickel plated

End boss ring

Aluminum alloy

220 to @63, Hard anodized

Weight Unit: g Option Weights Unit: g
Bore size Cylinder stroke (mm) Bore size (mm) 12 |1 16 |20 | 25 | 32 | 40 | 50 | 63
(mm) 5 |110(15|20| 25|30 |35 |40 |45 |50 | 75 |100 Both ends tapped - - — - - 6 6 | 19
12 60 |67 | 748188 |95 | - | -|-|-|-|- Rod end male | Male thread| 1.5 | 3 6 12 | 26 | 27 | 53 | 53
16 58 |67 |76 85|94 (103| - | - | = | - | - | - thread Nut 1 2 4 17 | 17 | 32 | 32
20 103|117 (131{145|159|173|187|201|215|229| — | — Rear boss mount 0713 2 5 7 | 13 | 25
25 137|152 (167 (182|197 212|227 (242|257 |272| — | — One-touch fitting - - - - |12 |12 |21 ] 21
32 203 (223|243|263 (283|303 |323|343|363|383|403|423 Foot (including bolt) - - - - — | 154 | 242 | 323
40 215|238|261|284|307|330|353|376|399|422|445|468 Front flange (including bolt) | — - - - — | 213|372 |558
50 — [381|418|455|492|529|566|603|640|677|714|751 Rear flange (including bolt) | — - - - — | 198 | 348 | 534
63 — |550(592|634|676|718|760|802|844 |886|928|970 Double clevis (pin, snap ring, bolt) | — - _ — — | 196 | 393 | 554
Calculation example: CQ2KD40-20 « Basic weight: CQ2KA40-20D 284g
* Additional weight: Both ends tapped 69
Rod end male thread - 44g
Double clevis 1969
. 530g
Construction
Basic (212 to 232) Basic (240 to g63)
® @ ® ® @& O
— 1
@ 1] V
1
| |
/
|
e
—T—F — |
|
8) |
= ) . @j\
Rear boss mount With One-touch fitting = Rod end male thread
[} s
=1 {0 7 =7 |
Component Parts
No. Description Material Note No. Description Material Note
(D | Cylinder tube Aluminum alloy Hard anodized @3 | Piston seal NBR
(2 | Piston Aluminum alloy Chromated 1% | Rod seal NBR
; Stainless steel @12 to 925 @5 | Tube gasket NBR
Pist d
® ston ro Carbon steel 932 to 100, Hard chrome plated
Brass 212, Nickel plated Replacement Parts: Seal Kits
@ | Rod cover - - - ;
Aluminum alloy 216 to 32, Anodized Bore size Kit No Note Bore size Kit No Note
® | Collar Aluminum alloy 240 to 863, Anodized (mm) ] (mm) )
(® | Snap ring Carbon tool steel Phosphate coating 12 CQ2KB12-PS| A set of 32 CQ2KB32-PS| A set of
@ | Bushing Oil impregnated sintered alloy 216 to 63 16 CQ2KB16-PS| above 40 CQ2KB40-PS| above
(8) | Hex. socket head cap screw Alloy steel 212 to 832, Nickel plated 20 CQ2KB20-PS| nos. (3, 50 CQ2KB50-PS | nos. @3,
(@ | Hex. soket set screw Alloy steel 240 to @63, Nickel plated 25 CQ2KB25-PS| (4 and (5. 63 CQ2KB63-PS | (4 and (5.
()
@
@

One-touch fitting

932 to 963

.3-58



Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CQZK

Mounting Bolt for CQ2KB

Special bolt for through-hole mounting of CQ2KB is available Rear mounting Front mounting
as option. :
Howpto Order: Specify the required bolts. —Eﬂ- DAGUIFIE TN —Eﬁ'
Example) Bolt M3 X 30 ¢ 2pcs. g Mounting bolt y %
ged <.l
D D'
Model C | D | Mountingholt C' | D' | Mounting bolt Model C | D | Mountingbolt C' | D' | Mounting bolt
CQ2KB12-5D 30 | M3X30¢ 30 | M3X30¢ CQ2KB40-5D 35| M5X35¢ 35| M5X35¢
-10D 35 X35¢ 35 X35¢ -10D 40 X40¢ 40 X40¢
-15D 6.5 40 X40¢ 6.5 40 X40¢ -15D 45 X45¢ 45 X45¢
-20D 45 X45¢ 45 X45¢ -20D 50 X50¢ 50 X50¢
-25D 50 X50¢ 50 X50¢ -25D 55 X55¢ 55 X55¢
-30D 55 X55¢ 55 X55¢ -30D 75 60 X 60¢ 75 60 X 60¢
CQ2KB16-5D 30| M3X30¢ 30 | M3X30¢ -35D 1 65 X65¢ | 65 X65¢
-10D 35 X35¢ 35 X35¢ -40D 70 X70¢ 70 X70¢
-15D 40 X40¢ 40 X40¢ -45D 75 X75¢ 75 X75¢
-20D 5 45 X45¢ 5 45 X45¢ -50D 80 X80¢ 80 X 80¢
-25D 50 X50¢ 50 X50¢ -75D 115 X115¢ 115 X115¢
-30D 55 X55¢ 55 X55¢ -100D 140 X 140¢ 140 X 140¢
CQ2KB20-5D 35| M5X35¢ 35| M5X35¢ CQ2KB50-10D 45 | M6 X45¢ 45 | M6 X45¢
-10D 40 X40¢ 40 X40¢ -15D 50 X50¢ 50 X50¢
-15D 45 X45¢ 45 X45¢ -20D 55 X55¢ 55 X55¢
-20D 50 X50¢ 50 X50¢ -25D 60 X 60¢ 60 X 60¢
-25D 8 55 X55¢ 95 55 X55¢ -30D 65 X 65¢ 65 X65¢
-30D 60 X 60¢ 60 X 60¢ -35D 125 70 X70¢ 125 70 X70¢
-35D 65 X 65¢ 65 X 65¢ -40D T 75 X75¢ “L75 X75¢
-40D 70 X70¢ 70 X70¢ -45D 80 X 80¢ 80 X80¢
-45D 75 X75¢ 75 X75¢ -50D 85 X85¢ 85 X85¢
-50D 80 X80¢ 80 X80¢ -75D 120 X120¢ 120 X120¢ C U
CQ2KB25-5D 40 | M5X40¢ 35| M5X35¢ -100D 145 X145¢ 145 X145¢ —
-10D 45 X45¢ 40 X40¢ CQ2KB63-10D 50 | M8 X 50¢ 50 | M8 X 50¢
-15D 50 X50¢ 45 X45¢ -15D 55 X55¢ 55 X55¢
-20D 55 X55¢ 50 X50¢ -20D 60 X 60¢ 60 X 60¢
-25D 10 60 X 60¢ 6.5 55 X55¢ -25D 65 X 65¢ 65 X65¢
-30D 65 X 65¢ 60 X 60¢ -30D 70 X70¢ 70 X70¢
-35D 70 X70¢ 65 X65¢ -35D 145| 75 X75¢ 145|775 X75¢
-40D 75 X75¢ 70 X70¢ -40D 80 X80¢ 80 X80¢
-45D 80 X80¢ 75 X75¢ -45D 85 X85¢ 85 X85¢
-50D 85 X85¢ 80 X80¢ -50D 90 X90¢ 90 X90¢
CQ2KB32-5D 40 | M5X40¢ 40 | M5X40¢ -75D 125 X125¢ 125 X125¢
-10D 45 X45¢ 45 X45¢ -100D 150 X 150¢ 150 X 150¢
-15D 50 X50¢ 50 X50¢
-20D 55 X55¢ 55 X55¢
-25D 60 X 60¢ 60 X 60¢
-30D 85 65 X 65¢ 10 65 X65¢
-35D 70 X70¢ 70 X70¢
-40D 75 X75¢ 75 X75¢
-45D 80 X 80¢ 80 X80¢
-50D 85 X85¢ 85 X85¢
-75D 120 X 120¢ 120 X 120¢
-100D 145 X145¢ 145 X145¢

Copper Free

20 — CQ2KB] Bore size H Stroke \ D (M) Specifications
T ) l_. Action Double acting single rod
Copper Free Series 216, 220, 825, 232, Cylinder bore size 516, 820, 825, 832, 840, 350, 263
240, 50, 263 Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
L . . . . Rubber bumper None
To eliminate influences of copper ions or halogen ions during — ——
. . . Piping Screw-in piping
CRT manufacturing processes, copper and fluorine materials -
are not used as component parts Piston speed 50 to 500mm/s
P P ' Mounting Through-hole
Auto switch Mountable

2.3-59



Auto Switch Specifications

* Refer to p.5.3-2 for details of auto switch.

I Series CDQ2ZK

e Minimum Strokes for Auto Switch Mounting (mm)
D-A70H
@' - D-FTOV | Bgs B D-I7oW
' _humeerd! | p.g79C | pa7ac B:E;vavx DJ7S | D-AT9W | D-FBAL| D-F7LF D-A9
D-FOOV | D-A80C D D-F79F D-FON
D-A9CIV D-FOOW D-FOBAL
1 5 5 10 15 15 20 25 10
2 5 10 15 15 20 20 25 10
unit g Option Weights Unitg
Bore Cylinder stroke (mm) Bore size (mm) 12 16 20 | 25 | 32 | 40 | 50 | 63
(mm) | 5 |10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100 Both ends tapped - - - - - 6 6 | 19
12 77 | 8389 |95 |101]107| — | - | - | = | - | = Rod end Male thread | 1.5 6 | 12 | 26 | 27 | 53 | 53
16 86 | 94 |102]110]118|126| — | — | - | - | - | - male thread | Nut 1 4 8 | 17 | 17 | 32 | 32
20 138 | 152 | 166 | 180 | 194 | 208 | 222 | 236 | 250 | 264 | — - Rear boss mount 07 | 1.3 2 3 5 7 13 | 25
25 178 | 194 | 210 | 226 | 242 | 258 | 274 | 290 | 306 | 322 | — = With One-touch fitting - - - - 12 12 21 21
32 236 | 256 | 276 | 296 | 316 | 336 | 356 | 376 | 396 | 416 | 516 | 616 Foot (including mounting bolt) | — - - — - 154 | 242 | 323
40 253 | 276 | 299 | 322 | 345 | 368 | 391 | 414 | 437 | 460 | 575 | 690 Front flange (including mounting bolt) - - - — - 213 | 372 | 558
50 — | 464|501 | 538|575 | 612 | 649 | 686 | 723 | 760 | 945 |1130 Rear flange (including mounting bolt) | — - - - - 198 | 348 |534
63 — | 654|696 | 738 | 780 | 822 | 864 | 906 | 948 | 990 [{1200{1410 Double clevis (including pin, snap ring and bol) | — — - — - 196 | 393 | 554
Calculation example: CDQ2KD40-25DM When auto switch is mounted, add the

weight of number of auto switches and
mounting brackets.

« Basic weight: CDQ2KB40-25D:
+ Additional weight: Both ends tapped-
Rod end male thread:-----44g
DOUbIE ClEViS «errerrrrerenns 196g Weight/Auto Switch Mounting Bracket

591g Part No. Bore size  |Weight g
BQ-1 212 to 825 15
BQ-2 232 to 963 1.5

# Refer to p.5.3-75 for auto switch weight.

Construction

212 to 825 232 240 to 63
@BEEOMD WR2E@D

1
@ Auto switch
Component Parts Replacement Parts: Pneumatic (Non-lube)

No. Description Material Note Bore size .
(@ | Cylinder tube Alluminum alloy Hard anodized (mm) Kit No. Contents
(2 | Piston Alluminum alloy Chromated 12 CQ2KB12-PS
P ) Stainless steel 212 to 925 16 CQ2KB16-PS o

3
@ | Piston rod Carbon steel 932 to 963, Hard chrome plated 20 CQ2KB20-PS 'It<|ts mﬁcl\u(é;

N Brass 212, Nickel plated 25 CQ2KB25-PS I emi\;, -
@ | Rod cover - - and (9 from

Alluminum alloy 216 to @32, Anodized 32 CQ2KB32-PS the left tabl

® | Collar Alluminum alloy 240 to 263, Anodized 40 CQ2KB40-PS © left table.
® | Snap ring Carbon tool steel Phosphate coating 50 CQ2KB50-PS
@ | Bushing QOil impregnated sintered alloy 216 to @63 63 CQ2KB63-PS
@ Bolt with hex. hole Alloy steel 212 to 925, Nickel plated * Seal kits consist of items 12, @3 and (4 contained in one kit, and can be
© | Bolt with hex. hole Alloy steel 232, Nickel plated ordered using the order number for each tube bore size.
10 | Set screw with hex. hole Alloy steel Nickel plated, 240 to 863
) | Magnet —
(2 | Piston seal NBR
@3 | Rod seal NBR
(9 | Tube gasket NBR
2.3-60



Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CDQZK

Mounting Bolt for CDQ2KB with Auto Switch

Special long bolt for through-hole mounting of CDQ2KB Rear mounting Front mounting
is available. ‘Hi -
How to Order: Specify the required bolts

Mounting bolt

L 4
Example) Bolt M3 X 35 ¢ 2pcs. Mounting bolt
ol Tl
D D
Model C D Mounting bolt C' D' Mounting bolt Model C D Mounting bolt C' D' Mounting bolt

CDQ2KB12-5DC 35 M3 X 35¢ 40 M3 X 40¢ CDQ2KB32-40D 85 M5 X 85 ¢ 85 M5 X 85 ¢
-10DC 40 X40¢ 45 X45¢ -45D 90 X90¢ 90 X90¢
-15DC 5.5 45 X45¢ 55 50 X50¢ -50D 8.5 95 X95¢ 10 95 X95¢
-20DC ’ 50 X50¢ ) 55 X55¢ -75D 120 X120¢ 120 X120¢
-25DC 55 X55¢ 60 X60¢ -100D 145 X 145¢ 145 X145¢
-30DC 60 X 60¢ 65 X65¢ CDQ2KB40-5D 45 M5 X 45¢ 45 M5 X 45¢
CDQ2KB16-5D 40 M3 X 40¢ 45 M3 X 45¢ -10D 50 X50¢ 50 X50¢
-10D 45 X45¢ 50 X50¢ -15D 55 X55¢ 55 X55¢
-15D 8 50 X50¢ 8 55 X55¢ -20D 60 X60¢ 60 X 60¢
-20D 55 X55¢ 60 X 60¢ -25D 65 X65¢ 65 X 65¢
-25D 60 X60¢ 65 X65¢ -30D 75 70 X70¢ 75 70 X70¢
-30D 65 X65¢ 70 X70¢ -35D ’ 75 X75¢ ’ 75 X75¢
CDQ2KB20-5D 40 M5 X 40 ¢ 45 M5 X 45¢ -40D 80 X80¢ 80 X80¢
-10D 45 X45¢ 50 X50¢ -45D 85 X85¢ 85 X85¢
-15D 50 X50¢ 55 X55¢ -50D 90 X90¢ 90 X90¢
-20D 55 X55¢ 60 X 60¢ -75D 115 X115¢ 115 X115¢
-25D 105 60 X60¢ 75 65 X65¢ -100D 140 X140¢ 140 X140¢
-30D : 65 X 65¢ . 70 X70¢ CDQ2KB50-10D 55| M6 X 55 ¢ 55 M6 X 55 ¢
-35D 70 X70¢ 75 X75¢ -15D 60 X60¢ 60 X60¢
-40D 75 X75¢ 80 X80¢ -20D 65 X65¢ 65 X65¢
-45D 80 X80¢ 85 X85¢ -25D 70 X70¢ 70 X70¢
-50D 85 X85¢ 90 X90¢ -30D 75 X75¢ 75 X75¢
CDQ2KB25-5D 40 M5 X 40¢ 45 M5 X 45¢ -35D 125 80 X80¢ 12.5 80 X80¢
-10D 45 X45¢ 50 X50¢ -40D 85 X85¢ 85 X85¢
-15D 50 X50¢ 55 X55¢ -45D 90 X90¢ 90 X90¢
-20D 55 X55¢ 60 X60¢ -50D 95 X95¢ 95 X95¢
-25D 9.5 60 X 60¢ 6.5 65 X65¢ -75D 120 X120¢ 120 X120¢
-30D ) 65 X65¢ : 70 X70¢ -100D 145 X 145¢ 145 X145¢

-35D 70 X70¢ 75 X75¢ CDQ2KB63-10D 60 M8 X 60 ¢ 60 M8 X 60 ¢ C U
-40D 75 X75¢ 80 X80¢ -15D 65 X65¢ 65 X65¢
-45D 80 X80¢ 85 X85¢ -20D 70 X70¢ 70 X70¢
-50D 85 X85¢ 90 X90¢ -25D 75 X75¢ 75 X75¢
CDQ2KB32-5D 50 M5 X 50 ¢ 50 M5 X 50¢ -30D 80 X80¢ 80 X80¢
-10D 55 X55¢ 55 X55¢ -35D 145 85 X85¢ 14.5 85 X85¢
-15D 60 X 60¢ 60 X 60¢ -40D 90 X90¢ 90 X90¢
-20D 8.5 65 X65¢ 10 65 X65¢ -45D 95 X95¢ 95 X95¢
-25D 70 X70¢ 70 X70¢ -50D 100 X 100¢ 100 X100¢
-30D 75 X75¢ 75 X75¢ -75D 125 X125¢ 125 X125¢
-35D 80 X80¢ 80 X80¢ -100D 150 X150¢ 150 X 150¢

Auto Switch Mounting Bracket Part No.

Bore size Applicable switch
Part No. Not
(m) artho ote Reed switch Solid state switch
* Switch mounting D-F701. J79
- M3 X05X8¢

20/25 Q (S ) D-F70V

* Square nut D-A70, A8O D-J79C

. . D-A73C, A80C D-F70W, J79W
22140 * Switch mounting D-A70H, A8OH D-F70WV
Bo-2 | M8X05X109 | o azqy D-F7BAL

50/63 * Switch spacer D-E700F

* Switch mounting nut D-E7NTL

[Mounting screw set made by stainless steel]
Following stainless steel mounting screw set (included nut) is provided. Use them in accordance with environment.
(Auto switch interface is not included. Order it separately)
BBA2: For D-A7/A8/F7/37
When D-F7BAL mounted on cylinder is required, the stainless steel screw mentioned above is used at
shipping. When auto switch unit is shipped, BBA4 is attached.

2.3-61



Series CDQ2ZK

Auto Switch Mounting Position (at Stroke End) and Mounting Height

212 to @25

232 to 863

232 to 863

D-A701
D-A80

7/

7/

D-A70H D-F7OW
D-A80H D-J79W
D-F7O0 D-F70OF
D-J79

Auto Switch Mounting Position

=
S

D-F7NTL

D-A73C
D-A80C
D-J79C

FanYi e
&/

(mm)
D-ATCHIAGOH D-F7BAL
sore | DATD DACAC | b azgw [DE/OE | D-ASD | D-FoO | BTEomwy
) D-A80  |D-FTOID-J79/F7DV D-J79W D-A90V | D-FOOV | b FopAL
D-J79C D-F7OWV
A B A B A B A B A B A B A B
12 9.5 5.5 10 6 7 3 14 10 — — — — — —
16 12.5 5 13 5.5 10 2.5 17 9.5 — — — — — —
20 15.5 6.5 16 7 13 4 20 11 — — — — — —
25 15.5 7 16 7.5 13 4.5 20 11.5 — — — — — —
32 18 6 18.5 6.5 15.5 3.5 22.5 | 10.5 17 5 21 9 20 8
40 13 85 | 135 9 10.5 6 17.5 13 12 7.5 16 11.5 15 10.5
50 11 115|115 12 8.5 9 15.5 16 10 10.5 14 14.5 13 13.5
63 13.5 | 145 14 15 11 12 18 19 125|135 ] 165 | 175 | 155 | 16.5
Auto Switch Mounting Height (mm)
D-A7OH/A80H/F7O
D-A70 D-A73C |D-F70V D-FOOIV |D-FOIW
D-J79/F7TOW/I79W D-J79C |D-A79W|D-A9CIV
D-A80 | o e F7oEFINTL | D-A80C | D-FTOWV D-FOCIWV|D-FOBAL
U U U U U U U U U
19.5 20.5 26.5 23 26 22 — — —
22.5 23.5 29.5 26 29 25 — — —
24.5 25.5 31.5 28 31 27 — — —
27.5 28.5 34.5 31 34 30 — — —
31.5 32.5 38.5 35 38 34 27 29 26.5
35 36 42 38.5 41.5 37.5 30.5 32.5 30
41 42 48 44.5 47.5 43.5 36.5 38.5 36
47.5 48.5 54.5 51 54 50 40 42 39.5

2.3-62




Series CO2Z2K
|
ﬂlz tO ﬂ25 Without Auto Switch

812, 16
Standard (Through-hole)/CQ2KB

3.5 3.5
-——

i
¥
06.5

L]
-

4 - _ __EI
f

H thread effective depth C 2-M5 X 0.8

(Connection port)

2-oN through _;
Q
;
@O) g[ . Y
[=2]
= ] Fan W L
1 H = i ~ Q
Piston rod cross
section
G
L ~ B+Stroke
A+Stroke
Rear boss mount (mm)
Rear boss mount o
G| Tho
(mm)
12 (15 15 Jous
16 [1.5] 20 Jos2
¢ ¢ _% 20 2| 13 8o
o 25 | 2| 15 Qo
G
Rod end male thread Rod end male thread (mm)
Bore 1ol Hy fLa|X
(mm)
N 12 | 9 | M5X0.8 14105
. W - 16 |10|mM6X 1.0 |155]12
{ r— 20 [12|M8X1.25|185|14
= | 25 | 15| MI0X1.25 | 225175
e C1 o
Rod end nut * X
-— -
L1
Standard (mm)
Bore Stokerange | | gl o | p | E|F |G H Pl k| L|wm|N The
(mm) (mm) Q
12 5to 30 55| 22| 6 25| 5 |15|M3X05|32|52|35|155|35|125| 15 S04
16 5 to 30 27 |235| 8 | 8 | 29 |55|15|M4X07|38| 6 |35|20 (35| 13| 20 50s
20 5 to 50 32 |275| 7 | 10|36 |55| 2 |M5X08| 47| 8 |45 |255(55| 17 | 13 Sous
25 5 to 50 355(305| 12 | 12 | 40 [55| 2 |M6X1.0|52 | 10| 5 | 28 | 55| 19 | 15 S04

* Refer to p.2.3-18 for details of rod end nut
and optional bracket.

Standard -+ SCQ2 A, #8

2.3-64



Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CDQZK

|
ﬂlz tO ﬂ25 With Auto Switch

Standard (Through-hole)/CDQ2KB

@12, 216

3.5

06.5

Lead wire minimum bending radius 10

Auto switch

2-M5 X 0.8
(Connection port)
< /
(ao) < = /
1 -1 o &
] ol [l
Piston rod cross [
section |
a | LE
——
G
L] B+Stroke
A+Stroke
Rear boss mount
ﬂ-l- A Y 2
U U &
G
Rod end male thread
Hi
) J
T S Rod end male thread (mm
' Bore 1oy h1 o |L1] x
(mm)
Rod end nut * C1 12 9 | M5X0.8 | 14 [105
# Above auto switch: D-A73/A80. X 16 |10 | M6X10 |165]12
Refer to p.2.3-62 for of auto switch 20 12 | M8X1.25 |185] 14
mounting position and mounting height. Lt 25 15 | MI0X 125 |225(175
Standard (mm)
Bore Stroke range
(mm) (mm) A|B|C|D|E|F|G H KIL|[M|[N|Q]|S Th9 U \%
12 5 to 30 365/33| 6 | 6 |32[65]1.5| M3X0.5 |52(35]22(35] 16355 158043 |195| 25
16 5to 30 39 |355| 8 8 [38[55|15| M4X0.7 | 6 [3.5]28 35|15 |415 2049_052 225| 29
20 51to 50 44 [395| 7 |10 |47 [|55| 2 | M5X0.8 | 8 [45]36|55|185] 48 133043 |245] 36
25 5 to 50 455(405] 12 |12 |52 |55]| 2 | M6X1.0 |10 | 5 |40 |55 19 [535] 153045 |27.5| 40

SCQ2 B, #8 (#8+#12)

Standard

+ Refer to p.2.3-18 for rod end nut and optional bracket.

2.3-65



Series COZK
|
ﬂ32 Without Auto Switch

55 7

]

2-Re(PT) 1/8 (2-M5 X 0.8) "

(Connection port)
(1)
M8 X 1.25 thread effective depth 13 2-05.5 through 19.5 (20.5 7.5 (5.5)"
06\ 3 z
2)
(07 Q £
9 A L
¥ B I oy o 1 fﬁ s =
= 5 1 — o < = W
- - 1 O
Piston rod cross section e r
34 2
45 4.5 7 B+ Stroke
49.5 A+Stroke
Note 1) ( ): at stroke 5mm
Q%
(mm) Rear boss mount §
Stroke range A B
5 t0 50 39 32 ﬁ Paa N
75, 100 49 42 |_|_‘- [\ L/
2

Rod end male thread

Rod end nut
M14 X 1.5
20.5
23.5
. S s 28.5
With built-in One-touch Fitting/@32
36.5 2-06
/ (Piping tube 0.D.)
7
« S -
®
Standard
I CQ2KB32:::::-- SCQ232, #8
w Drawing is with auto switch. When auto switch is When with built-in auto switch is required, dimensions of 5 stroke are same as 10 stroke.
not required, delete it. * Refer to p.2.3-18 for details of rod end nut and optional bracket.

2.3-66



Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CDQZK

IIIIII1
ﬂ32 With Auto Switch

5.5 7

=
N
NI

M8 X 1.25 thread effective depth 13

=315 2 - 95.5 through 19.5 2-Re(PT) 1/8 Z_§
/(Connection port)
28
7
© .
Lo T Q) i
= e
) 5 3|9 e i -
::l o, = 2 N N/
— —_— 4 b
Lead wire minimum bending radius 10 T
) Auto switch 2,
Piston rod cross D-A7/A8 34 ¢ 2
section 45 45 7 42+8troke
58.5 49+Stroke
Rear boss mount 8 CuU
3
l >
Auto switch
D-A9/F9 2
Rod end male thread _Rod end nut
M14 X 1.5
20.5
23.5
28.5
. S L. 36.5 2-96
With built-in One-touch fitting/@32 —
(Piping tube 0.D.)
© :
o~
— ) B
= U_L X
e
8 —(—b—
59
L
Standard:-:---- SCQ232, #8 (#8+#12) + Refer to p.2.3-18 for details of rod end nut and optional bracket.

2.3-67



Series CQ2K/CDQZ2K
240 to @63

) ] (For those without auto switches, refer to dimensions table
With Auto Switch because dimensions of A and B vary.)

Both ends tapped: CDQ2KA

Both ends tapped (mm)

Bore
O1 R
Standard (Through-hole)/CDQ2KB Ottead R R (i)
[ 40 | M6X1.010
50 | M8X125 |14
H - 63 | MIOX15 |18
H thread effective depth C
=U 4-gN through _9, 2'? .E.
8-90 counter bore (Connection porf
o
(op, ¥ /
RE R = S ©
N .
N EITES p LN\ s
Lead wire minimum Iy
Piston rod cross . tendngradus10 /- far—
section Auto switch
D-ATIAS M 2
E J B+Stroke
S A+Stroke
Rear boss mout
Rear boss mount (mm)
H -‘ o Bore
Th
& O e (mm)
J 40 28 3052
50 | 35080
63 35_9 062
2
Rod end nut
[ T( Rod end male thread (mm)
I
- l[ Bore ol h (L1 x
Ci (mm)
X 40 |205| M14 X 15 |28.5|235
L1 50 |26 |M18X 15 [335[285
63 |26 | M18X 1.5[335|285
@63 Cylinder tube form
With built-in One-touch fitting
2-P1
(Piping Tube 0.D.)
With built-in One-touch fitting - (mm)
N Bore 1 Ipi| v [wi
(mm)
40 |13 6 |405]665
50 |16| 8 5082
63 |16] 8 [565] 95
Standard (mm)
. WI/o auto |With auto
Boresize | Stokerange | swich | switth | ¢ |p | £ | F | H Ilalk|L|mM|N|] O P Q|s| e |ulz
(mm) (mm) A|B|A|B
40 e 21465(395( 13 | 16 | 52| 8 |MBX125|69 | 5 14| 7 |40 |55 |9 Depth 7 | Re(PT)L8 | 11| 66 | 28 3s, | 35 | 14
50 17?0138 igg igg 485|405 15 | 20 | 64 [105| M10X1.5| 86 | 7 | 18| 8 |50 | 6.6 [11 Depth 8| Rc(PT)1/4 [105| 80 | 35_00e2 | 41 | 19
63 17%“158 gj jg 54 | 46 | 15 | 20 | 77 |105| M10X 15 [103| 7 |18 | 8 | 60 | 9 |14Depth105| Re(PT)1/4 | 15 | 93 | 35544, [475| 19

Standard e SCQ2 [Bore size], #8 (#8+#12)
Rear boss mount Add rear boss mount to SCQ2 , #8 (#8+#12).
# Drawing is with auto switch. When auto switch is not required, delete it.

L]

2.3-68

m * Refer to p.2.3-18 for details of rod end nut and optional brackets.



Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CDQZK

B+Stroke
Foot (mm)
: ; Bore | Stroke |W/o auto switch |With auto switch
S mm) | mm) [A]B|LS|A]B]|LS L |L1|LD|LG|LH|LX|LY
]:[ 510 50 [53.7[295 [135
bolt
/ 40 75, 100 | 6371395 | 23.5 63.7/395|235| 17 [385(6.6| 4 | 33|64 |64
/ 10t0 50|56.7|305| 7.5
50 75, 100 | 6.7 405 | 175 66.7|405|175( 18 [435| 9 | 5 | 39|79 |78
I [ .
T ‘; | 63 j%%tcigg 6221 36 | 10 722|46 |20 |18 (43511 | 5 | 46|95 |9L5
x|y| &1 vl x|lLe : 722] 46 | 20
T Lsiswe (mm)
AtStroke
Bore wzl x|y
(mm)
40 78 [112| 7
N 50 |95|147] 8
63 |113(162| 9
Front flange (mm)
EE \W/o auto [With auto
| Bore | Stroke |"spitch- | switch | Fp | F1|Fv [Fx |Fz| L [L1| M
(mm) | (mm) | A |B|A|B
5to 50 [46.5]295
40 75, 100 | 565|395 56.5|395(5.5| 8 |54 |62 (72|17 |385]|40
- 10 to 50 485|305
——— 50 75, 100 | 585 | 405 58.5|405(6.6| 9 |67 | 76 | 89 | 18 |435| 50
10to 50| 54 | 36
| BeStoke | 63 75,100 | 64 | 46 64|46 9 | 9 |80 |92 |108| 18 |435| 60
A+Stroke CU
Rod end male thread
N
A
[ I[;:l :
P
Rod end nut | &
— L1
Rear flange/CQ2KG, CDQ2KG
9e/cQ  CDQ Rear flange (mm)
; - * Dimensions except A, L
n Bore | Stroke V‘g\?vitag;}" WS'tWhi%ﬁto and L1 are same as
I e e e e front flange type
p:[—--———--—--———-— (mm) (mm) A A ge type.
h:| a0 2220 gj'g 545 | 7 |85
' 50 (221030 g;g 575 | 8 (335
Ll Bestoke 1l FX "\ 4-0FD 63 ﬁ%tigg 53 63 | 8 |5
[~ ArStroke A 7 : 63
Rod end male thread
S|
jaml
Double clevis (mm)
Rod end nut - p " .
—_— L1 Bore | Stroke |Without auto switch|With auto switch
. (mm) | mm) [A]B]cL|A]B]cL CD|CT|CU|CW|CX|CZ| L | L1
Double C|€VIS/CQ2KD, CDQZKD 40 51050 16851295 1585 785395 (685(10| 6 [14|22|18(36| 7 (285
LT J;l;N.. 75,100 785/395(685] || )
,/ Cap bolt 10to 50 80.5 | 30.5 [ 66.5
CD
: / ﬁole o rh 50 75, 100 | 905405 765 90.5 (405|765 (14| 7 {20|28|22(44| 8 (335
+ " axis do (& 8 10t0 50| 88| 36 | 74
/ ¥ 63 75, 100 | 98 | 46 | 84 98 | 46 | 84 |14| 8 |20|30|22|44| 8 |335
e T Bore # Refer to p.2.3-18 for details of rod end nut and
] (mm) N RR m optional brackets.
& #% Clevis pin and snap ring are packed with double
; i * 40 M6 X 1.0 |10 clevis type.
| |
L B+Stroke | |
[ CL+Stoke | lcxss | 50 | M8X125|14
L A+Stroke ; CZi
Rod end male thread 63 |M10X15)14
FOO -+ eeeeseeerniinians Add foot bracket #2 to SCQ2 [Bore size |, #8 (#8+#12).
Front flange-------- Add front flange #3 to SCQ2 [Bore size ], #3 (#8+#12).
Rear flange-- Add rear flange #4 to SCQ2 [Bore size |, #4 (#8+#12).

Add double clevis #5 to SCQ2 [Bore size |, #5 (#8+#12).

Double clevis:-------

2.3-69



Compact Cylinder/Non-rotating Rod: Double Acting Double Rod

Series COZKW

712, 916, 820, 825, 832, 940, 850, 663

How to Order

Standard CQ2KW|B 20| 30
| [ 1 |

cpQ2kw [B][20][ H30
® Number of

With auto switch auto switches
(Built-in magnet) 5

1OHUO

—A/3||S

Mounting Auto switch — 2
Through-hole (Standard) | g12 to @63 _ ‘ V\/(I‘tBILclJﬁltI :ls#; :r\:\gtt):h S 1
Both ends tapped n n

« Refer to below table for selection of

o> |wm

Foot 240 to 263 auto switch model no.
Flange
* Mounting brackets are shipped not assembled
with the cylinder. e Body option
l ® Action — Standard (Rod end female thread)
. ini [ ] -
Bore size Piping D [ Double acting c Wltlh rfLigbe_rﬂk])um_eerr]
— Screw-in pipin (only with switch)
12 | 12mm s M | Rod end male thread
e s — i T i . od end male threa
16 | 16mm F | With built-in One-touch fitting (¥ ® Cylinder stoke (mm)
20 20mm Note 1) Bore size with built-in One-touch Refer to standard stroke table
25 25mm fitting is 832 to 863. on p.2.3-71.
32 32mm
40 40mm
50 50mm
63| 63mm Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.
S Load voltage Rail mounting | Direct mounting | Lead wire (m) *
. - Electrical| 8| Wiring Applicable
Styl S | functi 2 12 to 963 32 to 963
tye pecial function enlry _g (Output) DC AC 2 0 & . 2 (o) 2 05 3 5 [None| load
< Perp. | In-line | Perp. | Indine | &) [ |@)|(N)
3wire | _ . °ole|— Ic .
(Equiv. NPN) 5V A76H | A96V | A9
es — | — [ 200V | A72 | A72H — — ® 0| —
S Grommet
= v | 100v A73 | A73H | — — o 06— —
a — — | A3V | A3 | @ |@|—|—
- — X Relay,
2 No| 2 wire oy V12V | <100V | ABO | ABOH | A0V | A% ® |®—|—|IC |p¢
i . Ves 12v | — | A73c | — — — | o |®e|®0|® —
oneE 5,12V | <24V | A80C — — — ® 000 C
Diagnostic (2 color) |Grommet|Yes — | — | A7TOW | — — — e e || —
3 wire 5V, 12V F7INV | F79 — — ® (@O|—|IC
(NPN) 12v — — | FONV | FON | @ ([@|—|—| —
Grommet 3 wire 5V, 12V F7PV | F7P — — [ K ] —| IC
(PNP) — — | FPV | FP | @ |@|—|—
F7BV | J79 — — | ® |@|O|—|
2 wire 12v — — F9BV F9B ® 0| |—
=
2 Connector J79C — — — [ K 3K 2K
z 3 wire 5, 1V FINWV | F7ow | — — |®e |®@|O|—|IC Relay
& Diagnostic "es| Ny [24V[12v | — [ — | — [Fonwv| Fonw | @ [@]o]—] — |pic
® | I — — — —
z (2 color) 3 wire W, 1v F7PW ® @00 IC
2 (PNP) — — |FOPWV| FOPW | @ (@ |O|—
Grommet ) 12v F7BWV | J79W |FOBWV | FoBW | @ @ |O|—| —
Water resistant (2 color) 2 wire — F7BA - FOBA | — |@|O|—
With timer 3 wire (NPN) — E7NT — JE— — |lelo|—
- - 5V, 12v IC
Diagnostic output (2 color) 4 wire = F79F — — ® 00| —
Latch with
NPN — — — — | —
diagnostic output (2 color) ( ) FiLE ® 0 O
* Lead wire length ~ 0.5m----- — Example) AB0C |11 FRCRRORRS Z Example) ABOCZ
3meeeeeee L Example) ABOCL  None:-- N Example) ASOCN

= Solid state switches marked with a “ ) " are manufactured receipt of order.

2.3-70



Compact Cylinder/Non-rotating Rod: Double Acting Double Rod

Symbol

Non-rotating rod/Double Rod

T

Made to Order
Refer to p.5.4-1 for made to order
specifications of CQ2KW series.

A\ Precautions

il R R R il |
I Be sure to read before handling. 1
I Refer to p.0-39 to 0-46 for Safety 1
I Instructions and common 1
1
. |

I precautions.

A\ Caution
’ Snap Ring linstallation/Removal

~

(D For installation and removal, use an appropriate pair
of pliers (tool for installing a C snap ring).
(2) Exercise caution even when using an appropriate
pair of pliers (tool for installing a C snap ring),
because of the possibility of the snap ring becoming
detached from the tip of the pliers (tool for installing a
C snap ring) and flying away, which could injure
humans or damage the peripheral equipment. After
installing the snap ring, make sure that it is placed
securely in the ring groove before supplying air.

Mounting

(1 When removing a load, be sure to secure the wrench
_ flats of the piston rod on the load side.
(2) If this is done without securing the piston rod on the
load side, be aware that the coupled (screw-in)
portion of the piston rod could become loosened.

(3) Using a non-rotating rod cylinder

+ Avoid using the air cylinder in such a way that
rotational torque would be applied to the piston rod. If
rotational torque is applied, the non-rotating guide will
be deformed, causing a loss of non-rotating accuracy.
Use the chart below as a guide for the allowable
rotational torque ranges.

912
0.4

216
1.5

220
2.0

925
2.5

232
4.5

240
4.5

250
4.5

263
4.5

Rotating torque.
kgfcm or less

* Operate the cylinder in such a way that the load to the
piston rod is always applied in the axial direction.

Style
Bore size (mm) 12 16 20 25 32 40 50 63
| Through-hole (Standard) | @ [ J [ J [ J [ J [ J [ J [ J
Mounting
Both ends tapped — — — — [ ] [ J [ J
% Built-in magnet (] (] o ® (] [ J [ J [ J
E . M5X | M5X | M5X | M5X 8 | Re(PT) | Re(PT) | Re(PT
g Piping [SCTew-instyle | "o g | 58 | 08 | o8 gcfzp%?/sg 1(/8 ) 1(/4 ) 1(/4 :
One-touch fitting — — — |26/4@ 26/4 28/6 28/6
Rod end male thread o o o [ J o [ J [ J [ J
Note 1) Without auto switch: M5 X 0.8
Note 2) When the style with built-in fitting is required, dimensions of 832, 5 stroke are same as 10 stroke.
Standard Specifications
Style Pneumatic (Non-lube)
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
. ) Without auto switch: —10°C to 70°C (No freezing)
Ambient and fluid temperature - - -
With auto switch: —10°C to 60°C (No freezing)
Rubber bumper None @)
Rod end thread Female thread
Rod end thread tolerance JIS class 2
Stroke length tolerance 10
Mounting Through-hole
Piston speed 50 to 500mm/s
Note 3) @12, with switch: Rubber bumper is standard.
Minimum Operating Pressure  unit: mpa  Non-rotating Accuracy
Bore size (nm) [ 12[ 16 [20[25[32[40[50[63  Boresize nm)[ 12]16]20] 25[32]40[50]63
Min. operating | 0,07 | 0.07 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 Noporamg | o0 +1° +0.8°
Allowable Kinetic Energy Unit: J
Bore size (mm) 12 16 20 25 32 40 50 63 80 | 100
Standard 0.022 | 0.038 | 0.055| 0.09 | 0.15 | 0.26 | 0.46 | 0.77 | 1.36 | 2.27
Standard Stroke Unit: mm
Bore size Standard stroke
12, 16 5, 10, 15, 20, 25, 30
20, 25, 32, 40 5, 10, 15, 20, 25, 30, 35, 40, 45, 50
50, 63 10, 15, 20, 25, 30, 35, 40, 45, 50
Theoretical Force Unit: N
Bore size Operating pressure (MPa) Bore size Operating pressure (MPa)
(mm) 0.3 0.5 0.7 (mm) 0.3 0.5 0.7
12 25 42 59 32 181 302 422
16 45 75 106 40 317 528 739
20 71 118 165 50 495 825 1150
25 113 189 264 63 841 1400 1960

2.3-71

Series COQ2KW




Series COQ2KW

Welght Unit: g Opt|0n WelghtS Unit: g
Bore size Cylinder stroke (mm) Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63
(mm) 5 |10 |15 |20 | 25 | 30 | 35 | 40 | 45 | 50 Both ends tapped - —1— =1 — 1616119
Rod end male |Malethread| 3 6 12 24 52 54 | 106 | 106
12 62 | 69 | 76 | 83 |90 | 97 | — | — | — | — thread Nut 2 | 4| 8 |16 | 34|34 |64 64
16 62 73 84 95 | 106 | 117 | — — — — One-touch fitting — — — — 12 12 21 21
20 101 | 116 | 131 | 146 | 161 | 176 | 191 | 206 | 221 | 236 Foot — | — | — | — | — [155]243|324
Flange — | — | — | — | — | 214 | 373 | 559
25 138 | 155 | 172 | 189 | 206 | 223 | 240 | 257 | 274 | 291
Calculation example: CQ2KWA40-20DM  Basic weight: CQ2KWBA0-20D:+++++++exen-
32 242 | 266 | 290 | 314 | 338 | 362 | 386 | 410 | 434 | 458 Additi .
itional weight: Both ends tapped
40 349 | 380 | 411 | 442 | 473 | 504 | 535 | 566 | 597 | 628 Rod end male thread:-
50 — | 548 | 593 | 638 | 683 | 728 | 773 | 818 | 863 | 908
63 — | 772 | 811 | 850 | 889 | 928 | 967 | 1006 | 1045|1084
Construction
@12 to 932 240 to 963
@ d® ® (T}@? @B OODdm @
® @ @ O @B ©® @ | [,/ 7 = [ ,
|[ | | .'1 l‘. I ; rif
5 Ny \ .
— : ] i "F
e r—
1 - |
@ ® an @
@ @9
With fitting a4 Rod end male thread
|
7 =
/ il |
Component Parts
No. Description Material Note No. Description Material Note
(@ | Cylinder tube Aluminum alloy Hard anodized @® Piston seal NBR
2 | Piston Aluminum alloy Chromate @6 | Rod seal for non-rotating NBR
® | piston A Stainless steel 212 to 925 @ Rod seal NBR
‘ Iston Carbon steel 232 to g63, Hard chrome plated @® Gasket NBR
@ | piston B Stainless steel 212 to 925 ©® Piston gasket NBR 932 to 863
= Carbon steel 232 to 863, Hard chrome plated
& | Rod cover Brass 212, Nickel p|at§d Replacement Parts: Seal Kits
) Aluminum alloy 216 to 832, Anodized B s ]
® | Collar for non-rotating | Aluminum alloy 240 to 263, Anodized (mm) Kit No. Note
@ | collar Alumilnum bearing a{loy 212 to 840, Anodized 12 CO2KWB12-PS
) Aluminum alloy casting | 50 to g63, Chromated, coated 16 CQ2KWB16-PS
® | Snap ring Carbon tool steel Phosphate coating 20 CQ2KWB20-PS
©) Bushing for non-rotating | Oil impregnated sintered lalloy 216 to 963 25 CQ2KWB25-PS A set of above nos.
(0 | Bushing Lead bronze casting 50, 963 30 CO2KWB32-PS @, @, @ and (8.
@1 | Hex. socket head cap screw Alloy steel 212 to 832, Nickel plated 40 CQ2KWB40-PS
({2 | Hex. socket set screw Alloy steel 240 to q63, Nickel plated 50 CQ2KWB50-PS
@ | Rod end nut Carbon steel Nickel plated 63 CQ2KWB63-PS
@ | One-touch fitting — 232 to 963 +Seal kits are sets consisting of items (5, @6, (2 and @8, which can be ordered using the

2.3-72

order number for each cylinder bore size.



Compact Cylinder/Non-rotating Rod: Double Acting Double Rod Series CQZKW

Mounting Bolt for CQ2KWB

Special bolt for through-hole mounting of CQ2KWB Mg balt Mounting at non-rotating side
is available as option.
How to Order: Specify the required bolts m_

Example) Bolt M3 X 40 ¢ 2 pcs. 1

Mounting bolt

C.

D
Model C D |Mounting bolt — C' D' |Mounting bolt Model C D Mounting bolt
CQ2KWB12-5D 40 | M3 X40¢ 40 | M3X40¢ CQ2KWB40-5D 45 M5 X 45¢
-10D 45 X45¢ 45 X45¢ -10D 50 X50¢
-15D 8.3 50 X50¢ 8.3 50 X50¢ -15D 55 X55¢
-20D 55, X55¢ 55 X55¢ -20D 60 X 60¢
-25D 60 X 60¢ 60 X60¢ -25D 7 65 X65¢
-30D 65 X65¢ 65 X65¢ -30D 70 X70¢
CQ2KWB16-5D 40 | M3X40¢ 40 | M3X40¢ -35D 75 X75¢
-10D 45 X45¢ 45 X45¢ -40D 80 X80¢
-15D 50 X50¢ 50 X50¢ -45D 85 X85¢
200 | ® 55 xs5¢ '[85 X 55 ¢ -50D 90 X 90¢
-25D 60 X 60¢ 60 X 60¢ CQ2KWB50-10D 55 M6 X 55¢
-30D 65 X 65¢ 65 X65¢ -15D 60 X 60¢
CQ2KWB20-5D 40 | M5X40¢ 40 | M5X40¢ -20D 65 X65¢
-10D 45 X45¢ 45 X45¢ -25D 70 X70¢
-15D 50 X50¢ 50 X50¢ -30D 12.5 75 X75¢
-20D 55 X55¢ 55 X55¢ -35D 80 X80¢
-25D 6.5 60 X 60¢ 8 60 X60¢ -40D 85 X85¢
-30D 65 X 65¢ 65 X65¢ -45D 90 X90¢
-35D 70 X70¢ 70 X70¢ -50D 95 X95¢
-40D 75 X75¢ 75 X75¢ CQ2KWB63-10D 55 M8 X 55¢
-45D 80 X 80¢ 80 X80¢ -15D 60 x60¢ |CU
-50D 85 X85¢ 85 X85¢ -20D 65 X65¢
CQ2KWB25-5D 45 | M5X45¢ 45 | M5X45¢ -25D 70 X70¢
-10D 50 X50¢ 50 X50¢ -30D 13.5 75 X75¢
-15D 55 X55¢ 55 X55¢ -35D 80 X80¢
-20D 60 X 60¢ 60 X60¢ -40D 85 X85¢
-25D g5 |65 X65¢ 4, | 65 X 65¢ -45D 90 X90¢
-30D 70 X70¢ 70 X70¢ -50D 95 X95¢
-35D 75 X75¢ 75 X75¢
-40D 80 X80¢ 80 X80¢
-45D 85 X85¢ 85 X85¢
-50D 90 X90¢ 90 X90¢
CQ2KWB32-5D 50 | M5X50¢ 45 | M5X45¢
-10D 55 X55¢ 50 X50¢
-15D 60 X 60¢ 55 X55¢
-20D 65 X65¢ 60 X 60¢
-25D 1 70 X70¢ 75 65 X65¢
-30D 75 X75¢ ' 70 X70¢
-35D 80 X80¢ 75 X75¢
-40D 85 X85¢ 80 X80¢
-45D 90 X90¢ 85 X85¢
-50D 95 X95¢ 90 X90¢
Copper Free
20 —CQ2KWB | Bore Size H Stroke |D (M) Specifications
T ] l_. Action Double acting double rod
Copper Free Series 216, 820, 925, 32, 240, 850, 263 Cylinder bore size 916, 820, 825, 832, 940, 850, 263
L . . . i Proof Pressure 1.5MPa
To eliminate |nflu_ences of copper ions or haloge_n ions dur_lng Max. operating pressure LOMPa
CRT manufacturing processes, copper and fluorine materials
Rubber bumper None
are not used as component parts. — —
Piping Screw-in piping
Piston speed 50 to 500mm/s
Mounting Through-hole
Auto switch Mountable

2.3-73



Series CDQZKW

Auto Switch Specifications

* Refer to p.5.3-2 for details of auto switch.

L)

=) Minimum Strokes for Auto Switch Mounting (mm)
D-F700V DA% D AgoH BT,
: ) . D-F700 D-J79W
Number of |y j79c | D-A73C | D-FTOWVI 575750 | b a7ow | D-F7BAL | D-F7LF | D-FON
auto switches D-A80C |D-FOOOWV| p-FoB )
D-FSLV | p.aomv D-F9P D-F7oF
X — A S D-FOBAL
[\ ' 1 5 5 10 15 15 20 25 10
ﬂ!l\‘ 2 5 10 15 15 20 20 25 10
R | . .

Weight ' Unit: g Option Weights Unit: g
Bore size Cylinder stroke (mm) Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63
(mm) 5 |10 | 15|20 |25 |30 | 35| 40 | 45 | 50 Both ends tapped — | -] = =|—=1%8s 6 | 19
12 82 | 90 | 98 [106 114|122 | — | — | — | — Rod end male |Malethread| 3 | 6 | 12 | 24 | 52 | 54 | 106 | 106
16 103 [ 114 | 125|136 147 |158 | — | — | — | — thread Nut 2 | 4| 8 |16 |34 |34 | 64|64
20 169 | 186 | 203 | 220 | 237 | 254 | 271 | 288 | 305 | 322 With fitting — | — =] —]12|12]21 |21
25 231 | 248 | 265 | 282 | 299 | 316 | 333 | 350 | 367 | 384 Calculation example: CDQ2KWAA0-20DM - Add each weight of auto switches
32 270 | 294 | 318 | 342 | 366 | 390 | 414 | 438 | 462 | 486 « Basic weight.  CDQ2KWBA0-20D -+ 551g 2\7& thglslrglrggrgéﬁ?rlé%tswhen auto
40 458 | 489 | 520 | 551 | 582 | 613 | 644 | 675 | 706 | 737 * Additional weight: Both ends tapped -....... 69 '

Rod end male thread ---- 889
50 — | 680 | 725 | 770 | 815 | 860 | 905 | 950 | 995 |1040 645g
63 — | 906 | 945 | 984 |1023|1062|1101[1140|1179|1218 . . .
Weight/Auto Switch Mounting Bracket
Part No. Bore size Weight (g)
BQ-1 212 to 825 1.5
BQ-2 232 to 963 15
* Refer to p.5.3-75 for auto switch weight.
Construction
212 to 925 232 240 to 963
@BE®M® @BBHEODOMOD @
3 5 1] \ \. L
= \ m 4 .
i = ] i
b = =_LlD0g
M
T J

Component Parts

Auto switch
3

NO. Description Material Note NO. Description Material Note
(@ | Cylinder tube Aluminum alloy Hard anodized @5 |Piston seal NBR
(@ | Piston Aluminum alloy Chromated (16 |Rod seal for non-rotating NBR
. Stainless steel 912 to 825 (17 |Rod seal NBR
® | Pistonrod A Carbon steel 932 to #63, Hard chrome plated @® |Gasket NBR
. Stainless steel 212 to 825 (19 |Piston gasket NBR 232 to 863
@ | Pistonrod B Carbon steel 232 to @63, Hard chrome plated
Brass 212, Nickel plated Replacement Parts: Seal Kits
® | Rod cover Aluminum alloy 216 to 832, Anodized R
®) | Collarfor non-rotating | Aluminum alloy 240 to 863, Anodized (mm) Kit No. Note
Aluminum bearing allo? 212 to 240, Anodized
@ | Collar : 9870y 12 CQ2KWB12-PS
Aluminum alloy casting | 850 to 63, Chromated, coated 16 CQ2KWB16-PS
® anp ring . Qarbon toql steel Phosphate coating 20 CQ2KWB20-PS
(9 | Bushing for non-rotating | Oil impregnated sintered alloy 216 to 863 25 CQ2KWB25-PS A set of above nos.
(0 | Bushing Lead bronze casting 250, 963 30 CQ2KWB32-PS 5, (9, @2 and (3.
(1) | Hex. socket head cap screw Alloy steel 212 to ﬂ25.>, Nickel plated 20 CQ2KWB40-PS
(2 | Hex. socket head cap screw Alloy steel 232, Nlcke.l plated 50 CQ2KWB50-PS
g Hex. socket set screw Alloy steel 240 to 863, Nickel plated 63 CQ2KWB63-PS
i) | Magnet —

2.3-74

* Seal kits are sets consisting of items (5, @6, @ and @8, which can be ordered using the
order number for each cylinder bore size.



Compact Cylinder/Non-rotating Rod: Double Acting Double Rod Series CDQZKW

Mounting Bolt for CDQ2KWB with Auto Switch

Special bolt for through-hole mounting of
CDQ2KWSB is available as option.

Mounting at non-rotating side

How to Order: Specify the required bolts. Mounting bolt
Ex.) Bolt M3 X 40 ¢ 2 pcs. '[H_ MG B by
= ——
LS c
D D
Model C D Mounting bolt C' D' | Mounting bolt Model C D Mounting bolt
CDQ2KWB12-5DC 40 | M3X40¢ 45 | M3X45¢ CDQ2KWB40-5D 55 M5 X 55 ¢
-10DC 45 X 45 ¢ 50 X50¢ -10D 60 X 60 ¢
-15DC| ¢4 | 50 X50¢ o4 [ 55 X55¢ -15D 65 X 65 ¢
-20DC : 55 X55¢ : 60 X60¢ -20D 70 X70¢
-25DC 60 X 60¢ 65 X 65¢ -25D 7 75 X75¢
-30DC 65 X65¢ 70 X70¢ -30D 80 X80¢
CDQ2KWB16-5D 45 M3 X 45¢ 50 M3 X 50¢ -35D 85 X85¢
-10D 50 X50¢ 55 X55¢ -40D 90 X90¢
-15D | ;5 [ 55 X55¢ 5o | 60 X 60 ¢ -45D 95 X95¢
-20D : 60 X 60¢ : 65 X65¢ -50D 100 X 100¢
-25D 65 X65¢ 70 X70¢ CDQ2KWB50-10D 65 M6 X 65 ¢
-30D 70 X70¢ 75 X75¢ -15D 70 X70¢
CDQ2KWB20-5D 45 | M5X45¢ 55 | M5X55¢ -20D 75 X75¢
-10D 50 X50¢ 60 X60¢ -25D 80 X80¢
-15D 55 X55¢ 65 X 65 ¢ -30D 12.5 85 X 85¢
-20D 60 X 60¢ 70 X70¢ -35D 90 X90¢
-25D 9 [ 65 X65¢ 44 [ 15 X75¢ -40D 95 X95¢
-30D 70 X70¢ 80 X80¢ -45D 100 X 100¢
-35D 75 X75¢ 85 X85¢ -50D 105 X105 ¢
-40D 80 X80¢ 90 X90¢ CDQ2KWB63-10D 65 M8 X 65 ¢
-45D 85 X 85¢ 95 X95¢ -15D 70 X70¢
-50D 90 X90¢ 100 X100 ¢ -20D 75 X75¢
CDQ2KWB25-5D 45 M5 X 45 ¢ 55 M5 X 55 ¢ -25D 80 X80¢
-10D 50 X50¢ 60 X60¢ -30D 135 85 X85¢
-15D 55 X55¢ 65 X65¢ -35D 90 X90¢
-20D 60 X 60¢ 70 X70¢ -40D 95 X95¢
25D | o [65 X65¢ 0 [ 75 X75¢ -45D 100 x10c  |CU
-30D 70 X70¢ 80 X80¢ -50D 105 X 105¢
-35D 75 X75¢ 85 X85¢
-40D 80 X80¢ 90 X90¢
-45D 85 X85¢ 95 X95¢
-50D 90 X90¢ 100 X100 ¢
CDQ2KWB32-5D 60 M5 X 60 ¢ 55 M5 X 55¢
-10D 65 X 65¢ 60 X 60¢
-15D 70 X70¢ 65 X65¢
-20D 75 X75¢ 70 X70¢
-25D 11 80 X80¢ 75 75 X75¢
-30D 85 X85¢ ’ 80 X80¢
-35D 90 X90¢ 85 X85¢
-40D 95 X95¢ 90 X90¢
-45D 100 X 100¢ 95 X95¢
-50D 105 X105 ¢ 100 X100 ¢

Auto Switch Mounting Bracket Part No.

Bore size Applicable switch
Part No. Note X -
(mm) Reed switch Solid state switch
20/25 . Square .nut D-A70], ASO D-F7OV
D-A73C, A80C D-J79C
. . D-A700H, ASOH D-F70OW, J79W

» Switch mounting screw D-A79W D-E70O0WV
32/40 BQ-2 (M3 X0.5X10¢) D-F7BAL
50/63 « Switch spacer D-F70OF

* Switch mounting nut D-F7NTL

* Mounting screw set made by stainless steel
Q Following stainless steel mounting screw set (including nut) is provided. Use them in accordance
with environment. (Auto switch interface is not included. Order it separately.)
BBA2: For D-A7/A8IF7/37
When D-F7BAL mounted on cylinder is required, the stainless steel screw mentioned above is used
at shipping. When auto switch unit is shipped, BBA2 is attached.

2.3-75



Series CDQZKW

Auto Switch Mounting Position (at Stroke End) and Mounting Height

212 to 925

232 to 063

D-A70
D-A80

=U

@32 to 63

Auto Switch Mounting Position

D-A70H D-F7O0W
D-A80H D-J79W
D-F70 D-F70F

D-J79

D-F7NTL

D-F7TBAL

=U

D-A90C1V
D-Fo OOV
D-F9OWV

D-A73C
D-A80C
D-J79C

D-FOOOW

D-A79W

D-F7TOWV

D-F700V

=U

3

i

D-ATLIH/ABOH D ETCW D-FOOIW
) D-A70 D-A73C/A80C - D-A90 D-FoO 5
Boresize| ey |D-F70/I79 DATOW | BS7ow | D-asOv | DFov | DFESETAV
(mm) D-F70V/I79C D-F7O0WV )
A B A B A B A B A B A B A B
12 9.5 10 10 10.5 7 7.5 14 14.5 — - — — — —
16 12.5 10.5 13 11 10 8 17 15 — = -
20 | 155 | 13 | 16 | 135 | 13 | 105 | 20 | 175 | - _ _ _ Z _
25 15.5 13 16 13.5 13 10.5 20 17.5 — — — — - —
32 | 18 | 135 | 185 | 14 | 155 | 11 | 225 | 18 | 17 | 125 | 21 | 165 | 20 | 155
40 13 19 13.5 19.5 10.5 16.5 17.5 23.5 12 18 16 22 15 21
50 11 21.5 11.5 22 8.5 19 15.5 26 10 20.5 14 24.5 13 23.5
63 | 135 | 205 | 14 | 21 | 11 | 18 | 18 | 25 | 125 | 1905 | 165 | 235 | 155 | 225
Auto Switch Mounting Height (mm)
D-A7C0H
D-A80H
D-A70 |Da76 | D-A73C |D-F7OV D-FOCV | D-FOrIW
D-A80 |BEsow’ | D-Agoc |D-Frowy| Dr079C | DATIWID-AIV G pomyy | b ropAL
D-F7BAL
D-F7OF
D-F7NTL
U U U U U U U U U
195 205 26.5 23 26 22 - - -
22.5 23.5 29.5 26 29 25 - — -
24.5 255 315 28 31 27 Z Z Z
27.5 28.5 345 31 34 30 - - —
315 32.5 38.5 35 38 34 27 29 265
35 36 42 385 415 375 30.5 325 30
41 42 48 44.5 47.5 43.5 36.5 38.5 36
475 485 54.5 51 54 50 40 42 395

2.3-76

A
B
1 =Y |
@ |
p — e~
A




Series COQ2KW
|
ﬂlz tO ﬂ32 Without Auto Switch

012, o016 020, 025
Standard (Through-hole)/CQ2KWB - 7
e e
212 to 825 &%
2-Hthread effective depthC (Connection port)
(Opposite side, too) 2-oN through ["_QA] E
(00) > ! \‘
w % -1-0 n DI
e e @
Piston rod -
cross section G Al -I:E'l'i'mhamﬂatsKE
E L, B+Stroke _L+Stroke
[ A+25(Stoke) |
232
-3l
2-p
/(Connection port)
2-Hthread effective depthC 2-gN through Q E
- - \ e |
(Opposite side too) / | / [
O : -
o) T — ] : Rod end male thread
"-‘ﬂ\. : %‘_!_- '.__ L<' — * L — VAR 5 (mm)
o oX| = x| I “{J ‘_ i) Bore
=y g0 e e s e . ) A1 Ci1 Hi
- M \ 2 Width (mm)
Piston rod | || across flats K2 12 582 | 9 | M5X08
crass section e | L 16 62 10 M6 X 1.0
i_L B+ Stroke | L+Stroke J. 20 71 12 M8 X 1.25
A+2 (Stroke) |
25 82 15 | M10X1.25
32 96.5 | 20.5 | M14X15
Rod end nut Rod end nut
Rod end male thread 24 \ Bore L X
E (mm)
I; ] 12 14 | 105
A4 16| 155 | 12
| ¢ 20 185 | 14
X 25 225 | 175
L1 L1+Stroke
L Als2(Stroke) 'J 32 285 | 23.5
With built-in One-touch Fitting/@32
38 2-06
i ] {Piping tube O.D.)
il @ A
1] b
= Dimensions of @32, 5 stroke with built-in
One-touch fitting are same as 10 stroke.
Standard (mm)
Bore Stroke range
(mm) (mm) A|B|C|D|E F| G H | J|KL|K2| L |M|N P Q Th9 W | Z
12 5to 30 37.2|302| 6 25|10 |1.5|M3X05(32| — |52| 5 |35(155|/35|M5X08 |15 | 15 504 | — | —
16 510 30 38|31| 8|8 |29|10|1.5|M4Xx0.7|38| — | 6 | 6 [35]20|35[M5X08|15| 20 0o | — | —
20 51to 50 43|34 7 |10|36|95| 2 |[M5X08|47| — | 8 | 8 |45(255(55|M5X0.8[175| 13 J0s| — | —
25 5to 50 47 |37 |12 |12 |40 |11 | 2 [M6X1.0|52| — |10 10| 5 |28 |55|M5X08 |19 | 15 50| — | —
5 M5 X 0.8
32 535(395| 13 | 16 | 45 |125| 2 | M8X125 |60 (45|14 | 14| 7 |34 |55 215| 21 545, [495| 14
10 to 50 RC(PT)1/8 ’
l Double rod (812, 16, 20) - Change SCQ2 AT + Refer to p.2.3-18 for details rod end

Double rod (225, 32) Change SCQ2 A, #T.

* The diagram shows with an auto switch, which may be deleted if unnecessary.

2.3-78

nut and optional bracket.



Compact Cylinder/Non-rotating Rod: Double Acting Double Rod Series CDQZKW

|
ﬂlz tO ﬂ32 With Auto Switch

Standard (Through-hole)/CDQ2KWB

220, 925

15 7

pecy

@gl2 to 825

Lead wire minimum
2-H thread effective depth _bending radius 10
| (Opposite  2-oN through /' Auto switch_

=~ 2-p
~| [Cannection port)

AN\ 2f & =)
. \ ,,.G.L— — —? —D 5 q_e' QI
)) | \
...;\ a ] TF | |\ Width across fiats K2
G

D) gl

Q
31

. L
L_|  B+Stroke | L+Stroke
L A+2 (Stroke) J
232 ' 232
55 7
Rod end male thread (mm)
Bore
2.H thread effective depth 2.p (mm) A1 C1 Hz
Pist d {Opposite side too) {Connection port)
Iston ro o =U / 2-a through a . F. 12 654 | 9 M5 X 0.8 cu
Cross section . 16 72 10 M6 X 1.0
“ ( - 20 83 | 12 | M8X12s [
OO el e = 25 92 | 15 |mwox12s_ |CQS
< oy Eﬁl I % %1 32 [1065] 205 | MIAX15 ooy
IBeag_wwre m(ijnimqrg = Width
ending readius \, across Bore
Auto switch flats K2 (mm) L X
D-A7/A8 e L
L B+Stroke L+Stroke 12 14 10.5
A+2 (Stroke) 16 15.5 12
Rod end nut Rod end nut 20 18.5 14
2-H1 \ 25 225 | 175
Rod end male thread & 32 285 | 235
|z —c PIRAN
l[ N NS J
N/ /
Cq C1
Auto switch X X
D-A9/F9 L1 L1+Stroke
A1+2(Stroke)
With built-in One-touch fitting/032
206
Q (Piping tube O.D.)
Above auto switch: D-A73/A80. —
Refer to p.2.3-76 for auto |ﬁ @ [ . %
switch mounting position and “—[:
mounting height.
Standard mm)
Bore Stroke range
(mm) (mm) A|B|C|D|E|F |G H | J|KLK2| L|{M|N p Q S| Th9 U V z
12 510 30 4441374| 6 | 6 | 32|105|/1.5|M3X05|— | —[5.2| 5 |3.5(22|3.5|M5X0.8 |155 | 355 15_09052 195 | 25 | —
16 5to 30 48|41| 8| 8 38|10 (15| M4X07|—|— | 6 | 6 |3.5|28|3.5|M5X0.8 |15 |4L5 20_09052 25|29 | —
20 5to 50 55|46 | 7 |10 |47 |105| 2 | M5X08|—|—| 8 | 8 |45|36|55|M5X08 [185 | 48 13_0_0052 25|36 | —
25 510 50 57|47 |12 |12 (52 (11| 2 [M6X10|—|—|10|10| 5 |40|55| M5X0.8 | 19 | 535 15_09052 275 | 40 | —
32 510 50 635(495| 13 | 16 | 45 |125| 2 | M8X125 |60 (45|14 (14| 7 |34 |55 Rc(PT)1/8 |215 | 585 21709052 35| — |14
+Refer to p.2.3-18 for details of rod end nut and optional
Standard Standard bracket.
I CDQ2KWB12::-:::--- SCQ212B, #7+#8 CDQ2KWB25:-:::--- SCQ225B, #7+#8
X3} COQ2KWBLE: - SCQ216B, #7+#8 CDQ2KWB32:+++++-- SCQ232, #7+#8

D
CDQ2KWB20: -+ SCQ220B, #7+#8

2.3-79



Series COQ2KW/CDQ2KW

240 to 263

) ] (For those without auto switches, refer to dimensions tabel
With Auto Switch because A and B dimensions vary.)

Both ends tapped: CQ2KWA/CDQ2KWA

O1thread R_ R Both ends tapped (mm)
Bore o1 R
(mm)
40 M6 X 1.0| 10
Standard (Through-hole)/CQ2KWB, CDQ2KWB H{ 50 MEX125 | 14
63 M10X15]| 18
2-H thread effective depth C
(Opposite side too)
= 4-gN through Q 2-P Q
8-20 counter bore {Connection port) 2 Width across
R4 flats K2
“ = '
¢! I I . : A ol
& Nl = 5% G s,
Lead wire minimum
bending radius 10/
Auto switch / !
Piston rod D-A7/A8 L2 L
cross section L B+Stroke L+Stroke
A+2 (Stroke)
Rod end male thread
Rod end nut Reod end nut
2-H1 \
N
[ T{ VY Vaa) PINAN
5 1[ A WV |
) 1]
Auto switch
D-AS/F9 C)’( i )C(* ‘
L1 L1+ Stroke
f—" A1-2 (Stroke) J
Rod end male thread (mm)
One-touch | Without
Bore | fitting |autoswich| C1 | Hi | L1 | X
iy, A1 A1
40 97 107 205 | M14X15 | 285235
50 107.5 117.5 | 26 | M18X 15 |33.5|28.5
63 109 119 26 | M18X15[33.5]285
2P With built-in One-touch fitting (mm)
(Piping tube O.D.}
Bore |z | | vV | W
(mm)
40 13 6 40.5 | 66.5
Md\’] 50 16 8 50 82
63 16 8 56.5| 95
Above auto switch: D-A73/A80.
Refer to p.2.3-76 for auto switch mounting position
and mounting height.
Standard (mm)
W/o w/
Bore | Stroke range |auto swich|awtoswich| ¢ | p [E | H | 1 | J |Ki|K2|L|M|[N| O P |Q|s| T |ulz
(mm) (mm)
A|B|A|B
40 5to 50 54|40 | 64 |50 | 13 | 16 | 52 |[M8X125|69 | 5 | 14 | 14| 7 | 40 | 5.5| 9 Depth 7 |Rc(PT)1/8| 14 | 66 28_8.052 35|14
50 10 to 50 56.5|40.5(66.5|505| 15 | 20 | 64 |M10X15|86 | 7 |18 | 17 | 8 | 50 | 6.6 |11 Depth 8|Rc(PT)1/4| 14 | 80 35_8_052 41 | 19
63 10 to 50 58 | 42 | 68 | 52| 15|20 | 77 |M10X15|103| 7 |18 | 17 | 8 | 60 | 9 |14Depth105|Rc(PT)1/4|155| 93 35—8.062 475]| 19

Double rod (240, 50, 63) Change SCQ2 H#T.
# The diagram shows with an auto switch, which may be deleted if unnecessary.

m * Refer to p.2.3-18 for details of rod end nut and optional bracket.



Compact Cylinder/Non-rotating Rod: Double Acting Double Rod Series CDQZKW

240 to 963

Foot/CQ2KWL, CDQ2KWL

L B ..L* Stroke
=L ——
— | =
=
[ £ B PR — LLE |
Specialcap/ - |
bot  f lxnvf - ixlie
LS
. A+2(Stroke) |
Rod end nut —— Rod end nut
— Rod end male thread (mm)
B Without With
— S auto switch | auto switch L1
(mm) AL AL
;ﬂ 40 117 127 38.5
B | 50 127.5 137.5 435
L1+Stroke
I A1+2 (Stroke) - _ __: 63 129 139 43.5
Foot (mm)
Bore Stroke range |Without auto switch| With auto switch Ll sl ot lix oy bzl x |y
(mm) (mm) A|B|LS|A|B]|LS
40 5to 50 74140 |24 |84 |50 |34 |17 |66| 4 [ 333264 |68|78|112] 7 CU
50 10 to 50 76.5|40.5(175|865(505(275| 18 | 9 | 5 |39 |3.2| 79|78 | 95 |147
63 10 to 50 78 |42 |16 |88 |52 |26 |18 |11 | 5 |46 |3.2]95|915|113|162| 8
Flange/CQ2KWF, CDQ2KWL
—
urz Rod end male thread (mm)
Without With
Bore auto switch | auto switch L3 L
(mm) x
1 A1l
\4-eFD 40 107 117 38.5 28.5
FX B | L2+Stroke
FZ ~A+2 (Stroke) 50 1175 127.5 43.5 33.5
63 119 129 43.5 335
Fod end nut 7 Rod end nu
= | |
|
A
| L2+Stroke
N Al+2 (Stroke) |
Above auto switch: D-A73/A80 Refer to p.2.3-76 for auto switch mounting
position and mounting height.
Flange (mm)
Without | With
(Br1'(1)r:']e) Stro(knir;snge auto switch | auto switch FD|FT|EV|EX|FZ|L1|L2| M
A|B|A|B
40 5 to 50 64 |40 | 74|50 |55 8 |54 |62|72|17| 7 |40
50 10 to 50 66.5]405(765(505(6.6| 9 |67 | 76|89 |18 | 8 |50
63 10 to 50 68 |42 |78 |52 | 9| 9 |80|92(108|18 | 8 |60
m * Refer to p.2.3-18 for rod end nut and optional bracket.
BN ooubie rod (240, 50, 63) Change SCQ2 [Bore size | #7.
+ The diagram shows with an auto switch, which may be deleted if unnecessary. 2 3-81



Compact Cylinder/Axial Piping: Double Acting Single Rod

Series COPZ2

912, 916, 820, 25, 832, 940, 850, 63, 80, 3100

How to Order

cqp2 B[ J50/H30

I N N

cooP2 B[ JE0HB8

1OHO

—A73||S

_ _ | *Number of auto
With au.tol switch switches

(Built-in magnet) Auto switch [ - —

AXi . ] ] 1
xial piping — | Without auto switch PO

. *Refer to table below for auto
Mounting e switch model no. selection.
B |Through-hole
+ Body option
Style ¢ . — | Standard (Rod end female thread)
— Pneumatic Action - C With rubber bumper @)
H Air-hydro () D_| Double acting M Rod end male thread

Note 1) Air-hydro tube: Bore size 20 #Combination of body option is possible. CM

to 100 . Note 2) Rubber bumper for air hydraulic

¢ Cylinder stroke (mm) type is not available.
Refer to standard stroke table on
J p.2.3-83
Bore size
12 12mm Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.
16 | 16mm s Load voltage Auto switch model Lead wire* (m)

20 20mm . ) Electrical | § | Wiring Applicable
25 25mm svle Specialuncton iy 2| (output) DC AC |Perpendicular In-line ?j (ﬁ) é) N(‘:\l';e load
BN somm SweEuiey| — | sv | — — AT6H | ® |@[—[—[1c [ —

e 40mm , — | — [20ov [ A72 A2H | @ [@]—|—
N S0omm 5 Grommet |+ A73 A73H | @ [@|@|—| —
63| 63mm = JE— 12v | 100v . —_ oo —|—

80 80mm = ol Rel
_ 2 No| 2 wire v 5V, 12V/[100V or less| A80 AB80H ® @/ —|—|IC PE(?yY
100]| 100mm i R [Yes| v | — A73C — o |oj0oj0 —

onnector o 5V, 12V[avorkess|  ABOC — o |of[o]e] c
Diagnostic (2 color) | Grommet |Yes — — A79W — ® (0| —|—| —
3 wire (NPN) oV, 12y F7NV F79 e 0[O
Grommet 3 wire (PNP) F7PV F7P ® 0 O|—
—_— ol—
= 2 wire 12v F7BV J79 [ K
*g Connector J79C — ® 00 0 —
o oi . 3 wire (NPN) 5V 12V] F7NWV F79W ® 0 O|— c
g ':g”?s . ves| 3 wire (PNP)| 24V | — = F7Pw | @ [@[O]— Rey.
= (2 colon) _ F7BWV Jow_ | @ |e|o]—
° — 2 wire 12v —
o | Water resistant (2 color) | Grommet — F7BA — | @|O|—
With timer 3 wire (NPN) v, 12V —_ F7NT — |®@|O|— c
Diagnostic output (2 color) — F79F ® 00—
Latch type with diagnostic output 4 wire (NPN)
2 colon) — — F7LF e |®O|—|—
#Lead wire length 0.5m -+ — (Example) ABOC ~ 5m oot Z (Example) A80CZ

-

3m - (Example) ABOCL None - N (Example) ABOCN
+Solid state switches marked with a "O" are manufactured upon receipt of order.

2.3-82



Compact Cylinder/Axial Piping: Double Acting Single Rod Series CQPZ

Model
Bore size (mm) 12 16 20 25 32 40 50 63 80 | 100
- Mounting|[thougoess)| @ [ @ [ @ (@ (@ (@ [0 |0 @ | @

p— Built-in magnet ® O o o o o o o o o
: ' M5 X |M5 X |M5 X |M5 X |Re(PT)|Re(PT) |Re(PT) | Re(PT)| Re(PT)| Re(PT)
0.8 0.8 | 0.8 0.8 1/8 1/8 1/4 1/4 | 3/8 3/8
‘ / s =) Rod end male thread e o e o o | o6 o o o
: ' : Rubber bumper NI R
Mounting | Through-hole (Std.) |  — - [ ) [ ) [ ) [ ) [ ) o [ )
Built-in magnet - - ® | o o | o o o o

M5 X [M5 X |Rc(PT)|Re(PT) |Re(PT)| Re(PT) |Re(PT) | Re(PT)
08|08 | 1/8 | 1/8 | 14| 1/4 | 3/8 | 3/8

Rod end male thread - - [ ] [ ) [ ] o o [ ) (] @

Piping | Screw-in style

Pneumatic

Rod end
male thread \

Piping |Screw-in style| — -

Air-hydro

Standard Specifications

JIS symbol
Double acting: Singl rod Style Pneumatic (Non-lube) Air-hydro
Fluid Air Turbine oil (M
Proof pressure 1.5MPa
T T Max. operating pressure 1.0MPa

Without auto switch: —10°C to 70°C (No freezing)
With auto switch: —10°C to 60°C (No freezing)

Ambient and fluid temperature

Rubber bumper None I
Rod end thread Female thread
Rod end thread tolerance JIS class 2
Stroke length tol +1.0
roke length tolerance 0 CuU
A\ Precautions S e
Piston speed 50 to 500mm/s 5 to 50mm/s CQS
e L L T,
: Be sure to read before handling. : Minimum Operating Pressure Unit: MPa
" Refer to p.0-39 to 0-46 for Safety . Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
Instructions, precautions on the -
I products mentioned in this catalog | Pneumatic (non-lube) 0.07 | 0.07 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 |MU
I and common precautions. 1 Air-hydro - - 0.18 | 0.18 | 0.18 | 0.10 | 0.10 | 0.10 | 0.10 | 0.10
RS, |
. Allowable Kinetic Ener it:
A\ Caution _ gy Unit: J
- - Bore size (mm) 12 16 20 25 32 40 50 63 80 100
|_Snap Ring Installation/Removal Standard type 0.0220.038 |0.055| 0.09 | 0.15 | 0.26 | 0.46 | 0.77 | 1.36 | 2.27
(D For installation and removal, use an appropriate pair With rubber bumper |0.043 [0.075| 0.11 | 0.18 | 0.29 | 0.52 | 0.91 | 1.54 | 2.71 | 4.54
2 of pliers (tool for installing a C snap ring).
(2) Exercise caution even when using an appropriate
pair of pliers (tool for installing a C snap ring), Standard Stroke
because of the possibility of the snap ring becoming
detached from the tip of the pliers (tool for installing a Pneumatic (Non-lube) Unit: mm Air-hydro Unit: mm
C snap ring) and flying away, which could injure - -
humans or damage the peripheral equipment. After Bore size Standard stroke Bore size Standard stroke
installing the snap ring, make sure that it is placed 12,16 5, 10, 15, 20, 25, 30 20. 25 5, 10, 15, 20, 25, 30, 35,
securely in the ring groove before supplying air. 20 25 5,10, 15, 20, 25, 30, 35, 40, 45, 50
Mounting/Removing 40,45, 50 32,40 > 10,115, 20, 25, 30, 35,
5,10, 15, 20, 25, 30, 35 40, 45, 80, 75, 100
(1) Do not remove the hexagon socket set screw on the 32, 40 "0 e B0 e 100
= ’ 40, 45, 50, 75, 100 50, 63 10, 15, 20, 25, 30, 35, 40,
side of the rod. 80, 100 45,50, 75, 100
* Be aware that if the hexagon socket set screw is 50, 63 10, 15, 20, 25, 30, 35, 40, 2 1 9% 19
removed with compressed air supplied to the cylinder, 80, 100 45, 50, 75, 100
an internal steel ball could fly out or the compressed
air could be discharged, leading to injury to humans or
damage to peripheral equipment. ) A ) )
Refer to p.2.3-3 for intermediate stroke (except air hydraulic type)
Auto Switch Mounting Bracket Part No.
Bore size Part No. Note : Applicable svﬁtch :
(mm) Reed switch Solid state switch
- « Switch mounting screw | D-A70, A80 D-F70, J79
;0/%5 BQ-1 (M3X0.5X89 D-A73C, A80OC D-FrQlV, D-J79C *Stainless steel mounting bolt set
« Square nut D-A70H, A8OH D-F7OW, J79W The set of stainless steel mounting screws (with nut) described
D-A79W D-F70JWV. D-F7BAL below is available and can be used depending on the operating
« Switch mounting screw - ! environment. (The spacer for auto switches must be ordered
32/40 M3 X 0.5 X 10 D-F70F, D-F7NTL separately, as they are not included.)
50/63 BQ-2 | ¢ - 9 BBA2: For D-ATIABIF7IJ7
80/100 « Switch mounting screw The stainless steel bolts described above are used when the D-
. ; : F7BAL type switch is shipped mounted on a cylinder. When the
Switch mounting nut switches are shipped as individual parts, the BBA2 set is included.

2.3-83



Series COPZ2

Theoretical Force E Unit: N

Weight Unit: g
Bore size Operating Operating pressure (MPa) Bore size Cylinder stroke (mm)
(mm) direction 0.3 05 0.7 (mm) 5 |10 | 15|20 [ 25| 30| 35|40 |45 |50 | 75100
1 IN 25 42 59 12 3213 |46 |53 |60 |67 | — | —|—|—|—|—
ouT 24 57 79 16 54163 (72|89 |98|—|—|—|—|—|—
N 5 75 106 20 70 | 84 | 98 | 112 | 126|140 | 154|168 | 182|196 | — | —
16 25 102 | 117 | 132 | 147 | 161 | 176 | 191 | 206 | 220 | 235 | — | —
ouT 60 101 141 32 149 | 173 | 199 | 222 | 246 | 270 | 295 | 319 | 343 | 367 | 487 | 607
20 IN 71 118 165 40 224 | 258 | 280 | 310 | 336 | 362 | 388 | 414 | 440 | 467 | 602 | 737
ouT 94 157 220 50 — | 414 | 455 | 496 | 538 | 579 | 620 | 662 | 703 | 744 | 949 | 1154
o5 IN 113 189 264 63 — | 584|632 |679 | 727 | 774|822 | 870 | 917 | 965 | 1205 | 1445
ouT 147 245 344 80 — | 1085 | 1163 | 1242 | 1320 | 1399 | 1477 | 1556 | 1634 | 1713 | 2108 | 2503
2 IN 181 302 422 100 — | 1894 | 1992 | 2091 | 2189 | 2287 | 2385 | 2483 | 2581 | 2679 | 3169 | 3659
ouT 241 402 563
40 IN 317 528 739 Option Weights Unit: g
ouT 377 628 880 Bore size (mm) | 1216 ]20]25[32]40]50] 6380 [100
50 IN 495 825 1150 Rod end male[Male thread| 1.5 | 3 | 6 | 12 | 26 | 27 | 53 | 53 [120(175
ouT 589 982 1370 thread Nut | 1|2 | 4|8 17|17 (323249116
63 IN 841 1400 1960 With rubber bumper | 0 | 0 |-2|-3|-3|-7|-9|-18|-31|-56
ouT 935 1560 2180 Calculation example: CQP2B32-20DCM
@®Basic weight: CQP2B32-20D
80 IN 1360 2270 8170 @Additional weight: Rod end male thread --- -
ouT 1510 2510 3520 With rubber bumper «-----oeeeeeenen. —3g
IN 2140 3570 5000 2629
100
ouT 2360 3930 5500
Mounting Bolt for CQP2
Special bolt for through hole mounting of CQP2B is available as option.
How to Order: Specify the required bolts.
Example) Bolt M3 X 25 ¢ 2pcs. i
=1 Mounting bolt
== T C
D
=
Model © D | Mounting bolt Model C D | Mounting bolt Model C D | Mounting bolt
CQP2B12-5D 25 M3 X 25¢ CQP2B32-5D 30 M5 X 30¢ CQP2B63-10D 50 M8 X 50 ¢
-10D 30 X30¢ -10D 35 X35¢ -15D 55 X55¢
-15D 6.5 35 X35¢ -15D 40 X40¢ -20D 60 X 60¢
-20D ’ 40 X40¢ -20D 45 X45¢ -25D 65 X65¢
-25D 45 X45¢ -25D 50 X50¢ -30D 70 X70¢
-30D 50 X50¢ -30D 9 55 X55¢ -35D | 145 75 X75¢
CQP2B16-5D 25 [ M3X25¢ -35D 60 X 60¢ -40D 80 X80¢
-10D 30 X30¢ -40D 65 X65¢ -45D 85 X85¢
-15D 5 35 X35¢ -45D 70 X70¢ -50D 90 X90¢
-20D 40 X40¢ -50D 75 X75¢ -75D 125 X125¢
-25D 45 X45¢ -75D 110 X110¢ -100D 150 X150¢
-30D 50 X50¢ -100D 135 X135¢ CQP2B80-10D 55 | M10 X55¢
CQP2B20-5D 25 M5 X 25 ¢ CQP2B40-5D 35 M5 X 35¢ -15D 60 X 60¢
-10D 30 X30¢ -10D 40 X40¢ -20D 65 X 65¢
-15D 35 X35¢ -15D 45 X45¢ -25D 70 X70¢
-20D 40 X40¢ -20D 50 X50¢ -30D 75 X75¢
25D | ;5 | 45 X 45 ¢ -25D 55 X 55 ¢ 35D | 15 [80 X 80 ¢
-30D ' 50 X50¢ -30D 75 60 X 60¢ -40D 85 X85¢
-35D 55 X55¢ -35D ' 65 X 65¢ -45D 90 X90¢
-40D 60 X60¢ -40D 70 X70¢ -50D 95 X95¢
-45D 65 X 65¢ -45D 75 X75¢ -75D 130 X130¢
-50D 70 X70¢ -50D 80 X80¢ -100D 155 X155¢
CQP2B25-5D 30 M5 X 30 ¢ -75D 115 X115¢ CQP2B100-10D 65 | M10 X 65¢
-10D 35 X35¢ -100D 140 X 140¢ -15D 70 X70¢
-15D 40 X40¢ CQP2B50-10D 45 M6 X 45 ¢ -20D 75 X75¢
-20D 45 X45¢ -15D 50 X50¢ -25D 80 X80¢
-25D 9.5 50 X50¢ -20D 55 X55¢ -30D 85 X85¢
-30D ’ 55 X55¢ -25D 60 X 60¢ -35D | 15.5 90 X90¢
-35D 60 X 60 ¢ -30D 65 X 65¢ -40D 95 X95¢
-40D 65 X 65¢ -35D 12,5 70 X70¢ -45D 100 X100¢
-45D 70 X70¢ -40D 75 X75¢ -50D 105 X 105¢
-50D 75 X75¢ -45D 80 X80¢ -75D 140 X140¢
-50D 85 X85¢ -100D 165 x 165¢
-75D 120 X120¢
-100D 145 X145¢

2.3-84




Series CDQPZ2
Auto Switch Specifications

* Refer to p.5.3-2 for details of auto switch.

iy

Weight Unit: g
Bore Cylinder stroke (mm) Cglcqlatioq eﬁarggzsgézzggé'zoggg
*Basic welgi t: - g
(mm) | 5 |10|15]20|25|30 3540|4550 75100 «Additional weight: Rod end male thread -+ 439
12 |541(62|69|75(82|8| - |- |—-|-=1|—=|-— With rubber bumper- —3g
16 [91]99 (107 |15 [13|131| — | —|=|—=-|—-]- 3309
20 | 121|135 147 | 161|175 | 188 | 201 | 214 | 228 | 242 | — | — Add iach wgightofauto
25 | 177190 [ 203 [ 117 230 | 244 | 257 [ 270 [ 284 [ 297 | — [679 prncoies and mounting
32 | 217|242 | 266 | 290 | 315 | 339 | 363 | 387 | 412 | 436 | 557 | 814
40 |319 | 345 | 371|397 | 423 | 449 | 475 | 502 | 528 | 554 | 684 | 1291 Weight/Auto Switch Mounting Bracket
50 | — | 546|588 | 629 | 670 | 712 | 753 | 794 | 836 | 877 | 1084 | 1622 “{')f;gg‘tg Bore size Wfégh‘
63 | — | 764|812 |859 | 907 | 955 | 1002 | 1050 | 1098 | 1145 | B84 |7 T B51 | pi2to o2 | 15
80 | — | 1377 | 1455 | 1534 | 1612 | 1691 | 1769 | 1848 | 1926 | 2005 | 267 | 080 T BQ-2 | 32 to 9100 | 15
100 | — | 209 | 2394 | 2492 | 2590 | 2688 | 2786 | 2884 | 2982 | 3080 | 3570 Refer to p.5.3-75 for auto switch weight.
Option Weights Unit: g
Bore size (mm) 12 16 20 25 32
Rod end Male .. . .
e troag|thread | 18 | 3 | 6 | 12| 26 Minimum Strokes for Auto Switch Mounting (mm)
Nut 2 4 | 8 | 17 D-A70 D-A70H D-F70O0W
With rubber bumper 0 -1 -2 -3 -3 No. of D-F70OV | D-A80 D-A80H D-J79W
auto switches| D-J79C D-A73C D-F7OWV D-F700 D-A79W D-F7BAL D-F7LF
Bore size (mm) 40 50 63 80 | 100 D-A80C D-J79 D-F79F
Rotlielrw]d ] Male | o7 | g3 | 53 | 120 | 175 1 5 5 10 15 15 20 25
male threa
Nut 17 32 32 49 116 2 5 10_ 15_ — 1_5 20 20 25
With rubber bumper 7 9 _18 31 56 Note) Refer to p.5.3-2 (CQ2 double acting) for auto switch specifications.
_ Cu
Construction
@®OH®®

Component Part

Auto switch

A-A section (Rod side port)

Auto switch

B-B section (Head side port)

Replacement Parts: Seal Kits

No. Description Material Note Bore size Kit No. Note
(@ | Cylinder tube Aluminum alloy Hard anodized (mm) Pneumatic (non-lube) Air-hydro
@ | Piston Aluminum alloy Chromated 12 CQ2B12-PS —
® | Piston rod Stainless steel 912 to 825 16 CQ2B16-PS —
Carbon steel 932 to 100, Hard chrome plated 20 CQ2B20-PS CQ2BH20-PS
@ | collar Aluminum bearing alloy| 512 to 840, Anodized 25 CQ2B25-PS CQ2BH25-PS | \ oo
Aluminum alloy casting| g50 to 8100, Chromated, coated 32 CQ2B32-PS CQ2BH32-PS
® | Snapring Carbon tool steel Phosphate coating 40 CQ2B40-PS T
(® | Bushing Lead bronze casting|Only used for @50 or larger 50 CQ2B50-PS CQ2BH50-PS and @2
@ | Magnet — 63 CQ2B63-PS CQ2BH63-PS
Steel ball Bearing steel 80 CQ2B80-PS CQ2BH80-PS
(@ | Hex socket set screw Alloy steel Zinc chromated 100 CQ2B100-PS CQ2BH100-PS
(0 | Piston seal NBR * Seal kits are sets consisting of items (0, @) and (2, which can be ordered using the order
@ | Rod seal NBR number for each cylinder bore size.
@ | Gasket NBR

2.3-85



Series COPZ2

Construction

® ® ® @ O ® @ @
v gy .
A N
A-A Section (Rod side port) B-B Section (Head side port)
® ©@
\ —
ES — — — — _— ——
- ”
{ W, — ]
__ |
Rod end male thread With rubber bumper
Component Parts Replacement Parts: Seal Kits
No. Description Material Note Bore size Kit No. N
@ | Cylinder tube Aluminum alloy Hard anodized (mm) Pneumatic (Non-lube) Air-hydro R
@ | Piston * Aluminum alloy Chromated 12 CQ2B12-PS —
) . Stainless steel 212 to 825 16 CQ2B16-PS —
(3 | Pistonrod *
Carbon steel 932 to 8100, Hard chrome plated 20 CQ2B20-PS CQ2BH20-PS
Aluminum bearing all i 25 : -
@ | collar uml-num earing aloy 212 to 240, Anodized CQ2B25-PS CQ2BH25-PS A set of left
Aluminum alloy casting | 250 to 8100, Chromated, coated 32 CQ2B32-PS CQ2BH32-PS nos. @, @
(® | Snapring Carbon tool steel Phosphate coating 40 CQ2B40-PS CQ2BH40-PS d.‘
(® | Bushing Lead bronze casting |Only used for @50 or larger 50 CQ2B50-PS CQ2BH50-PS an '
(7 | Rod end nut Carbon steel Nickel plated 63 CQ2B63-PS CQ2BH63-PS
Bumper A Urethane 80 CQ2B80-PS CQ2BH80-PS
(@ | Bumper B Urethane 100 CQ2B100-PS CQ2BH100-PS
Steel ball Bearing steel * Seal kits are sets consisting of items (2, 43 and (4, which can be ordered using the kit
@1 | Hexagon socket set screw Alloy steel Zinc chromated number for each cylinder bore size.
(2 | Piston seal NBR
@3 | Rod seal NBR
Gasket NBR
#0n bore size 12 with rubber bumper style, piston and piston rod are integrated
(Stainless steel).
Copper Free
20— CQP2B ’ Bore size H Stroke |D Specifications
. Action Double acting single rod
Copper free series 212, 916, 820, 925, 232, Cylinder bore size 212, 916, 820, 825, 832, 840, 50, 863, 880, 8100
240, 850, 263, 280, 2100 Proof Pressure 1.5MPa
Max. operating pressure 1.0MPa
To eliminate influences of copper ions or halogen ions during Rubber bumper None
CRT manufacturing processes, copper and fluorine materials Piping Screw-in piping
are not used as component parts. Piston speed 50 to 500mm/s
Mounting Through-hole
Auto switch Mountable

2.3-86



Compact Cylinder/Axial Piping: Double Acting Single Rod Series CDQPZ

Mounting Bolt for CDQP2 with Auto Switch

Special bolt for through-hole of CDQP2B mounting is available as option. S Mounting bolt
How to Order: Specify the required bolts. s
Example) Bolt M3 X 35 ¢ 2pcs. I ——
D
Model C D [Mounting bolt Model C D [Mounting bolt Model C D [Mounting bolt
CDQP2B12-5D 35 M3 X 35¢ CDQP2B32-5D 40 M5 X 40¢ CDQP2B63-10D 60 M8 X 60 ¢
-10D 40 X 40 ¢ -10D 45 X 45 ¢ -15D 65 X 65 ¢
-15D 55 |45 X 45 ¢ -15D 50 X 50 ¢ -20D 70 X 70 ¢
20D : 50 X50¢ 20D 55 X55¢ 25D 75 X 75 ¢
25D 55 X 55 ¢ 25D 60 X 60 ¢ -30D 80 X 80 ¢
-30D 60 X 60¢ -30D 9 65 X 65¢ -35D 145 |85 X 85 ¢
CDOP2B16-5D 40 | M3X40¢ -35D 70 X 70 ¢ -40D : 90 X 90 ¢
-10D 45 X45¢ -40D 75 X75¢ 45D 95 X 95 ¢
-15D 8 50 X 50 ¢ -45D 80 X80 ¢ -50D 100 X 100 ¢
20D 55 X55¢ 50D 85 X85¢ 75D 125 X125 ¢
-25D 60 X 60 ¢ 75D 110 X 110 ¢ -100D 150 X 150 ¢
-30D 65 X65¢ -100D 135 X135¢ CDQP2B80-10D 65 M10 X 65 ¢
CDQP2B20-5D 40 | M5X40¢ CDOQP2B40-5D 45 | M5X45¢ -15D 70 X 70 ¢
-10D 45 X45¢ -10D 50 X50¢ 20D 75 X 75 ¢
-15D 50 X 50 ¢ -15D 55 X 55 ¢ -25D 80 X80 ¢
20D 55 X55¢ 20D 60 X 60¢ -30D 85 X 85 ¢
-25D 105 |69 X 60 ¢ 25D 65 X 65 ¢ -35D 15 90 X 90 ¢
-30D : 65 X 65¢ -30D 75 [ 10 X70¢ -40D 95 X 95 ¢
-35D 70 X 70¢ -35D : 75 X75¢ -45D 00 X 100 ¢
-40D 75 X75¢ -40D 80 X80 ¢ 50D 05 X105 ¢
-45D 80 X80 ¢ -45D 85 X85 ¢ 75D 30 X 130 ¢
50D 85 X85 ¢ 50D 90 X 90 ¢ -100D 55 X155 ¢
CDQP2B25-5D 40 M5 X 40 ¢ -75D 115 X115¢ CDQP2B100-10D 75 M10 X 75¢
-10D 15 X 45 ¢ -100D 140 X 140¢ -15D 80 X80 ¢
-15D 50 X50¢ CDQP2B50-10D 55 M6 X 55 ¢ -20D 85 X85¢
20D 55 X55¢ -15D 60 X 60 ¢ 25D 90 X 90 ¢
25D o5 |60 X 60 ¢ 20D 65 X 65 ¢ -30D 95 X 95 ¢
-30D : 65 X 65 ¢ 25D 70 X70¢ -35D 15.5 [ 100 X 100 ¢
-35D 70 X 70¢ -30D 75 X75¢ -40D 05 X 105 ¢
-40D 75 X75¢ -35D 125 [ 80 X80 ¢ 45D 10 X110 ¢
-45D 80 X80 ¢ -40D 85 X85 ¢ -50D 15 X 115 ¢
50D 85 X85¢ -45D 90 X90¢ 75D 40 X 140 ¢
50D 9% X 95 ¢ -100D 65 x165¢ |CU
75D 120 X 120¢
-100D 145 X 145 ¢
Auto Switch Mounting Position (at Stroke End) and Mounting Height
D-A7O D-A70H D-F7OW D-A73C D-A79W
D-A80 D-A80H D-J79W D-A80C D-F7O0WV
D-F70 D-F70OF D-J79C D-F70IV MU
D-J79 D-F7NT —
D-F7BA
=
@12 to @25
232 to 100
Auto Switch Mounting Position Auto Switch Mounting Height (mm)
DLl pyten D-A70HID-AS0H
; D-A7L]  |D-AT3C/AB0C } D-A70 | D-F7O/D-J79ID-FIOW | D-A73C |D-F700V
Bore size D-A79W | D-F7OF - -
(mm) | D-A80 DFODIEFIV D-J79W D-AS0 | DJTOWID-FTBAL | D-A80C [D-F7owy| DI79C | D-ATOW
J79C D-F70WV D-F7OF/D-FINTL
A B A B A B A B U U U U U U
12 45 | 55 | 5 6 2 3 9 | 10 19.5 20.5 26.5 23 26 22
16 75 1 5 8 | 551 65 | 25| 12 | 95 225 235 29.5 26 29 25
20 75 | 65 | 8 7 5 4 12 | 11 24.5 25.5 31.5 28 31 27
25 7.5 7 8 7.5 5 4.5 12 11.5 275 28.5 345 31 34 30
32 9 6 9.5 6.5 6.5 3.5 13.5 | 10.5 315 32.5 38.5 35 38 34
40 13 8.5 | 135 9 10.5 6 17.5 13 35 36 42 38.5 415 375
50 11 115 | 115 12 8.5 9 15.5 16 41 42 48 445 475 435
63 135 | 145 | 14 15 11 12 18 19 475 485 54.5 51 54 50
80 17.5 18 18 18.5 15 15.5 22 225 575 58.5 64.5 61 64 60
100 21 24 | 215|245 | 185 | 21,5 | 25,5 | 285 67.5 68.5 74.5 71 74 70




Series COPZ2
|
12 to 2100 Without Auto Switch

H thread effective depth C M
212 to @25 r o
oy ¥ .
w
M
of 1§ — z
1
| 2-oNthrough //
2 X 2-00 ]
L B-+stroke counter bore | | <
Asstroke e E | 2-M5 X 0.8
(Connection port)
Rod end male thread Rod end nut *
— Rod end male thread (mm)
Hi |
| Bore | ¢l x Hi | L
() (mm)
| . I 12 9 105/ M5X 0.8 | 14
F = 16 [10[12|M6X 1.0 155
el 20 [12[14]M8x125[185
Lox J 25 | 15175 M10X1.25 |225
L L
Standard (mm)
Bore Stroke range
G i) A|lB|C|D|E|E1L|E2|F| H |I |K|L|IM|N| O |[W
12 5to 30 205[17 | 6 | 6 | 2313|1414 | M3X05 [ 32| 5 |35 22 |3.5|65Depth35| 27
16 5to 30 22[185| 8 | 8 | 26 |15 |17 |17 | M4XO0.7 | 38| 6 |3.5| 28 | 3.5 |65Depth35| 32
20 5 to 50 24 |195| 7 |10 |30 |17 |19 |21 | M5X0.8 |47 | 8 |45| 36 |55 |9Depth7 | 36
25 5 to 50 275[225| 12 | 12 | 33 [195| 22 | 24 | M6X1.0 | 52 | 10 | 5 | 40 | 5.5 | 9Depth 7 |415
H thread effective depth C 4-gN through - zZ 2-p
2 X 4-80 counter bore {Connection
@32 to 9100 ;
-
|
v
Q i — — — Sw=
[
(I §
L B+ stroke
L A+stroke o
Rod end nut*
Rod end male thread Rod end male thread (mm)
H1 Bore leilx| H |
(mm)
32 205|235 M14 X 1.5(285
1 — - - 40 |205[235|M14 X 15285
50 |2 |285|M18X15(335
o1 63 | 26 |285|M18X 115|335
- 80 [325355|M22 X 1.5|435
--—U—-J 100 [325]355]M26 X 1.5 435
Standard (mm)
Bore (mm) Stroke range (mm)| A | B | C | D | E | F H | J|K|L|M|N (¢] P Q|W| z
5 to 50 30 | 23
32 75.100 20 | 33| 13|16 | 45|17 [M8X125| 60 |105| 14 | 7 | 34 |55| 9Depth 7 | Re(PT)U/8 | 8 |555| 30
5 to 50 365 | 29.5
40 75.100 465 [305] 13|16 (52| 17 |M8X1.25|69 | 10 | 14 | 7 |40 |5.5| 9Depth7 | Re(PT)1/8 | 8 | 62 | 30
10 to 50 385305
50 75.100 265 405 15 (20| 64|22 | M10X 15|86 |13 (17 | 8 |50 |6.6|11Depth8| Re(PT)L/4 | 10 | 77 | 39
10 to 50 44 | 36
63 75.100 ca |46 | 15|20 |77 (22 | M10X 15103/ 13 |17 | 8 |60 | 9 |14Depth 105 Re(PT)1/4 | 10 | 90 | 39
10 to 50 535 | 435
80 75.100 635 535 21|25 (98| 26| M16X20|132| 16 [ 22 | 10 | 77 | 11 |175Depih 135| Re(PT)3/8 | 125|114/ 48
10 to 50 65 | 53
100 75.100 75 [ 63 | 27 | 30 |117( 26 | M20 X 2.5 (156 17,5| 27 | 12 | 94 | 11 |175Deph135| Ro(PT)3/8 | 125|145 48

Standard

Note) Dimensions with rubber bumper are the same, as the above.
* Refer to p.2.3-18 for details of rod end nut and optional bracket.

SCQP2 [Bore size |, #1 (#1+#4)
Single acting Spring return------SCQP2 ,#2
Single acting Spring extend--- SCQP2 ,#3

The diagram shows with an auto switch, which may be deleted if unnecessary.

2.3-88



Compact Cylinder/Axial Piping: Double Acting Single Rod Series CDQPZ

|
212 to 100 With Auto Switch

22
ﬂlz to Q25 1 | Lead wire minimum bending radius 10
= | M
H thread effective depth C Auto switch |
m Ll :l !g - =
L= '
-1
a
W
: o - .
i £ |
| -oM throu
@ _ 2-oN throug
[T 2 X200 i
K \Plug L B+Stroke counter bore | - F
A+Stroke o | E 2-M5 X 0.8

Rod end male thread

Rod end nut *

(Connection port)

Rod end male thread (mm)

m Abovequto switchl: D-ABQ Referto p.2.3-l87for. % Bore ci| x Hi La
auto switch mounting position and mounting height. [ (mm)
T l:g - . 12 | 9 [105[m5x0.8]14
T 16 |10|12|M6X1.0[155
o Cr | 20 [12]14]M8x1.25 185
e X o ‘-] 25 15 [175] M10X1.25 |225
Standard L. (mm)
B Stokerange | o | B | c | D | E [E1|E2| F H I k|L|m]|N o s|ulw
(mm) (mm)
12 5to 30 315/ 28| 6 | 6 [ 2313 |14 |14 | M3X05 |32 | 5 |35] 22 |3.5|65Depth35|325]195]| 27
16 5to 30 34 (305 8 | 8 [26 |15 |17 | 17 | M4X0.7 | 38 | 6 | 35| 28 | 3.5 |6.5Depth3.5|375|225| 32
20 5 to 50 36 |315]| 7 10 [ 30 | 17 |19 | 21 | M5X 0.8 | 47 8 |45| 36 |55 |9Depth7 |415|245]| 36
25 5 to 50 375[325] 12 | 12 | 33 |195] 22 | 24 | M6X 1.0 | 52 | 10 | 5 | 40 | 5.5 | 9Depth 7 | 47 | 275|415
Note 1) Dimensions with rubber bumper are same as above standard type.
4-oN through zZ 2.p
H thread effective depth C K Plug 2X4-00 '\ | F 1 (Connection port)
g32 tO ﬂ100 - — X\ i | - counter bore | "_—'i
af
Ol N * = —
|
|
Lead wire minimum bending radius 10 / | -‘ L — B+Stroke
22 A+Stroke i
Rod end male thread [0 et
Rod end male thread (mm)
Bore \eilx| H L
) (mm)
[T toove o v o psc et epzssrior 32 [msms e 1 s
' - S 40 205[235|M14 X 1.5 |285
50 26 |285|M18 X 1.5]335
63 26 |285| M18 X 1.5 [ 335
80 325]355| M22 X 1.5 | 435
100 325[355 | M26 X 1.5 | 435
Standard (mm)
Bore Strokerange | A B | c|D|E|F H FlalklL|[m|N o P ols|ulw]|z
(mm) (mm)
32 5 to 100 40 |33 |13 | 16| 45|17 | M8X1.25| 60 |105]| 14 | 7 | 34 |5.5| 9 Depth 7 | Rc(PT)1/8 64.5 | 315|555 | 30
40 5 to 100 465(395[13 | 16 | 52 | 17 | M8X1.25 | 69 |10 [ 14 | 7 |40 |55|9Depth7 | Re(PT)1/8 | 8 | 71 | 35 | 62 | 30
50 10 to 100 485[405[ 15|20 | 64 | 22 | M10X 15|86 |13 |17 | 8 |50 |6.6 |11 Depth8| Rc(PT)1/4 | 10 | 86 | 41 | 77 | 39
63 10 to 100 54 |46 |15 |20 | 77 |22 | M10X 1.5 |103|[13 |17 | 8 | 60 | 9 [14Depth10.5| Rc(PT)1/4 | 10 | 99 [475| 90 | 39
80 10 to 100 63.5(535| 21 | 25|98 | 26 | M16 X 2.0 [132| 16 | 22 | 10 | 77 | 11 [175Depth 135 Rc(PT)3/8 | 12.5 | 1225 | 57.5 | 114 | 48
100 10 to 100 75| 63|27 |30 [117| 26 | M20 X 2.5 | 156|175 27 | 12 | 94 | 11 [175Depth135| Rc(PT)3/8 | 12,5 | 1435 | 67.5 | 1345 | 48

Note 1) Dimensions with rubber bumper are same as above standard type.
JI Stendards SCQP2 [ Bore size |, #1 (#1+#4)
Single acting Spring return-----SCQP2 #2
Single acting Spring extend--- SCQP2 L #3

2.3-89

cu
COS

MU




Compact Cylinder/Axial Piping: Single Acting Single Rod

Series COPZ2

912, 916, 820, 825, 332, 940, 850

How to Order

CQP2 B [50H10][T

1 I L T 11

cDQP2 B [50Hzo|[T] HA73[[S

| ® Number of
With auto switch auto switches
(Built-in magnet) Auto switch — >
) L Without auto switch S 1
Axial piping (Built-in magnet) I e
+ Refer to table below for auto switch
Mounting ® model selection.
B | Through-hole _ .
® Body option
Bore size ® | standard
12 Tomm ® Action (Rod end female thread)
16 16mm S | Single acting/Spring return M Rod end male thread
20 20mm T |[Single acting/Spring extend
25 25mm
32| semm ® Cylinder stroke (mm)
ﬂw Refer to standard stroke table on p.2.3-91.
50 50mm
Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.
= Load voltage Auto switch model Lead wire (m) *
Style Special Electrical | 5| Wiring s Nalslk Applicable
function entry || (Output) DC AC |Parpendicular In-line d el load
E P =)
Eaveny)| — | sV | — AT6H | @ |@[—[—|ic [ —
’ — — | 200V A72 A72H o 0 — | —
5 & A7 A73H —|—
g Grommet 12v | 100v 3 e o0
H i L — o 0 — | —
3 No| 2 wire sv,1v [<100v]  A80 ABOH | @ [@[—[—[ ic |Rela.
Q 24V PLC
x c [Yes| 2V | — A73C — o (00 0 —
onnector g sv.1v | <24v | ABOC — o o|o|o] c
Diagnostic (2 color) |Grommet|Yes — — A7T9W — o0 —|—|—
3 wire (NPN) s 1V F7NV F79 ® (0 O|— c
Grommet| |3 wire (PNP) ' F7PV F7P ® (@0 O|—
) F7BV J79 ® 0 O|—
2 wire 12V -
= Connector J79C — o o000
% ) ) 3 wire (NPN) 5 1V F7NWV F79W ® (0 O|— c
° Diagnastic \es| 3 Wire (PNP) ' _ = F7PW ® @ O|— Relay,
g (2 color) es 24v PLC
@ ) F7BWV J79W ® (@0 O|—
o - 2 wire 12v — — —
g Water resistant (2 color) | o oo . F7BA ® | O
With timer 3 wire (NPN) F7NT — l@|lo|—
" y 5V, 12v IC
Diagnostic output (2 color) F79F ® (@0 O|—
Latch with diagnostic 4 wire (NPN)
output (2 color) - F7LE ® & O ——
* Lead wire length  0.5m------ — (Example) A80C 5meseeeeeee Z (Example) ABOCZ
3Meeeeeees L (Example) AS8OCL None:--:N (Example) ABOCN

* Solid state switches marked with a " " are manufactured upon receipt of order.

2.3-90



Compact Cylinder/Axial Piping: Single Acting Single Rod Series CQPZ

Style
Bore size (mm) 12 16 20 25 32 40 50
Mounting Through-hole (Standard) [ ) [ ) [ ) (] (] [ ] [ ]
-% Built-in magnet o o [ J [ [ [ J [ J
Rod end male thread [ J [ J [ J ([ ([ [ J [ J
Standard Specification
Style Pneumatic (Non-lube)
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa

Without auto switch: —10°C to 70°C (No freezing)
With auto switch: —10°C to 60°C (No freezing)

Ambient and fluid temperature

Rubber bumper None
Rod end thread Female thread
Rod end thread tolerance JIS class 2
Stroke length tolerance * é'o
Mounting Through-hole
Piston speed 50 to 500mm/s
Minimum rating Pr r it CuU
JIS symbol um Operating Pressure Unit: MPa
_ . Bore size (mm) 12 16 20 25 32 40 50
Single acting/ Single acting/
Spring retum Spring extend Single acting (Spring return / Spring extend) |  0.25 0.25 0.18 0.18 0.17 0.15 0.13
i I Standard Stroke Unit: mm
Bore size Standard stroke
12
16
2
0 5,10
25
32
40
: P t 50 10, 20
el L . )
I Be sure to read before hand”ng. 1 Auto Switch MOUntlng Bracket Part No.
I Refer to p.0-39 to 0-46 for Safety 1 Boresize | Applicable switch
. art No. Note - - -
I Instructions and common 1 (mm) Reed switch Solid state switch
Lprecautions. JI ) 16 « Switch mounting screw D-F703, J79
- M3 X 0.5X8¢
A Caution 025 | P Gmena | DATD A% D-J79C
uti - D-A73C, ABOC D-F70W, J79W
- - » Switch mounting screw | D-A7CH, A80OH D-F70O0WV
_Snap Ring Installation/Removal | 240 | o, | M3X05X109 D-A79W D-F7BAL
(@ For installation and removal, use an appropriate pair 50 * Switch interface D-F700F
of pliers (tool for installing a C snap ring). « Switch mounting nut D-E7NTL

(2) Exercise caution even when using an appropriate

pair of pliers (tool for installing a C snap ring),
because of the possibility of the shap ring becoming #Stainless steel mounting bolt set
detached from the tip of the pliers (tool for installing a
C snap ring) and flying away, which could injure
humans or damage the peripheral equipment. After .
installing the snap ring, make sure that it is placed as they are not included.)
securely in the ring groove before supplying air. BBA2: For D-A7/A8/F7137

The stainless steel bolts described above are used when the D- F7BAL type switch is shipped

mounted on a cylinder. When the switches are shipped as individual parts, the BBA2 set is included.

The set of stainless steel mounting screws (with nut) described below is available and can be used
depending on the operating environment. (The spacer for auto switches must be ordered separately,

2.3-91



Series COPZ2

Theoretical Force Unit: N Weight Unit: g
. . Operating pressure (MPa) . Cylinder stroke (mm)
Action Bore size (mm) 03 05 07 Action | Bore size (mm) 5 0 15 20
12 21 44 66 12 33 40 — —
c 16 45 86 126 = 16 55 64 — —
% 20 79 142 205 *E 20 68 83 — —
éa 25 126 224 323 2 25 103 118 — —
(‘/5)_ 32 211 372 533 Ua) 32 149 173 — —
40 338 589 841 40 236 262 — —
50 535 928 1316 50 — 426 — 691
12 14 31 48 12 33 40 — —
° 16 24 54 85 = 16 55 64 — —
g 20 71 118 165 £ 20 73 87 — —
i.’, 25 113 189 264 aé 25 109 124 — —
§ 32 181 302 422 s 32 160 180 — —
2 40 317 528 739 @ 40 262 284 — —
50 495 825 1150 50 — 468 — 540
Refer to p.5.6-3 for spring force.
Mounting Bolt for CQP2 Option Weights Unit: g
Special bolt for through-hole mounting of CQP2B is available as option Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50
Flow to Order Eggr?r:fglé?%g?tql\%?:eg 5(5) Izséipcs. Rod end male thread Male thread | 1.5 3 6 12 | 26 | 27 | 53
Nut 1 2 4 8 17 | 17 | 32
MHGAUTTON K, Calculation example: CQP2B32-10SM
- Basic weight: ~ CQP2B32-10S «+++w-seweeeesssssssssininnss 173g
Additional weight: Rod end male thread -------------==-seeemeeeeee 43g
2169

Spring return

Model C D Mounting bolt
CQP2B12-5S 6.5 25 M3 X 25¢
-10S ) 30 X30¢
CQP2B16-5S 5 25 M3 X 25¢
-10S 30 X 30¢
CQP2B20-5S 75 25 M5 X 25¢
-10S ) 30 X30¢
CQP2B25-5S 95 30 M5 X 30¢
-10S ) 35 X35¢
CQP2B32-5S 9 30 M5 X 30 ¢
-10S 35 X35¢
CQP2B40-5S 75 35 M5 X 35¢
-10S ) 40 X40¢
CQP2B50-10S 125 45 M6 X 45 ¢
-20S 55 X55¢

Mounting bolt

Spring extend

Model C D Mounting bolt
CQP2B12-5T 6.5 25 M3 X 25¢
-10T ) 30 X30¢
CQP2B16-5T 5 25 M3 X 25¢
-10T 30 X30¢
CQP2B20-5T 75 25 M5 X 25¢
-10T ) 30 X30¢
CQP2B25-5T 95 30 M5 X 30 ¢
-10T ) 35 X35¢
CQP2B32-5T 9 30 M5 X 30 ¢
-10T 35 X35¢
CQP2B40-5T 75 35 M5 X 35 ¢
-10T ) 40 X40¢
CQP2B50-10T 125 45 M6 X 45 ¢
-20T 55 X55¢

2.3-92



Compact Cylinder/Axial Piping: Single Acting Single Rod Series CQPZ

Construction

Spring return

® ® ® ﬁ(lﬁ ?} ? @ ®
L J

A-A section (Rod side port)

Spring extend
NS C5< ﬁz g/? /® ?) /® 12\/®
[ L L
7
/ —
e 1 cu
A-A section (Rod side port) B-B section (Head side port) Rod end male thread CQS

Component Parts Replacement Parts: Seal Kits

No. Description Material Note Bore size (mm) Kit No. Contents

(1) | Cylinder tube Aluminum alloy Hard anodized 12 CQ2B12-PS MU

(2)*| Piston Aluminum alloy Chromated 16 CQ2B16-PS

@ |Piston rod Stainless steel 212 to 825 20 CQ2B20-PS

Carbon steel 232 to 850, Hard chrome plated 25 CQ2B25-PS A set includes (9, @5 and (6.
Aluminum bearing alloy| 212 to 840, Anodized 32 CQ2B32-PS
@) |Collar - -
Aluminum alloy casting | 250, Chromated, coated 40 CQ2B40-PS

(®) |Snap ring Carbon tool steel Phosphate coating 50 CQ2B50-PS

® |Bushing Lead bronze casting Used for anly 250 + Seal kits are sets consisting of items (4, (5 and (8, which can be ordered

@ |Return spring Piano wire Zinc chromated using the kit number for each cylinder bore size.

Bronze element Sintered metal BC )

(9 |Snap ring Carbon tool steel Port size Re(PT)1/8, 1/4

Plug with fixed orifice Alloy steel Port size M5 X 0.8

@) |Steel ball Carbon steel

(12 |Hexagon socket set screw Alloy steel Zinc chromated

@3 |Rod end nut Carbon steel Nickel plated

Piston seal NBR

1 |Rod seal NBR

Gasket NBR
# On spring extend (T type), piston and piston rod are integrated (Stainless steel).

Copper Free

20 — CQP2B| Boresize |~ Stroke |S(M) Specifications
Action Single acting single rod
Copper free 212, 816, 820, 825, 832, Cylinder bore size 912, 816, 020, 925, 932, 340, 250
240, 850 Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
To eliminate influences of copper ions or halogen ions during Rubber bumper None
CRT manufacturing processes, copper and fluorine materials Piping Screw-in piping
are not used as component parts. Piston speed 50 to 500mm/s
Mounting Through-hole
Auto switch Mountable

2.3-93



Series CDQPZ2

Auto Switch Specifications

* Refer to p.5.3-2 for details of auto switch.

iy

Minimum Strokes for Auto Switch Mounting (mm)
] ST D-A701 D-A7CH D-F7OW
No. of - D-A80 D-A80H D-J79W
auto switches | D-J79C p-a7ac | PFEW b Eg D-ATOW | b F7BAL
D-A80C D-J79 D-F79F
1 5 5 10 15 15 20
2 5 10 15 15 20 20
Refer to p.5.3-2 (CQ2 Double Acting) for auto switch specifications.
Weight Unit: g Option Weights Unit: g
: : Cylinder stroke (mm) Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50
Action Bore size (mm)
5 10 15 20 Rod end Male thread | 1.5 3 6 12 26 27 53
12 55 63 — — male thread | Nut 1 2 4 8 | 17 | 17 | 32
£ 16 92 | 100 | — | — Calculation example: CDQP2B32-10SM ~ Add each weight of auto switches and
1) 20 121 135 — — +Basic weight:  CDQP2B32-10S v 242g mounting brackets when auto switches are
> 25 178 191 — —  Additional weight:Rod end male thread----43g ~ mounted
£ 2859
(% 32 217 242 — — ) ) )
40 323 | 349 | — — Weight/Auto Switch Mounting Bracket
50 _ 558 _ 641 Bracket part. Bore size Weight (g)
12 61 69 _ _ BQ-l @12 to @25 1.5
- 16 92 100 — — BQ-2 232 to 50 1.5
q‘:, * Refer to p.5.3-75 for auto switch weight.
L 20 126 | 140 — —
é’, 25 184 | 197 | — —
= 32 228 | 253 — —
@ 40 349 | 3715 | — —
50 — 600 — 683

Construction

Spring return

10 - e

"'I/fl"‘-"’l‘!

Vi

Spring extend

e ® 130 19 @ @

Port size
M5 X 0.8

==

B-B section (Head side port)

E Auto switch

A-A section (Rod side port)

Component Parts

A-A section (Rod side port)

[ '\L Auto switch

B-B section (Head side port)

Replacement Parts: Seal Kits

No. Description Material Note Bore size (mm) Kit No. Contents
(1 |Cylinder tube Aluminum alloy Hard anodized 12 CQ2B12-PS
(2 |Piston * Aluminum alloy Chromated 16 CQ2B16-PS
@ |Piston rod * Stainless steel 212 to 25 20 CQ2B20-PS
Carbon steel 932 to 850, Hard chrome plated 25 CQ2B25-PS A set includes. (4, @ and

@ | Collar AIumi.num bearing al_on 212 to g40, Anodized 32 CQ2B32-PS

Aluminum alloy casting | @50, Chromate, coated 40 CQ2B40-PS
(®) |Snap ring Carbon tool steel Phosphate coating 50 CQ2B50-PS
® |Bushing . Lead bronze casting Used for only 250 # Seal kits are sets consisting of items @4, @5 and (8, which can be ordered
(@ |Return spring Piano wire Zinc chromated using the kit number for each cylinder bore size.
Bronze element Sintered metal BC .
(® |Snapring Carbon tool steel Port size Re(PT)1/8, 1/4
Plug with fixed orifice Alloy steel Port size M5 X 0.8
() |Steel ball Bearing steel
(2 | Hexagon socket set screw Alloy steel Zinc chromated
i3 |Magnet —
Piston seal NBR
(15 |Rod seal NBR
Gasket NBR

*On spring extend (T type), piston and piston rod are integrated (Stanless steel).

2.3-94



Compact Cylinder/Axial Piping: Single Acting Single Rod Series CDQPZ

Mounting Bolt for CDQP2 with Auto Switch

Special bolt for through-hole mounting of CDQP2B is available

as option. ) - Mounting bolt
How to Order: Specify the required bolts = - Mounting bolt il g

Example) Bolt M3 X 35 ¢ 2 pcs.

C.|
o D
Spring return Spring extend
Model © D Mounting bolt Model © D Mounting bolt
CDQP2B12-5S 55 35 M3 X 35¢ CDQP2B12-5T 6.1 40 M3 X 40 ¢
-10S ) 40 X40¢ -10T ) 45 X45¢
CDQP2B16-5S 8 40 M3 X 40 ¢ CDQP2B16-5T 8 40 M3 X 40 ¢
-10S 45 X45¢ -10T 45 X45¢
CDQP2B20-5S 10.5 40 M5 X 40 ¢ CDQP2B20-5T 105 40 M5 X 40 ¢
-10S ) 45 X 45¢ -10T ) 45 X 45¢
CDQP2B25-5S 0.5 40 M5 X 40 ¢ CDQP2B25-5T 05 40 M5 X 40 ¢
-10S ) 45 X45¢ -10T ) 45 X45¢
CDQP2B32-5S 9 40 M5 X 40 ¢ CDQP2B32-5T 9 40 M5 X 40 ¢
-10S 45 X45¢ -10T 45 X45¢
CDQP2B40-5S 75 45 M5 X 45 ¢ CDQP2B40-5T 75 45 M5 X 45 ¢
-10S ) 50 X 50 ¢ -10T ) 50 X 50 ¢
CDQP2B50-10S 125 55 M6 X 55¢ CDQP2B50-10T 125 55 M6 X 55¢
-20S ) 60 X 60¢ -20T ) 65 X65¢
Auto Switch Mounting position (at Stroke End) and Mounting Height
D-A70 D-A70H D-F7OW D-A73C D-A79W
D-A80 D-A80H D-J79W D-A80C D-F7OwWv
D-F70 D-F700F D-J79C D-F7OV CuU
D-J79 D-F7NTL
D-F7BAL
@12 to 825
e |
AT 18
@32 to 100
4_,‘ mﬂ J1B
Auto Switch Mounting Position/Spring return (Spring extend) Auto Switch Mounting Height (mm)
Dary | DATHASH B'E;BDQ'/- Dar | DATIHDRROH |
) 5 D-A73C/A80C ) 5 D-F70 D-J79/D-F70W | D- -
B‘z’rﬁni')ze D-A80  |D-F70J79 D-ATOW | D-Er e D-A80 | D-JTOWD-F7BAL |D-Agoc|p-Frowy|P279C |D-ATOW
D-F70V/I79C D-F70WV D-F7OF/D-FINTL
A B A B A B A B U U U U U V]
12 45 [ 55100 | 5 [ 6105 | 2 | 315 | 9 | 10045 19.5 20.5 26.5 23 26 22
16 75(65) | 5(7) | 8(6) | 5515) | 5(3) | 25(@5) | 12(10) | 95(115) 225 235 295 26 29 25
20 75 | 65 8 7 5 4 12 11 24.5 25.5 315 28 31 27
25 75 7 8 75 5 45 | 12 | 115 275 28.5 34.5 31 34 30
32 9 6 95 | 65 | 65 | 35 | 135 | 105 315 32,5 38.5 35 38 34
40 13 | 85 | 135 | 9 |105| 6 | 175 | 13 35 36 42 38.5 415 375
50 11 | 115 | 115 | 12 | 85 9 | 155 | 16 41 42 48 445 475 435
(' ): Spring extend

2.3-95



Series COP2

|
ﬂlz tO gSO Spring Return Without Auto Switch

612 to g25 H thread effective depth C
&
DI _
(=]
2-oN through  /
L B 4-p0 counter bore
A —
Rod end male thread
Rod end nut #
- Rod end male thread (mm)
Hi | Bore
\ (mm) |Ct| X Hi | L1
u 12 9 [105|M5X0.8 | 14
16 10 | 12 | M6 X 1.0 | 155
G| 20 12 | 14 | M8X1.25 | 185
Sy 25 15 | 175 | MI0X 1.25 | 225
LL! .'
Standard (mm)
Bore A B
G st ostl et lostl € | D | E |EL|E2| F H | | K| L[M|N o) w
12 25530522 (27| 6 | 6 [ 23|13 (14| 7 |[M3X05[32| 5 |3.5]|22 |3.5|65Depth35 27
16 27 |32 |235|285| 8 | 8 | 26|15 |17 |85 |M4X0.7|38 | 6 |3.5| 28 |3.5[65Depth35] 32
20 29 |34 [245|295| 7 |10 ]30 |17 |19 |105|M5%X08| 47 | 8 | 45| 36 |5.5|9Depth7| 36
25 325|375 |275(325| 12 | 12 |33 [195| 22 | 12 [M6X1.0| 52 | 10 | 5 | 40 | 5.5 |9 Depth 7| 415
@32 to 850
4-gN through Z P
H thread effective depth C Plug 8-00 counter bore _|_=_‘ (Port size)
ay
(a]
a
L B
A
Rod end male thread , Rodendnut®
gy Rod end male thread (mm)
(E:T?,;e) cal x| Hm |u
E 32 205|235 | M14X 15 | 285
-—H-—nf 40 205 | 235 | M14 X 1.5 | 285
Ci 50 26 | 285 | M18X 15 | 335
X
I
Standard (mm)
Bore A B
(mm) 5st | 10st] 20st | 5st J10st]20st] © | P | B | F H P K]JLIMIN © P QW) ~“
32 3540 | — | 28|33 | — |13 |16 |45(8.5|M8X1.25|60|105]|14 | 7 |34[55]| 9Depth7 | Re(PT)1/8 | 8 |555] 30
40 415|465 | — [ 345|395 — [ 13|16 |52 |8.5| M8X1.25 |69 |10 |14 | 7 |40 |55| 9Depth7 | Rc(PT)1/8 | 8 | 62 | 30
50 — | 485585 — [405|505[15] 20|64 |11 | M10X1.5[86|13[17| 8 |50 |6.6|11Depth8 | Rc(PT)1/4 | 10 | 77 | 39
Standard Standard + Refer to p.2.3-18 for rod end nut and optional bracket.
I CQP2B12::wwweeee SCQP212, #2 CQP2B32:::----- SCQP232, #2
CQP2B16-- SCQP216, #2 CQP2B40----------SCQP240, #2
CQP2B20-- SCQP220, #2 CQP2B50--+----- SCQP250, #2
CQP2B25:----:--- SCQP225, #2

2.3-96



Compact Cylinder/Axial Piping: Single Acting Single Rod Series CDQPZ

]
212 to @50 spring Return With Auto Switch

22 Lead wire minimum
#1210 825 in bending radius 10
H thread effective deph C | | Auto switch
1
o
il
1 QI ]E :
L - B -
A -

2-gN through
4-90 counter bore

(Port size)

Above auto switch: D-A73/A80 Rod end male thread (mm)
Refer to p.2.3-95 for auto switch Bore
mounting position and mounting height. (mm) C1| X H1 L1
12 9 [105/|M5X0.8| 14
16 10 | 12 | M6 X 1.0 |15.5
20 12 | 14 | M8X1.25[185
25 15 [17.5| M10X 1.25 | 22.5
Standard (mm)
Bore A B _lclole|ele|e| n |1 |k|L|m|Nn|] o |s]ulw
(mm) Sst |10st| 5st | 10st
12 36.5(415]| 33 | 38 | 6 6 [ 23|13 |14 | 7 |[M3X05|32| 5 [3.5]|22 |35 |65Depth35|325(19.5| 27
16 39 | 44 [355)|405| 8 8 | 26|15 |17 [85|M4X0.7[38 | 6 |35 28 |3.5|65Depth35|37.5|22.5| 32
20 41 | 46 |36.5/41.5| 7 |10 |30 | 17 | 19 [105|/M5X0.8| 47 | 8 |4.5]| 36 | 5.5 |9Depth 7|41.5|24.5| 36
25 42.5|47.5|37.5|425| 12 | 12 | 33 [195] 22 | 12 [M6X1.0| 52 | 10 | 5 | 40 | 5.5 [9Depth 7| 47 275|415 CU
4-gN through z P
@32 to 50 HiveadefecivedephC K Plug 8-00 counter bore F_ | / (Portsize)
|
[ ]
t
w 1 % -
]
ul |
[ T
|
Auto switch
Lead wire minimum bending radius 10 L B
b A -
Above auto switch: D-A73/A80 Rod end nut *
Refer to p.2.3-95 for auto switch
mounting position and mounting height. f Rod end male thread (mm)
H1 Bore
(mm) Ci1| X H1 L1
Rod end male thread 32 20.5]23.5|M14 X 1.5 | 28.5
B 40 20.5[23.5|M14 X 1.5 [28.5
| 50 26 |28.5|M18 X 1.5|335
o
X
L1
Standard mm)
el A 8 c|lp|le|r| H |1 |alk|L|[M|N| O P Qls|ulwl|z
(mm) 5st |10st | 20st | 5st |10st |20st
32 45|50 | — |38 |43 | — | 13|16 | 45|8.5|M8X1.25 | 60 |105| 14 | 7 | 34 |5.5|9Depth 7| Rc (PT) 1/8 64.5|31.5|55.5 | 30
40 515(56.5| — |44.5[495| — [ 13 | 16 | 52 |8.5|M8X1.25 | 69 |10 |14 | 7 | 40 |55 |9Depth7| Rc(PT)1/8 | 8 | 71|35 | 62 | 30
50 — |585/685| — |505(605| 15 | 20 | 64 | 11 [M10X15 | 86 | 13 |17 | 8 | 50 | 6.6 |11Depth8| Rc(PT)1/4 |10 |86 | 41 | 77 | 39
* Refer to p.2.3-18 for rod end nut and
With auto switch - Standard With auto switch - Standard optional bracket.
Add #4 to SCQP212, #2 CQP2B32 Add #4 to SCQP230, #2
-Add #4 to SCQP216, #2 CQP2B40-- -Add #4 to SCQP240, #2
-Add #4 to SCQP220, #2 CQP2B50 Add #4 to SCQP250, #2

2.3-97



Series COPZ2
12 to @50 spring Extend

]

Without Auto Switch

@12 to @25 H thread effective depth C M
o«
©
o i
7
DI 17 N VA =
=} A /AN &
f'\K II'I—J
2-oN through 852
4- nter bor @
L B 00 counter bore F ‘_‘__T
A M5 X 0.8 I E
(Port size)
Rod end male thread
Rod end nut * Rod end male thread (mm)
Bore L1
% (mm) (S HL 5st |10st X
J 12 9 |M5X0.8]| 19 | 24 [105
(1T 16 10 | M6 X 1.0 |205|255] 12
20 12 |M8X1.25|235|285]| 14
a 25 15 |M10X 1.25|27.5|325]17.5
X
L1
Standard (mm)
Bore A B L
(mm) 5st |10st| 5st [10st| © | P | B |BY| B2 | F H Pl X st [zost| M | N o w
12 305|405 22 |27 | 6 | 6 | 231314 | 7 |M3X05|32| 5 |85[13.5| 22 | 3.5 |65Depth35]| 27
16 32 | 42 |235|285| 8 | 8 [ 26| 15| 17 [85|M4X0.7| 38 | 6 |85 135 28 | 3.5 |65Depth35| 32
20 34 | 44 |245]295| 7 | 10|30 |17 | 19 |105|{M5X0.8| 47 | 8 | 9.5|145| 36 |55 |9Depth 7| 36
25 37.5|47.5(27.5|325| 12 | 12 | 33 [195]| 22 | 12 |[M6X1.0| 52 | 10 | 10 | 15 | 40 | 5.5 | 9Depth 7 | 41.5
Pk
232 to @50 (Foree) 5
H thread effective depth C Plug 4-oN through e

8-00 counter bore

o M®

L B M
L A —E
Rod end nut *
Rod end male thread (mm)
Bore L1
mm) | X M Mot [10st|20st
32 20.5[235|M14X15(335[385| —
I 40 20.5|23.5|M14 X 1.5|33.5|38.5| —
50 26 [285|M18X 15| — |435|535
Standard (mm)
Bore A B c|p|E|F| H |1 ]3]k L M|N| O P |o|lw]|z
(mm) 5st [10st|20st| 5st [10st |20st 5st | 10st|20st
32 40 |50 | — | 28 |33 | — |13 |16 | 45 |85 |M8X1.25| 60 [105| 14 | 12 [ 17 | — | 34 |55 |9Depth 7| Rc(PT)1/8 | 8 |55.5] 30
40 46.5|56.5| — |345|395| — | 13 | 16 | 52 [ 8.5 |M8X1.25| 69 | 10 | 14 | 12 | 17 | — | 40 | 5.5 |9Depth 7| Rc(PT)1/8 | 8 | 62 | 30
50 — |585|78.5| — 405|505 15 | 20 | 64 | 11 |[M10X15| 86 | 13 |17 | — | 18 | 28 | 50 | 6.6 |11 Depth8| Rc (PT)1/4 | 10 | 77 | 39
= Refer to p.2.3-18 for rod end nut and option bracket.
Standard Standard
Bl cor2B12 SCQP212, #3 CQP2B32::wm-- SCQP232, #3
CQP2B16:-----SCQP216, #3 CQP2B40:--------SCQP240, #3
CQP2B20:---+--SCQP220, #3 CQP2B50-+:+:+-- SCQP250, #3

CQP2B25

2.3-98

SCQP225, #3



Compact Cylinder/Axial Piping: Single Acting Single Rod Series CDQPZ

@12 to @50 spring Extend

]

With Auto Switch

a12 to 825 L 22

Lead wire minimum bending redius 10

H thread effective depth C Auto switch

| L _!_ B gg:g counter
C A M5 X 0.8
Above auto switch: D-A73/A80 L (Port size)
m Refer to p.2.3-94 for auto switch mounting
position and mounting height.
Rod end male thread Rod end nut” Rod end male thread (mm)
L1
Hs /J (?r?rrne) CLl X | M FegTiost
¥ 12 9 |10.5/M5X0.8]|19 | 24
! 1 16 10 | 12 | M6 X 1.0 |20.5|25.5
. 20 12 | 14 |[M8 X 1.25|23.5(28.5
H; 25 15 [17.5|M10 X 1.25|27.5|32.5
L1
Standard (mm)
EIE - = C|D|E|E1|E2|F H S - M| N o] s|u|w
(mm) 5st |10st| 5st |10st 5st | 10st

12 45.9(55.9(37.4(424| 6 6 | 231314 |7 |[M3X05]|32 | 5 |85][135| 22 | 3.5 |6.5Depth35/32.5]19.5| 27

16 44 | 54 |355(405| 8 | 8 |26 |15 | 17 [85|M4X0.7| 38 | 6 |85 |135| 28 | 3.5 |6.5Depth35]37.5|22.5| 32

20 46 | 56 [36.5(415| 7 |10 | 30 | 17 | 19 |105|{M5X0.8| 47 | 8 [9.5|145]| 36 | 5.5 |9 Depth 7{41.5|24.5| 36

25 475|575|375(425| 12 | 12 | 33 |195| 22 | 12 [M6X1.0| 52 | 10 | 10 | 15 | 40 | 5.5 |9 Depth 7| 47 |27.5|415

H thread effective
@32 to 850 depth C K Plug

(Port size)

2-oN through
4-g0 counter

bore

o/

>
) | |
T
e H 1
Auto switch. Lead wire minimum L 5 M
bending redius 10 |
— =" | A E
Above auto switch: D-A73/A80
Refer to p.2.3-94 for auto switch mounting Rod end nut’
position and mounting height.
y Rod end male thread (mm)
1
Bore ey | x| m =
Rod end male thread _ (mm) 5st | 10st | 20st
;; _ 32 20.5[23.5|M14 X15(335|385| —
4&__}'” 40 20.5|23.5|M14 X1.5|33.5|385| —
C 50 26 [285|M18 X 15| — [435]535
1
X
SRR E—

Standard (mm)
£ A B c|pl|lE|F| H |1 ]3]k L M|N|] O] P |Q|s|ulwl|z
(mm) 5st | 10st|20st| 5st | 10st | 20st 5st | 10st | 20st
32 50 | 60 | — [ 38 |43 | — |13 | 16 | 45 | 8.5 |M8X 125/ 60 [10.5| 14 | 12 | 17 | — | 34 | 5.5 [9Depth7|Rc(PT)1/8| 8 |64.5|315|555| 30
40 56.5|66.5| — [44.5(495| — [ 13 | 16 | 52 |85 M8 X125 69 | 10 | 14 | 12 | 17 | — | 40 | 5.5 |9Depth7|Rc(PT)1/8| 8 | 71 | 35 | 62 | 30
50 — |685[88.5| — [50.5[/60.5| 15 | 20 | 64 | 11 [MI0X 15/ 86 | 13 | 17 | — | 18 | 28 | 50 | 6.6 |11Depth8| Rc(PT)1/4| 10 | 86 | 41 | 77 | 39

Standard  With auto switch Standard  With auto switch *Refer to p.2.3-18 for rod end nut and
CQPB12:+eeseeenees SCQP212, #3 CQP2B32- - SCQP232, #3 optional bracket.
CQPB16:-- - SCQP216, #3 Add to #4 to CQP2B40-- -- SCQP240, #3 » Add to #4 to
i cQPB20- - SCQP220, #3 CQP2B50 SCQP250, #3
CQPB25:vveeevevees SCQP225, #3

2.3-99




Compact Cylinder/Large Bore Size: Double Acting Single Rod

Series C

2125, 9140, 2160

Q2

How to Order

Standard

2.3-100

CQ2B [125

30

I

CDQ2B [125

30

DC
[ 11
DC

A73

With auto switch

(Built-in magnet)

Mounting

Standard

B (Through-hole and both ends tapped)

Bore size ¢
125 | 125mm
140 | 140mm
160 | 160mm

Cylinder stroke (mm) ¢ «

Refer to standard stroke table on p.2.3-101

Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.

Auto switch

Without auto switch
(Built-in magnet)

* Number of

auto switches

_S |
n

2
1
n

* Refer to table below for selection
of auto switch model no.

b Action

D Double acting

® Cushion

C | Rubber bumper

* Body option

Standard (Rod end female thread)

M

Rod end male thread

|8 - Load voltage Auto switch model Lead wire* (m) licabl
Style Special function Electrical | | Wiring 05 131 5 loel APPlicable
entry 2 (Output) DC AC |Perpendicular|  In-line O ol (?Ge icad
3wire (EquVNPN) [ — 5V — — A76H ® (@ - |—-|IC —
v — — 200V A72 A72H e (0 - |-
es|
S Grommet A73 A73H o (00| | —
= 12v 100V
= — — = oo — | -
%] 1 .
= No| 2wie | [5V,12V jovorkss)  ABO AS0H | @ |@|—|—| ic [Relay.
19
3 Yes v | — A73C — e |ele|e| — |PC
@ Connector [—]
No 5V, 12V [24V or less A80C = ® (000 C
Diagnostic (2 color) | Grommet |Yes — — A7T9W — ® (0 - |- | —
3 wire (NPN) F7NV F79 ® 0 O |-
N 5v, 12v IC
o Grommet 3 wire (PNP) F7PV F7P ® 0 O |-
2 wie 12v F7BV J79 ® (00| -
< Connector J79C = o (000
*g Diagnostic 3 wire (NPN) — F7NWV F79W ® (@0 O - Ic
@ 3 wire (PNP; ' — —
fE (2 CO|0I') Ye ( ) 2av _ F7PW [ ] ® O Relay,
&) 2 vite 1oV F7BWV J79W ® (0 O] PLC
; Water resistance (2 color) — F7BA - |lelo| =]
2 With timer Grommet | 73 e (NPN) . = FINT | - [@fo]-] .
Diagnostic output (2 color) ' — F79F ® 0 O |-
Latch with diagnostic 4 wire (NPN) ® @ O|-|—
output (2 color) - _ FiLF
# Lead wire length  0.5m - — (Example) ABOC  5m oo Z (Example) AB0CZ

3m

L (Example) ABOCL None

N (Example) ABOCN

* Solid state switch marked with a "O" are manufactured upon receipt of order.



Compact Cylinder/Large Bore Size: Double Acting Single Rod Series CQZ

Style
— — Bore size (mm) 125 140 160
= Mounting‘ Through-hale, Both ends tapped [ ] [ ) [
% Built-in magnet [ J [ ] [ ]
% Piping [ Screw-in Rc(PT)3/8 Rc(PT)3/8 Rc(PT)3/8
£ | Rod end male thread @ [ J o
Rubber bumper (Standard) () o [ J

Specifications

Style Pneumatic (Non-lube)
Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Min. operating pressure 0.05MPa

Without auto switch: —10°C to 70°C (No freezing)
With auto switch: —10°C to 60°C (No freezing)

Ambient and fluid temperature

Cushion Rubber bumper (Standard)
Rod end thread Female thread
Rod end thread tolerance JIS class 2
Stroke length tolerance *%‘4
Mounting Though-hole and both ends tapped
Piston speed 50 to 500mm/s
JIS symbol
Double acing: Single rod Standard Stroke
Bore size (mm) Standard stroke (mm)
| - 125, 140, 160 10, 20, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250, 300 CuU
* Intermediate stroke
Intermediate strokes at 5mm intervals are available by using spacers with standard stroke cylinders.
Example) CQ2B125-160DC: Standard stroke cylinder
CQ2B125-175DC with 15mm width spacer inside.
Theoretical Force Unit: N MU
; Operating pressure (MPa]
B ez Operating direction P B ( )
(mm) 0.3 0.5 0.7
o IN 3376 5626 7877
ouT 3681 6135 8590
140 IN 4312 7187 10063
ouT 4618 7696 10775
160 IN 5654 9424 13194
ouT 6031 10053 14074
Weight
" Without auto switch Unit: kg
A P r eC au t | 0 n S Bore size Cylinder stroke (mm)
[ = -y (mm) 10 20 | 30 | 40 | 50 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300

I Be sure to read before handling. I 125 |5.48|5.74|6.00 |6.26 |6.52 | 7.17 | 7.81 | 8.46 |9.11 |9.76 |10.41 |11.71 [13.01
I Refer to p.0-39 to 0-46 for Safety 1 140 | 6.49 | 6.78 | 7.08 | 7.38 | 7.68 | 8.42 |9.17 | 9.91 [10.66 |11.40 |12.15 |13.64 | 15.13
I'Instructions and common I 160 | 8.96 | 9.31|9.67 [10.03 |10.39 |11.29 [12.19 |13.09 [13.99 |14.89 |15.79 [17.59 | 19.38
1
4

I precautions.
|

- o Em Em o Em e Built-in magnet Unit: kg

A Caution Bore size Cylinder stroke (mm)
- - (mm) 10 | 20 30 40 | 50 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300

|_Snap Ring Installation/Removal 125 |5.54 |5.80 | 6.06 |6.32 |6.58 | 7.23 [ 7.87 | 8.52 | 9.17 | 9.82 [10.47 |11.77 [13.07
’11) For ins[a”aﬂon and remo\/aL use an appropria’[e pair 140 6.56 | 6.85 | 7.15 | 7.45 | 7.75 | 8.49 | 9.24 | 9.98 | 10.73 | 11.47 |12.22 |13.71 |15.20

of pliers (tool for installing a C snap ring). 160 | 9.04|9.39 | 9.75 [10.11 |10.47 |11.37 |12.27 |13.17 | 14.07 | 14.97 |15.87 |17.67 |19.46
(@) Exercise caution even when using an appropriate CQ2 Large bore size/Minimum Strokes for Auto Switch Mounting Unit: mm

pair of pliers (tool for installing a C snap ring),

because of the possibility of the snap ring becoming Number of D-F700vV D-A7L1/D-A80 D-F700WV

detached from the tip of the pliers (tool for installing a . D-J79C D-A73C/D-A80C | D-F7CIW/D-J79W D-A79W

- : : i auto switches|  D-F70) D-A70H D-F7BAL

C snap ring) and flying away, which could injure D-179 D-AB0H D-F7NTL/D-F7LF

humans or damage the peripheral equipment. After . - - -

installing the snap ring, make sure that it is placed 1 pc. 5 5 10 15

securely in the ring groove before supplying air. 2 pes. 5 10 15 20

2.3-101



Series CQZ2

Option Weights unitkg ~ Mounting Bolt for CQ2
Bore size (mm) 125 140 160 Special bolt for through-hole of CQ2B is available as option.
Rod end male thread Male thread 0.31 0.31 0.48 How to Order: Specify the required bolts.
od end male threa Nut 016 016 026 Example) Bolt M12 X 100 ¢ 4 pcs.

Calculation example: CDQ2B125-30DCM
*Basic weight: ~ CDQ2B125-30DC: -+ 6.06kg
« Additional weight: Rod end male thread-----0.47kg

Add the weight of auto switches and
mounting brackets.

6.53kg
Weight/Auto Switch Mounting Bracket
Part No. Bore size  |Weight (g)

BQ-2 2125 to 9160 1.5

Refer to p.5.3-75 for auto switch specifications

Construction

Note 1) To install a through hole type mounting Mounting bolt

bolt, make sure to use the flat washer —E':‘i—v T -
that is provided. .

Note 2) Consult SMC regarding mounting bolts -
for strokes that exceed 100mm.
Use the OA screw provided on the
cylinder tube to secure the cylinder.

C
i

Model C | D [Mounting bolt Model C | D [Mounting bolt
COQ2B125, 140-10DC 100 | M12X100¢  COQ2B160-10DC 110 | M14X110¢
-20DC 110 X110¢ -20DC 120 X120¢

-30DC 120 X120¢ -30DC 130 X130¢

-40DC | 229 | 130 X130¢ -40DC | 27.7 | 140 X 140¢

-50DC 140 X140¢ -50DC 150 X150¢

-150C 165 X 165¢ -75DC 175 X175¢

-100DC 190 X190¢ -100DC 200 X 200¢

Double acting/Single rod
\
oI 7

Component Parts

Rod end male thread

i

Replacement Parts: Seal Kits

No. Description Material Note Bore size (mm) Kit No. Note
® Cylinder tube Aluminum alloy Hard anodized 125 CQ2B125-PS
@ Head cover Casting steel Zinc chromated 140 CQ2B140-PS A set includes (2, (3 and
® Piston Aluminum alloy casting Chromated 160 CQ2B160-PS
@ Piston rod Carbon steel Hard chrome plated « Seal kits are sets consisting of items @, @ and @, which can be ordered
® Rod cover Casting steel Zinc chromated using the kit number for each cylinder bore size.
® Snap sing Carbon tool steel Phosphate coating
@ Bumper Urethane
Bushing Lead bronze casting
©® | Wearing Resin
10 Magnet — For only CDQ201B
@ Rod end nut Rolled steel Nickel plated
@ Piston seal NBR
a3 Rod seal NBR
@ | Tube gasket NBR
Auto Switch Mounting Bracket Part No. Rod End Nut
Bore size Applicable switch s
(mm) L e Hiits Reed switch Solid state switch & d
D-F70, J79
- Ao ! A
125 « Switch mounting screw | D-A70, A80 B-\']:;S?C\I/ :[ .
140 BQ-2 (M3X05X1049 | D-A73C, A8OC D-F70W, J79W JH[ B
160 . Swltch |nterface D-A70H, ABOH D-E700WV Material: Rolled steel
« Switch mounting nut | D-A79W D-F7BAL E——
Part No. d H|B|C|D
D-F70F, D-F7NTL ()
[Stainless steel mounting bolt set] NT-12]125/140|M30X 1.5 | 18 | 46 |53.1| 44
The set of stainless steel mounting screws (with nut) described below is available and can be used depending NT-16| 160 ([M36X15|21 |55 |63.5| 53

on the operating environment. (The spacer for auto switches must be ordered separately, as they are not

included.)
BBA2: For D-A7/A8/F7/37

The stainless steel bolts described above are used when the D-F7BAL type switch is shipped mounted on a

cylinder. When the switches are shipped as individual parts, the BBA2 set is included.

2.3-102



Compact Cylinder/Large Bore Size: Double Acting Single Rod Series CQZ

2125 140, 2160

Standard (Through-hole)/COQ2B

The outer dimensions are the same with or without an auto switch.

H thread effective depth C

=y 7 X 4-00B counter bore depth AB .Q_l . -AEFTIG
L -/ (opposite side too) : (Port size)
,— J (_Szi —A .
o = . o [m] - -@__ 1;_ .
N == ] o =] =]
LS - _'— | E
_ead wire minimum 2 =
oending radius 10 . '_Té e— f;
Auto switch ﬂ T _
- 7 1 | - I
l___ - s ]
P ; 8-OA thread depth RA
With 4 pes. | L ‘ B+Stroke.
A+Stroke
read
Rod end male thread . —_— (mm)
Hi = = = 1 H1 L1 X
N | _ .. » |M30X1.5| 58 | 45
| A L » [M30X15 | 58 | 45
I} _f__o ' [ M36x1.5 | 64 | 50
= — —
! o s B CuU
]
C1 |
X
[Ll Rod end nut * L
A1+Stroke
mm)
Bore Standard strokerange | A |B | C | D | E F H I |J|K|L|M N OA OB Q |[RA|IRB|S | U
125 10, 20, 30, 40, 50 99 [83 (3036|142 |245|M22X25 (19011 |32 |16 (114 |12.5|M14X2|21.2|24.5|25|18.4(162| 80
140 75,100, 125, 150 99 |83 [30|36|158|24.5|M22X25|210|10 [32 |16 (128 [12.5|M14X2|21.2 (24.5|25|18.4 [177| 88
160 175, 200,250,300 108 |91 [ 3340|178 |27.5| M24 X3 |238 |10 |36 |17 |144 |145|M16 X 2|24.2 | 27.5|28 | 21.2 |197| 98
I Note 1) Attached plain washer must be used for through-hole mounting.
COQ2B125:+++++rvvvvee: SCQ2125, #1(#1+#3)
CAD COQ2B140-wwwwwwvvvvves SCQ2140, #1(#1+#3)  CLIQ2B160-----wwrvvvvor SCQ2160, #1(#1+43)

Auto Switch Mounting Position (at Stroke End) and Mounting Height

D-A70 D-A70H D-F7OW D-A73C D-A79W
D-AS80 D-A80H D-J79W D-A80C D-F7OWV
D-F70O0 D-F70F D-J79C D-F7OOV

D-J79 D-F7NTL

Auto Switch Se

ATOH, DEISw D-ATOH, D-ABOH

Bore |D-A70|ABOH, D-A73C, ASOC | i RIS D-A70 [D70, D479, DFTOW| D-A73C | D-F70V | o )
<ve |D-AB0 |D-F7C1, F7OV D-ATOW | D-FTNTL | D-ETF D FILF D-A80 | DJiOW.DF7BAL | D-A8OC |D-Frowy | D-J79C | D-ATOW
o) D-J79C, 379 pgitery D-F7CF, DFINTL

A A A A A U U U U U U
125 325 33 30 38 37 80 81 87 83.5 85.5 82.5
140 32.5 33 30 38 37 88 89 95 91.5 93.5 90.5
160 36.5 37 34 42 41 98 99 105 101.5 103.5 100.5

2.3-103



Compact Cylinder/Large Bore Size: Double Acting Double Rod

Series C

2125, 9140, 2160

O2W

How to Order

i

Standard
With auto switch

With auto switch

(Built-in magnet)

CQ2WB

CDQ2WB

125

30

11 1

I

125

30

DC
11 ]
DC

A73

Style
w | Double rod
Mounting ®
Standard

(Through-hole and both ends tapped)

2.3-104

__Boresize ¢
125 | 125mm
140 | 140mm
160 | 160mm

Cylinder stroke (mm)e

Refer to standard stroke table on p.2.3-105.

* Number of
auto switches
Auto switch — 2
‘Without autoswitch S [ 1
(Built-in magnet) n n

» Cushion

C | Rubber bumper

® Action
D Double acting

* Refer to table below for selection
of auto switch model no.

* Body option

Standard (Rod end female thread)

M

Rod end male thread

Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch.

Load voltage

Auto switch model

Lead wire®(m)

Electrical s Wiring Applicable
Style Special function entry 18| (outout ' ' 05 | 3|5 [noe| PP
Yy -E (Output) DC AC |Perpendicular In-line iy Ol @ load
3wire (Equiv. NPN) | — 5V — = AT76H ® (®|—-|-|iC| —
— — | 200v AT72 A72H o 0| - | -
o Yes|
I3} Grommet A73 A73H e (00| - | —
= 12v 100v
z — | — = ®[o]- |-
5 No| 2uie 5v,12v |=100v|  A80 A80H | @ |@]|-[-]ic |[Rely.
) 2av PLC
x Yes 12v — A73C — ® (0|0 0 —
Connector [y 5v,12v | <24v | A80C — ® ele|e| c
Diagnostic (2 color) | Grommet |Yes — — A7T9W — o |@®|-|-| —
3 wire (NPN) F7NV F79 ® @0 |-
—— 5V, 12V Ic
_ Grommet 3 wire (PNP) F7PV F7P ® 0|0 |-
) F7BV J79 ® 0|0 -
— 2 wire 12V —
= Connector J79C — ® (000
'§ ] ] 3 wire (NPN) o 12v F7TNWV F79W ® @00 - ic
3 Diagnostic Py — \
o (2 color) Ve 3 wire (PNP) 24V . — F7PW ® (0|0 Relay,
e ] F7BWV J79W ® 00| - PLC
7} 2 wire 12v —_
O | Water resistance (2 color) — F7BA ® 0O |-
8 Wit fmer Grommet | '3 e (NPN) — FINT | - |®@|o]-
@ — 5V, 12V IC
Diagnostic output (2 color) — F79F ® 00—
Latch with diagnostic 4 wire (NPN) _ _ e lelo|-| —
output (2 color) F7LF
# Lead wire length  0.5m - — (Example) ABOC  5m «:eeeeee Z (Example) AB0CZ

3m

L (Example) ABOCL None

* Solid state switches marked with a "O" are manufactured upon receipt of order.

N (Example) ABOCN



Compact Cylinder/Large Bore Size: Double Acting Double Rod Series CQZW

Style
= Bore size (mm) 125 140 160

Mounting ‘ Through-hole, both ends tapped (Common) [ ) [ J [ ]

2 | Built-in magnet ) ° )

% Piping [ Screw-in Rc(PT)3/8 Rc(PT)3/8 Rc(PT)3/8

£ | Rod end male thread [ J [ J [ ]
Rubber bumper (Standard) [ ) o [ ]

L
Specifications

Style Pneumatic (non-lube)

Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Min. operating pressure 0.05MPa
) ) Without auto switch: —10°C to 70°C (No freezing)

Ambient and fluid temperature - - -

With auto switch: —10°C to 60°C (No freezing)

Cushion Rubber bumper (Standard)

Rod end thread Female thread

Rod end thread tolerance JIS class 2

Stroke length tolerance %4

Mounting Through-hole, both ends tapped (Common)

Piston speed 50 to 500mm/s

JIS symhol

Double acting/Double rod Standard Stroke

Bore size (mm)
T 125, 140, 160

Standard stroke (mm)
10, 20, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250, 300

Theoretical Force Unit: N

Bore size Operating pressure (MPa)
(mm) 0.3 0.5 0.7
125 3376 5626 7877
140 4312 7187 10063
160 5654 9424 13194
o e e e e e e e = ey
I Be sure to read before handling. I Weight
I Refer to p.0-39 to 0-46 for Safety 1
I Instructions and common 1 _ )
Lprecautions. JI Without Auto Switch Unit: kg
e gy g i U Bore sz STt S )
/A\ Caution mm) [ 10 [ 20 30 | 40 [ 50 [ 75 [100 [ 125 [ 150 [ 175 | 200 | 250 | 300
. - 125 571|602 [6.34 | 6.68 | 702 | 7.87 | 871 | 9.56 |10.41 [11.26 |12.11 | 13.81 |15.50
Snap Ring Installation/Removal 140 | 673|707 |7.43 | 7.80 | 8.18 | 9.13 [10.07 [11.01 [11.96 |12.90 | 13.84 | 15.73 | 17.62
(D For installation and removal, use an appropriate pair 160 9.26 | 9.69 [10.12 | 10.58 | 11.04 | 12.18 | 13.33 | 14.47 |15.62 |16.76 |17.91 |20.20 |22.49
of pliers (tool for installing a C snap ring).
(2) Exercise caution even when using an appropriate Built-in Magnet Unit: kg
pair of pliers (tool for installing a C snap ring), Bore size Cylinder stroke (mm)
because of the possibility of the snap ring becoming (mm) 10 | 20 [ 30 | 40 [ 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300
detached from the tip of the pliers (tool for installing a
C snap ring) and flying away, which could injure 125 5.77 | 6.08 | 6.40 | 6.74 | 7.08 | 7.93 | 8.77 | 9.62 [10.47 [11.32 |12.17 |13.87 |15.56
humans or damage the peripheral equipment. After 140 6.80 | 7.14 | 7.50 | 7.87 | 8.25 | 9.20 |10.14 | 11.08 |12.03 [12.97 |13.91 |15.80 |17.69
installing the snap ring, make sure that it is placed 160 | 9.34 | 9.77 |10.20 |10.66 | 11.12 | 12.26 | 13.41 | 14.55 | 15.70 |16.84 | 17.99 | 20.28 | 22.57
securely in the ring groove before supplying air.
Mounting ‘ CQ2 Large Bore Size/Minimum strokes for auto switch mounting Unit: mm
(1) When removing a load, be sure to secure the wrench Nl G B'JF;;:‘(;/ B_Q;Eé DISA,SSOC g'E;ngD J7ow
flats of the piston rod on the load side. i . . o A g o 25 .
p auto switches D-F70] D-A700H D-F7BAL D-A79W
(2) If this is done without securing the piston rod on the D i D -Gl (DA S, L
load side, be aware that the coupled (screw-in) 5 5 10 15
portion of the piston rod could become loosened. 2 5 10 15 20

2.3-105



Series CQ2W

Mounting Bolt for CQ2

Option Weights Unit: kg
Bore size (mm) 125 140 160
Male thread
Rod end male thread ale thread area 0.62 0.62 0.96
Nut 0.32 0.32 0.52

Calculation example: CDQ2WB125-30DCM Add the weight of auto switches and

Special bolt for through-hole mounting of CQ2WB is available as option.
How to Order: Specify the required bolts.
Example) Bolt M12 X 100 ¢ 4 pcs.

Mounting bolt

<Basicweight  CDQZWB125-30DC----6.40kg  mounting brackets. Note 1) To Instal a ihiough hole ype mounting &
« Additional weight: Rod end male thread-----0.94kg [hal'is provided. T
7.34kg Note 2) Consult SMC regarding mounting bolts 1= c
Weight/Auto Switch Mounting Bracket for strokes that exceed 100mm. . D b
Partro._|_Bore size _|Weight @) '
BQ-2 2125 to 9160 1.5
Refer to p.5.3-75 for auto switch specifications Model C | D _|Mounting bolt Model C | D [Mounting bolt
COQ2WB125, 140-10DC 100 | M12X100¢  COQ2WB160-10DC 110 | M14X 110¢
COQ2WB125, 140-200C 110 | M12X110¢ COQ2WB160-20DC 120 | M14X 120¢
COQ2WB125, 140-30DC 120 | M12X120¢  COQ2WB160-30DC 130 | M14X130¢
COQ2WB125, 140-40DC | 22.9 | 130 | M12X130¢  COQ2WB160-40DC | 27.7 | 140 | M14 X 140¢
COQ2WB125, 140-50D0C 140 | M12 X 140¢ COQ2WB160-50DC 150 | M14 X 150¢
COQ2WB125, 140-75DC 165 | M12X165¢  COQ2WB160-75DC 175 | M14X175¢
COQ2WB125, 140-100DC 190 | M12X190¢  COQ2WB160-100DC 200 | M14X200¢
Construction
Double acting/Double rod Rod end male thread
@7 ®0 @ ®
—
|
el
gé_,,ﬂﬁ_..ﬁ | :
Component Parts Replacement Parts: Seal Kits
No. Description Material Note Bore size (mm) Kit No. Note
[©) Cylinder tube Aluminum alloy Hard anodized 125 CQ2WB125-PS
@ Piston Aluminum alloy casting Chromated 140 CQ2WB140-PS A set includes (9, (2 and (3.
® Piston rod A Carbon steel Hard chrome plated 160 CQ2WB160-PS
@ Piston rod B Carbon steel Hard chrome plated * Seal kits are sets consisting of items @), @ and @, which can be ordered
® Rod cover Casting Zinc chromated using the order number for each cylinder bore size.
® Snap ring Carbon tool steel Phosphate coating
@ Bumper Resin
Bushing Lead bronze casting
©® Magnet — For only CDQ20B
Rod end nut Rolled steel Nickel plated
an Piston seal NBR
@ Rod seal NBR
@3 Tube gasket NBR
Piston gasket NBR

Auto Switch Mounting Bracket Part No.

Rod End Nut

Bore size Applicable switch
(mm) Part No. Note Reed switch Solid state switch o d
D-F70, J79
125 « Switch mounting screw | D-A70], A80 B:\[]:;QD(;/ H <
170 BQo | (M3X05x109 | D-A73C, ABOC D-F700W. J70W v 5]
« Switch interface D-A70H, ASOH .
160 . ) D-F7OWV Material: Rolled steel
« Switch mounting nut | D-A79W -
D-F7BAL No Bore size q wlalels
D-F70F, D-F7NTL : (mm)
#Stainless steel mounting bolt set NT-12|125/140|{M30X 1.5 | 18 | 46 |53.1| 44
The set of stainless steel mounting screws (with nut) described below is available and can be used NT-16| 160 [M36X15]|21 |55 [63.5| 53

as they are not included.)
BBA2: For D-A7/A8/F7/37

depending on the operating environment. (The spacer for auto switches must be ordered separately,

The stainless steel bolts described above are used when the D-F7BAL switch is shipped mounted on a
cylinder. When the switches are shipped as individual parts, the BBA2 set is included.

2.3-106



Compact Cylinder/Large Bore Size: Double Acting Double Rod Series CQZW

2125, 140, 3160

Standard (Through-hole)/CCOQ2WB

H thread effective depth C
2 X 4-00B counter bore depth RB Q 2-Rc(PT)3/8
(opposite side, too) | (Port size)
N H thread
| ‘ effective depth C
T 1
] N 7
- o] g 3o —& s
Lead wire minimum ' . - = =l
bending radius 10 e e eT— 4
Auto switch e —— 5 Width across flats K
s ik B _‘.. I e — | g
/8-OA thread depth RA
With dpes.| L | B+Stroke | L+Stroke |
A+2(Stroke) -

Rod end male thread

The dimensions are the same with or without an auto switch.

H1 Rod end male thread (mm)
(E;?;f) AL | c1 Ha L | x
125 199 | 42 | M30X 15| 58 | 45
140 199 | 42 | M30X 15| 58 | 45
160 219 | 47 | M36X 15| 64 | 50
Cu
E Li+Stroke
A1+2(Stroke)
m Above auto switch: D-A73/A80 Refer to below for auto switch setting position and mounting height. (mm)
Bore Standard strokerange | A | B c® D|E H | |J|K|L|[M]|N OA OB | Q |[RA|RB|S |U
125 10, 20,30, 40,50 | 115 |83 | 30(22.5) | 36 |142 | M22X 2.5 |190 | 11 |32 | 16 [114 |12.5 | M14X2 |21.2 | 245 | 25| 18.4 |162 | 80
140 75,100, 125,150 |115 |83 | 30(22.5) | 36 |158 | M22X 2.5 | 210 |10 [ 32 |16 [128 [12.5 | M14X2 |21.2 |24.5|25|18.4 |177 | 88
160 175,200,250,300 {195 |91 | 33(26.5) |40 [178 | M24x3 |238]10 |36 |17 [144 |14.5 | Mi6X2 [24.2|27.5]| 28| 21.2 [197 | 08
Note 1) Attached plain washer must be used for through-hole mounting. l COQ2WB125:++++++-+- SCQ2125, #2 (#2+#3)
Note 2) The values in parentheses indicate the effective length of one side, COQ2WB140:---------SCQ2140, #2 (#2+#3)
only for the 10 stroke type. COQ2WB160:- -+ SCQ2160, #2 (#2+#3)
Auto Switch Mounting Position (at Stroke End) and Mounting Height
D-A70] D-A700H D-F7O0W D-A73C D-A79W
D-A80 D-A80H D-J79W D-A80C D-F7OWV
D-F7O0 D-F7OF D-J79C D-F700V
D-J79 D-F7NTL
D-F7BAL
ALY TJA
Auto Switch Mounting Position Auto Switch Mounting Height (mm)
[T DTS DAy | AT DA
_|D- A80H, D-A73C, A8OC ! N 5 D-F70,D-79, DF7OW | D-A73C | D-F7O0V
B(Errﬁn?)ze D-A80 | D-F701, F70V D-A79W/|D-F7NTL gFlngBRFLF D-A80 D-J79W, D-E7BAL D-A8OC | D-F7TCIWV D-J79C |D-A79W
D-J79C, J79 D-F70WV D-F70F, D-FINTL
A A A A A U U U U U U
125 | 325 33 30 38 37 80 81 87 83.5 85.5 82.5
140 | 325 33 30 38 37 88 89 95 91.5 93.5 90.5
160 | 36.5 37 34 42 41 98 99 105 101.5 103.5 100.5

2.3-107



Compact Cylinder/Long Stroke: Double Acting Single Rod

Series C %2

232, 940, 850, 863, 80,

|

How to Order

Standard CQ2|A|32H200|DC
[ | [ T1 1
(UgEneeoy CDQ2 |A||32—200|DC

—A73||S

® Number of

With auto switch auto switches
(Built-in magnet) Auto switch — 2
Without auto switch S | 1
— (Built-in magnet) n n
Mounti ng &—— * Refer to table below for selection of
A Both ends tapped auto switch model no.
L Foot .
)
F Front flange Bore size ® Body option
@ Rear flange 32| 32mm 63| 63mm
. — Standard (Rod end female thread)
D Double clevis 40| 40mm 80| 80mm ® Cushion v Rod end male thread
- - 50| 50mm _ 100] 100mm TC [ Rubber bumper od end male threa
* Mounting brackets are shipped C | Rubber bumper

not assembled with the cylinder.

Cylinder stroke (mm) ® ¢ Action

Refer to standard stroke table on p.2.3-109 "
D Double acting

Applicable Auto switch/refer to p.5.3-2 for further information on auto switch.

— |8 » Load voltage Rail mounting | Direct mounting | Lead wire*(m)
Style pecial Electrical .S Wiring 05 | 3] 5 [None Applicable
function entry E (output) DC AC | Perp. | Indine | Perp. | Inine | () | )| @)| N load
Swire | . . °
(Equiv. NPN) 5V A76H | A%V | A% | @ —|— 1c
Grommet|Yes —| — | 200V AT72 A72H = = ® 0 —|—
S A73 | A73H — — o 00 —| —
S R lav | 100V P — | A3V | A3 | @ [@|—|— Relay,
'5,'3 No | 2wire |24y |5V,12V|<100V| A80 | A80H | A%V | A% | @ |@®|—|—| IC | .
x Yes 12v | — | A73C | — — - o 00 o —
Connector [y 5,12V | <24V | ABOC | — — — e 00 0 c
Diagnostic (2 color)|Grommet|Yes| — — | ATOW | — = = o0 — | —| —
3 wire 5V, 12V F7NV F79 — — ® |®O|—| IC
(NPN) 12v — — FONV | FON | @ (@ |—| —| —
s . 3 wire 5V, 12V F7PV | F7P — — ® |® O|—| ICc
. romme
Mounting Bracket Part No. - (PNP) — | — | Fopv| Fop [ @ [@]—[—
— — ® |0 O
Bore | coot @ | Flange Double - ) 12v F7BV | J79
(mm) 9 clevis ®) § 2 wire — FBV | FB | @ |®@|—|—| —
32 |CQ-L032 | CQ-FO032 | CQ-D032 o Connector J79C — — — o000
40 |CQ-L040 | CQ-F040 | CQ-D040 g Yes| 3wire |pqy |V IV| — |FINWV| F7OW | — | — | @ : 8 -
NPN — — _ Relay,
50 | CQ-L050 | CQ-FO050 | CQ-DO50 2 | Diagnostic (NPR) 12v e | ey ot e [
= - — J— — —
63 | CQ-L063 | CQ-F063 | CQ-D063 3 (2 color) m; S, 12v F7PW : o
80 |CQ-L080 | CQ-F080 | CQ-D080 — —  |FoPWV | FOPW pal e _
100 | CQ-L100 | CQ-F100 | CQ-D100 : Grommet 2 wire 12v F7BWV | J79W | F9BWV | F9BW o
Water resistant - A o Fosa | — |@lO|—
Note 1) When ordering foot brackets, 2pcs. (2 color)
should be ordered for eacg cylinder. With timer 3wire (NPN) — F7NT — — — |@|O|—
Note 2) Parts attached with each brackets are With diagnostic 5V, 12V Ic
as follows. — E79F — — e @O0 —
. output (2 color) .
Foot, Flange/Body mounting bolt 3 wire
Double clevis/Clevis pin, Latch with diagnostic (NPN) —_ -
Body mounting bolt, output (2 color) — | FILF | — — | ® |® O
C shape snap ring for axis
Note 3) A clevis pin and snap ring are packed * Lead wire length  0.5m-----+ — (Example) ABOC ~ 5m--eee Z (Example) A8OCZ
with the double clevis. T3 I L (Example) ASOCL None-N (Example) ABOCN

* Solid state switches marked with a " " are produced upon receipt of order.

2.3-108



Compact Cylinder/Long Stroke: Double Acting Single Rod Series CQZ

Style
= Bore size (mm) 32 40 50 63 80 100
-% Built-in magnet () ® ® ® [ [
a% Piping ‘Screw—in style | Rc(PT)1/8| Rc(PT)1/8 | Rc(PT)1/4| Re(PT)1/4| Re(PT)3/8| Re(PT)3/8
& | Rod end male thread [ J [ J [ J ([ J [ J [ J

Specifications

Style Pneumatic (non-lube)
Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Without auto switch —10°C to 70°C (No freezing)

Ambient and fluid temperature

JIS Symbol With auto switch —10°C to 60°C (No freezing)
Lubrication Not required
Double acting single rod Cushion Rubber bumper (Standard equipment)
Rod end thread Female thread
Rod end thread tolerance JIS class 2
’ l Stroke length tolerance %’4
Mounting Both ends tapped
Piston speed 50 to 500mm/s
Minimum Operating Pressure Unit: MPa
Bore size (mm) 32 40 50 63 80 100 C U
Min. operating pressure 0.05 0.05 0.05 0.05 0.05 0.05
Allowable Kinetic Energy Unit: J
Bore size (mm) 12 16 20 25 32 40 50 63 80 100
Kinetic energy | 0.043 | 0.075 | 0.11 | 0.18 | 0.29 | 0.52 | 0.91 | 1.54 | 2.71 | 4.54

Standard Stroke Unit: mm
Bore size Standard stroke
32, 40, 50, 63, 80, 100 125, 150, 175, 200, 250, 300
e L |
I Be sure to read before handling. I
I Refer to p.0.39 to 0-46 through I Intermediate Strokes (except standard strokes)
I for Safety Instructions and common |
:_p recautions. ‘I Method Spacer is attached on standard stroke body. Exclusive body
. Refer to How to Order for standard Specify "XB10" at the end of standard
A Caution Model No. model no. model number.
’ Snap Ri ng Installation/Removal Inte_rmediate st_rokes at 5mm_intervals are Inte_rmediate st_rokes at _1mm interyals are
Method available by using spacers with standard | available by using special body with
(D For installation and removal, use an appropriate pair stroke cylinders. required stroke.
of pliers (tool for installing a C snap ring). Bore size Stroke range Bore size Stroke range
/a . ) . . Stroke range
(2) Exercise caution even when using an appropriate 32 to 100 105 to 300 32 to 100 101 to 300
pair of pliers (tool for installing a C snap ring),
because of the possibility of the snap ring becoming Model no. : CQ2A50-165DC Model no. : CQ2A50-165DC-XB10
detached from the tip of the pliers (tool for installing a Example CQ2A50-17DC with 10mm width spacer. | Makes 165 stroke tube. B dimension is
C snap ring) and flying away, which could injure B dimension is 230.5mm. 220.5mm.
humans or damage the peripheral equipment. After
installing the snap ring, make sure that it is placed To order a spacer installed styles with intermediate strokes at 1mm intervals, consult SMC beforehand.

securely in the ring groove before supplying air.

2.3-109



Series CQZ2

Copper Free

20 —CQ2A [Bore sizej—| Stroke | DC(M)

232, 940, 850, 263,
280, 9100

Copper Free Series

To eliminate influences of copper ions or
halogen ions during CRT manufacturing
processes, copper and fluorine materials
are not used as component parts.

Specifications

Style Double acting single rod
Bore size 232, 840, 850, 963, 880, 8100
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa

Rubber bumper With (standard equipment)

Piping Screw-in piping

50 to 500mm/S

Piston speed

Allowable lateral load W (N)

70 W
1
2100 3
60 \ (Mounting orientation +—
: Lateral)
\ 1N=0.102kgf
50 \\
40 280
N ~—
30 \
\\
26
20 X ™~
\
250 \\\
1 " :\ | ~
—
@3p  T—— —
0 100 150 200 250 300
Stroke ST (mm)

Allowable Lateral Loladlat Il?ocli End

2.3-110

Refer to p.5.3-75 for auto switch weight.

Mounting Both ends tapped
Auto switch Mountable
Theoretical Force Unit: N
Bore size Operating Operating pressure (MPa) Bore size Operating Operating pressure (MPa)
(mm) direction 0.3 0.5 0.7 (mm) direction 0.3 0.5 0.7
IN 181 302 422 IN 841 1400 1960
e ouT 241 402 563 = ouT 935 1560 2180
IN 317 528 739 IN 1360 2270 3170
<0 ouT 377 628 880 e ouT 1510 2510 3520
IN 495 825 1150 IN 2140 3570 5000
2 ouT 589 982 1370 Leo ouT 2360 3930 5500
Weight Unit: g
Without Auto Switch Built-in Magnet
Bore size Cylinder stroke (mm) Bore size Cylinder stroke (mm)
(mm) 125 150 175 200 250 300 (mm) 125 150 175 200 250 300
32 754 859 965 1070 1279 1490 32 763 868 974 1079 1288 1499
40 945 1063 1180 1298 1535 1770 40 958.5 1076.5 1193.5 1311.5 1548.5 1783.5
50 1469 1650 1832 2007 2376 2739 50 1483.5 | 1664.5 | 1846.5 | 2021.5 | 2390.5 | 2753.5
63 1810 2018 2227 2438 2851 3268 63 1833.5 | 2041.5 | 2250.5 | 2461.5 | 2874.5 32915
80 3120 3456 3793 4127 4801 5474 80 3144 3480 3817 4151 4825 5498
100 4956 5374 5790 6020 7042 7875 100 4994 5412 5828 6058 7080 7913
Option Weights Unit: g
Bore size (mm) 30 40 50 63 80 | 100 Calcullatiolnhexample: CQ2D32-200DCM lsAv(\j/g ctr?:s\l\ela?:ghr; 81; ﬁg%
Rod end male thread Male thread| 26 27 53 53 120 175 233:;::12IgwtelghtCF?OZdASr%er?gIJeCthread lozgg brackets when auto switches
Nut 17 17 32 32 49 | 116 DOUDIE ClEVig:+srereesrere 15]g ~ are mounted.
Foot (including mounting bolt) 147 | 159 | 253 | 356 | 685 | 1123 12649
Front flange (including mounting bolt) | 165 | 198 | 348 | 534 | 1017 | 1309 Weight/Aqu Switch Mounting Bracket
Rear flange (including mounting bolt) | 165 | 198 | 348 | 534 | 1017 | 1309 Part No. e I Weight (g)
Double clevis (including pin, snapring, bolt) | 151 | 196 | 393 | 554 | 1109 | 1887 BQ-2 232 to 8100 15



Compact Cylinder/Long Stroke: Double Acting Single Rod Series CQZ

Construction

Component Parts

j \ Auto switch

(For only CDQ2L1)

Replacement Parts: Seal Kits

No. Description Material Note Bore size (mm) Kit no. Contents
@ Cylinder tube Aluminum alloy Hard anodized 32 CQ2A32-L-PS
@) Piston Aluminum alloy casting Chromated 40 CQ2A40-L-PS
® Piston rod Carbon steel Hard chrome plated 50 CQ2A50-L-PS .
@ Collar Aluminum alloy Anodized 63 CQ2A63-L-PS A setincludes (3, 1 and .
® Base plate Aluminum alloy Anodized 80 CQ2A80-L-PS
® Snap ring Carbon tool steel Phosphate coating 100 CQ2A100-L-PS
@ Damper A Urethane xSeal kits are sets consisting of items (3, @ and @, which can be ordered
ga“:]Pe’ B Coad ;Jrethane . using the kit number for each cylinder bore size.
ushing ead bronze casting
Wearing Resin
an Rod end nut Rolled steel Nickel plated
() Magnet — For only CDQ200A
@3*| Rod seal NBR
@*| Piston seal NBR
@*| Tube gasket NBR

2.3-111



Series CQZ2

232 to 850

Series CQ2A

Both ends tapped

=U

H thread effective depth C
8-0 thread effective depth R

The dimensions are the same with or without an auto switch.

2-P

/(F’on size)

o7
[ - S
| £la v 1 \ - N
& s 1 N|2|u.| 5| g @ @ B
Leadwireminimum_L I d )
bending radius 10 1
Auto switch _
5L
L L B+Stroke
A+Stroke
Rod end male thread
Above switch: D-A73/A80 Refer to p.2.3-116 for
auto switch mounting position and mounting height.
Rod end male thread (mm)
Bore (mm) C1 H1 L1 X
32 20.5|M14X15|385| 23.5
40 20.5|M14X15|385| 23.5
50 26 |M18X15|43.5| 28.5
Both ends tapped (mm)
Bore (mm) | Strokerange(mm)] A | B | C D| E H | K| L|M (0] P Q R S Th9 Ul z
32 125 t0 200 @ [ 625455 | 13 | 16 | 45 | M8X1.25 | 60 |45 | 14 |17 | 34 | M6X 10 | Re(PT)1/8 |125| 10 |585| 22 0052|315 | 14
40 250, 300 72 | 55 | 13 | 16 |52 | M8X1.25 |69 | 5 |14 |17 | 40 | M6 X 1.0 | Re(PT)1/8 | 14 | 10 | 66 | 28 S.en| 35 | 14
50 735|555| 15 | 20 | 64 | M10X 1.5 | 86 17 |18 | 50 | M8 X 1.25 | Re(PT)1/4 | 14 | 14 | 80 35 _8_062 41 | 19
Note 1) All the 125 to 200mm stroke types are in 25mm increments.
Note 2) Refer to p.2.3-3 for calculation of cylinder length with intermediate stroke.
Bore
L B+Stroke (mm) A | B L |L1|LD|LG|LH|LS|LT |LX|LY|LZ| X | Y
" 32 69.7 455|117 [385(6.6 | 4 |30 (295[3.2| 57 |57 | 71 |112| 5.8
: 40 |792| 55 |17 (385(6.6| 4 |33 |39 |3.2|64 (64 |78 |112| 7
puisaimte 50 |817|555|18 [435| 9 | 5 |39 |325(3.2| 79 | 78 | 95 147 8
o # Refer to p.2.3-18 for rod end nut and optional bracket.
= i Both ends tapped---SCQ2 L, #1 (#1+#6+#8)
|;X LG [T SRR SCQ2 L, #2 (#2+#6+#8)
LS+5Stroke )
A+Stroke

Rod end nut

2.3-112



Compact Cylinder/Long Stroke: Double Acting Single Rod Series CQZ

CAD
Front flange/CLIQ2F Front flange )
Bore (mm)| A B|FD|FT|FV|FX|FZ| L |L1| M
_-!-iif-::'-_'lﬂ-_ 32 6251455/ 55| 8 | 48|56 | 65| 17 |38.5| 34
‘@,. i 1F@J—¢ | 40 72 |55 |55| 8 | 54|62 | 72| 17 |38.5| 40
:.:'_ ja_ s 50 73.5/55.5/6.6| 9 | 67|76 | 89| 18 |43.5| 50
CY i ——i
| |
LOMIRG
i S T
‘ Lﬂgﬁr 4-0FD L-ﬁDJ
Fx B+Stroke
FZ A+Stroke
Rod end male thread
Rod end nut
Rear flange/C1Q2G Rear flange (mm)
g Bore (mm) A
32 705 CuU
40 80
50 82.5
«#Dimensions except A are
same as front flange type.
L
Rod end thread
= Double clevis (mm)
i = Bore (mm)| A | B |CD|CL |[CT |[CU|CW|CX | CZ
| _g 32 92.5(45.5/10 (825 5 | 14|20 | 18 | 36
Rod end nut L1 40 104 | 55|10 |94 | 6 |14 |22 | 18 | 36
B 50 1155(55.5| 14 [1015] 7 | 20| 28 | 22 | 44
Bore (mm)| L | L1 N RR
Double clevis/C[1Q2D 32 117385 M6X10 |10
40 17 |38.5| M6 X 1.0 10
pT 4-N 50 18 |43.5| M8 X 1.25 | 14
/ Cap bolt +Refer to p.2.3-18 for rod end nut and optional bracket.
oCD hole H10 ==A clevis pin and snap ring are packed with the double
/ axisd9 clevis type.

= —L__J
L a B-+5troke U . CEU'T*{R
CL+Swoka = ]
AtStroke

Rod end male thread

L1

Rod end nut .~

2.3-113



Series CQZ2
263 to 100

||

Series COQ2A
Both ends tapped

Lead wire minimum bending radius 10
Auto switch

H thread effective depth C
thread effective d

The dimensions are the same with or without an auto switch.

R Q 2-P Q
L /(Portsize}
= 7 e === .
P
— L SO— T
e ==

R————
IR — :
(=] il I i e e L

o7

™y

B+Stroke

A+Stroke

Rod end male thread

Above auto switch: D-A73/A80 Refer to p.2.3-116

N

for auto switch mounting position and mounting height.

Rod end male thread (mm)
Bore (mm) | C1| Hi | L1 X
63 26 |MI8X15|435| 285
80 325 M2 X 15| 535 355
100 325 M6 X 15| 53.5| 35.5
Both ends tapped (mm)
Bore (mm) | Strokerange(mm) | A | B | C D| E H [ J K|l L|M o P Q | R S Tho u| z
63 75 | 57 | 15 | 20 | 77 |[M10X 1.5 |103| 7 |17 |18 | 60 | MIOX 15 | Rc(PT)1/4 [16.5| 18 | 93 | 35 Joe, |475 | 19
g0 |2 ‘202000“’ 86 | 66 | 21 | 25 | 98 |M16X20 |132| 6 | 22 |20 | 77 | M12X 175 | Re(PT)38 | 19 | 22 |1125] 43 Qo |575 | 26
100 ' 975|755 | 27 | 30 | 117 | M20 X 2.5 | 156 | 6.5 | 27 | 22 | 94 | M12X 1.75 | Rc(PT)3/8 | 23 | 22 [1325| 59 947, |675 | 26
Q Note 1) All the 125 to 200mm stroke types are in 25mm increments.
Refer to p.2.3-3 for calculation of cylinder length with intermediate stroke.
Foot/COQ2L
L B+Stroke Foot mm)
,_1_]_@[7 . Bore(mm)| A | B | L |L1 |LD|LG|LH|LS|LT |LX|LY|LZ]| X |Y
%._ @ I 63 832 |57 |18 (43511 | 5 (46 |31 |3.2] 9 [915/113 (162 9
G // _’_\ . . . ! .
- _4,/ /%QT . 80 |975|66 |20 (535|13 | 7 |59 | 36 |4.5(118 |114 {140 |195] 11
c K\_S\Ki{ﬁ/ //IJT B g ggg‘ggl't 100 |1105|755|22 |535|13 | 7 | 71 |415| 6 |137 (136 | 162 | 23 |125
_-_.;'_“7, n - * Refer to p.2.3-18 for rod end nut and optional bracket.
.M.E,E-E::x!x:_;;% f il
T —| Both ends tapped---SCQ2 L, #1 (#1+#6+#8)

2.3-114

4-oLD

Y
~ Ls+Stroke -

A-+Stroke

LG

=

FOOtwerererrrssnsrsranaeans

SCQ2 L, #2 (#2+#6+#8)



Compact Cylinder/Long Stroke: Double Acting Single Rod Series CQZ

CAD

Front flange/COQ2F

Special cap bolt

S —— Front flange (mm)
"'-~:1;-_|_._’_1 = i Bore(mm)| A | B |[FD |FT [FV [FX |FZ| L [L1| M
LN 3 | 63 |75|57| 9| 9 |80]|92 [108] 18 [43.5] 60
s E_ | 80 86 | 66 | 11 | 11| 99 [116 |134 | 20 [53.5| 77
| = 100 97.5|75.5| 11 | 11 |117|136 |154 | 22 |53.5| 94
e B
ks 4-0FD | s B+Stroke
- AtSiroke
Rod end male thread
Rod end nut
Rear flange/COQ2G Snediii capboh
-t W | | x ";Tf'
{_, i o Rear flange (mm) CU
= z 2 &) f-—" Bore (mm)| A
1 | i = 4 63 84
A b
18 - —}‘T ..Et"-‘rv'jF"—{f‘.-. : 80 97
= L‘_ﬂj | '] = 100 108.5
3 ey
L U B+Stroke . FT] L._ FX *Dimensions except A are
AtSiroke — —FZ same as front flange type.
E[:f MU
Rod end male |
thread 1%
T
HHE]
..Jr_-'— L
R e — |
od end nut Ly r
Double clevis/COQ2D
cT 4-N
Cap baolt
I f / a
I I 7 L £ ifgny .
‘j 223, de HIORS ' i Double clevis (mm)
_{ Z(\ { b Bore (mm)| A | B |CD|CL |CT |[cu|cw|cX | cz
Hre= = 5% f[l 63 |119|57 (14 |105| 8 | 20|30 |22 | 44
B il ; 80 [142[66 [18 [124 |10 | 27|38 [ 28| 56
+ 100 1645]755]22 1425/ 13 [ 30 [ 45 [ 32 | 64
= —J | leu &
= L | L1 N RR
L J‘H‘_‘._IB‘i-Slroke I‘] RR ICX-:H Bore (mm)
CL+Stroke 63 18 |43.5| M10X15 | 14
AtStroke cz3i
80 20 [53.5| M12X 1.75 | 18
Rod end male thread 100 [ 22 |535] M12x 175 | 22
#Refer to p.2.3-18 for rod end nut and optional bracket.
m #xA clevis pin and snap ring are packed with the double clevis.
Front flange:-----+----- SCQ2 |Bore size| L, #3 (#3+#6+#8)
Rear flange- --SCQ2 |Bore size| L, #4 (#4+#6+#8)
Double clevis:::---:-- SCQ2 |Bore size| L, #5 (#5+#6+#8)

Rod end nut

2.3-115



Series CDQZ2
Auto Switch Specifications L1

x Refer to p.5.3-2 for of auto switch specifications.

Standard Specifications

How to Order

Fluid

Air

Refer to p.2.3-108 for "How to Order"

Ambient and
fluid temperature

—10°C to 60°C (No freezing)

with auto switch.

Other specifications are same as one on p.2.3-109.

Auto Switch Mounting Position (at Stroke End) and Mounting Height

D-A70]
D-A80

D-A700H
D-A80H
D-F70
D-J79

D-F7BAL

=U

D-F7O0W
D-J79W
D-F70F
D-F7NTL

D-AS0
D-F9OI

Auto Switch Mounting Position

.
=

1=

D-A9CIV
D-FoIV
D-FOOWV

D-A7OH
DA%l D-F7OW
D) | DF7BAL| bag0 | D-FoO | D-FoOW
2;’2’: D-A80 BZE;QD AT B:E;EVJ: D-AYD V| D790 V| DESDWY
(mm) D-F70V D-F7TO0WV
D-J79C
AlB|Aal[B|[A[B|[A[B|A[B|A[B]|A[B
32 |95 [17.5) 10 [ 18| 7 | 15|14 | 22 [8.5 [16.5[12.5[20.511.5]19.5
40 |13 [235(13.5| 24 [10.5 21 [17.5] 28 | 12 [22.5] 16 [26.5] 15 [25.5
50 |11 |24 [11.5[24.5(8.5 [21.515.5[28.5] 10 | 23 | 14 | 27 [ 13 | 26
63 [13.5[25.5) 14 | 26 | 11 | 23 | 18 | 30 [12.5[24.5[16.5[28.515.5[27.5
80 [16.5[31.5) 17 |32 | 14 | 290 | 21 | 36 [15.5[30.5[19.5[34.518.5[33.5
100 [19.5] 38 | 20 [38.5| 17 [35.5] 24 [42.5[18.5] 37 [22.5] 41 [21.5] 40

Auto Switch Mounting Bracket Part No.

D-A73C
D-A80C
D-J79C

D-A79W
D-F7OWV
D-F70V

D-FOOW
D-F9BAL

[GNal

=
* '
—

fo

o

LA

Auto Switch Mounting Height (mm)

D-A70H

D-AS0H

D-F700

D-J79
D-A7O D-A73C |D-F70V D-FoOV D-Fov.
D-A80 [PF7OW |5 agoc |p-rrowy| P 79C [P-ATOW|D-ASEVp comyin b FoBAL

D-J79W

D-F7BAL

D-F70F

D-F7NTL
U u u U U u u U U
315 | 325 | 385 | 35 | 38 | 34 | 27 | 29 | 265
35 | 36 | 42 | 385 | 415 | 375 | 305 | 325 | 30
41 | 42 | 48 | 445 | 475 | 435 | 365 | 385 | 36
475 | 485 | 545 | 51 | 54 | 50 | 40 | 42 | 395
575 | 585 | 645 | 61 | 64 | 60 | 50 | 52 | 495
675 | 685 | 745 | 71 | 74 | 70 | 60 | 62 | 595

Bore size | part No. Note Applicable switch
(mm) Reed switch Solid state switch
D-F70, J79
32,40 eSwitch mounting screw D-A70, A80 BE?ES])\C/
_ (M3 X 0.5 X 10¢) D-A73C, A80C g
50,63 | BQ-2 | o5ujitch interface D-A701 H, ASOH i
80, 100 eSwitch mounting nut D-A79W D-E7BAL
D-F70OF, D-F7NTL

2.3-116

Q *Mounting screw set made by stainless steel

Following stainless steel mounting screw set (included nut)
is provided. Use them with accordance in environment.
(Auto switch interface is not included. Order it separately.)
BBA2: For D-A7/A8/F7/37

When D-F7BAL mounted on cylinder is required, the
stainless steel screw mentioned above is used at
shipping. When auto switch unit is shipped, BBA2 is
attached.



Compact Cylinder/Anti-lateral Load

Series C %2

232, 940, 850, 863, 80,

|

How to Order

Standard CQ2(B 32—30
I

3230

{NHW

1O HO
1OHO

—A73||S

| o Number of auto
- : switches
With auto switch - -
(Built-in magnet) Auto switch — 2
Mounting e Without auto switch s | 1
_ (Built-in magnet) n n
B |Through-hole (Standard) -
Both ends tapped #Refer to table below for auto switch
A 0 pp Style ® model no. selection.
L Foot Anti-| I load
= Front flange S nti-lateral loa .
G Rear flange ® Body option
D Double clevis — |Standard (Rod end female thread)
* Mounting brackets are shipped i [} ® Cushion Rod end male thread
not assembled with the cylinder. Cyl inder stroke (m m) bl
. Refer to standard stroke table C ‘ Rubber bumper
Bore size on p.2.3-119.
32 32mm ® Action
40| 40mm D | Double acting
50 50mm
63 63mm
80 80mm
100 | 100mm
Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.
18 - Load voltage Rail mounting Direct mounting Lead wire*(m) Pa—
Style | Special function Electrical .S Wiring 05 |35 [Now pplicable
ey |5 |(Outpu)|  pc AC | Pem. | Indine | Perp. | Indine | 5 |||y '°2
(Eqﬁﬂ'ﬁpm —|sv | — — | A76H | A%V | A% | ® (@|-|-|IC | —
< Yes —| — |200v | A72 | AT2H | — — | o |®| |-
‘; Grommet A73 | AT3H | — — | o |0|®|-|—
2 _ 12v | 100v — — A93V A93 o |0 — |- Relay,
E No| 2 wire |24V|5V,12V [<100v| A80 A80H | A90V A90 ® |0 - (-] IC PLCY
o YE 12v — A73C — — — o |00 0 —
Connector [\ .12V | =24v | ASOC | — = — | e|e|e]e]c
Diagnostic (2 color)| Grommet |Yes — — ATOW — — — e (0| - |- | _
3 wire 5V, 12v F7NV F79 — — ® |®O|-|IC
(NPN) 12V — — FONV | FON | @ |@| - |- | —
. Grommet 3 wire 5V, 12v F7PV | F7P — — | e|elo|-|1Ic
Mounting Bracket Part No. — (PNP) — T — Trov] ror [ (@] [<
< —
Bore | £50t® | Flange |Double clevis e _ 12v F7BV | 79 = — | e o]0
(mm) s 2 wire — — FOBV F9B e (o - |- |
32 |CQ-L032 |CQ-F032 |CQ-D032 b Connector — | J7oc | — — = o |o|o|0
40 |CQ-L040 | CQ-F040 |CQ-D040 s Ves| 3wire | oy |5V, 12v FINWV | F7ow | — — | e |@|O]|-
50 |CQ-L050 |CQ-F050 |CQ-D050 g oi . (NPN) 12V — — |FONWV| FONW | @ [ ® | O | - Ic Relay,
63 | CQ-L063 | CQ-FO63 | CQ-D063 = ('gi';‘l’;)": 3 wire 5, 12V — | epw | — _ | e|e|ol- PLC
80 |CQ-L080 |CQ-F080 |CQ-D080 @ (PNP) _ — |ropwv| Fopw | ® [@|O] -
100 |CQ-L100 |CQ-F100 |CQ-D100 Grommet 2 wire 12v F7BWV | J79W | FoBWV| FoBW | ® | @ | O | —
Note 1) When ordering foot brackets, 2pcs. Water resistant _ E7BA _ FBA | - |-|0O]-
should be ordered for each cylinder. (2 color)
Note 2) Parts attached with each brackets With timer 3 wire (NPN) — F7NT — — - ol -
are as follows. Foot, Diagnostic 5V, 12V IC
Flange/Body mounting bolt output (2 color) 4 wire = F79F = = e |@|O| -
Double clevis/Clevis pin, C shape Latch with diagnostic NPN _ _ _ _ e l@|o|-| —
snap ring for axis, Body mounting output (2 color) (NPN) AU
bolt *Lead wire length 0.5m----- — (Example) A80C 1 EERPRRREPS Z (Example) A80CZ
3o L (Example) A80CL None:------+- N (Example) A8OCN

#Solid state switches marked with a "O" are manufactured produced upon receipt of order.

2.3-118



JIS symbol

Double acting/Single rod

=]

/A Precautions

—mmmmmmmm—m————
1 Be sure to read before handling. I
1 Refer to p.0-39 to 0-46 Safety Instructions
I and common precautions.

—— ]

A\ Caution
| Snap Ring Installation/Removal |

(DFor installation and removal, use an
appropriate pair of pliers (tool for installing a C
snap ring).

(2Exercise caution even when using an
appropriate pair of pliers (tool for installing a C
snap ring), because of the possibility of the
snap ring becoming detached from the tip of the
pliers (tool for installing a C snap ring) and
flying away, which could injure humans or
damage the peripheral equipment. After
installing the snap ring, make sure that it is
placed securely in the ring groove before
supplying air.

Compact Cylinder/Anti-lateral Load Series CQZ

Style
Bore size(mm) 32 40 50 63 80 100
Mounting ThrougfHhole (standarc) o o [ ] o o o
© Both ends tapped [ ] o [ ] o (] (]
E Built-in magnet o [ o o ] o

§ Screw-in piping Rc(PT)1/8 | Rc(PT)1/8 | Rc(PT)1/4 | Re(PT)1/4 | Re(PT)3/8 | Re(PT)3/8

& | Rod end male thread [ ] o [ (] (] o
With rubber bumper (Standard) ([ J ® o o o o

Specifications

Style Pneumatic (non-lube) type
Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Ambient and
fluid temperature

Without auto switch: —=10°C to 70°C (No freezing)

With auto switch: —10°C to 60°C (No freezing)

Rubber bumper

Standard equipment

Rod end thread

Female thread

Rod end thread tolerance

JIS class 2

Stroke length tolerance

+0.1
0

Mounting

Through-hole

Piston speed

50 to 500mm/s

Minimum Operating Pressure Unit: MPa
Bore size(mm) 32 40 50 63 80 100
Pneumatic (non-lube) 0.05 0.05 0.05 0.05 0.05 0.05

Standard Stroke Unit: mm

Bore size(mm)

Standard stroke

32,40

5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

50, 63, 80, 100

10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

Theoretical Force Unit: N
Bore size Operating direction Operating pressure(MPa)
(mm) 0.3 0.5 0.7
3 IN 181 302 422
ouT 241 402 563
20 IN 317 528 739
ouT 377 628 880
50 IN 495 825 1150
ouT 589 982 1370
3 IN 841 1400 1960
ouT 935 1560 2180
80 IN 1360 2270 3170
ouT 1510 2510 3520
100 IN 2140 3570 5000
ouT 2360 3930 5500
Allowable Kinetic Energy Unit: J
Bore size(mm) 12 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
Kinetic energy 0.043 | 0.075 | 0.11 0.18 0.29 0.52 0.91 1.54 2.71 4.54

Auto Switch Mounting Bracket Part No.

i Applicable switch
Bo(:ﬁ;l)ze Part No. Note Reed switch Solid state switch
D-F70, J79
« Switch mounting screw | D-A70, A80 D-F70V
32/40/50 (M3X05X10¢9 | D-A73C,Agoc | D-J79C
63010 | B2 | . switch interface D-A700H, ABOH B:E;Smﬂ TOW
« Switch mounting nut | D-A79W D-F7BAL
D-F70F

2.3-119




Series CQZ2

Rod End Allowable Load

Without auto switch

300

2100
200 -

Allowable lateral load W (N)
1=}
3

SO
~__

Stroke St (mm)

N S S R
0 10 20 30 40 50 60 70 80 90 100

With auto switch

Allowable lateral load W (N)

7//

300

12100

200

100 {26
lg5
540

e

12

R S Y
0 10 20 30 40 50 60 70 80 90 100

Stroke St (mm)

We| g ht Unit: g
Bore size Cylinder stroke (mm)
(mm) 5 10 15 20 25 30 35 40 45 50 75 100
32 142 163 184 204 225 246 267 287 308 329 482 587
40 224 247 270 293 316 339 362 386 409 432 616 736
50 — 400 436 472 508 545 581 617 653 690 982 1170
63 — 589 630 671 712 753 794 835 876 916 1264 1475
80 — 1079 1147 1215 1282 1350 1418 1486 1554 1622 2194 2528
100 — 1863 1953 2044 2135 2226 2316 2407 2498 2589 3393 3853
Option Weights Unit: g
Bore size 32 40 50 63 80 100
Both ends tapped 6 6 6 19 45 45
Male thread 26 27 53 53 120 175
Rod end male thread
Nut 17 17 32 32 49 116
Foot (including mounting bolt) 143 155 243 324 696 1062
Front flange (including mounting bolt) 180 214 373 559 1056 1365
Rear flange (including mounting bolt) 165 198 348 534 1017 1309
Double clevis (including pin, snap ring, bolt) 151 196 393 554 1109 1887

Calculations

Standard

Calculation example: CQ2DS32-20DCM

*Basic weight

: CQ2BS32-20DC
*Additional weight: Both end tapped
Rod end male thread
Double clevis

2.3-120



Construction

Compact Cylinder/Anti-lateral Load Series CQZ

Component Parts

Rod end male thread

Replacement Parts: Seal Kits

No. Description Material Note Bore size (mm) Kit No. Contents

[©) Cylinder tube Aluminum alloy Hard anodized 32 CQ2B32-PS

@ Piston Aluminum alloy Chromated 40 CQ2B40-PS

® | Piston rod Carbon steel Hard chrome plated 50 CQ2B50-PS )

@ | Collar Aluminum alloy Anodized 63 CQzB6a-ps | A Setincludes 1), @2 and 13
® Snap ring Carbon tool steel Phosphate coating 80 CQ2B80-PS

(® | BumperA Urethane 100 CQ2B100-PS

@ | BumperB Urethane +Seal kits are sets consisting of items @, @ and (3, which can be ordered
Bushing Lead bronze casting using the kit number for each cylinder bore size.

© | Wearing Resin

Rod end nut Carbon steel Nickel plated

@ | Rod seal NBR

(@ | Ppiston seal NBR

(13 | Tube gasket NBR

2.3-121




Series CDQZ2
Auto Switch Specifications [

= Refer to p.5.3-2 for auto switch specifications.

Standard specifications

How to Order

Style Pneumatic (non-lube)
Fluid Air
Ambient and

fluid temperature|

—10° to 60°C (No freezing)

Refer to p.2.3-118 for “How to Order”
with auto switch.

Other specifications are same as one on p.2.3-119.

Weight unitg  Option Weights Unit: g
Bore Cylinder stroke Bore size(mm) 32 | 40 | 50 | 63 | 80 | 100
(mm) | 5 | 10| 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100 Both ends tapped 6 6 6 | 19 | 45 | 45

32 201 | 222 | 243 | 263 | 284 | 305 | 326 | 346 | 367 | 388 | 493 | 598 Rod end 26 27 53 53 | 120 | 175

40 300 | 323 | 347 | 370 | 393 | 416 | 439 | 462 | 485 | 508 | 628 | 748 Male thread 26 27 53 53 | 120 | 175
Rod end male thread

50 — | 518 | 554 | 590 | 626 | 663 | 699 | 735 | 771 | 808 | 996 |1184 Nut 17 17 32 32 49 | 116

63 — | 748|788 | 829 | 870 | 911 | 952 | 993 (1034/1075|1286(1497 Front flange (included mounting bolt) | 143 | 155 | 243 | 324 | 696 | 1062

80 — |1340|1408|1476|1543|1611|1679|1747|1815|1883|2217|2552 Rear flange (included mounting bolt) | 165 | 198 | 348 | 534 | 1017 | 1309

100 | — |2242(2333|2424|2514|2605|2696|2787|2877|2968|3428|3888 Double clevis (included pin, snap ring, bolt) | 151 | 196 | 393 | 554 | 1109 | 1887

With auto switch
Calculation example: CDQ2DS32-20DCM

Add the weight of auto switches and mounting brackets
when auto switches are mounted.

‘Basic weight: CDQ2BS32-20DC:-++++-xreeeeeeees 2639 . . .
o . Weight/A h Mounting Brack
-Additional weight: Both ends tapped:----:-:----- 69 eight/Auto Switch Mounting Bracket
Rod end male thread:------- 43g Mounting bracket |Cylinder bore size Weight(g)
Double clevig:«wwweeeeees: 1519 BQ-2 232 to 850 15
4639 Refer to p.5.3-75 for auto switch weight.
Construction
a @
Rod end male thread
Auto switch
Component Parts Replacement Parts: Seal Kits
No. Description Material Note Bore size(mm) Kit No. Contents
® Cylinder tube Aluminum alloy Hard anodized 32 CQ2BS32-PS
@ Piston Aluminum alloy Chromated 40 CQ2BS40-PS
® Piston rod Carbon steel Hard chrome plated 50 CQ2BS50-PS .
@ | Collar Aluminum alloy Anodized 63 CozBseaps | A setincludes 2,13 and 4.
® Snap ring Aluminum alloy Phosphate coating 80 CQ2BS80-PS
® Bumper A Urethane 100 CQ2BS100-PS
@ | BumperB Urethane * Seal kits are sets consisting of items @2, (3 and @, which can be ordered
® | Bushing Lead bronze casting using the kit number for each cylinder bore size.
©@ | Wearing Resin
() Magnet -
@ | Rod end nut Carbon steel
(2 | Rod seal NBR
[E Piston seal NBR
@ | Tube gasket NBR

2.3-122



Compact Cylinder/Anti-lateral Load Series CDQZ

Auto Switch Mounting Position (at Stroke End) and Mounting Height

D-A9] D-AS0V D-FoOW
D-F9O D-FoIV D-FO9BAL
D-FeOWV

R —A
l
4]

D-A701 D-A7C0H D-F70W D-A73C D-A79W
D-A80 D-A80H D-J79W D-A80C D-F7O0WV
D-F701 D-F70OF D-J79C D-F700V

D-J79 D-F7NTL

1

b -';'
A
Auto Switch Mounting Position (mm)
D-F7OW
g-ﬁ;ggﬁ&oog D-F7BAL D-A90] D-FO D-FIOW
) 5 - - D-F700F - - D-FOCOWV
Bore size D-A7LI/A80 D-F700/D-J79 Y D-J79W D-A901V D-Fo1V D-FOBAL
(s D-F70V/D-J79C - ]
D-F70WV
A B A B A B A B A B A B A B
32 15 10 15.5 10.5 125 7.5 19.5 14.5 14 9 18 13 17 12
40 18.5 13 19 13.5 16 10.5 23 17.5 17.5 12 215 16 20.5 15
50 16 16.5 16.5 17 13.5 14 20.5 21 15 15.5 19 19.5 18 18.5
63 18.5 195 19 20 16 17 23 24 17.5 18.5 215 225 20.5 21.5
80 215 24 22 245 19 21.5 26 28.5 20.5 23 24.5 27 23.5 26
100 24.5 30.5 25 31 22 28 29 35 235 29.5 27.5 335 26.5 325
Auto Switch Mounting Height (mm)
D-A7HCI/A8OH
D-F700/D-J79/D-F7C0 W D-A73C |D-F700V D-FoCV D-FOOW
Boresize | D-A7THVABO |y 570w/p-F7BAL D-A80C |D-F7Owy | DI79C | D-ATOW | DALV | b pomwy | p-FoBAL
(mm) D-F70F/D-F7NTL
U U ] U U U U U U
32 315 325 38.5 35 38 34 27 29 26.5
40 35 36 42 38.5 41.5 375 30.5 325 30
50 41 42 48 44.5 47.5 43.5 36.5 38.5 36
63 47.5 48.5 54.5 51 54 50 40 42 39.5
80 57.5 58.5 64.5 61 64 60 50 52 49.5
100 67.5 68.5 74.5 71 74 70 60 62 59.5

2.3-123



Series CDQZ2
332 t0 @50 witn auto switeh

For those without auto switches, refer to the dimension chart because
their A and B dimensions will differ.

Through-hole/CQ2BS, CDQ2BS

Both ends tapped: CQ2AS/CDQ2AS

Otthread _R_ R_ Both ends tapped (mm)
Bor
s (n:)me) O1 R
32 M6 X1.0 | 10
e 40 M6 X1.0 | 10
] 50 M8 X 1.25 | 14
H thread effective depth C
4-oN through Q F
8-00 counter bore ’-_' /(F’o—ﬁsiza =1
% g i /{
Ca— ! 7
9 o) M w Q fkfﬁ_ Jan)
Jet % = ‘m BN N
Lead wire minimum / .
bending radius 10 @
Auto switch / % 2,
D-A7/A8 K
M
E B+Stroke
S A+Stroke
Rod end male thread Rod end male thread (mm)
an’rrne) c1| x H1 L1
32 20.5|23.5| M14 X 15 |28.5
. 40 20.5|23.5| M14 X 1.5 |28.5
50 26 [28.5| M18 X 1.5 |335
(mm)
Without With
(‘?:nrqe) S”‘E‘;‘::)“ge auto switch | auto switch clolele " | 51« vl N o b ols|ulz
A B A B
32 51050 40 | 33 50 | 43 | 13 | 16 | 45 | 7.5 |[M8X125| 60 | 45 | 14 34 | 5.5 | 9Depth 7 [Rc(PT)1/8| 10.5 [ 585 | 315 | 14
75, 100 50 | 43
40 21050 | 465 | 395 56.5|495| 13 | 16 | 52 8 |M8X125| 69 5 14 40 | 5.5 |9Depth 7 |Re(PT)1/8| 11 | 66 | 35 | 14
75,100 | 56.5 | 49.5
50 101050 1485 | 405 585 |505| 15 | 20 | 64 | 105 |M10X15| 86 7 17 50 | 6.6 |11 Depth 8{Rc(PT)1/4| 10.5 | 80 | 41 | 19
75,100 | 58.5 | 50.5

2.3-124



Compact Cylinder/Anti-lateral Load Series CDQZ

Foot/CQ2L, CDQ2L

L

B+Stroke

Special cap
bolt

B+Stroke

A+Stroke

Rod end nut

B+Stroke | FT

A+Stroke
[T

]

P

E

\t..

Rod end nut

E|

Double clevis/CQ2D, CDQ2D

1
Ccu
cw R

B+Stroke
CL+Stroke
A+Slroke

-

Rod end nut

L)

cT 4N
5= ap bolt
= — CD hole H10 . JTTTL,
F—m \/axis dg ©°F 1

.

i

Foot (mm)
Bore Stroke range | Without auto switch | With auto switch L L |
(mm) (mm) A | B|LS|A | B|LS

5to 50 572 | 33 | 17
32
75. 100 6721 a3 | 27 672 | 43 | 27 | 17 | 385 6.6
5to 50 63.7 | 39.5 | 235
40
75. 100 737 | 495 | 335 73.7 1495 |335| 17 [ 385 6.6
10 to 50 66.7 | 405 | 17.5
50
75, 100 767 | 505 | 275 76.7 |505|275| 18 |435| 9
Bore Stroke range
(mm) (mm) LG | LH | LT | LX | LY | LZ | X X
5to 50
32
75, 100 4 30 | 32| 57 | 57| 71 |112 | 5.8
5 to 50
40 75, 100 4 33 (32|64 |64 |78 |112]| 7
10 to 50
50 75. 100 5 39 | 32| 79 | 78 | 95 [147 | 8
Front flange (mm)
Bore Stroke range  |W/o auto switch | W/ auto switch
(mm) (mm) A|B|A|B
51to 50 50 | 33
32
75, 100 60 | 43 60 | 43
5to 50 56.5 | 39.5
40
75, 100 66.5 | 49.5 665 | 495
10 to 50 58.5 | 40.5
50
75, 100 68.5 | 50.5 685 | 505
Bore Stroke range
) (mm) FD [FT |FV |FX |FZ | L [ L1 [ M CuU
5to 50
32
75, 100 55 8 48 | 56 | 65 | 17 [385 | 34
5 to 50
40
75, 100 55| 8 54 | 62 | 72 | 17 | 385 | 40
10 to 50
50
75. 100 66| 9 67 | 76 | 89 | 18 |435| 50
Rear flange (mm)
Bore Stroke range | W/o auto switch | W auto switch L L1
(mm) (mm) A A
5to 50 48
32
75, 100 58 58 7 | 285
5to 50 54.5
40
75, 100 64.5 645 7%
10 to 50 57.5
50
75. 100 675 67.5 8 |335
+*Dimensions except A, L and L1
( are same as front flange type. )

Double clevis (mm)
Bore Stroke range |Without auto switch| With auto switch co | et
(mm) (mm) A| B |CL|A |B|CL

5to 50 70 | 33 | 60
32
75, 100 80 | 43 | 70 80 | 43|70 10 s
5 to 50 78.5 | 39.5 | 68.5
40
75, 100 88.5 | 495 | 785 885 495) 785 10 6
10 to 50 90.5 | 40.5 | 76.5
50
75, 100 100.5 | 50.5 | 86.5 1005 ] 505 | 865 ) 14 !
Bore Stroke range
(mm) (mm) CU|CW|CX | Ccz L L1 N RR
32 510 50 14 | 20 | 18 | 36 7 |285| M6X10 | 10
75, 100 ) )
5 to 50
4
0 75. 100 14 | 22 | 18 | 36 | 7 |285| M6X1.0 | 10
50 101050 20 | 28 | 22 | 44 8 [335|M8X125 | 14
75, 100 ' )

*Refer to p.2.3-18 for rod end nut and optional bracket.

*Clevis pin and snap ring are packed with the double clevis.

2.3-125



Series CDQZ2

g63 tO ﬂloo With Auto Switch

For those without auto switches, refer to the dimension chart
because their A and B dimensions will differ.

Through-hole/CQ2BS, CDQ2BS

/o

I

o
o

-

Lead wire minimum'
bending radius 10
Auto switch/

D-A7/AB

N

Both ends tapped: CQ2AS/CDQ2AS

O1 thread

- R

R

-

b

H thread effective depth C

2P F

T

s

B+Stroke
A+Stroke

Rod end male thread

Both ends tapped (mm)

(?;’r;e) o1 R
63 M10 X 1.5 | 18
80 M12X 175 | 22

100 MI2X 1.75 | 22

Hi
\_ ;: Rod end male thread (mm)
J{ Bore
t- (mm) C1 X H1 L1
I 63 26 [28.5| M18 X 1.5 |33.5
80 325|355 M22X 15 |435
Rod end nut Gt 100 325(355| M26 X1.5 [43.5
Auto switch X
D-AS/F9 L1
(mm)
Bore |[Stroke range e i
98| auto switch| auto switch C D E F H | J K L M N [0) P Q S U Z
(mm) (mm) A B A B
63 10to 50 | 54 | 46 ;
75 100 | 64 | 56 64 | 56 | 15 | 20 | 77 | 105 [MI0X15]| 103 | 7 17 8 60 9 | 14Depth105 [Re(PT)L/4| 15 | 93 | 475 | 19
80 101050 | 635 | 535 735|635 | 21 | 25 | 98 | 125 [M16X20| 132 | 6 | 22 | 10 | 77 | 11 |175Deph135[Re(PT)38| 16 | 1125 | 57.5 | 26
/ ; ] { 5 Depth 135 |Re| i i
75,100 | 735 | 635 @ D
10to 50 | 75 | 63
100 85 | 73 | 27 | 30 | 117 | 13 |M20X25| 156 | 6.5 | 27 | 12 | 94 | 11 |175Depth135 Re(PT)3/8| 23 | 1325 | 67.5 | 26
75,100 | 85 | 73

2.3-126



Compact Cylinder/Anti-lateral Load Series CDQZ

Foot/CQ2L, CDQ2L

Foot (mm)
L__ B+Stroke Bore Stroke range | Without auto switch | With auto switch L o
——] (mm) (mm) A|lB LS| A[B]|LS
- 10 to 50 722 | 46 | 20
i 63 . 1 43.
zg— e 75,100 | @2 66 | 30 | 2| 0 | %0 | 18 |89
A — 10 to 50 85 | 535 | 235
80 d . 15
ﬁ’ljﬂ%? 75. 100 95 1635 | 335 95 [ 635|335| 20 |53
[Tl 1 10 to 50 98 | 63 | 29
LX) 1 X ] LG 100
75. 100 108 | 73 | 39 108 | 73 | 39 | 22 | 535
LS+Stroke
Bore Stroke range
RaSioke (mm) (mm) LD LG |LH | LT | LX | LY | LZ | X | Y
[ 63 1010 50 5 46 | 3.2 | 95 |915|113|162| 9
| 75,100 | * : : :
80 101050 7 59 | 45 |118 114 | 140|195 | 11
75,100 | 13 : '
100 1010 50 7|136 | 162 | 23 | 125
75,100 13 7 71 6 |13 .
Front flange (mm)
Stroke range | W/o auto switch | W/ auto switch
Front flan 2F, CDQ2F Bore
ont flange/CQ2F, CDQ mm | em [AlB|AlB
——h 10to 50 64 | 46
I — 63 75100 | 74 |56 | 4| °®
. 10 to 50 735 | 535
————— 80 . !
A 75,100 835 [6as5 | %3° | ®°
= — 10 to 50
— —] 100 75 100 85 163 95 | 73 —
B+Stroke ) 95 | 73 CU
A+Stroke Bore Stroke range v | ex | ez L L1 M
— (mm) (mm) FD | FT
) , 63 101050 | g | 9 | g0 | 02 [108| 18 |435| 60
i 75, 100
li:_*(lg_| ' 80 LGo15Y 11 | 11 | 99 | 116|134 | 20 | 535 | 77
Rod end nut L 10 to 50
100 117 |1 154 | 22 | 535 | 94
75. 100 11 | 11 36 | 15
Rear flange/CQ2G, CDQ2G Rear flange (mm)
et - Bore Stroke range - | Wio auto switch | W/ auto switch Ll
= ‘ (mm) (mm) A A
———— cls 63 10 to 50 63
— I 75, 100 73 3 8 %
10 to 50 .
[ B+Stroke i 80 o 4.5 845 | 10 |435
A+Stroke il 10% B
10to 5 86
100
=7 75, 100 96 % 12 433
xDimensions except A, L and Ll)
are same as front flange type.
III
Rod end nut L1 ;
Double clevis (mm)
. Bore Stroke range |Without auto switch | With auto switch
Double clevis/CQ2D, CDQ2D (mm) (mm) A|lBJCcL|A]B]cCL
cr 4N 10 to 50 98 | 46 | 84
M 63
] fombet L 75,100 | 108 56 | 94 | 08| %6 | 94
Ph PoRhol M0 ER 101050 | 1195|535 |10L5
——— [~ /[ axisdd 80 I . | 1t
= o 75,100 | 1205 635 |u15] 20 | 039 |19
I I 10 to 50 142 | 63 [ 120
| 100
| ‘_!I‘]_‘ 75, 100 152 | 73 | 130 1521 73 1130
d i

B+Strok Stroke range
CLastioks pore om - |eofeT|culew|ex|cz| L | N |RR
A+Stroke (mm)
10 to 50
63 } |
. 75. 100 14| 8 (2030 (22|44 | 8 |335| MIOX15 |14
| 80 101050 18|10 (27|38 |28 |56 | 10 [435| M12X1.75 | 18
™ | 75, 100
'{_ 100 1010 50 22|13 (31|45 (32|64 |12 |435| M12X175 | 22
| 75, 100 ' i

Rod end nut #Refer to p.2.3-18 for rod nut and optional bracket.

*Clevis pin and snap ring are packed with the double clevis type. 2.3-127



	Overview
	CQ2 Compact Cylinder/Standard: Double Acting Single Rod Series
	How To Order (Double Acting Single Rod)
	Specs
	Precautions
	Construction
	Additional Options
	Autoswitch Specs
	Dimensions
	Accessories


	CQ2W Compact Cylinder/Standard: Double Acting Double Rod Series
	How To Order (Double Acting Double Rod)
	Specs
	Construction
	Autoswitch Specs
	Dimensions


	CQ2 Compact Cylinder/Standard: Single Acting Spring Return/Extend Series 
	How to Order
	Construction
	Dimensions

	CQ2K Compact Cylinder Non-rotating Rod: Double Acting Single Rod Series
	How to Order
	Dimensions

	Compact Cylinder/Axial Piping: Double Acting Single Rod Series CQP2
	How to Order
	Construction
	Dimensions
	Auto Switch Specifications

	CQ2 Compact Cylinder/Large Bore Size: Double Acting Single Rod Series 
	How to Order
	Dimensions
	Auto Switch Specifications


